f3nFrc

TREAFEILFIRAAE

il I ETRTEEXEZEOFERIE T X555 #%

>A]: nbnfpc@163.com
Y : 0574-88811729
\, : 15205802685 & 15355119066

Pk www.airnfpc.com

HAEEREFIREEFINSIHEFIEARRRG FE
To Offer Customized Pneumatic Control Technology
Solutions for Globle Customers



2004

f3nFPc

2010

TN HEK RS EE
N

2016

2% Dt IMRE R StEEH
iz

2020

BEIFERIR THIERE

BABOT "RES—" AEE,
HEK0Z R E IR SanizH]
RARBRRTTER



RANE AAEE
FRESEEMERATINFPCRIBOIET01 FEERTRERT

ESHTHT) | EFRENSHTUNSS RE, mﬁ%ﬁﬁuﬁw//;///
RORRETE. BTSRRI T R, %$§M€Lﬁ$ﬂ://
CUTFSHEGTY. BREANTRSHNE, SIRATHR. M. 4
T. BF. EFREMGEMETE. R WS Tl ER 1
B, AR A S S R IIRS R T SRR AT




fHReRE, BFE

RNEHRE—HHEAEE, SURIAISAAR, BOTHEHmavinA.

NFPC iHBEFZoHAVIRS,

B onitiss

AT LUAZEFREESIRIF AR,

B EseEus

Is09001 Certificate ( English Version )

Is09001 Certificate ( Chinese version )

MA, CNAS Test Report

CE Certificate

QUALITY MANAGEMENT

SYSTEM CERTIFICATE FEREEGRNEED

Gertificato No.: 4662101010855 oS
“This is to certify that mansgement system of
Ningbo Novotel Automation Co., Ltd

ISO 9001

S by 157w
VS U4 3 e oy o e A A e

AT spoudx cusipconou e Co* Fiy

pra—

et

With quick High & low Rotary valve Quick exhaust With storage tank Pressure switching Hard ceramic seal
connector direct Pressure switchable valve closed rotary valve vaive for solenold valve
type solenoid direct type
valve solenoid valve
| ! %
W) v, v 4 % o i 5 1 BB T
Y B AR o gy Mk B f s & Mk 1 Janl g A & ik 1
gl 4 » v "
12y <) Pl |!ﬁ7:: ' T b ‘?'1 L o 'eix TP G- R
& | e Tt @ e) e &) &)
E F . 4 = &

ﬁ%ﬁm

Test Report

4t
- l"" t

'%4

P e IWICH R

i i acenalabebe LG
BREN DINERKLGRGORED

‘i’i!ili f‘lﬁﬂ&&ﬂw

€ Prostert Quallty Imspection

LB R LB




RRIZFEHISRm

NFPC 3R RSNEHEITMIZE, RAZEFSHIFES “BFHIT” . ZRFHEIL
BASEHEFZERE—N RENBRT R, NFPCEILTENMZAFREENEEE
RS, B, NFPC IR REFSEHBANEZRMAREIFIGZ &, LT RREHRK

ot

ARy

w5
R
Ty
VR I B

B S0MTF1)

TAIZHUNE» [

T-6 "=




FmismE

Product Directory

AV100FFIFGRANE, SEWEHIE -----wnmmmmmmmemmemmemmems e oo 001

AV200FIFGHIE, SEWEIE -------nnmmmmeomemmemmm s 005
AV300FFIFGRANE, SEWEHIE -----wnmmmmmmmmemmemmemmems e e 010
AVAQOZHIFGRNE, SEWEIE ------wnnmmmmemmemmemmm s 015
3V ZRGUBBRIE - -mmmmmmmmmmmmmm e m oo mm o n oo 017
100-A00ZRFUYEEEE -------nn==-mmmmmmmmmm e e e s mmm oo ooooiiiooooiiiio 018
PWHRBUBERLI -----rnnrmermemmmmemeemeemememememeeseemeeseeseemesmeeeeeneeseeneenes 019

DLZRBURREHR ~------=-=nm=mmmmmmmsmmem e 021

P e R 022
2V FRBY LSRR -----------nmmemmemmemnms e 023
2PZRBUBRHE] ------nnmmmmm e 025

PUZRBIFBRE ---------=-=mmnmmemmmmem s m s 026
5404 KBRS ERRRAGRIE ----------=--=n=mmmmmmmsmemem e 027
2Q FRBUYZSSHHITUEA -------nemmmmemmemmm e 028
VX FRBUTUTBRRIEEBRIA --------=emwmmemmmmmmmmmemem e 029
L3, O L 030
ZSRHERR, TIZSHY wnemmemeemememeemeemeemeeoeeoemeeeneeneeneene e e 031
TR - 033
e - 035
ZEHIIR ---enrmmrmmemremee e e 037
T 038
KVF, VZ ZRFUEBFEHR] ~-------nmmmmmmmmmmmmmmmmmmmmmmm o mmm oo 041
BV -~ 044
151 ZRGUBBBINE) -~ -------mmmmmm e mmmmmmmmm e mmmmmmoooeeeenoooooooiseeeooooooo 049
DLV ZRBUBRHHE ~-----=nmnmmmmmmmmmemmem e 052
DLV - 180 ZBRBFUBBRHE ---------nnnn=-mmmmmmmmmmemmmmmmmmomomeeooooomoooeeeeooooooooo 055
DLV - 220 BFUBRREHE --------nnnwxwmmmmmmmmmmmmemmmmmmmmmmmmesommoooiieeeoooooooo 056
DLV - 260 ZRFUEBHRLIE -----------nn-mmmmmmmmmmmmmmmmmmmemmmmemomemocoooicooo 057
DLV - 300 ZRHYERRHHE ~------------mmmmmmmmmmmmmmmmmmmmmmmemee e cnnnmmn oo 058
DLV - 460 ZRFUEBHREHE -----------nnmmmmmmmmmmmmmmmmmmmmemmmmmemomeooioooecooo 059
BRI -~ -m oo 060
g 062
BRBHEEHR] - ---mmnm == e 063

BEBHESA -~ - nmmm oo 064
FRRFRBHR] -~ ----=-n == 065

BIFABKIHE -----nr-mrmmsmremremsmem e e 067
R 068

FmiEE
Product Directory

OU Z251| B ST IEEREA (FRL)----------m-mmm oo 069
OFR ZR5Y (T HBRBRIATIRE —-----emmemmem oo oo 071

OR BRI 58 - -ommem oo 073
OF ZR51) ZRSIYEER ---------mnmmmmmmmmmemm oo 075
OL ZRHI SHEBER ------mmmmmm oo 077
Y T 079
AFC, BFC ZRB ~mmmmmmmm e 080
AL, BL FRFY HZEEE------nn-wmmwmmemmmmnemmnemmsmnemnemmennennenenne e e e oeennea 081
AR, BR ZRF JET5EE --nn-nmmrmmmmmmmmmmmmmmmnemmemmemmneme e 082
- 0 083
L R 1 084
- 085
O 086

ACT1000~5000RFYZS ST IEERIAAFRL ------mmmrmmmmmmmmmmmmmemmmmm e oo commeemmomoee 087

AC1010~5010ZRFZS AL IR A FRL ~----nnmmmmmmmmmmmmmmmmmmmmmmmmmmmmmm oo 088

AF 1000~5000FKBZS M JRBR ~--n-----mnmmrmmemmmemmmsmmemmemmsmmeammemmmemmmemneemennen 089

AR 1000~5000 ZRFUSFFIEE ------nnnmmmmmmmmmmmmmmmmmmmmmm oo 090
AW 1000~5000 ZRFUITIEERRIETIER - -—-------mmmmmmwmmmrmmmmmmmmmmemmmmmmommmem oo meen e 091
AL 1000~5000 FREURIERR --------nnwrnmrmmmmmrmmmemmeemmemmememmemeeoeenmeneeneennees 092
NACP300Z 52 SHRUMEREER (TBEE) -------nmmemmmemmemmmemmemmsemmsem oo oo 093
PTH 5T IE2S/AEEEAIHEIR/8 "FN1/4 "HOART ----memmemmemmeem oo oemcee 094
AD402ZFIEFHEK, ZDFS BUEGFNHEIKES ------nmnmmmommommmemmmmmem s oms e 095
H Z RS RIS B (T IBEE) ------n-ommemmemme oo s 096
DNC 25 ISOE43 THTEMYT ~-nnnnrnmmmmmmmmsmmemmmsmmmsmmmmmsm e m e e e 097
S| FKFY ISOBAZHRAEEAT ---nnnnmvnmrrmmemmmsmmemmmemmemmemeemoeemmemeeosemmemeemeennee 099

SC / SUBRBURRAEAT -------=wmmwmmemmemmemmmm s 102
MAG643255(1SO6432) FRGEHYINSHL -~ --mmmmmmmmmmmmmmmmmmmmmmmmmmmmm oo 105
MALBRBUSEE QNI - -mmmmm oo 109
CIRERBUAREBIYIVEAL ----nmmemmem oo 13
ADVU ZRBUSEEBISHT ~--nnnmmmmmmmmmmmmmem e 115

SDA FRIHEI(SHA) ST ---------nmwmmemmmmmmemmmmem oo 116
CQRERFUGHBRIRAT ~------wmmemmemmem e oo 122
CIP FRFUSHE -nnnmemmmmmmemmemmmemmnmmeomemeeeeeeeseeeeenoeeseeeneeeee e eeees 125
L 126
O 128
= 130

MGP FRBUSHHEAT ~----n-wmmnmmmmmemmmem e e 133



B I3 nrPc

Product Directory

YOS 722Ny 10 137
DHZ2 / DHC2 FRFWSEIRTLEES ---------mmmmmemmmmmmemmmmmem e 140
] 141

L 142
|ISO643 ATBEESATER ~-----nnm-mmmmmmmmmmmmmmmmmmmmmmmm e 143
ISO643VRAEEETRRLE ----=nnnmwrnmmmrrmmmmeemmmmeeemmmeeemmeeeceeeeecoeeesceeeeeceeenn 144
T L 146
PUBLSTETRB{EE ---nrmnenmsmemememmememmemememememememememesememeosemensemeseomemeesemeseoses 148
5 T T 150
L — 151

AT - 152
30/2000 DL-O3ZRFUBIIFFIE ----nnnrenmmmremmmmmemmmmmeemmmmemcoe e e e e 154
DL-21R BRFUBIIFFS ---nmmmmmmmmmmmmmmmmmmmmmmmmmm e 155

DL-31R FRFUBIIFFIE ---nnmmmemmmmmemmmmmemmmme e moeee e eoee e 156

DL-T1R BRFUBIIFFS ---nmmmmmmmmmmmmmmmmmmm e 157

BK / PBN / PN Z51 BTESHS ~-----nnn-mrmmmmremmmmeemmmmeemeeeemomeeeeoeeeeeeeeeeee s 158
I NGl == = 159
PM / SU ZB BIRESREL -----n-nn==m=emrmmsmmsmmemmem s 160

B AARAHERRTHESINEIREERSIER. UARXRTmAE, WHEEE, BABTEM.




BB R/BARFT#
(SE IR el B R BT R A L)

KA E R

Ih % & 4 (Th/’d 1)

f3nrFPc

Rc— MEIHEZRL ( PTHIZL)
R — SMEISESIELL ( PTRYELL )

1lb =4536 ¢ 1 Nm =1 J 1 Nm/sec =1 w
1 tonne =1000 kg 1 kgm =9.807 J 1 Ibft/sec =1.356 w
1 ton(imp) =1016 kg 1 kw/hr =3.6 MJ 1 kgm/sec =9.807 w
1 ton(us) =907.2 kg 1 Ibft =1.356 J 1 Joule/sec =1 w
1 H.P(imp) =745.7 w
2 n 02
cx b 1in? =645  cm' kst
1in =25.4 mm . _ 3
11 -0.093 - 1 litre =0.001 m
1ft =0.3048 m 1 cu.ft. =0.0283 m’
1 micron =10 mm E 5B 1 cu.in. =16.39 cm’
1 psi =6.89 Kpa 1 fuid oz.(imp)  =28.41 mL
- = 1 kgf/em® =98.07  kpa 1fuid oz.(us)  =29.57 mL
(°F-32)x5/9 =T 1 bar 145 psi gal(imp) =4.5
K-273.15 = 1 mmmercury =133.3 pa 1 gal(us) =3.79 L
1 in mercury =3.39 kpa =
i Torr 1383 pa T
%68 1 ft water =0.0298  bar 1 kgf =9.81 N
1 kgm =9.807 Nm 1 bar =33.33 ft water 1 Ibf =4.45 N
1ftpoundal =0.0421 Nm Laimosphary; =104.3"  kpa 1 kp(kilopound)  =9.81 N
) (standard)
1inlb =0.113 Nm i.cfn watet ~97.89 pa 1 poundal =138.3 mN
1ftlb =1.356 Nm 1in water =248.64 pa 1 ton force =9.964 kM
Cv il =7k E(US gal/min)iR60C T, REZEE 1psi 1psi = 6.895 kpa = 0.07kg/cm’= 0.06895 bar = 0.0703 atm
ZBRITMABHZ REEME, 1 standard atmosphere = 14.7 psi = 101.3kpa = 1.01325 bar
Kvi& =7KiEE(Umin) F20CTF, &% EAN 1kgf/em® 1 kg/em® = 98.07 kpa = 14.22 psi = 28.96 ins mercury
Z BTS2 R B EE. 1m’ = 10°cm’
So B ER (mm?) 1ftlb = 0.13826 kgm = 1.356Nm
Q =372 & (N/min) 1L=1000 cm® = 1.7598 pint = 10°mm®
S.TP. “EEEREH 1 tonne = 1000 kg =0.984 ton = 2204.6 Ib
(0C %101 3kpas 7t /& 1) 1 cu ft/min =28.3 I/min
2
MSC.  =AHIAREER TipE=vIN/m
ANR =iRE:20C R B IEE 65% Q =Cvi{& x 984
N.T.P. =EEREREN =Kv{& x 1100
(20°CH%101.3kpadaxt/EH ) Cv=So0+18
BEOBgKS:

G — M. SMNEEEELY (BSPPH. SMEL )

SEERHEH IR (N)

Cylinder theory table output force

10

12

16

20

25

32

40

40

50

63

80

#

Fi=

100

125

160

200

250

320

wD°P

BEFEE

10

12

14

16

20

20

25

30

32

40

40

50

63

I SEEigHHAFN)

B
™ (D~d)P

Fo=

Bt
F(N)

F2
Fi

F2
Fi

F2
Fi

F2
F1

F2
Fi

F2
Fi

F2
Fi

F2
Fi

F2
Fi

F2
Fi

F2
Fi
F2
F1
F2
Fi
F2
F1
F2
F1
F2
Fi
F2
F1
F2

2 EER
(mm?)

79
66
113
85
201
172
314
264
491
412
803
691
1257
1103
1257
1056
1963
1649
3120
2800
5030
4540
7850
7150
12270
11460
20100
18840
31420
30140
49060
47100
80384
77268

f3nrFPc

F=SELIEiRHi H /1(N)

5 FiEH F1=5 &1 A1(N)
A1 - F2=5 4L /1(N)
] ] P=25 7 (MPa)
D=S4T4I% (mm)
d=EEAFELE (mm)
IN A2 — P25 S=% [E @ (mm°)
J | A1=SE1# H Bt Z EmR (mm?)
A2=S 41 4 BlRE 71 AR (mm)
T/EES (MPa)

o
5.6 8.4 12 16.8 196 22.4
4.2 6.3 8.1 10.5 126 = 147 | 168
155 23.7 31.6 39.5 47.4 55.3 63.2
13.2 19.8 26.4 33 39.6 462 | 528
22,6 33.9 43.2 56.5 678 | 791 | 904
17.0 25.5 34.0 42.5 51.0 595 | 680
40.2 60.3 80.4 1005 120.6 1407 160.8
34.4 51.6 68.8 86 103.2 120.4 137.6
62.8 94.2 125.7 157.1 188.5 220.0 251.0
52.8 79.2 105.6 132.0 158.4 184.8 211.2
98.2 147.3 196.3 245.0 294.0 344.0 393.0
82.4 123.4 164.8 206.0 247.2 288.4 329.6
160.6 240.9 321.2 4015 481.8 562.1 642.4
138.2 207.3 276.4 345.5 414.6 4837 552.8

251.0 377.0 503.0 628.0 754.0 880.0 1010.0
220.6 330.9 441.2 551.5 661.8 772.1 882.4
251.0 377.0 503.0 628.0 754.0 880.0 1010.0
211.0 317.0 422.0 528.0 633.0 799.0 844.0
393 589 785 982 1178 1374 1571
330 495 660 825 990 1155 1319
623 935 1247 1559 1870 2180 2490
561 841 1121 1402 1680 1962 2240
1005 1508 2010 2510 3020 3520 4020
907 1361 1814 2270 2720 3170 3630
1571 2360 3140 3930 4710 5500 6280
1429 2140 2860 3570 4290 5000 5720
2450 3680 4910 6135 7360 8590 9820
2290 3440 4580 5730 6880 8020 9170
4020 6030 8040 10050 12060 14070 16080
3760 5650 7530 9400 11300 13180 15070
6280 9420 12560 15710 18850 21990 25130
6020 9040 12050 15070 18080 21090 24110
9812 14718 19624 24530 29436 34342 39248
9420 14130 18840 23550 28260 32970 37680
16077 24115 32154 40192 48230 56269 64307
15454 23180 30907 38634 46361 54088 61814



2l T E 5

AVI00 R 51 HLBA IR, "< B4 il 1R 001 FHLI

4V200 R4 FELG IR, B IR i 5

4V300 R 5 FEL G IR, Bl ) 1] KVF, VZ R H kIR

AVA00 R 5 FELE IR, < BhEE 1 1R B

3V1 R L IR 151 Z 41 FE 1 1R

100-400 £ %/1) Ji< Ji DLV 41| L fid; 1)

AR A DLV — 180 Z:4!) Hfif &)

DL 2 %/1) Hi e ") DLV — 220 Z %I i &

2L 2 %) B 1) (KR =) DLV — 260 Z %) Hi f ]

2V R AL il HL R IR DLV — 300 Z: 4] Hi f [

IR A DLV — 460 Z %I HH i

PUZ 51| Hi 1 1 it = A )

5404 2 1 e s e i, FEL B HR AS  ZR BRI A 2 1 (] R

2Q ZH A AR O] 1 PR

VX ZR 51U B XL ) R CREE N

DLKF £ %) B R 1) e . FEL U 1)

HE kA, HAa LA K 1

TR WS UK

T




AV100ZRFBRHE, SoiaHliE

N4V120-06 N4V120-06 N4V130-06
Ad -
I iTH%8/Ordering Code
MG E e B RAE BEORE BEER X RIS tRAEBE &
NAV:Z (=) F18 FE % 1) 100% %1 10: 8 A WAL E Joint Pipe Bore ~ ZA:&#&X Standard Voltage ZA: fERFRX
NAA: Z(E) L HBSIE R Series Code  20: WML E M5: M5x0.8 B:Zfr Rt DC12v LD:Z @ #ATiH
NBV: Z i = i i3 8 ) 100 Series 30C:IL=(r B AR  06:1/8" = RERES DC24v LD1: A& ATIHFR

f3nrFPc

N3A: R = @S IR

Specifcation Code

N4V:Two (Three)-position Five—
way Solenoid Valve

N4A:Two (Three)-position Five—
way Pneumatic Control Valve

N3V:Two-position Three-way
Solenoid Valve

N3A:Two-position Three-way
Pneumatic Control Valve

B0E: Wk = FEHFS A

0P W= BEENE

Coil and Places

10:Single-head Double-position

20:Double-head Double—position

30C:Double-head Three—position
Close Type

30E:Double-head Three-position
Exhaust Type

30P:Double-head Three-position

AC24V 50Hz/60Hz
AC110V 50Hz/60Hz
AC220V 50Hz/60Hz
AC380V 50Hz/60Hz

NC:Zfr=ifH AR
NO:ZHr =@ % F R
Joint Pipe Form and

Initial State

Blank:Pipe Connection Type
B:Two-position Five-way Plate
Connection Type
Three—position Five-way Plate
Connection Type
NC:Two-position Three-way

W:5| 25X

Wiring Form

Blank:standard Connector

LD:Brown with Lighting
Connector

LD1:White with Lighting
Connector

W: Lead Wire Type

Pressure Type Normal Close Type
NO:Two-position Three-way

Normal Open Type

I #1#&/Specifcation

N4V110-M5| N4V120-M5 N4VlBOC-M5‘ N4V130E-M5 | N4V130P-M5 N4V:]_:]_O-O6‘7 N4V120-067 N4V130C-06 | N4V130E-06 | N4V130P-06

N4A110-M5| N4A120-M5| N4A130C-M5 N4Al30E-M5!N4A130P-M5 N4A110.oe‘ N4A120-06 | N4AA130C-06 | NAA130E-06 | N4A130P-06

{3 18 2}/ Position and Way NO.
75 Y # H FVEffective Sectional Area

= {i 1 i#/Three-position Five-way
7mm*(CV=0.40)

45 i/ Two-position Five-way
10mm’(CV=0.56)

A A i Two-positionFive-way
12mm?*(CV=0.67)

= {3 18/ Three-position Five-way
9mm*(CV=0.5)

[ #8 Model  [N3V110-M5 |N3V120-M5 |N3A110-M5 |N3A120-M5 | N3V110-06 | N3V120-06 | N3A110-06 | N3A120-06

{3L 18 #Position and way NO. Z i = j#&/Two-position Three-way Z{i = i#/Two-position Three-way

£ % M FErrective Sectional Area ' 10mm*(CV=0.56) 12mm?*(CV=0.67)

¥ & O rort size » #S=H S=HE5=M5x0.8" /Air Inlet=Air Outlet=Exhaust=M5x0.8" i S=t S=H=G1/8 /Air Inlet=Air Outlet=Exhaust=G1/8
T 1E 9 Baworking Medium %25 (2401 miE ™ i3 E) /Air (40Micron Filtered)

£ 31 75 F/Acting Type A& S / Inner Guide Type
{& A £ 7iworking Pressure 0.15~0.8MPa

B K i} & JImax. Pressure Resisance 1.2MPa

T 1§ iR B working Temperature 5~50°C

B [E 3& Bl voltage Range +10%

#E B F/Power Consumption

S R B S nsulation & Protection Class
?% ?f, ﬁﬁ Et/Wiring Form

& & 0 AE 30 F/max. Frequency

% %8 i B B 18)/ShortestActivate Time

AC: 2.8VA DC: 2.8W
FZ.1P65 /F Class. IP 65
4 R slin F 3 / Lead wire or Connector type
f# A /5 Cycle / Secretary
0.05%) /0.05 Second

001

AV100ZR5 B, SaizHliE

F 5MERSFE/Overall Dimension

N4V110-M5

5M5-08
Vo

T

o

J4.5

28

o0

E

N4V120-M5

5-M5-0.8

563

698

N4V130-M5

[— | S#M5~08

563

698

)

53.5
325

53.5
325

i 2.433
250l N/

| p-e3s L@l
: of
L ol 5 8
r

g i
122
27

30C 30P 30E

A

=N T/ NV N 7

525

32.5

2511,

im0

” 2433
b-133 f(g_.
H G‘f @ -
A EL S 71| s
K s
5 -
8 8 8 R o
bt
: et
1 s ®
uinans | ]
123 13,
27 18

N4v110-06 ESANNIFA=]

]

I

28

5-G1/8"

INDPAY

5]

698

5-G1/8"

698

53.5

325

N:

53.5

325

ﬁ4$

628

f3nrFPc

2-43.3

o=
L

0
=
|
0
z

3

16

\

30

62

@QE%

0.4

o

548

e

H

30C 30P 30E
N4V130-06 [ EESANVrsi=T=\IAVAF =T = R fi=
52.5
32.5:
I ol
2.5 .
%2-4/3.3
o |
i1 1Y
Y ™
e b
= |
g | Je o B0l
®
o | -
bl

002




®

| ff ®
AVIOOZBIEHI, SENEH F: NrPC AVIOOZBIEEHI, SENEHI h NrPC

I 5MEERSH/Overall Dimension I 5MERSF/Overall Dimension
NC NO NC

535 535

325
G G1/8"
2 o o
5M5408 ;1 'vi : 2-433 S-G1/8" {“:j _2-433 i 3 i @
"" :. 7 s : tmj 2-433 3-G1/8" EﬂJ [t];]j 2-3.3
o || @ e(D) | 4 a ANEE 1 % w0 L g |
HRCE ey W f} , P17 8 /) @.Q’L .8 L @,(‘j._‘ & i =
@ z =z : 8 & Q} i & e : 8 & : nalE = i ”O a
: 6] : i ‘D GG : m : o i - ] B
& = \ % 7 5 O i L g O i IS o A " EH]
o W 8 ' = a3 @ e = : o o [Or = o i I el i
T L H 2 g ' ﬁ L i i I a red . 13 % ed :‘3‘1
IS0, : il H LS. i 43.3 7 v3.3 7
95 \ 2-43.3 13 2ok Lg_5. 2433 ai-—

‘ ’ N3V120-M5 (IS RA= N3V120-06 [EEEEREA=

N4A120-M5 [EESARIITAS N4A120-06_[SARIFde o o , o ‘ =
= H : i ®

_—
2618 2.61/8" || : | i |
;r\. ™ - =i | [@iin] 2-433 [ | 3.c1me E Eg 2-433
' —— S
@_
e
e

A 3-M5 E — H
sms<08 | i1 : -$3.3 5-G1/8" i ;"Ej 2-433 R ﬁj, LSJ..
; : |/ pry @ ‘5(3 ;_l 7
’“ /: o 2-$3.3 s i [ - 3.3/ & & &) '"; B 2-433/ k=i f iy
QC{ ] s @]—1 —@@ I o :f\r~ 9 : Cami ::_ i ’ i
& & A = & z T s E .
W@ 5 Y DY T 12 o | | F = o 3= 8 1 = i o s E
~ L. @ /'”>® ‘ B \:& E ol @ = e @ -;;7
Yo ; O W 1 i e ] @ 5 ]
g : = P “ . § E = = @ T . Tt eeame .
& - E: o & 2’."'% i i " . & = 13 - = 13,
___________________ o v H I 3 :'E A H B BT g™
L9-_5- s 2‘7‘& Pl NC NO
18 18 e o X i
27
N3A110-M5 YAl 9LIXE- N3A110-06 SAlA SLIRE-
R P R P R P R P
G1/8" G1/8"
30C 30P 30E 30C 30P 30E /
A B A B A B - ?E A B A 5 = - -
NAA130-M5 [y B AY 7 Y R T NAA130-06 FSYyyuagps S\ vy, py AL vy oy 7y A8 TS .. =i T s == I =iay =
AP S RP S RPS RPs RPs RFPS e /-— Lot S = . it
2618 3»." ] y & ) ‘?’ﬂj{ w b :
e ; 2.618" Q/ g 8 5 ; Lo ] e od 5 # q | & -
& ; oo " A P S | A Bl
1 | ‘ ; == I F e | =i 7 i el ] ©
515 408 G 2033 h : 2] B e 20 il 131
: 5-G1/8" ! ! 2-433 2433 2 | 2433 27 (E]
L ﬁs( ] 2433 f_j/ 2-43.3 P . .
o H f—- eVl | . H
; BB, & &) 41 D] N3A120-M5 | RFAS N3A120-06 |EEESRFAS
5| © i e z - o | C i . J | T s
: ; ! } : - © : 8 . G1/8"
3 @ : )"D G1/8'
L 3 s A i (!
e | H i ((;, @ : E B A aus =i s ERER @/3_GI__8 Q"{ i = 433
E b o 2 5 — <& = . == é
) gr-a Lt T & ; h’t' """"" 3 3 N @ 2-$3.3 @—l e 5— @ 33 @—I
foid iL 8 @ / & 4 4P 2l @ Yo'l g8
95 13 |as.] B e & 4 B
o7 18 27 1: + o o
- f & A b &
= s= == == sl
44 KN ’ 1z .Ili
27 18 27 18

003 oos [




AV200Z5BRL R, SoiahliE

P

N3Vv210-08 N4A210-08 N4Vv210-08 N4Vv210-08B

AV200Z 5B, SohizsliE

f3 nFPc

I SRS/ Overall Dimension

4V210-06 . 4V210-08
N4V210-06 e N4V210-08 "

665 66.5
40 40

2-$3.2

5-G1/8" ﬁggj_ 2-04.3 4f 2:61/8" ﬁ i- /{ﬂ3{ | 2.

116.5

116.5

3-61/4"
1

v ; r‘*‘@ @
: K & ‘ €
N4V220-08 N4V230C-08 | & MEIREIN /| 1 el
] i O 7 Ak o b HO 7 : A P
I iTM%3/Ordering Code 2T - i E 1 : Cim

05 =N
A B A B
G RIME  SERGH BEOR BERARGRE  FERE B N4V220-06 E=AITI= N4V220-08 =\ [/ /=
NAV:Z (=) 3 FE ) 200%5’] 10: 8 L UL E Joint Pipe Bore = EH:E# Standard Voltage =H: RERTR Wb es
L RIESIE R Series Code  20: Rk LB 06:1/8" B:Zfr HiltRiENX DC12v LD:F BT F
NBV: 4 = i Rk 200 Series B0C:A = FEHAE  08:1/4" = hERER DC24v LD1: A kT FX i 28
NBA: (L =i S k. NC: = fir =il % IR AC24V 50Hz/60Hz  w.3|%st ‘
Specifcation Code 30P: sk =4 HEHA NO: = fir =il % FF & AC110V 50H2/60Hz  \yiring Form : :
N4V:Two (Three)-position Five- Coil and Places Joint Pipe Form and AC220V 50H2/60Hz  pjank:standard Connector § |
way Solenoid Valve 10:Single-head Double-position Initial State AC380V 50Hz/60Hz LD:Brown with Lighting i ]
N4A:Two (Three)-position Five— 20:Double-head Double—position Blank:Pipe Connection Type Connector I Ji-CcATl:i EJ H 2-44.3 2-G1/8" 2043
: " - ) T —— ] 3 . 3{ I
way Pneumatic Control Valve 30C:Double-head Three—position B:Two-position Five-way Plate LD1:White with Lighting _ﬁé F— — h_ﬁ\,l 6 ~ ;
N3V:Two-position Three-way Close Type Connection Type Connector K : _@ oV 1 P
Solenoid Valve 30E:Double-head Three-position Three-position Five-way Plate W: Lead Wire Type © @_ 8 o « B o fé/ N gl = ‘: 5
N3A:Two-position Three-way Exhaust Type Connection Type _@ g —@ = 2 C\
Pneumatic Control Valve 30P:Double-head Three—position NC:Two-position Three-way I_ﬁ#f 7 Y]
Pressure Type Normal Close Type i 108 . . E 23
NO:Two-position Three-way = 8 I o B4 H o i [ T4 2 JR U
’=:I= SIS @ & 4 = e
Normal Open Type 3 & py & 8
I ##&/Specifcation ' *
35 el 35 i
N4V210-06 |N4V220-06 N4V230E-06 N4V230P-06 |N4V210 -
E S Model —
N4A210-06 |N4A220-06 N4A230E-06 N4A230P-06 |N4A210-08 ‘ N4A220-08 |N4A230C-08 30C 30P 30E 30C 30P 30E
As As s
{iL 1B £ /Position and Way NO. 13 1 i/ Two-position Five-way = {3 1 i#/Three-position Five-way Z AL F i Two-position Five-way =i i/ Three-position Five-way N4V230-06 ANV 7= = \NYAVAFF A= = AR I PF = N4V230-08 D:LSXJ.:MZF EL&ME\Z.MZP E-IMMD
T RPS RPS RPS RPS RPS RPS
75 3 T FR /Effective Sectional Area 14mm*(CV=0.78) 12mm’(CV=0.67) 16mm?*(CV=0.89) 12mm’(CV=0.67)
665 66.5
A S Model N3V210-06 | N3V220-06 | N3A210-06 |N3A220-06 | N3V210-08 | N3V220-08 | N3A210-08 ‘ N3A220-08 -% - -
AL 18 #/Position andWay NO. _1_L i#/Two-position Three-way [ m | m
5 34038 T8 FRErrective Sectional Area 14mm*(CV=0.78) 16mm*(CV=0.89) @ ®
¥ & O {2port size Bt S=th S=HS=G1/8" /Air Inlet=Air Outlet=Exhaust=G1/8" | i#=S=ti5=G1/4 " #5=G1/8 "/Air|nlet=Air Outlet=G1/4 " Exhaust=G1/8 " ] ﬁJ @ ==
T 4E 9v Biwaorking Medium S (42401 miE R 33 i) /Air (40Micron Filtered) s gf_ ! ﬁ ;E_ i :
= . 7] souer ' 2443 D] sz T 2eue i P ] PRa B
1E 3 77 FActing Type A &5 3 / Inner Guide Type i o : : — i i
v ‘ i %;/ 3-61/4" H e
{8 A £ J1working Pressure 0.15~0.8MPa : il é & b ! i | g
& K £ FImax.Pressure Resisance 1.2MPa o @ g g ] il g . 55{ a ai s il s
T 4E iR & working Temperature ‘ 5~50°C __@,3 _—%e p a @G H R
B £ & Bl voltage Range +10% f jod ; ““— oz :
#E B Frower Consumption ‘ AC: 55VA DC: 4.8W . __2 g . ) : . F | 3 y o o =8 F
B RBHIPER insulation & Protection Class F4;.1P65 /F Class. IP 65 : = b @ “ | @
$% 2 F K wiring Form 4 3 ik F R / Lead wire or Connector type ; ; ; : ;
L1z, z
& @ 311 3% Fwmax Frequency #/# AKX /5 Cycle/ Sec 35 o222 35 e
% 48 il B B (B shortestActivate Time 0.05%> /0.05 Second

005




, ® ‘ ®
AV200ZBIELHI, SENEH h NrPC AV200RBIEHI, SENEH h NrPC

I 5MER-H/Overall Dimension I 5MER-H/Overall Dimension

N4Vv210-06B Y\ [/ N4V210-08B AN FFi= N4A210-06 T/ N4A210-08 I\
66.5 66.5
40 ]
H . s o18} G1/8"
[T I inim:mni] T (O] j *:‘ T - - ¥
: : ! s.c1/E I 2-432 2-6118" i 2432
@ ‘ | | ;
‘ 5 | | X ! o i e 1 s =
. Eﬁ 3-61/8" i ' al Eﬁ ' St =4 ' $/ R m@ i ’Q§ ‘\'/ | AT
: & : : & A i | ® | i ¥ & N T J157 | 4
7 Pand : = A s ® i &) ! ! i @) N5 S bt ! &
QD 2-018.0%1.4 :]'(;y | —@@\Z-OW.ORLA ]K‘J,/ m ) | *éﬁ ] _,\é@
1 e ihe el " & Egnia Ao A 297 =RERIER
[l @1- 2-043 m w0 O Q X 2-04.3 rt il == <l i B =il =
i 41N/ y : £I__® 1 10-5 1'7 1_1& *1_7‘3
et : 1 fep e g Tl |t oo
‘ 29 ‘ ' T 29 ‘ = 2 =
22 35 22 35

N4v220-065 SR FEs= N4v220-08B PRz
N4A220-06 [EEEANIFFAS N4A220-08 —\IA-

[ lni £|| ) i i inmin] [0,
i i 2618 e
@ | @ i : — : i 11

T~ i i ] 5-G1/8" R ] 2-43.2 — Beir -

i i) & —— : Eﬁfﬂm /2-6“8" 7 2043 . SHALLES : peiLic]

-L o ’i I f‘{ G14" K @ +\/ o ﬁ:“k@_ Olf:§ I /~(/ i§ 1
S L & vl S | ¢ & < ¥ ) é
o °_1 /.G%z-ma.om.‘t A j@ o | o— /-g, 2-018.0%1.4 ] j@ # @ o o . o é’:} g = i @

0| e ] 0 7 0 13 A & &) N

= e = e O, 11 e 2. w.

: 25 & me‘ 2 i 2 N @% : g2 . il - b 5 r‘* ] B
S 5 [ : | B 8 m = I Led i

@ @ J/ = 33 22
[ ];l 11 [T |i| 18] LI ML [MITITD T Ivﬂ I
30C 30P 30E 30C 30P 30E 30C 30P 30E 30C 30P 30E
N4V230-065 I s =T \RwvArs = LR ISA= N4V230-08B | st nvirs =T\ rf=' N4A230-06 | s/ ARIATAFs SN A N4A230-08 - - - - -
= — e al e [LE
E E : 2-G1/8" 2-G1/8
@ @ T
_ = ! !lrs 4 I L= 000 oy g &= 2 0}N0MX ~4¢ /O €O NN S

2-44.3

3-G1/4"

: : ] : HE : H 3 i
3 i) L 3 3 H i v ! : ! ' H {
! P : | / H i

3-G1/8"
2-04.3 T -
A LG S

2-018.0%1.4 g

|
000
:
©
&)
I e
&
©
- @)
X
.

g = sf_[2-018.0%1.4 } ¥
e - & :
5 zl 81 i 8 : 0 &R Al : ; £ i :
%1 H o043 Fos ) | : :
Bo-0sa i L o :
| - ¢ { 9 T VA )
\d * Y e ! " 9 v I } ol [ :
: : ; : ! ! o 5 i | : E ) i
I : 2 3 | |2 | L il iR BIE Bl i i BALEH | =
3 ! & i & i £ ™ ' i IR ;
N 2 = ¥ 8 1 : L : ; etk :
© N @ i ! 205 1 105 -13-
v 35 2 35 22
[T T WA ITH
22 .35 | 22 —35 .|

007 008




AV200Z%FBHAIE, SznizHliE 4AV300Z5FBHAE, <ozl

P o

f3nrFPc

B

f3nrFPc

I 5MER-St/Overall Dimension

N3V210-06 [EERRAPARIE AR

N3V210-08 “djN(I'-_m vﬂh‘igj

66.5 66.5
| Ca— ; : — N3V310-10 N4A310-10 N4Vv310-10
il IX 111l i I
| E @ i | ®
i i /‘\ i N
3.61/8" ﬁd | 0 : B V| 3cue ] o E 2:43:2
i ¥ S { Y o ﬁ d |z {
e o | g +& ry N4V320-10 N4V330C-10
e ] 8 —ﬁ 3 ] By i HEp)|| @
i 1 H 1) . —
HE Jp 5 bt HD Hp | . @Q; ] I iTH%5/Ordering Code
= : ] 5 o ‘ o
2-43.3/ [8] 17 b 2433/ | g| ! '1_
35 22 - 3s 22 — — —
A A
N3V220-06 [EE=RYFR= N3V220-08 |S=m1Fil= M RIKE  BERAH BEOR BERARMGRS  FERE R
NAV:Z (=) Fif R kiR 300% 31 10: 88 L WAL | Joint Pipe Bore =~ ZEH:E#N Standard Voltage =A: fRERTX
s cold NAA:Z(EMLHBSIER Series Code  20:XkR{L & 08:1/4" B:Zfr HiEtRiER DC12v LD:ZEE#UTIHF
‘ — . — N3V:Z{i = i i i 8] 300 Series 30C: WA= EHAE  10:3/8" SRR DC24v LD1: A & ATIHF
o) ) NBA: =i =38 S4E S0E: k= (L BHESH NC: = =i & iR AC24V 50Hz/60Hz  w:3|&=t
Specifcation Code 30P: k= (L B AR NO:=fi =i % 73 ACT10V 50H2/60Hz  \yjiring Form
H : N4V:Two (Three)—position Five— Coil and Places Joint Pipe Form and AC220V 50Hz/60Hz Blank:standard Connector
N - E]J T - : way Solenoid Valve 10:Single-head Double—position Initial State AC380V 50Hz/60Hz LD:Brown with Lighting
| | mz_ ‘,,335-3 ), o ) B N4A:Two (Three)-position Five- 20:Double-head Double-position Blank:Pipe Connection Type Connector
‘*g? i [ :_g o way Pneumatic Control Valve 30C:Double-head Three—position B:Two-position Five-way Plate LD1:White with Lighting
3 g ol o © ] g | ol g N3V:Two-position Three-way Close Type Connection Type Connector
& B N HE.,) [ Solenoid Valve 30E:Double-head Three—position Three—position Five-way Plate W: Lead Wire Type
H I N3A:Two-position Three-way Exhaust Type Connection Type
€ % - C g Pneumatic Control Valve 30P:Double-head Three—position NC:Two-position Three-way
2 [ 8 E : g Pressure Type Nomal Close Type
NO:Two-position Three-way
Normal Open Type
s H H
E — I ##%/Specifcation
NS o P 1O N4V310-08 |N4V320-08 | N4V330C-08 | N4V330E-08 ‘ N4V330P-08 [N4V310-10 [N4V320-10
N3A210-06  RTATARY, N3A210-08 SN AT TARN S Model - ‘ i “
Gg G1/8" 13 38 #UPosition and Way NO. {3 1 i#/Two-posttion Five-way = {3 F i®/Three-position Five-way 43 F i@ Two-positionFive-way = {5 T i®/Three-position Five-way
'.r,' 3.01/8" 2-432 zr; 3.6114" idd ;;j 2-43:2 A 3 A FErctive Sectional Arza 25mm*(CV=1.40) 18mm?*(CV=1.00) 30mm*(CV=1.68) 18mm’*(CV=1.00)
el T o &5 i = N3V310-08 | N3V320-08 | N3A310-08 | N3A320-08 |N3V310-10 | N3V320-10 | N3A310-10 | N3A320-10
@ : © __% o = i @ T _@ o {37 1% #/Position and Way NO . — i1 = j#/Two-position Three-way
_@é‘ 217 5 éé |—-/$:’ " @J‘*L £ W FVEfective Sectional Area 25mm*(CV=1.40) 30mm*(CV=1.68)
R - i S| i : i - : = EE O R rotsize S =t S=H=G1/4 "/ Air Inlet=Air Outlet=Exhaust=G1/4 " | #S=15=G3/8 " #S=G1/4 "/Air Inlet=Air Outlet=G3/8 " Exhaust=G1/4 "
2:433 17 2-433/ (8] 17 A Z R . =
35 35 2 T AE 4 Buworking Medium Z2 R (240 1 miE M 33 JE) / Air (40Micron Filtered)
{E 3 77 F/acting Type MR %S/ Inner Guide Type
4 m‘ & A IE $1/working Pressure 0.15~0.8MPa
N3A220-06 {vznlﬂ N3A220-08 PR & K it /E Jmax. Pressure Resisance 1.2MPa
T 1E:& B /working Temperature 5~50°C
ZoUg B [£ 5& Bl/voltage Range +10%
L [— L Lid | 2-432 L seue “ L5 2032 #E 8§ /Power Consumption AC: 5.5VA DC: 4.8W
g i & " ] - LB B S B nuaon s roecon Css F#.IP65/F Class. IP 65
ol o 4 p: i : “ ? 3% £ 2 Rowiring Form 4 K sk in F X / Lead wire or Connector type
@ & D.e3s| © | o o i &8 2-43.3] I @ —
o . g—t? N é : : @1 : 5 B 5 1E 35 Eimax Frequency ## R % /5Cycle/Sec
% w 9 : I T
o 0 g 0 o 33 “ : | 5 %8 i B B 18)/shortest Activate Time 0.05#) /0.05 Second
" ol & - s L]

009

010




AV300ZFBRHE, SoiahliE

I 5MERSt/Overall Dimension

N4V310-08 AN

69
40
i) fim
@
Pash
5-G1/4" i J &]ﬁ% 2-44.3
& i @
= n &
& | ;I J12|=
c HO
| D Nd | 4B .
]_ ¥ -
42.5 \2»4,4.3 ;3
N4V320-08 [EEE=AIFi=
69
W7k
iy oL iy
®
5-G1/4" %ﬂ 2-$4.3
oG- i Jii| s
€ |4 jg 8 @ 8
] ¥ 2 as)
)
O
6
: s
: ” il \mﬁ 3
®
4 _'@'_

30C 30P

30E

N4V330-08 | e WP T N R P

69

i

g@@g

| g
I X : :
D : :
o T
T " P
& o N < |
:w -+ é ol o N_ '
O S TR
JT n
—: i | & B
ETT
40 _'.zzn.'_

011

A8
RPS

69
40
i, frim)
e
2.G1/4" ﬂi %ﬁﬂ%
4 o |
3-8 [0 [ < G =
5= all. A
e@ 2 % = H b
9 | & K [ E‘.f
i 8 R i g
= S
6.5 |\2-043 J‘ik

2-443

=
m :
3-63/8" ®®/ 1 p-14.3
z : E QL:I -
: E ol T
g i |, (
a0

N4V330-10

69

30C

EBiz:

24

824

AT o

@
I 5}1?

30P

30E

2-G1/4"

3-G3/8"

DB
bl !

T

944

@

1.9

I 2-04.3
pRLE
4
1 =
5l
A I
o B
-
I
=k -
ai
b &
40

BIN:

24

824

N
L

2-043

50

B
| _E

®

i

69.4

4AV300Z5FBHAE, <ozl

f3nrFPc

I 5MERSFH/Overall Dimension

N4V310-08B A=

69

3-G1/4"

g 201
b
E G%K TOS.b

27 40

N4Vv320-08B

3-G1/4"

®
“T{

M+

1888

o)
h
ifs
944

fan Y /ﬁ\u

\Slay &

s | T

é’/
®

40

27

30C 30P 30E
N4V330-08B e N P =TSP A= T R =

69
40
‘ .
| |
T i :
L z
' ' 3-G1/4"
: ©20F1.4 ,a\/
-} i 1
5 £ ]
i : 3 & |+
E Ar 2-055 /\
i iE S
Eooh 3l
| -
: K
® % |
' 40
27

N4V310-10B

1345

27

N4V320-10B

32
a0

69

40

188.8

®

K(—:\\»A 1

27

N4V330-10B

40

30C

G3i8"

2-G1/4"

G3/8"

944

2-G1/4"
=

45

ToS &

719

30P

30E

=N [ NNV =3 [

207.8

63
N

94.4

2-G1/4"

45

719

012




AV300ZFBRHE, SoiahliE

I 5MER-St/Overall Dimension

5-G1/4"

&
|

|

40
3

17.5

5-G1/4"

45

555

5-G1/4"

45

555
.[

013

2-G1/8"

40 27

2-G1/8"
: - 04.3
2-04.3 L@
[ e @
=)
E ‘1 : 2
= |
o B
e : )
' 8
20
40 27
30C 30P 30E

2-61/8"
: 2-04.3
:| 2-44.3 (E_]
o s &
A~
3 3 ~ 2
B &
=\ !
i o
¢ % { LQ
8
R)
B3] 0
40 7

2-043

2-G1/4"

&

17.5

% 2-G1/4"
=7
3-G3/8" O@
) | d
g
s
i 79
1
-

2-G1/4"
= E:
ey
2
i C/;
ol
' b

A B
R P S

G1/8"

:I 2-44.3

’;}
28 _L 4
N
AN
)

[}
8
)
B3 .1
40 20
5
A B
R P S
2-G1/8"
—
iid
i 2.4

y

:] E 2-04.3

o1 &)
a =
w b il
T N a
2
5,5l e
w 20
30C 30P 3

2-G1/8"

)
ﬁi

l

&
3 i
L )>
San
o L
5 i
< : o
i 2
i e
Ll
a 20
27

f3nrFPc

4AV300Z5FBHAE, <ozl

I 5MERSFH/Overall Dimension

3-G144"

24

o W

b

@%‘:_
S

NC NO
CRYEA= R TARY:
PR PR

69
40
" ,
' A
E N 2-44.3
- t ; H
1 i G o
8 ? -6 || 5
w) H
7 : A B
w H o B H
2 =
2-44.37 70 -
20437 g
40 27

BIR]

2-443

30

Ry

35

&-( iz} i a0
69.4

NC NO
A A

o
L 3-G1/4" “ 2.44.3
Ca SlEEPSE
&l y 5 Q||
“Palg AT Z{?
- 2:443/ 1] : 2:0 -
40 27
N3A320-08 [EREAS
2-61/8"
3.61/4" T "5" 043
V' ! i
o o i L @
& B sikes | B S|
o5 I——<‘/ o
o ey
40 27

f3nrFPc

N3V310-10

NG NO
A A

69
10
&
3-63/8" o $43
[, | iy
& il
o) ] )
Nk 2 af AT i
2»:»4.3‘_ am - i
u-
c1/g"
- 3-63/8" 4 2-943
o i i i -
= E all
b =) | 9
e w
S o s =
5.3 T
Z
A
N3A320-10 I\
Ha
2-G1/8"
3638 ”‘ 2.043
®€( o | @
<+ : © : )
= B & 3443 iy @
3 Bl s o
J_é 40 33

014




AVAOO0ZRFBHLE, SoiahliE

AVAQOZRFFEHAIR, SEhizhiE h an C
I 5MER-H/Overall Dimension )

‘ NEAEEES Mﬂ _ m\j??wnq\ Tg\/ﬁ:w L:M:J\\I?EI i)
N . \ 4 /
N3V410-15 N4A410-15 N4V410-15 NENESS

' N4V420-15 N

139 73.9
il 7]
‘ i ] I JEA TP Lﬁ
A 5-G1/2" KL A 2-44.3 Ew h _|2-455
N4V420-15 (EEA8 i | d- @ P,
N4V430C-15 : R e E N
: Loy ) i .
._.r(@ b @ a mnll 10 @
iT1#3/Ordering Code i o @ il ng
5 E 3 \ o ad £ g
S5/ E E 2 2 I@
— — | ] \ |
~_§5_, 5074_5._‘ 2-45.5 |0
MR RS LBIR A BEOR BEEEARMBIRE IRERE 23531 .
NAV:Z(= )i T i FB 7 ) 400%%1 10: LWL B Joint Pipe Bore ~ ZEEH:&#RX A Standard Voltage =8 ﬁ&iﬁ?iﬁ » N4A420-15 M
NAA: Z ()L HBESIER Series Code 20: kWAL H 15:1/2" B:Z{r Hi@tRiER DC12v LD:ZFBHITiRFR N4A410_15 VM__ St i st
N3V: = {i = i BB #h i 400 Series 30C: WL =L FE A = HEBERER DC24V LD1: B &HETHFX L] N4A430-15 m m e
NBA: Z i =il 21 B0E: Wk =fr BHFS R NC: L =38 % R AC24V 50Hz/60Hz  w:3|gst e RO
Specifcation Code 30P: Wk =L B FE AR NO:Z I =i ¥ FF &Y AC110V 50H2/60Hz  \yiring Form J : : 20U8
N4V:Two (Three)-position Five— Coil and Places Joint Pipe Form and AC220V 50H2/60Hz  gjank:standard Connector T ; T C | seur 2-043
way Solenoid Valve 10:Single—head Double—position Initial State AC380V 50Hz/60Hz | p:Brown with Lighting P ho ., : : d
N4A:Two (Three)-position Five— 20:Double-head Double-position Blank:Pipe Connection Type Connector ‘Q o * \‘."j I 2- 4555 A K
way Pneumatic Control Valve 30C:Double-head Three—position B:Two-position Five-way Plate LD1:White with Lighting s éﬂ— o __@ Qﬁ_‘ )
N3V:Two-position Three-way Close Type Connection Type Connector —-@; 3 P @ it fo @ @ 4% g | okt o
Solenoid Valve 30E:Double-head Three—position Three-position Five-way Plate W: Lead Wire Type b ] f:f Nr ! 511 @3
N3A:Two-position Three-way Exhaust Type Connection Type b 6\ A A N7 - @5‘_ '\| ks ;
Pneumatic Control Valve 30P:Double-head Three-position NC:Two-position Three-way 2 ) @ B = + “’l 3 J
Pressure Type Normal Close Type = - { “ i1
NO:Two-position Three-way i s EEr sg —lf

Normal Open Type

I ##&/Specifcation

e N4Vv410-15 N4V420-15 N4V430C-15 N4V430E-15 N4V430P-15 N3V410-15 PR PR N3A410-15 [@E:@
# 5 Mode 73.9
N4A410-15 N4A420-15 N4A430C-15 N4A430E-15 N4A430P-15 :

13 18 #l/Position and Way NO. Z i # i®/Two-position Five-way _{_LEEﬁ/Three—posmon Five—-way ¥ ! T
A %8 FErrective Sectional Area 50mm*(CV=2.79) 30mm?(CV=1.68) ] : Iﬁl
i R E 3-G1/4" ==
# S/Model N3V410-15 N3V420-15 N3A410-15 N3A420-15 , ot i 2 2:44.3 2:4{4.3]
{31 i# %P osition and Way NO. —{i = i#&/Two-position Three-way q@ S @ 1 g
4 %4038 T FVErtective Sectional Area 50mm?*(CV=2.79) b P:% 5 725 h
1% % 0 Brortsize # 5= S=HS=G1/2" / AirInlet=Air Outlet=Exhaust=G1/2 " RIS e qp [ w
i S w i [
T 1E 9} Bworking Medium 25 (240 v miE B 3T jE) /Air (40Micron Filtered) 27 Ik | 5]
1 4? 50 - i
1 51 75 R/Acting Type MRS S /Inner Guide Type ! L
& A £ H1/working Pressure 0.15~0.8MPa
B K} FE F1/Max. Pressure Resisance 1.2MPa ne ANO
T {EiR& Erworking Temperature 5--50°C N3A410-15 M m N3A420-15 m
B [ 3& Bl/voltage Range +10% ! te 2.6 1/8"
FE B §/power Consumption AC: 5.5VA DC: 4.8W 88 : ' 2.043 # :
48 SR FRPEER Insulation& ProtectionClass F4. IP65/F Class. IP 65 3.61/4" ’ 3-61/4" i
r— ' o op . = 72 ; / v i
£ 4 7 Rwiring Form 4 R sl i F 3 / Lead wire or Connector type S5/ 2843 : < i PN
= B AE S Fmax. Frequency B{# AR /5 Cycle/ Sec 4 2 = ssd | @3 2 ® Pz i 2 ME\ ¥
5 %5 6 B B |8/ hortest Activate Time 0.05%#b /0.05 Second @ =) Z 7 o ol i g i
K i — a -
27 o 4L -l 1 i
34 - - 27 lits
a4 50

015 016




®

F:nl' rPC 100-400 K5 1iEE

3V1 &5 B

I iT##/Ordering Code

- -

MR gEOs  EEEk IRERE #ERK
N3V: i = i FR ## ) JointPipe  ZEE:EHERN Standard Voltage =A: RERTR
Specifcation Code Bore B DC12v LD: s kTinF3X
N3V: Two-position M5:M5x 0.8 Connecting Type DC24Vv LD1: @ fa #kTis 73t
Three-way 06:G1/8" Blank:Pipe Conpe- AC24V 50Hz/60Hz W:3| 23t
Solenoid Valve ction Ty AC110V 50Hz/60Hz Wiring Form
ZF| D B:Plate Connection AC220V 50Hz/60Hz Blank:standard Connector
;(;0%;“ Type AC380V 50Hz/60Hz | p-Brown with Lighting
N2Vv025-08 N3V1-06 SetiesCode F)onf\ectc?r o
100 Series LD1:White with Lighting
Connector
W: Lead Wire Type & 2 o 4 . .
I JKEEITH%/Blind Plate Ordering Code I JKEEiTHE/Blind Plate Ordering Code

I ##/Specifcation 3 ~
I 5MERSH/ Overall Dimension

T {EA & Working Medium =5, K. i/ Air, Water, Oil RO EEHE RIS BRAS
d _ L : . 100M: 100% 51 fi ik & 100M: & 100M: 100% %) f B: KEEMAER
€5 AR Acting Type H# R / Direct Drive-Type : E 3
z g'yp v Eaiis yp 200M: 200% 31 i fi B 200M: EREE 200M: 200% 3] f ,
B Type % HE / Normal Close-Type N3V1-06 300M: 300% 51 fi ik i 300M: F&&E 300M: 300% % Blind Plate Code
R FL72 Aperture of Flow Rate 2.5 400M: 400% 3! i ik Jé8 400M: fEEE 400M: 400% 351 B: Base Purposed Blind Plate
CVI& CV Value 0.23 Siikey r—S— Series Code Joint Base Number Series Code
#% 0% Joint Pipe B G1/8" G1/8" 29) 100M: Base for 100 Series Use 100M: Wantonly Joint 100M: for 100 Series Use
e P 2 { 200M: Base for 200 Series Use ~ 200M: Wantonly Joint 200M: for 200 Series Use
gmb"‘w*‘sfiv. ; 20 CSTELF (Below) % 0) 300M: Base for 300 Series Use 300M: Wantonly Joint 300M: for 300 Series Use
peration Fluid Viscosity ‘ N 400M: Base for 400 Series Use 400M: Wantonly Joint 400M: for 400 Series Use
{& F JE /1 Working Pressure =5 . /K. i /Air, Water, Oil: 0~ 1.0MPa .
&AW E AN 1 5MPa ‘ —t 119
Max. Pressure Resisance . - I
T
TERR B o . 5p R/ Overall Dimension
Working Temperature Range il ! [ |
& BB ESE @ Voltage Range +10% ? L
RIP % Protect Class IP 65 @ . W
FE & Power Consumption AC:7VA/60Hz, 9VA/50Hz; DC: 6W . @ L X
# 4 1% Insulation FZ/F Class o P
A4k # it Meterial of Boby £8 548 / Aluminum or Brass @\—a gf k@@‘ i
it #1 #1 Fk Meterial of Oil Seal NBR 2 VITON / NBR or VITON T cgis)| Lz bk B
48 R B ) 0.05%/Second * e
Shortest Activate Time R
g Q
I 5MER-H/Overall Dimension : )
A O H
Navioce |ARIAS O/ : :
ron &
N3V1-06-3F N3V1-06B-3F . D)
14 : il
i 4-435 | 1
] TR TR O 49(@) ’ 3
' ! ‘ —r— e ' | T SO T
1 L : ® @ | : ‘ i i
: | & LA E ; | . Iimsmin| .
M A R E ) e L N 1 I JKER-ST®/Base Slze Sheet
: - . : : i ! G14" By :
‘ I : : : : U i @ |[¢& : HE G e
1 i ' i } i T T i 2 _::/7“]’?
é _ & :1__'—@ @ Q w-@-/u/ L Inside Diameter / Symbol
£ iL ‘ : T T ; ; 100M-LIF " 18.3 5 140 | (N-1)'19+38 | 155 | G1/4" 78.5
e N A RETI P 2 ; j 200M-LIF 61 | 51 | 21 43 224 23 6 170  (N-1)'23+46 189 G1/4" 43 | 32 (925 26 35
90 s 2 22 300M-[JF 75 65 26 45 | 27.3 | 27 6 189 | (N-1)"28+54 208 | G3/8" 53 48 99 30 40
400M-[JF 104 | 95 32 5.5 | 34.3 315 7 | 222 | (N-1)"35+63 | 243 G1/2" |68 67 112 | 38 50

017 018




2WZRF| BB H ]

f3nrFPc

I BE®EHFS/Graphic Symbol

A A
I L
] , ]
T T
P P

% M/Normal Close # FF/Normal Open

I iTH%3/Ordering Code

- -

MR mErLE BEOR MRS tRAERE mERS
EWH:(—L%E;SQ@( (E‘?J;tﬁ)ﬁrt ) Aperture of Joint Pipe Bore ~ Z=A: HHAR Standard Voltage Z= H:NBR
S PRI Flow Rate :1/8" D FFE : ais
25: RHM= fr=iBAAHA (HH) ety T NO; Borst BoieY VEVITOR(A R )
2SH: REFH = i =318 B RE I (B EE ZH5) R 08: 1/4 Initial Estate DC24V E: EPDM (%35 H)
Specifcation Code 020: 2.0mm 10: 3/8" Blank: Normal Close  AC24V  50/60Hz Oil Seal Code
2W: Two position two way solenoid 025: 2.5mm NO: Normal Open AC36V  50/60Hz Blank: NBR
valve(direct drive type) 040: 4.0mm ank:
2WH: Two position two way solenoid AC110V 50/60Hz V: VITON(for high-
valve(high pressure direct drive type) AC220V 50/60Hz temperature)

2S: Stainless steel two position two way s
olenoid valve(direct drive type)
2SH: Stainless steel two position two way

AC380V 50/60Hz E:EPDM (for steam)

solenoid valve(high pressure direct drive type)

I ##&/Specifcation

# S Model

I 1E 4 B/Working Medium

1£ 77 X /Operation

# K /Acting Type

it & FLEmm/Orifice Size(mm)
CV{H/CV Value

% & O 1%/Port Size G1
{3 B 37 (8 % 8 /O peration Fluid Viscosity
{# A £ H1/Operating Pressure FT5.

& KM £ 51/Max. Pressure Resistance
T {EiR E/Operating Temperature

& A B JE 3& Bl/Voltage Range

7 AR #1 FR/Material of Boby

38 £} #4 Ri/Material of Oil Seal

2W025-06 2W025-08 2W040-10 2WH012-06 2WHO012-08 2WHO020-10
28025-06 25025-08 25040-10 2SH012-06 2SH012-08 25H020-10
&

=45 . k. H. FEHT/Air, Water, Oil, Gas
H# R /DirectActing
% AZ / Normal Close Type ; % FFZ! / Normal Open Type

2.5 4 1:2 2
0.23 0.60 0.05 0.15
/8" G1/4" G3/8" G1/8" G1/4" G3/8"

20 CSTLELT (Below)
K. . T HT/Air, Water, Oil, Gas: 0~0.7Mpa =5 . K. i@, T HT/Air, Water, Qil, Gas: 0~2.0MPa
1.0MPa 3.5MPa
-5~-80°C(F X % # #45 [ 4 15 FJ5~150°C)/NBR for-5~80°C and VITON for -5~80°C
+10%
2W: #4[ Brass; 2S: A% Stainless Steel
NBR, EPDM s VITON /NBR, EPDM or VITON

2WZRF| BB H ]

f3nrFPc

I E#$HFS/Graphic Symbol

A A
I  E

—] Z—] VA
T -
P P

# Fl/Normal Close # FF/Normal Open

1T #31%5/Ordering Code

- ——

MAERE mEFLE BEOR MIAIRTS RAERE MEKS

2W: i iEEE (HHR ) Aperture of Joint Pipe Bore =A: AR Standard Voltage ZH: NBR

2S . RGN (L BB (& Flow Rate 10:3/8" NO: #FE DC12v V:VITON (&iRfA)
#H ) 160: 16mm 15: 1/2" Initial Estate DC24V Oil Seal Code
Specifcation Code 200:20mm 20: 3/4" Blank: Normal Close  AC24V  50Hz/60Hz Blank: NBR

2W:two position two way solenoid 2505 25mm 25: 1" NO:Normal Open AC36V  50HZ/60Hz V: VITON

valve(direct drive type) 350: 35mm ) " )

2S:stainless steel two position two  400: 40mm 83:1-1/4 AC110V 50H2/60Hz (for high-temperature)
way solenoid valve(direct drive 500: 50mm 40:1-1/2" AC220V 50Hz/60Hz

AC380V 50Hz/60Hz

type) 50: 2"
#14% /Specifcation

2W200-20 2W250-25 2W500-50

2W350-35 | 2W400-40
3 S Model

25160-10 ‘ 25160-15 25200-20 ‘ 25250-25 25350-35 ‘ 2S400-40 258500-50
T & B/Working Medium =5 . K. B, FEET/Air, Water, Oil, Gas
£ 51 77 ;/Operation B# R/ Direct Acting
# K /Acting Type #H#Z / Normal Close Type ; %7 / Normal Open Type
it 5 FL 12mm/Orifice Size(mm) 16 16 20 25 35 40 50
CV{&E/CV value 4.8 4.8 7.6 12 24 29 48
% & O 1%/Port Size G3/8" G1/2" G3/4" G1" G1-1/4" G1-1/2" G2

20 CSTELT (Below)
7k Water: 0 ~0.5MPa; =5 Air:0~0.7MPa; if Oil : 0 ~0.5MPa; F#f Gas:0~0.7MPa

fE SRR 55 8 /Operation Fluid Viscosity
& A £ $1/0perating Pressure

i K i £ 1/Max. Pressure Resistance 1.05MPa
T 18 E/Operating Temperature -5~80°C(% 24 % # 14 ;2 /£ £ 15 EI5~150°C)/NBR for-5~80°C and VITON for -5~80°C
& F B [ 5E Bl/Voltage Range +10%

2W: #4f Brass; 2S: A4 Stainless Steel
NBR, EPDM s VITON /NBR, EPDM or VITON

A AK#F R/Material of Boby
S8 E # Bi/Material of Oil Seal

Tk ELE R4S M ARIS 5 T /7 #54 / Please contact Factory for special voltage and Specifcation.

5k E R4S MARIE 5 77374 / Please contact Factory for special voltage and Specifcation.

I $MERF/Overall Dimension I M R-H/Overall Dimension I R-F3%/Dimension Sheet

2WHO012-06 2WH012-08 2WH020-10 e e i
T [E T ElRERRREER
j i . 2W160-10 | 1015 57 | 117 69 50 36 G3/8
_ *L.' = (—\ 4 2W160-15 | 1015 = 57 | 117 | 69 50 | 36 G1/2
E ; : ) | 9 : 2W200-20 | 107 | 57 | 1235 73 | 50 | 3 | G3/4
" L = 2W250-25 | 1115 | 735 1345 99 50 3 Gt
= : RN ﬁ 2 f 2W350-35 | 142 | 95 | 172 | 123 | 705 56 | G1-1/4
; 5 U1 a | ; : 2W400-40 = 142 | 95 172 | 123 | 705 5 | G1-1/2
@ L2 | a N . N 2W500-50 = 172 | 123 | 209 | 168 | 705 | 56 | G2

019 020




DLE%| B

I iTH%/Ordering Code

(UBTES

EEORE tREBRE
22: " {u il Joint Pipe Standard Voltage
23 "I =if Bore DC12v  DC24V
Position and Way NO. 06: 1/8" AC24V  50Hz/60Hz

22:Two-position Two-way ~ 08: 1/4”
23:Two-position Three— way

AC110V 50Hz/60Hz
AC220V 50Hz/60Hz
AC380V 50Hz/60Hz

I #1#&/Specifcation

I E®#FS/Graphic Symbol

A}

o

o+ H>

A S/Model DL22-06 \ DL22-08
T {E4v &/Working Medium =5, k. 7&5/Air, Water, Steam =5 | Air
ifit & FL12/Aperture of Flow Rate(mm) 1.6 24 32 4.0 16
CV{&/CV Value 0.1 0.21 0.33 043 0.1
& 01%/Port Size G1/8" G1/4" G1/8"
{i FIE /15E Bl/Working—pressure 0~1.5MPa 0~1.0MPa 0~0.7MPa 0~0.5MPa 0~0.9MPa
{if FREBJE 6 B/ Voltage Range +10%
i ##1 B/Material of Oil Seal NBRz={VITON / NBR or VITON
kR R4 BRI AR 5 [T /7 554 / Please contact Factory for special voltage and Specifcation.
-/ . -
I 5MERSH/Overall Dimension
©42.4
2-M5x0.8

DL22:75.5
DL23:95

/
535

1/8"553/4" ]

021

DL23-06 DL23-08

G1/4"

2LZ5FE LR GRS T0)

I iTH%3/Ordering Code

MARHG mEfLE
2L RB T (L T A B A Aperture of Flow Rate
170: 177mm

Specifcation Code
2L: Steaml type Two-position ~ 200: 22mm
Two-way Solenoid Valve 300: 30mm

500: 50mm

I ##%/Specifcation

A =/Model | 2L170-10 2L170-15 2L170-20 21.200-25 2L300-35 2L.300-40 2L.500-50

-

I BEEEFS/

Graphic Symbol
EEOR 00303 L
Joint Pipe Bore Standard Voltage ] 7
10:3/8" 35: 1-1/4" DC12v DC24V ;

15:1/2" 40:1-1/2" AC24V 50Hz/60Hz
20:3/4" 50:2" AC36V 50Hz/60Hz
25:1" AC110V 50Hz/60Hz
AC220V 50Hz/60Hz
AC380V 50Hz/60Hz

T{E4 R/Working Medium 5., 7K. FE5/AIr, Water, Steam

#EH/Motion Pattern £ 5 K /Guide Type

AR/ Type & ] E/Normal Close Type

it & FL1&/Aperture of Flow Rate(mm) 17 22 30

CV{E/CV Value 4.8 12 20

#4012 /Port Size G3/8" G1/2" G3/4" G1" G1'/4" G1'12"

1 7 444G 7% /Operation Fluid Viscosity
{i F JE /1/Working-pressure

Kt /1/Max. Pressure Resistance

T {EiRE/Operating Temperature Range
{i& F B E5EEl/Voltage Range

4444 Bi/Material of Body

£ #1 5i/Material of Oil Seal

I 5MEER-St/Overall Dimension

$70.5

20 CSTLL T (Below)
5. 7K. 7&A/Air,Water,Steam: 0.1~1.5MPa
1.5MPa
-5~+180°C
+10%
#if/Brass
PTFE

I R-F%/Dimension Sheet
B C

2L170-10 125 38 146
2L170-15 125 42 146
2L170-20 125 47 146
2L200-25 136 54 162
2L300-35 148 76 185
2L300-40 148 76 185
2L500-50 178 88 223

50
48
G2"

D

76 G3/8"
81 G1/2"
84 G3/4"
91.5 G1"

111 G1'/4"
1M1 G~

164 G2"

022



2V 5 {1 — B ER L

: ®
2V RF =i h NrePC

F 5MERSE/Overall Dimension

2V010-M4 2V025-06 2V025-08

50
63.8

I iT##3/Ordering Code = o i | ; 2oy (=

i oo L3 =8
" . . . 1D e [T
22 17 35
Kt
MAEHRE mEfLE BEORZ R E
2V T T B E EE Aperture of Flow Rate Joint Pipe Bore Standard Voltage el
Specifcation Code 025: 2.5mm 06: 1/8” 08:1/4" DC12V  DC24V :
2V: Two-position Two-way 130: 13mm 10:3/8"  15:1/2" AC24V  50Hz/60Hz 2-M4x0.7|
Solenoid Valve 250: 25mm 20:3/4" 25:1” AC110V 50Hz/60Hz b @Et
AC220V 50Hz/60Hz
AC380V 50Hz/60Hz Ki
=1 14 = -
I BE®EHS/Graphic Symbol 70
I P T
A 2V130-10
R o
/] /] i
i T 2V130-15 * T (T .
3 o-gaigr | ® i |
or2-G1/2" ; & -
T =}
I ##&/Specifcation He——c Ko = u I
: a :
# 5 /Model 2V010-M4 | 2V025-06 2V025-08 2V130-10 2V130-15 2V250-20 2V250-25 - A] @, B I N -
T/ & Working Medium 5. 7K. 3 / Air, Water,Oil RN - TG
H1EA X Motion Pattern # 77 /Direct Drive Type %5 3/Guide Type 49 1 720 =]
B Type % 1A /Normal Close Type
M2 FLIE mm Aperture of Flow Rate(mm) 1.0 25 13 25
CV{E CV Value 0.10 0.23 6.2 23
T " = . ) " 5 3 2V250-20
#EE 1% Port Size M4 X 0.7 G1/8 G1/4 G3/8 G1/2 G3/4 G1 p— T
1% 37 k%5 Operation Fluid Viscosity 20 CST (Below) 2V250-20 )
{EME 51 MPa Working Pressure 5. /K. 3# /Air,Water,Oil 0.05~0.7MPa E 5
2 XTitFE#H MPa Max. Pressure Resistance 1.2 1.6 1.0 2\V250-25 + P ||
T {8 ¢ Operating Temperature Range -10~+80C : ; o
{FH B ESEE Voltage Range +10% =2
{R3psE4y Protect Class 1P65 i
£ & Power Consumption AC:45VA DC:3W
44 Insulation FZU/F Class
A{R# R Material of Body 48504 ( 4848 2632 )/ Aluminum or Brass (Nickel coated) #4fA/Brass [ S . 0
JHEH# R Material of Oil Seal NBR=LVITON/NBR or VITON NBRVITON NBR or VITON ] o
R A2 FN#FTIE] Shortest Excitation Time 0.05 # /0.05 Second 528%‘2‘ 23 1'02 23 B

4 ke R R 45 R M4 IE 51 /#5748 / Please contact Factory for special voltage and Specifcation.

023 024




2P % B H ]

I iTM%53/Ordering Code

f3dnrFPc

I BEmEs/

Graphic Symbol
G HRED RETLE BEOZ gt IS PRAERE a
2P (U iEBELM (2BNE!)  Aperture of Joint Pipe ZA: HAH Standard Voltage E‘]EW
Specifcation Code Flow Rate Bore A: AR5 DC12V  DC24V P
025: 2.5mm 06: 1/8” Design Sequence NO. ~ AC24V  50Hz/60Hz

2P: Two-position
Two-way Solenoid Valve
(Reinforced plastic steel type)

I #1#&/Specifcation

# =/Model
TR Working Medium
ZH1EA X Motion Pattern

08: 1/4” AC110V 50Hz/60Hz

AC220V 50Hz/60Hz
AC380V 50Hz/60Hz

Blank:Normal
A:A Sequence

TS, k. i, EH/ Air, Water, Oil, Gas
H#h=/Direct Drive Type

25K Type & F1Z4/Normal Close Type
R EFL1Z mm Aperture of Flow Rate(mm) 25
CV{& CV Value 0.23
BEE O Pot Size G1/8" G1/4" G1/8"
{E R 5% E Operation Fluid Viscosity 20 CST 1L T (Below)
{E A E5 MPa Working Pressure 0~0.7MPa
& AKifit £71 MPa Max. Pressure Resistance -5-+80T
TI1EREC Operating Temperature Range +10%

T #2844 / Engineering Plastic
AC:7VA/50Hz, 9VA/50HZ ; DC:6W AC:5VA/50Hz ;
NBR, EPDME},VITON / NBR, EPDM or VITON

{EF B ESERH Voltage Range
#£H & Power Consumption
A4E#1 BT Material of Body

“$ PR E RSBk MARIE 51 77#A / Please contact Factory for special voltage and Specifcation.

I 5MER-H/Overall Dimension

T [T

1]

16

025

2V010-M4 2V025-06 2V025-08 2V130-10

G3/4"

DC:5.5W

2-M4X0.7

®

PUZRZ%IEEH ]

I iTH%3/Ordering Code I BERgsS/

2

[ Ed - - - Graphic Symbol
A
MAEED HEFR BEOR RAERE mERS
PU: = i — i FE B 1 220: EFHR Joint Pipe Bore Standard Voltage ZHA: NBR \@
Specifcation Code 225: %5 01:1/8" 08:1" DC12Vv E:EPDM P

PU: Two-position Motion Pattem 02: 1/4" 12:1-1/4" DC24V V:VITON

Two-way Solenoid 200:Direct drive type 03:3/8" 14:1-1/2" AC24V 50Hz/60Hz Oil Seal Code
Valve 225:Guid Type 04: 1/2" 20:2" AC110V 50Hz/60Hz Blank: NBR
06: 3/4" AC220V 50Hz/60Hz E: EPDM
AC380V 50Hz/60Hz V: VITON

I ##&/Specifcation

# S /Model PU220-01 PU220-02 PU220-03 PU220-04 ‘ PU220-06 PU220-08
TAEN B Working Medium =5, 7K. 3@ / Air,Water,Oil
ZH{EFH X Motion Pattern 220: & 3h3/Direct Drive Type / 225:5% S3/Guide Type

K Type %1 2/Normal Close Type
EFL%Z mm Aperture of Flow Rate(mm) 1.5 2.3 8 13 20 25
CV{& CV Value 0.10 0.18 1.00 4.00 8.60 11.00
EE O Port Size G1/8" G1/4" G3/8" G1/2" G3/4" G1"
1 ARk A5 FE Operation Fluid Viscosity 50 CST (Below)
{EFEH MPa Working Pressure Z=5., 7K. 3# JAir,Water,Oil 0~0.7MPa
= A E5 MPa Max. Pressure Resistance 15
T{EiREC Operating Temperature Range -5-+80C

45 kLR R4 TR ARIS 5 7 #554 / Please contact Factory for special voltage and Specifcation.

I 5MER=F/Overall Dimension

I R-sF%/Dimension Sheet

# 2/Model K% Bore A B
PU220-01 G3/8" 22 72
PU220-02 G1/4" 35 755 254
PU220-03 G3/8" 55 795
: : PU220-04 G1/2" 66.5 101
PU220-06 G3/4" 71 107
@ ; PU220-08 G1" 96 120
: Port “R” ——.—‘—._u_
¢ A

026




®

| ff ®
5404 2B R AR F: NrPC 2Q FBI=S A h NrPC

I iTM%3/Ordering Code

Eal

BEEOR ¥RAERJE / Standard Voltage
Model Joint Pipe Bore DC12V  DC24V

04:1/2" AC24V 50Hz/60Hz

06: 3/4" AC110V 50Hz/60Hz

08: 1" AC220V 50Hz/60Hz

AC380V 50Hz/60Hz

A
I

I E®#HS/Graphic Symbol [T =
—— " Ml TR/ Ordering Coda I E##S/Graphic Symbol

#I = /Model DL5404-04 DL5404-06 DL5404-08 - -
T4 BiMorking Medium =5, K. i@, EH/AIr, Water, Oil, Gas L
kA I Motion Pattern B %= / Direct Drive Type

T
A/ Type 1A /Normal Close Type *mgtﬁf’f . nEfLE ?ﬁg D_?é i
% @7L12/Aperture of Flow Rate(mm) 12 20 25 Ziec;;:;’i;f“ﬂ oo vl S o st P
KV{E/KV Value 2.0 50 10.0 2Q: two position two 350:35mm 40: 1 1/2"
#%0Z/oint Pipe Bore G1/2" G3/4" G1" N ArgRoiERy 500:50mm 50: 27
{8 A I 1 Working-pressure(kgficn?) &/k/Gas: 0.1 ~ 5MPa, ftk/Liguid: 0.1 ~ 5MPa S#/Gas: 0.1 ~ 4MPa, FfLiguid: 0.1 ~2.5MPa  S/k/Gas: 0.1 ~4MPa, FikLiguid: 0.1 ~ 2.5MPa l *m*g ISpecifcati on
& A £ /1/Max. Pressure Resistance(kgffcnt) 75 60
1 ;8 /& 358 /Operating Temperature Range('C) 5~+150C E5/Model DL-2Q350-40 DL-2Q500-50
5 F [ S5 Bl Voltage Range +10% TAEM F/Working Medium =K. 7k, i#@/Air, Water, Oil
1247245 Protect Class IP65 #{E75 2 /Motion Pattern Hz1 / Direct Drive Type
#8.5/Power Consumption AC55VA  DC:9W EFL#Z/Aperture of Flow Rate(mm) 22 35 50
#4514 /Insulation FZ%/F Class Cvili/Cv Value 12 24 48
K44 FiMaterial of Body #4F/Brass BN EE/doiiit Pipio Bore G1* G1 172" G2"
bt & faterial of Oil Seal BN Z % PTFE { A /v okt it B /Operation Fluid Viscosity 50 CST AT~ / Below 50 CST
FETkE E R M A&IE 5 77#7R / Please contact Factory for special voltage and Specifcation. %) MWorking Prassurs Rang paiiEa
Kt £ 71/Max. Pressure Resistance 1.05MPa
4 = - 24| £ /136 El/Control Pressure Range 0.3~0.6MPa
l ’HBR_‘]'/OVera" DlmenSIon ' y T {EiR E3E El/Operating Temperature Rang -5~100C
E i A& fi/Material of Body # [ /Brass
ZE#f fi/Material of Oil Seal RS ZH/PTFE
#2##% % O %2/Control Joint Pipe Bore 2-G1/8" 2-G1/4" 2-G1/4"

Tk R R4S B4R 1 5 /7 #554 / Please contact Factory for special voltage and Specifcation.

I 5MEER~H/Overall Dimension

I R-t3/Dimension Sheet

D ||| 2=
A 99 123 170
i i 9 D H 116 146 155
I R-5F3%*/Dimension Sheet y ; & . s s
= & |
72 /Model s®Bore(mm) L( P—— 2F D 95 116 114
DL5404-04 il E 1/8" 1/4" 1/4"
= F 1" 192> 2"
DL5404-06 20.0 G3/ 93.0 109.0 16 60 100 32
DL5404-08 25.0 G1" 995 119.0 18 70 115 40 A 5

027 028




VX RGPS E XV B FE AR

I iTM%3/Ordering Code

e g il

MR ED BEOR

Specifcation Code
06: 1/8"
08: 1/4"
10: 3/8"
15:1/2"

I ##&/Specifcation

345 /Model VX2120-06

T {E4r R/Working Medium

N1 =X/Motion Pattem

ARK/Type

{i A3 £ 1/Working—pressure

i B FL12/Aperture of Flow Rate(mm)

& O12/Port Size

1 FIRESE El/Operating Temperature Range
B EH#4 R/Material of Oil Seal

Joint Pipe Bore

G1/8"

I BE®HFS/Graphic Symbol

“HE ok IR R4S TR ARIE 5 7 #54 / Please contact Factory for special voltage and Specifcation.

I 5MER-St/Overall Dimension

S =

==

029

A

Z];fig Voltage \/\V[niljjj
DC12v DC24Vv P
AC24V 50Hz/60Hz
AC110V 50Hz/60Hz
AC220V 50Hz/60Hz
AC380V 50Hz/60Hz
VX2120-08 VX2120-10
K. 7k, #/Air, Water, Steam
E#h=/Direct Drive Type
# H1Z/Normal Close Type
0~1.0MPa
3 13
G1/4" G3/8" G1/2"
-5~+150C -5~+80C
VITON NBR

I R-t3®/Dimension Sheet

# S Model ‘ m RS PonSize‘ A B ‘ 0

VX2120-06 1/8 25 40 64
VX2120-08 174 25 40 64
VX2120-10 3/8 48 68 110
VX2130-15 1/2 48 68 110

DLKFZE%I| 37

1T %3/ Ordering Code

f3 nFPc

- - - -

BEEOR tREBE
22. _{_L_lﬁ Joint Pipe Bore Standard Voltage
23: "= 06: 1/8" DC12Vv  DC24V
Position and Way NO. 08: 1/4" AC24V 50Hz/60Hz

AC110V 50Hz/60Hz
AC220V 50Hz/60Hz
AC380V 50Hz/60Hz

22: Two-position Two-way
23: Two-position Three- way

FE %2 B / Valves Coils

LEFLE. BE: 023x55
SR ERBE:

AC 28VA 24-380V

DC 24W 24-380V

Coil aperture,Height: ® 23x55
Applicable power and Voltage:
AC 28VA 24-380V

DC 24W 24-380V

2W025&@/2W025 Coil

ZELE. BE: 014x31

LoV

ERhERBE:
. AC 14VA 24-380V
- DC 9W 6-380V

— Coil aperture,Height: ® 14x31
DC 9W 6-380V
LEFLE, BE: 013x43
ERAhERBIE:
AC 12VA 24V-220V
DC 11W 12V-220V
Coil aperture, Height: ® 13x43
DC 11W 12V-220V
Fh7k £k [El/Waterproof Coil
LEFLE, BE: 016x043
ERARERBE:
, AC 22VA 220-110V
DC 18W 24V
Coil aperture, Height: ® 16x43
Applicable power and Voltage:
AC 22VA 220-110V
DC 18W 24V
ERAERBE:
AC 8VA 12V-220V
DC 6W 6V-110V
Coil aperture, Height: ® 9x29.5
Applicable power and Voltage:

Applicable power and Voltage:
é\ A AC 14VA 24-380V
ME%@/Explosmn —proof Coil
Applicable power and Voltage:
AC 12VA 24V-220V
2P025%[&/2P025 Coil
LEFLE, BE: 09x295
AC 8VA 12V-220V
DC 6W 6V-110V

2W % 51| 2k [B|/2W Series Coil

Y ZELZ. BE: 016x37
ERAERBE:
AC 18VA 24-380V
DC 12W 24-380V
Coil aperture,Height: ® 16x37
Applicable power and Voltage:
AC 18VA 24-380V
DC 24W 12-380V

QX% %I 4 B/QX Series Coil

g ZEFLZ. SE: 0135x26

EAERABE:

AC 15VA 24V-380V
DC 12W 6V-220V
Coil aperture, Height: ®13.5x26
Applicable power and Voltage:
AC 15VA 24V-380V

DC 12w 6V-220V

VX% %I B/VX Series Coil

- ]

4V210 %514 [8l/4V210 Series Coil

T

LB FLE. BE: 011x35
ERhERBE:

AC 13VA 12-380V

DC 8W 6-380V

Coil aperture,Height: ®11x35
Applicable power and Voltage:
AC 13VA 12-380V

DC 8W 6-380V

ERhERBE:

AC 4.2~8.5VA

DC 3~ 8W

Coil aperture, Height: ® 16x38
Applicable power and Voltage:
AC 4.2~8.5VA

DC 3~ 8W

4V110Z7 %@/4V1 10 Series Coil Coil

’ ERNERAE:

AC 5VA 110-220V

DC 2.8W 12-24V

Applicable power and Voltage:
AC 5VA 110-220V

DC 2.8W 12-24V

030



®
Bxk4ERR, BTR B4R, ETR nFPc

I EAEZFT4#(HRi#ER)Standard Type

G
— | © S Ly .
J_AmnnnE . * AT
o 0000 = — o
L(f#% O)
M A [
I iTH%/Ordering Code — E HHHH —— - N @n j

I?ﬂ ? IP : e pumes

1A mEES PR FF 5 BRI i =X 23 /] H H

Nozzle Diameter With Switch With Adjustable Type l E fe ;ﬂ: iﬁ( Mﬂ.*ﬁﬁu&)swrt(:h and AdIUStabIe

05: 0.5mm = fER ZA: fER

10: 1.0mm C: M zh I % K: BRTiE =

15:1.5mm Blank: Standard type Blank: Standard type A

20:2.0mm C: With micro-switch K: With adjustable type M % = ;

I R
_ =M= DA =N -
I ##%/Specifcation 4 e _ -5
21 & Model DL-050 sl D L
{# Aift & Operating Fluid | =5 / Air 20 441 L|_\’
{# F3iR 36 @ Range of Operating Temperature | 0~60C
#43 Lubrication | ARE /No
{& A £ /156 B Working-pressure Range ‘ 0.1~1.6 (1.0~ 6.0kgf/cm?)
K E %2 Nozzle Diameter (mm) ®0.5 1.0 1.5 2.0 | )
5liA B S Max. Vacuum Value _ ~91.8kpa (-680mmHg) o i 0000 = _ - C \ _3_
&0 Joint Pipe Bore M5 1/8PT 1/4PT 3/4PT 0000 = ;
~J@E=EN)
NL—,—’ BT

I EZESHiAZE(MFF £ R HE) Vacuum Signal Confrmation Device(With Switch and Adjustable) B R-t%/Dimension Sheet

5 44

#7252 B Setting Range ~39.9(-300mmHg) -20.0~-53.2(-150~-400mmHg) DL-050(CK) = 50 32 16 11 12 A 19 20 | 45 2-04.2 Rpl/8 Rp1/8 215 14  Rp1/8
H 75784 ZE & Setting Value Before Operational (kpa) —-39.9(-300mmHg) -46.6(—350mmHg) DL-100(CK) 50 30 16 [ 1 12 19 20 45 | 2-04.2 Rp1/8 5 Rp1/8 m 215 14 Rp1/8
BfERE Acouracy , 458 =-A0miTHg) DL150 | 70 @ 38 26 13 | 15 23 25 | 5 | 2-045 Rpl/4 10 | Rpi/d 44 215 17 | Rpi/4
AW e +0-19-2150~10mmklg) DL-150(CK) =63 385 195 11 105 20 25 55 2-06 Rpl4 | 15 Rp3B 44 21 17 | RplR
28 #MH& Electrical Rating (When resistance is applied) AC125V:5A, AC250V:3A DL-200(CK) | 96 38 30 16 o0 | 33 | 3 65 > 06 | Rp3/8 [ 10 | Rp1/4 55 28 | 235 Rp1/2
2 ik 52 B Range of Operating Temperature 0~60C DL-250 100 60 40 20 16 20 50 55  2-06 Rp1/2 | 17  Rp38 71 40 28  Rp3/4

DL-300 118 60 40 20 20 33 50 55 2-06 Rp34 | 20  Rp1/2 | 71 | 40 30  Rp3/4

* RIS CKAMKRMIAZE £

031 032




FRHE

FIRIE h nFPc

T
<
<8

N4H210-08 N4H230C-08 N4H310-10 NAH410-15
I iT#%3/Ordering Code

TSV86522-M TSV86522-C TSV98322-M

I iTH#/Ordering Code

%A.’Fﬁ?(ﬁq IS /Series Code IEH #OO%F EARS i i i i i i
N4H: (=)L Hi# 2:200%7% Series 10: BN E Joint Pipe Bore FTA: SfRES
Spemfcatmn Code 3: 300% %1 Series 30: L =fUE 06:G1/8" L: = A BHE A& fEEL OzRs EARS MAEHK AT iy O#RS EARS
N4H: Two(Three)-position  4: 400% %1 Series Number of places 08: G1/4" Type Code FiR R (v 25 Bore Code  MAMBIER FiR Z=iE Bore Code M:ALHE BiE R
Five-way 10: Single-head Double-position 10: G3/8" Blank:Three-position Five— Specifcation Code Position and 1:G1/8" SESEMR Specifcation Code Position and 1:G1/8" SHEE AR
30: Single-head Three—position 15: G1/2" way Reset Type Hand-pull Valve Way NO. 2: G1/4" C:= A i fEE Hand-pull Valve Way NO. 2:G1/4" Type Code
L:‘I'Lhrekg—p(_)rsmon Five-way Two-position Type Code Two-position M:Machinery
u = ockin e :
l *ﬂmlspecrfcat“)n LB Five-way M:Machinery Locking Three-way Locking Type
Type S:Spring Reset
%) 2/Model | N4H210-06 | N4H210-08 | N4H230-08 | N4H310-08 | N4H310-10 | N4H330-10 S:Spring Reset Type Type
T /&4 &/ Working Medium [ 240K I8 # = 5 / 40 Micron Filtered Air C:Three-position
#h1EF = / Motion Pattern H#= /Direct Drive Five way Center
5% #E TR / Effective Sectional Area |14mmi(CV=0.78) 16mm?(CV=0.89) 12mm3(CV=0.67) 25mmi(CV=14) 30mm* CV=168) 18mmi(CV=1.00)50mm?(CV=2.79) 3 0mm?(CV=1.68) . . Close Down Type
i — | I #1#&/Specifcation
HE=HS |wepeoay |HES=HS #R=#5 G ey .
oy \ [ #5=H5=61/4 ol Supe . #5=15=G3/8
i [paasife | SEEER U SSCLGA H5=61/4" # S =88 H5=G1/2" e M M
0 O Portsize et OUtlel, et Qutlet=g /4 et Outit, | et Outlet, Inlet,Outlet=G3/8" Inlet, Outlet Exhaust Post=G1/4" 2 S Model NTSV86522 o SRR
Post=Gfgt | TaustPost=G1® po G | Post=G 1M EAmustpas=Cle T4 & Working Medium 2240umy M2 3E / 40Micron Filtered
EFE773E[E/ Working Pressure Range 0~0.8MPa Z1EFH X Motion Pattern » Az / Direct Drive Type
{EFEE/ESERE/ Operating Temperature Range 0~60T B @M Effective Sectional Area 18mm?*(CV=1.00)
#% 0% Joint Pipe Bore G1/4"
I 9b R_.rlovera" DImens.on a 1& A £ 156 @ Working Pressure Range 0~0.8MPa
) D i R 11 1& iR B SE [ Operating Temperature Range 0-~60°C
N4H Series law '
3-4P
I 5MER-SH/Overall Dimension
A B = - 35 28
“NTSVE6522. 7y f i
NTSV86522 . 1T PO
ERSIT o @:L { ; ;5“{-\_ ER
=y | v : | 2449 ”]
M22x1.5 AP = 2443 : @,__l
LI F R — 1 0 .
178725 Symbolmosel -n-n--—ll--n-nnn | o

NAH2A:08(06) 565 315 66.5 G1/8" G1/s" » w 101

N4H230-08(06)-L 76 565 315 22 95 65 665 18 20 36 21 35 21  GUS' GI8" 43 - 3 2
N4H230-08(06)-S(& B & fiz/Automatic Rebound) 95 755 315 22 95 65 855 18 20 36 21 35 21 G18" G1/8" 43 - E s

N4H310-10(08) 76 565 315 22 95 65 665 18 20 36 21 35 21  GI8' GIM4" 43 15 | E

N4H330-10(08)-L 76 565 315 22 95 65 665 18 20 36 21 35 21  GUS" GIM4" 43 15 [ &
N4H330-10(08)-S(E 3 fi/Automatic Rebound) 95 | 755 315 22 95 65 855 18 20 36 21 35 21 GUS' Gl4" 43 15 VS ol 5

N4H410-15 92 725 40 27 100 75 825 18 24 45 24 40 | 27  Gl4" GU4" 43 - m (\

N4H430-15-L 92 725 40 | 27 100 75 525 18 24 45 24 40 27  GI4" G¥8' 43 2 i \J) TR
N4H430-15-S(B B fr/Automatic Rebound) 126 102 555 34 100 75 114 18 28 63 36 50 35 GI2' GI2' 55 - ! i ! i

033 034




FAEHE FAEI

f3nrFPc

<agpler
'\-/ =
-b\"&}; .;"0 4 i v
"
N L Y
TSV-200 TSV-500 HV-402 K34R,-L8D K34R:-06

iTH%5/Ordering Code I E®HFS/Graphic Symbol

I iT#%/Ordering Code

w _ qm st prth IIP !?15] EP IF EP l? l%] [T]
PR PR ks
PR MAER G e gEOO& EERR ALK rE RS EOOZ E#ED
= Y Y ey A Y o . .
AR fﬁuﬁﬁ =B hEHS =B X —uE FH®E Series NO. Joint Pipe zH: &l FH® 24: — {7 IiE R FH 1@ Joint Pipe Base Joint
Specifcation Code SieSpao: iz o Specifcation Bore B: #HER Specifcation 34: ={i IUiE Type Code Bore
< 200:PT1/4 Three Position Three Position i : " ) ; i L6:G1/8"
TSV:F#3 - Middle Exhaust Middle Close Two Position Code 02: G1/4 Joint Pipe Type Code Position and R.:Hand- :
ﬁvzHa"d_sw'mhmg 400PT1/2 Hand-switching o 23/3:: Blank: Pipe Con- Hand- Way NO.  switching L8:G1/4
e 500:PT3/4 Valve DERLE nection Type switching 24:Two-position  y/ajye
B: Plate Connection Valve Four-way .
Tvbs 34:Three—position
» Four-way

I #1#&/Specifcation

TSV-400

I ##%/Specifcation

TSv-200 T5v-00 \
% 02/ 2 Joint Pipe Code 6A 8A 8A 10A 15A 8A 10A 15A 20A el Geilsae i Laond fiokes b e
{7k Operating Fluid v T k4 iR Working Medium 40 Micron Filtered Air
{8/ E /1758 Working-pressure Range | 0~ 10Kgflom BRI Eftective Sectional Atea , A0eme ey +1.5% 1Gmaiicy+1.00)

INGE R E Environment Temperature ‘ -5-~60°C B RO CL L . == evE ) e
%018 Way NO. i 4 {# F & /156 Working-pressure Range 0~0.8MPa
#0 A% Joint Pipe Bore . PTIB PT1/4 PT1/4 PT3/8 PT1/2 PT1/4 PT3/8 PT1/2 PT3/4 1 F5i BE5E [ Operating Temperature Range 0~60C

I $MER-St/Overall Dimension

4PTIM
4-PT3B
4PTIR2

4-PT3/4
| APTIAS

74

17
£

4-06.5

035

*ARAREFEHEME X ARRREHNEERTHN TR,

* Company can offer Hand-switching Valve with soft rubber seals and hard pottery seals as the seal structure form.

I M R-H/Overall Dimension

03:63/8"
0aiG1/2"

4- ¢ 8(Depth)12 4-65.5

=02 o gl & = L O .9
4PT14 © = & &N ol <
4PT3B = <lo 0 <
APTI2 R|&| -f &l --=2
( O_( i
o &
& </ 60
74

:G1/4 20
04:G1/. 101

036




FHIME

N3R110-06 N3R210-08 N3R310-10

N4R210-08

N4R310-10

N4R110-06
A -
I iT#%8/Ordering Code
MAEHES RIS EH #OO%
N4R: Z{L Fifi FHi i 200% %! 10: BN E Joint Pipe Bore
N3R: Z{L =il FHi g 300%7%! Number of places 06:G1/8"

Specifcation Code Series Code 10: Single-head Double-position 08: G1/4"
N4R:Two-position Five-way Hand-draw Valve 200 Series 10: G3/8"
N3R: Two-position Three-way Hand-draw Valve 300 Series

I ##&/Specifcation

A S/Model N4R110-06 | N4R210-06 | N4R210-08 | N3R210-06 | N3R210-08 | N4AR310-08 | N4R310-10 | N3R310-08 | N3R310-10
TAE 4B/ Working Medium £240f§ K 13 JE 892 < 1 40 Micron Filtered Air

#1E 77 I Motion Pattern
A #EmAN / Effective Sectional Area

) ) BE R /Direct Drive Type
10mm?(CV=0.56) | 14mmf(CV=0.78)  16mmi{ CV=0.89) | 14mm3(CV=0.78)| 1 6mm*(CV=0.89)| 25mm’(CV=140) | 30mm?(CV=1.68)| 25mnt(CV=140) 30 CV=168)

gagsoy BAHSs ES-#S- AS-HS- R5ES BS-HS- #S-USs
H5-61/8" HSK=G1/8" #HK=G1/4" #5=61/4 :(LSIB . HK=G1/4" #H5=G3/8
Irlet Outlet=G1 4" Inlet,Outlet,  Inlet,Outlet, Inlet,Outlet,  #5=G1/4 Inlet,Outlet, Inlet,Outlet,
ExhéuﬁPost=G1IB" Exhaust Exhaust Exhaust Inlet Outlet=G3/8"  Exhaust Exhaust Post
Post=G1/8" Post=G1/4" Post=G1/4"  Exhaust Post=G1/4' Post=G1/4" =G3/8"

#S=HS=#5=G1/8"
Inlet,Outlet,Exhaust
Post=G1/8"

#0012/ Port size

fEME/15EE /Working-Pressure Range 0~0.8MPa
{& FiRE SEE /Operating Temperature Range 0~60C
i@ %/ Position Number T FiE 5/2 Way Z =38 3/2 Way

Z{IRi# 5/2 Way ZfI =18 3/2 Way

I 5MER-H/Overall Dimension

$22 $22
i : )
i i a
i M14x1 ; M14x1 i
- | goca | )
w w0 Y
& : 2-G1/8 o :
: ALl i 3.G1/4" :
o @ 3-043 : % :
y B Y N \F
© i alb L
© ‘T ; C} 0 §>
o ; o
o @ & - I © -
U o H o
2 | K.;;, /@9’
o - Nii & N
y : !
[l I = =i =i
24 B
3

35 35

037

il

I iTH%5/Ordering Code

T

f3nrFPc

3

4FM210-08

I E®#HFS/Graphic Symbol

AHi/Without lock

AR R3S BY ZOOZ  RBRARES G
4FM:Z (L 19iE Series NO. 10 : B E Joint Pipe  ZFA: AR &

PR B 8 2:200%%1  Number of Places Bore L. BBy

Specifcation Code 10: Single-head 06: PT1/8 Type Code PR
4FM: Two—-position Four-way Double-position 08: PT1/4 Blank:standard type

Mini Foot Valve L: with lock

I #148/Specifcation

Bt $9i/with lock

MY

A B

T1EN R Working Medium

i1 21 Position and Way Number

#%% 0% Joint Pipe Bore

ez 77 Acting Type

A EA5EE Working Pressure Range

{# iR B St @ Operating Temperature Range
1878 Lubricate '

I 5MER-H/Overall Dimension

129 vil

=K/ Air

Z{zM93& Two-position Four-way
i# 5= S=PT1/8" Air Inlet=Air Outlet=PT1/8"

Az R / Direct Drive-Type
0~ 0.8Kgf/cm®
-5-~60°C
AEZE /NotNecessary

06:3-G1/8"
H 08:3-G1/4"

61.5

26.5

K=t K=PT1/4" AirInlet=Air Outlet=G1/4"

JEN oe3-Gise

o

[ Gl H 083G




il

4F210-08

4F210-08L

I iT#%/Ordering Code

I

RS R3S RIE#
AF: (L FIE D B R Series NO. 10: BN E
Specifcation Code 2: 200% 5 Number of Places

10: Single-head
Double-position

4F: Two-position Five—
way Foot Valve

I ##&/Specifcation

# 5 Model
T £ R Working Medium

{iLi# %) Position and Way Number

# & 042 Joint Pipe Bore

{Ezh 77X Acting Type
£ BJIE ©15E @ Working Pressure Range
{ AR E @ Operating Temperature Range

039

4F210-08

4FM210-08L

®O0O%
Joint Pipe
Bore

08: G1/4"

4F210-08L

EARS

ZH: ER

L: PREHEY

G: PR

LG: B§HiR SEE)

Type Code
Blank:standard type

L: with lock

G: with cover

LG: with lock and cover

4F210-08G | 4F210-08LG
| (£40umiE [T &) / Air (40Micron Filtered)

Z{IFHi# Two-position Five-way

HE=tHK]=HS=G1/4"
AirInlet=Air Outlet=Exhaust=G 1/4"

Bz R / Direct Drive-Type

0~0.8MPa
0~60°C

AR
D B 1
Specification
Code

Foot Valve

FV420

ZmiE

FV420

AEE

320" fu=i@
420= i M iE
Position and

Way NO.

320: Two-position
Three-way

420: Two-position
Four-way

=@

Two-position Four-way | Two-position Three-way

#HE=HE=G1/4" H==G1/8"
Air Inlet=Air Outlet=G1/4' Exhaust=G1/8'

FV320

rillieies

I 5MERSE/Overall Dimension

- 79
—é—
+ ZZE NN N
3 NN

3-G1/4"

86

i [l : 1
g T —
- =, B8 = G

¥ 100

3 |
=l

30.4
36.5
21

180

4F210-08G

AN

RPS

87
e

41,
1.8

133

4F210-08LG

133
—

86

f3nrFPc

4F210-08L

180

RPS

3-G1/4"

38.5

87

| -

=
@\
g 3| k
I @7,
L 120 LG8
| —
A ©
NIA = @
P R =<1 |*
120 ._GlE"

36.5

21

o I LS
3 (] i
—
: 245
: 200
' 3l 170 |
N NN \ 77 1 -

=

Kt
&
L[]
-/
[ouTt] [out]
H

Kt
< P
“\{’\EJ
& @)
N] [out]
1|
/614"

040




| ® ®
VpE— f3dnFrc V2 A f3dnFrc

“’i; =

) :Z e | 74(3P osition:102) !Ln
VF 3130(H4k) VF 5120(51$§) VF 3130 VF 5220 . o E—

I SMER-H/Overall Dimension

VF3130 2.G1/8"(R1R2Port) VF3230 201 R R2P o)

aHE | [T , mo e el L E :
Heilo 808 i

125

345
31.5
=
Fon]
58
67
31.5
=
4
$20
345

2-44.3Hole
120 12

178(3P osition: 206)
B4(3P osition:112)

SN DR ENE

I iTH#/Ordering Code

Wanual
14 3Hole Il“.l

23 3-G1/4"(P,A,B.Port) Wu

~

Manual
3-G1/4"(P,AB,Port)

RIIRE LERALE IS IRERIE E£35 317

VF3% %l 1B E Order NO. Standard Voltage =Ry e VE5120 VF5220
VF5%7% 2L WL B VF3: 30 DC12vDC24V LD:F@H LT FR S:CI/BARABRI 2P0 5-G3/8"(P AB.R1.R2Port)
Series Code WL = EH AR VF5: 20 AC24V  50Hz/60Hz LD1:ABHIHFR i 1= EF okl s O
VF3 Series ST SL =4 = . 3] . (}(\)((/\‘ e | S |1 e @ -?'\'©\ --------
i 4L S EHS R VZ5: 20 AC110V 50Hz/60Hz W:3| &t AR\ DO
VF5 Series 595k = { BIE AR AC220V 50Hz/60Hz Wiring Form ! 5 L 2
Coil and Places AC380V 50Hz/60Hz Blank:standard Connector - o
1:Single-head Double-position LD:Brown with Lighting Connector £ _—_—m
2:Double~head Double—position LD1:White with Lighting Connector — — #
3C:Double-head Three-position Close Type W: Lead Wire Type i b — IS Mmril L ﬁ b8l ‘ B T P T
4:Double-head Three-position Exhaust Type fiftiese e & ” ----- 2 gI # b § )
. I ; : - -0 | i
5:Double-head Three-position Pressure Type 7N G- i -2 1 ° g
N L 27 | \osasnoe o = sl
51 12 E
+ 206(3Position:230)
4= a 112(3Position:142)
. . : ot o . B P v —
I ##&/Specifcation Ao} et AT
32 qﬂ MY
Manual
1 1 Manual
& S Model ] VF3130 | VF3230 ‘ VF33(4/5)30 VF5120 | VF5220 VF53(4/5)50 VZ5120 | VZ5220 VZ53(4/5)50 2nue
5 o o - it 2 | Z{RiE LA E “fRE k2 | ZHIE
{i B &L Position and Way NO. Two-position Five—way  Two-position Five-way  Two-position Five-way Two-position Five-way| Two-position Five—way Three-position Five-way
B % # E R Effective Sectional Area.  16mm*(CV=0.89) 12mm*(CV=0.67) 25mm*(CV=1.40) 18mm*(CV=1.00) 12mm?(CV=0.67) 9mm‘(CV=0.50)
T {9 ik Working Medium FE (£40umiEMidiE) / Air (40Micron Filtered)
1Eh 77 K Acting Type REB LS / Inner Guide Type
3 Aoty Wi P VZ5120 VZ5220 “
& A J£ 71 Working Pressure 0.15~0.8MPa T 5.G1/8'(P,AB.R1R2Port)
& K} £ 71 Max. Pressure Resisance 1.2MPa 3 b 5,; rd ; = @
T {Ei& B Working Temperature 5.50°C O = R LR S5 o e :
M [£35 [ Voltage Range +10% I L_N i
#E B & Power Consumption AC: 4.5VA DC: 3W 104
#5157 #P % 4 Insulation & Protection Class F#Z.1P65/F Class. IP 65 A —
HE 4  3X Wiring Form He K= i% F=X / Lead wire or Connector type 3s /
% B 50 1E 57 # Max. Frequency 0.05%) /0.05 Second 1 s PrIS]
5 55 i) BE BT 18] Shortest Activate Time #SF AR/ 5 Limes/Sec IR I — i i =" = S I R 1] I = &
102
. 146(3P osition:157) )
. 74(3P osition: 86)
®) =
S KIED
17 4 3
35 Manual
Manual

041 042




f ®
KVF, VZ RFIEaHiE h nNFPC R

I iTH%3/Ordering Code

T

Mg EEHE
VF3000M: VF3Z %1 A VF3000M:AF =4
VF5000M: VF5 % 51 i VF5000M:{F 24
VZ5000M: VZ5 & 51 F VZ5000M:F =]

Series Code Joint Base Number

VF3000M:For VF3 Series Use VF3000M:Wantonly Joint
VF5000M:For VF5 Series Use VF5000M:Wantonly Joint -
VZ5000M:For VZ5 Series Use VZ5000M:Wantonly Joint MSV86522-PPL MSV86522-TB MSV86522-LB MSV86522-PB MSV86522-PP MSV86522-EB MSV86522-R

I 5MER-St/Overall Dimension
I iTH%3/Ordering Code

3-¢ 10 Hole e
6-G1/4" Port 2n-M4-7H(Deep)3 3n-¢7 P”on
Deep 12 both ends noodleses /=7 ii 4-$5.5Hole
@ ¥ . e \9@ @ ”-@' =
L. -1 S . Q4 IR 1T 5D RIS {03 8% #OOE 4530 / Button Type
CYF 0% Ve OB Pe < e .
VF3000M b- T e | =ty M SR R =4 Joint Pipe Bore G BAE/ Blank: Basic Type
Al 4 i € €D - I 1 — Specilcation Code AR s2: Al 1: G1/8* R. RS / Roller Type
i : : —l Mechanical Valve Series Code Position and Way NO 2 Gra” TB. BRI/ Selective Knod
2 IE :s L ;g I 86 Series 32:Two-postion Three-way LB: Ja4 B/ 14E / Stongthened Knob
-1 2 T 275 27.5 27.5 T 28 98 Series 52:Two-possion Five-way PB: XM& @42 / Large Round Button
27.5n+28.5 PP. SR BT / Pat Round Bution

PPL.{y MIS {3 / Corwex Round Button
EB: WIRRI 42 / With Lock Button

I #1#&/Specifcation

& ¥ Model MSV86321 MSV86522 MSV98322
3612 H 2n-M4-7H (Deep )3 g . -
. alg 3n-412.5 Port I 4- $5.5Hole T £ 4+ B Working Medium 24 ($2340umiB BT 38) / Air (40Micron Filtered)
8-G3/8" Port — th : ——y = - e~
Deep 12 both ends noodleses - / I £ i ¥ Position and Way Number Z{& = i Two-position Three-way Z & & @ Two-position Five-way Z{ = @ Two-position Three~way
& ;() L O i €3] 7 & 7178 W Prossuro Range 0-0.8MPa 0-0.8MPa 0-0.8MPa
" o \CZ O Q @ O I @ ol B RGN Tomperature Range 0-60°C
VF5000M 1 @ - B O i A o (R #9042 Joint Pipe Bore 12mm’'(CV=0.67) 16mm’(CV=0.89) 16mm*(CV=0.89)
' © : : ol o #5 % M R Effective Sectional A 8- .- E
@{; »‘DQ; @0 Q@ @O tlective Sectional Area G1/8 G1/4 G1/4
11
13 g5 L on 2] [ob
15t 30 33 33 33 30
31 33n+27
66 1/4" Port S 10 foe 3 07 Port 2LMATHDeep) -5 5Hole

Deep 12 both ends noodleses ok 1

VZ5000M - Db D o Do %

o) 6 Vol s
N\ I
T4 1o (2 .12 Led
2 12 -
20 19 19 19 19 20
19n+28

043 044




i h nNFERPC e h NFEPC ®

I %MER=F/Overall Dimension I iTM%3/Ordering Code
s
MSV86522 i
] AR 4Rt / Button Type
; T 05: $EIEFHE4H / Selective Knob
_ _ Specifcation Code 06: E#Hi1Z3%2 40 | With Lock Button

MSV98322 MSV86321

i t i Stop-type Machinery 06A: R A3%4H / Plat Round Button
2-G1/8 i i - JM-05 JM-06 JM-06A JM-07 Valve 07: S48 / Roller Type
: 5 L 12-94.3 . .
S ; i3 I ##&/Specifcation
1 - G 3 - :
s | £ 8 1 ﬂ LT BT | SMERSH/Overall Dimension
y T o P’G% T 4% F/Working Me dium 24035378 40 2 /40 Micron Filtered Air i
or G1/4 - L : [
@ i : {iLi% %5/Position and Way NO. 0~0.8MPa —
I = I Ko #% 010 Z/Port Size Gl
% rA —f=® i@
35 26 & i & 71 5E E/Working-pressure Range Two-position ThF(Lee»way,TwBL-position Two-way
& iR E SE El/Operating Temperature 0~60C i <

!
D &
I R-t%/Dimension Sheet @1 RE .
. == 2 odel |05 Can a

: A 114 111 96 845 5 295
: i B i ]
m B 36.5 39.5 39.5 425 L—J

SERGSRS

2-93/

%,

.
3-G1/8" | #= L]

@ 2-043 11 26 2-G1/8"L£ . E B
oG £ zeadll 2 ] A ol

=3 i: 2L a5 )
3l5 flams H H L
Pi_Aa P PH_AA
I R-t%*/Dimension Sheet R R "

#5) TN ' ‘ S3L-06 S3R-06 S3HL-06 S3PP-06
il I ™ e | e | R

2
21
@
76
N
é
25.5
34.5
—
I3
&
o4
Jijo
-~
G
q
Y
o
3.
o
/p}
<
3
o
=

16

~

~ U

ol
il 5 [ 2
\ 10
>

A 114 119 133 136.5 134 131 107.5
WSiem B 39.5 245 26.5 36.5 39.5 375 42.5 > 1
: : . : >« I iTH%3/Ordering Code
A 106 111 125 129.5 126 123 99.5
MSV98322 1 1 T
B 39.5 245 26.5 36.5 39.5 37.5 425 _ _
A 66 71 85 88.5 86 83 59.5
MSvaEa21 B 395 245 26.5 %5 | 395 | 875 | 425
: ' : : : : ' SRS LR HEOR wgE FRIRE
Specifcation Code Specifcation Code Joint Pipe Bore Connecting Type Standard Voltage
S3: SM=MO—f B: EZAE iR B: the basic mechanical valve 05:M5 EREE EHME BEOR | FRRSE
S3:S Type 3/2 C: KiHBEFHHRA C: the type long handle manual valve 06:PT1/8 pLA R4 M5 IS
m PPL m : D: EIHEFHHR D: short shank type manual valve BT R:f; = s B PTF
Y: BERFHA Y: manual valve rocker arm type & PPAJ/PFHI AL T-NPTZF
R: SERATAFRIYL R R: roller lever type mechanical valve PME)/HS e 3=) 1/4 GGF
L: e Ri 42 M@ L one-way rollerlever type mechanical valve BERA
, V. EERSBE V:the vertical type roller mechanical valve HEHRE RS
| PLASSE e kiR 4B F 5|  PL: stop rotation button type manual valve
R (= PP iR$AR FEHIR PP:convex head type button manual valve
I PFELIH B FHHR PF: flat button type manual valve
© & PM:E 85 LIS R F 5 iR PM: mushroom head type button manual valve
%EDJ?J HS:%FRF R HS: wide choices of manual valve
{

045 046




U

I ¥{E/Features

1. S3B. S3R. S3L. S3VZAJIik 6 FTE 4N 1 SN ERHLA IR,

AR T BERNSTEFX;

S3PF, S3PM. S3PP, S3PL. S3Y. S3HS. S3C. S3D%

JAFIRE, SWHEMMRENGR, HEFREEHTER;

3, MK, ZHMEF, RERE, TEMEEHE;

4, ZUBERE, REEHAE;

5. S3C. S3D. S3Y. S3R. SALAIIEHXALEME,
B, BEARERE,

I ##&/Specifcation

N
’

7

Sav_| S3R_|_S3L_| S3Y

T{EA R Working Medium
1Ezh 75 /Acting Type
#EO%/PortSize

f3dnrFPc

-

.S3B, S3R, S3L, S3V series reversing the external force is provided by external
agencies,Can be used for position detection or travel switch;

2.S3PF,S3PM, S3PP, S3PL, S3Y, S3HS, manipulated, S3D departmentAs a manual

operation, a variety of structure shape control neck, convenient use under different
conditions;

cut-off structure, good sealing, reversing flexible, without lubrication;

.ormore location to install, easy to install and use;

. Manipulated, S3D, S3Y, S3R and S3L series control head for metal, life Fear and
more reliable stability.

o ow

S3PM
K (405K L _E 78 M 5T JE)/Air(40 Micron Filtered Air)
SRz #IE 3 /External direct lift control
05:M5; 06:PT1/8; 08:PT1/4

B H AR/ Effective Sectional Area 05:2.5mm? (Cv=0.14); 06:8.0mm’ (Cv=0.45); 08:12.0mm* (Cv=0.67)

{i i #/Position and Way NO.
@8 /Lubricate 2

i 3 I /136 B/ Working Pressure Range
{R3IEM E F1/Ensured Pressure Resistance ‘
T 1R E/Working Temperature‘
A4k #f fi/Meterial of Boby

i e
AFEE/Not Necessary
0~0.8MPa(0~114psi)

1.5MPa(215psi)

-20~70
£3 & £/Aluminum alloy

VREFEENPT, GIFAI{#£i%#F; To take over the selection of tooth tooth type with NPT, G;
2 MEMAEGRE, PRAAZIE, 2iGFHEAHISO VG328 [[F 4 f il If there are any lubrication, not stop halfway, suggest lubricating oil for ISO VG32 or oil at the same level.

I #%=E/Flow diagram

- A 5. S3B-05 g A S . S3B-06 A 5. S3B-08
B — K 0.8—]
0.7 E— 07—+ 0.7 —
© 0.6 ——— s 06— S 06—
2 05 ) o =R : S 05 B
0.4 —— \ 0.4 0.4
& 0.3 E
e 1V R ALY iy )
o2 N by 9 V1] 0.2 (I
e i . 1 £ \ | B A
8O 9:: 50 100 150 200 250 300 # gx 150 (}00 450 600 750 900 & 0 200 400 600 800 1000 1200

mE (L/mln)

I AEp4 3B /Internal structure

S3PME!

Fel  am  |Fs] &R

1 Ak 11| EEEk
2 K= 12 BH LS
3 L 13| HEER
4 i 14 kR8BS
5 | +FEsRe 15| HABREK
6 BEEM |16 RABRTR
T M 12l ORIEH
8 | RE®E |18 | %
9 B 19 | 36 5
10 LR 20 ORVER
iy 3
I wER5{#HH/Internal structure
AEEE AN H R E E 7
B R

047

W (L/min)

P m{TiE/ At o

bk (L/mln)

CECE TR v BHGR
S3B 2.4~4.0 =
S3PF 2.4~40 | 3.8~54
S3PP » 2.4~4.0 » 3.8~54
S3PM 2.4~4.0 . 3.8~54
S3PL 2.4~4.0 v 5.9~75
S3HS | 2.4~4.0 v 5.1~6.7
) 35 54T 2 RR(FM)TR
S3R » 24~34 » 55~7.8
S3L 2.4~3 4 » 6.0~8.6
Sav 24~3.8 3.4~4.8
sac 2.4~3.8 14.4~18.4
S3D [ 2.4~3.8 | 7.4~94

EEFEW

DIEHEAMEA TREN, AAFAIAFIRE, RUEASREERER DR,

2)S3B. S3C. S3D. S3PM, S3PF, S3PPF#EAFFE(L, S3Y. S3HS, SSPLFFHEAFEHE
fir, HASIPLIMNENMSG, MkiEkAAREEN.

)M @ITHE, EMINNERIRE R, HikETRAAREDTEHTRERNENREITIEER, &
) 2238 AL I R 3R

4)S3LE ERLBMIAF LA @EERTRBERLTES. S—IHEXERHREER),

SRR kAR T RIMITH, REERAXSRAR,

1) the control part ofthe material is engineering plastics, only allow manual operated by hand.
Use metallicto switch valve is prohibited.

2) S3B, manipulated, S3D, S3PM, S3PF, S3PP manual valve as amanualreset. S3Y, S3HS, S3PL

manual Valve as a manual reset. Afterthe S3PL YaRu positioning, must turn to rotate buttonto reset.

3) pay attention tothe reversing schedule, any external force make the reversing valve, control
its reversing schedule cannot exceed schedule of reversing Cheng scope, otherwise it will
cause the bodyis damaged.

4) S3L roller one-way valve can make only a single direction valve switch (impact from rightto left).
Inthe other direction is invalid impact (from left to right).

5) control head combination can separate order, finalized methods with reference to the right table.

iR

f3nrFPc

I 5pER#R#E/Internal structure

2 3 @3
1- w@’@f

C KiHE

£ S Model

- TG Mt TR & ST o
* M3C210-P13A M3C210KFAE M3D210-P13A M3D210E WA A M3Y210-P13A M3Y210EBHEE
=R~ M S3C05, S3C06, S3C08 S3D05. S3D06, S3D08 S3Y05, S3Y06. S3Y08
,«_:HJ_._{_A___\_*@
L T /'—
o _,_? (@ o~
N
& AN — 0.5 : <
HBRY Tl 2 213.4J i H- o ) b 5
30.5 =i P T =
80.7 w w
: 33.56
7 2 Model | RBHATH A L [ R AT AT B VEHRBE
P T M ST R TS R
* M3R210-P14A  M3R210EHITHEMAE  M3L210-P14A M3LR210H [aF #ATAFEI A4 S3V05(06,08)-P14 S3V05(06,08)-P14EHFARAS
ER” R S3R05. S3R06, S3R08 S3L05, S3L06, S3L08 S3V05, S3V06, S3V08
2-03.383,
©6.0 I3,
q Ez ©)1]
- 18.5,
SNEBR < N A oy
m[ 0o #s n
=yl e o @ 13.4~48 I lﬂ
o %?§“ o 05% |26 16.5
00|
a0 & 06% 30 16.5
08%) 34 17.5
PP /N SLiE 1R PME 35 % iR 2 PL 8 B SR 15
TN Mm% T A8 R T8 1
THAR S3PP05-P11A S3PPOLEHAR(GZRR) S3PM0O5-P11A S3IPMORHAE (BRE) S3PL05-P12A S3PLIZ eI (O &)
* S3PP05-P12A  S3PPLkR$IAA(AE)  S3PMO5-P12A  S3PMARHIZAA(AR)
S3PP05-P13A S3PPOLZHAARER) S3PM05-P13A S3IPMOAHAR(ER)
ERA & S3PP05. S3PP06. S3PP0O8 S3PMO05, S3PM06., S3PM08 S3PL05, S3PL06., S3PLO8
36
MR o @
i \J 4
B 2 o : e B 2 ]
Mody | PP Fskizasm SNERR < Modo | PP AR
T Mm% . T 1 .
{TH  S3PFO5-P11A S3PFRAZHAMAA(GE) 36 “T 3 Tl S3HS05-P11A SSHSHEHAR (RE) 36 s

X | S3PF05-P12A S3PFELIZHAAE(AE)
S3PF05-P13A S3PFELIR{IAA(2E) &

.LEFE S3PF05, S3PF06, S3PFO08
Vil

&

B/ | |
R
M5 16 | 26 15 30 36 M5x0.8 | 165 9 13 M5x0.8

06 | 23 30 205 41 47 M5x08 165 115 175  PT1/8
08 | 24 | 34 225 46 52 M5x08 175 12 | 21 PT1/4

D &R E

Y FEARE

AR S3HS05-P12A S3HSHHAA (AR J
R [s AAR( )o 1

S3HS05-P13A S3HSHEfHA G (RE) &“

& S3HS05. S3HS06. S3HS08
AR

048



U

f3nrFPc

173

MOV-02

Bs

Type

047

1T %5/Ordering Code

MOV-03A MOV-03
ESaibi e ZA: AERX

013 BT $A A: BESHR
02:iR#E Blank:Standard Type
osﬁijﬁi}‘ﬁéﬂ A: Spring Returiype
O3A:F [E 2% A

Button Type
01:Selective Knob
02:Roller Type

03:With Lock Button
03A:Plat Round Button

4p 2 Rt /Overall Dimension

36

42

25

83

$39.4

4
P 15
.
‘éi’
4 i
27:3

8
»
N
IS
D
253

2-$4.2

88

2-94.2

MOV-01

I ##%/Specifcation

{& A & Operating Fluid

fir 18 2

Position and Way Number

# & 042 Joint Pipe Bore

& AE e E

Working Pressure Range

& AR ESEHE

Operating Temperature Range

14

=5/ Air

Z{I=i# Two-position Three-way

G1/8"
0~0.8MPa

0~70°C

@
16 22
2-G1/8" 45.1 2-04.2
37
34
MOV-03A f=r= §

,,,[ 36 q
% \% 2-024f% T @ m

72

2-G1/8" 22

451

iR

DL230612

I iTH%/Ordering Code

DL series

MRS

Model

3V: Z{I =il

4V: “{rH#
3V:Two-position Three-way
4V:Two-position Five-way

301-V

HB A EEOR

Model Joint Pipe Bore

23: “fr=if 04:G1/8"

25: “{IFHiA 06: G1/4"

23:Two-position Three-way

25:Two-position Five-way

BEOR MR

Joint Pipe Bore Model

M: M5 301: Z{I=if

1. G1/8" 401: Z{IFE
301:Two-position Three-way
401:Two-position Five-way

I E#®4%S/Graphic Symbol

250612

SN

230612

&=

MTV-4

RAEBE

Standard Voltage
DC12v

DC24V

AC24V 50Hz/60Hz
AC110V 50Hz/60Hz
AC220V 50Hz/60Hz
AC380V 50Hz/60Hz

S b
Button Type
V: HiEFFk
P: 2R

R: B
V:Middle Switch
P:Button Type
R:Roller Type

401

EEOR

Joint Pipe Bore

1: G1/8"

M: M5

301

048




, ® ®
151 RFIFBHE h NrePC 15155 FaRiE h nrPC

151 152

|
] : C + ﬂ;j:l
| '
® | 1
- | | '
: | ! i #
251-B 251 351 451 ﬂ]mm [ﬂ]]lj]]]] f j il [ som |
2-933 ST Y s el N ; mc | |’ E F%
Z“ j J : L IBIE g g @.A
i @ B
e 8 | 3
| & I3 2
9 -
A - i : ' =l
I iTH%/Ordering Code i ‘ o Jid
R i s ;
—_ —_ — s B ! issau}
- = o '
ER A LB RATE BIEAR B:Namur & IRERE
1%31:G1/8 3T =il 1L E PR B:Namur Type Standard Voltage
2F51:G1/4 5. { A 2: i B A DC12V 251
3%7%1:G3/8 Coil and Places =ML EWBE DC24V
4Z5]:G1/2 3:Two-position Three-way Electric control way AC24V 50Hz/60Hz S8l e
Series Code 5:Two-position Five-way 1: double position single AC110V 50Hz/60Hz . = 1 I' * E@
1 Series :G1/8 electronic control AG220V: 50kiz/60HZ ] O T ﬁ% i =
2 Series :G1/4 2: double position double AC380V 50Hz/60Hz | pe
3 Series :G3/8 electric control ® l ] L
4 Series :G1/2 3: three position double 7? A T K =SS
electric control §$ ﬂ o = zo/ ko 2 ?5_
%3 3 ) | jrate R
l ﬁﬁ/Features e e 2-932 ° . Fﬁ @[)\( g o B r ;§ 4
R 2-94.3|
po @ B < — " il a-644 -
AN, ARME S, RAMOEHE, HHAB"T IR (G TRERERE)., |1 T 18, Eai | O
Novel appearance, reliable life, adopt imported sealing ring, life of more than twenty million times (jacketed type structure) are available 0 i a | ‘e o
N & == g F=——A
L i Il == 1 == -
- . 1 o 14 4N ®
I ##/Specifcation { i ¢ W wl )
el o] ' ¢
55 vode B : el mp
- -
{iL 17 #/Position and Way NO =R B =A@/ A hiE/ =X %)
L Two-position Five-way Three-position Five-way Two-position Five-way Three-position Five—-way
& O /Port Size G1/8 G1/4 G3/8 G1/2 550_B
T 1EJE F1Working Pressure 0.15~0.8MPa 251_8
% K it [ 71/Max. Pressure Resisance 12MPa - -
T 1% & B Working Temperature 5-~60°C 5 . -
M [E JE Bl /voltage Range +15%~+10% % %l ) ' [ !
#E H & /Power Consumption AC: 5.5VA DC: 4.8W : : I 1 : : ‘
] |
5 T B 4% Syinsulationd Protection Cass FZ. P65 /F Class. IP 65 1 ! = =
5 & B0 1E 351 % /Max. Frequency HFF AR /5 Cycle/ Secretary ! i || ' N
5% 58 i B4 18]/Shortest Activate Time <0.05%) / <0.05 Second 7S - jave

2-®165 o 623
2-Gug' ' w14 J '
o 3 B @
243 §

a
Za
L
-
|
|
N

6
4

28

Ll = ]

049 050




151 K5 EB R r: NEAC DLV ZFIIEE R

I 5MER-SF/Overall Dimension
351 352

> :
® i AT ==
. J ! Fau e
= T ===
C e i ] d 4 .- @’Q:‘* Doty R DLV 521-S DLV 522-S DLV 523-S DLV 522-D
- O R - NEC )
. é@ﬁ —“—@ . ol - - ©e
Gi ! ’ . .
N ! J| & B===k NS¢ == w
10111 5 | | Qe | T I iTH%3/Ordering Code
liSin : Nyw#, F\gnr Tl oy
. ' [ Eﬁ%

N

625 625
= - S fiE 268 friE BEEOR LERAIE tRERE 235315
lrﬁ - :—E% 7 G Vi R R 52— HIE Joint Pipe Bore S:8WAIE Standard Voltage =H: REETR
; o.M EE u brand A S 53:= fi Fif 1. G1/8" DMAMELE DC12vVDC24V LD AT T 5t
‘ i i Valve Type 32: =L =if 2: G1/4" C:W k=M B+ AR AC24V 50Hz/60Hz  LD1:AE#ATiHTF
i ! = V:Solenoid Valve 22:=fL=i 3.Go/g’ ERA S B SA ACT10V 50HZ/60Hz  w:3|4s3t
! = | Jusoue: A: Pneumatic Position and Way  4: G1/2" Pk =M EENE AG220V 50Hz/60Hz Wiring Form
;TEQ o o eeis2 Control Valve Number Coil and Places AC380V 50H2/60Hz  pjank:standard Connector
P o ; st &7 -’ //*\(/ 52:Two-position Five-way S:Single-head Double-position LD:Brown with Lighting Connector
] @ s | go102 . 2 -\}f\_> q o 4 > v/ d e 58:Three—position Five-way D:Double-head Double-position LD1:White with Lighting Connector
asel b </6\\f/ i s g) 92:Iwo=position Three=way C:Double-head Three-position Close Type W: Lead Wire Type
N | &/ o 22:Two-position Two-way E:Double-head Three—position Exhaust Type
’ 9 @ . g ﬁ P:Double-head Three—position Pressure Type
| © TG | ] - ll= =il
21 I | S ] . .
a2 Dot gL I #1#&/Specifcation
Pd 2 ]

5

DLV522S |DLV522D DLV532C(E/P) iDLVSZBS;DLV523D DLV533C(E/P) DLV524S DLV524D‘ DLV534C(E/P)

451 e DLA522S|DLA522D| DLA532C(E/P) |DLA523S ‘; DLA523D
31 38 HyPosition anaway N O. ZREE =RHEB T{EE =R v 1) =RHB
74 ‘074 Two-position Five-way | Three-position Five-way = Two-position Five-way = Three-position Five-way A Two-position Five-way ' Three-position Five-way
! r—.l ; A 3 # E FUEftective Sectional Area | 14mm?(CV=0.78) = 12mm*(CV=0.67) .25mm2(CV=1 40) | 18mm*(CV=1.00) 50mm*(CV=2.79) v30mm2(CV=1.68)
M_ﬂ Or T i ' i T A A Bworking Medium | 23408k 1378 (9 % S / 40 Micron Filtered Air
' | l 1% 5175 K acting Type WEB5ES R / Inner Guide Type
! : i {& F J£ J1working Pressure 0.15~ 0.8MPa
i i 0 : 0@_ fiz K £ F3/Max. Pressure Resisance A 1.2MPa
b=
1 j o : ‘ i " : @ —J ! ‘;QLZ\:@\ i T iR & working Temperature ‘ 5~50TC
8 i q o '“ 1| ® b m*k:l B [E 3 Bl voltage Range +10%
J @ I R TN J @.A FE B H/Power Consumption AC: 4.5VA DC: 2.5W
%kﬁ' @ 1 :? : 2 ] B RFHPE Binsuaton&ProtectionClass | FZ. |P65/F Class. IP65
i 5 :—;& == € 1k ' : & £ Rwiring Form | HER =55 FX / Lead Wire or Connector type
# " ® | B & 3 E 57 Bmax. Frequency FFRK /5 Cycle / Sec
7 ST T i 38 [i) ¥ B [8)/shortest Activate Time. 0.05%) / 0.05 Second




| : ®
DLV ZE7F|EEH,iE h NrePC DLV Z5IFEHi) h NrePC

I 5MER-St/Overall Dimension

S N
. o — i —— bt —— ="
y TG1R * SO . ﬁ%';
. ; \3:G1A e ©

— —_
y Il B ZI[E“ LY a22-D DLV-220-4E1 DLV-260-4E1 DLV-300-4E1
Lr,_‘ 5 |0 fam - ﬁ—m ‘Sg
0T * a e % ?_ﬂ | i
8 H—— ———— I 3 R s
I | B | TRy Y -
SR SISAdE LI, I iT¥%3/Ordering Code
215 20 2-44. 194
130 ’
125 38 38
i L7
R 7 s A : '5 :
F SZAW 4 i ﬂE}}: S oA —-t i ’ i ‘ i ‘ i
2 432 X2-432 3 S > o o 2
LA e L] Nzesz we AT 33%1h 1ML CHEEXA  AERE BT BEDSF
2 B G B Model Body Width 4:47F518 E2: W& P:AE (I EIES Standard Voltage ZH: DINiHFR x: PTHF
180:180mm 3:Three Way  E1:Single Coil  R:ehjgl{ii & HiS DC24v LB ATRY BSP:BSPZF
DLV523S Qm DLV523D mz[ﬂgm@ 220:220mm 4:Four Way E2:Double Coil  G.The Middle Posi-  AC110V 50Hz/60Hz E:RFBEI (& 1) NPT:NPTZF
£60:2800m tion Close AG220V; 50KZ/60HzZ Wi 25t Joint Pipe Thread
UL E——] = ] iggi:g$$ }?:The M'fjdle Posi- Wiring Form Blank: PT Thread
n L O M- — - —- 15 JUR A Vs | : tion Ventilate Blank:DIN Connector BSP: BSP Thread
“ H SN FThe Middle:Rosi;- L:With Lighting NPT: NPT Thread
m 3.3 \Z01A 35 3636\ 261/ tion:Exhaust Connector

E:Blast—proof Type(sheet 1)
W: Lead Wire Type

I #1#8/Specifcation

= ] } % 072 R 8 /uoint Pipe Bore Code 6A 8A e " 10a " 15A
e “HEE | CHEE | SRR | CH=E | CREE SR8 Z{rHid/ SHRE | =@ CHRE | SR8 | CHEE CHEE | SR8
{323 #Position and Way NO. Two-position | Two-position | Three-position| Two-position | Two-position | Three-poston| ~ Two-—position  |Three-position| Two-position | Two-position | Three-posifion| Two-position | Two-position | Three-position
Three-way | Five-way | Fwve-way | Three-way | Five-way | Five-way Five-way Fue-way | Three-way = Fve-way = Fuwe-way  Three-way = Fwe-way = Fwve-way
2 » $E& O %2 wointPipe Bore PT-18" PT-1/4" A PT-1/4" ' PT-38" ' PT-12"
7 Tﬂ ’ 1% B i & /operating Fluid » 7 =5 Air
[3 ;‘*—'T*@ {%"—‘ — - {8 FA JE H135 Bl /Working-pressure Range | 0.15 ~ 0.8MPa 0.2~0.7MPa 03-07WP2| 0.2~0.7MPa |03-U7WPs) 0.2~0.7MPa |03-U7WPa| 0.2~0.7MPa | 03-07WP
1 CIR— e ifif FE 71 /Pressure Resisance 1.0MPa 1.05MPa
75 %4 # 1 F/Effective Sectional Area ‘12mm:(CV=0.67) Immi(Cv=050) 18mm?*(CV=1.00) finn'CV=089) 18mm*(CV=1.00) l6an‘CV-08) 35mm?(CV=1.96) 25mm’@V=I.lﬂ)‘50mm:(CV=2.79) 30mn’(CV=188)
A8 A Rz % B [8)/Answer Time 30ms 30ms 40ms 40ms 50ms
NDVE;;DEZN Mﬂ]ﬂ]@ TAE A Biworking Medium 2406 K3 78K 2K / 40 Micron Filtered Air
1E3h 75 R /Acting Type A #5E S / Inner Guide Type
_ﬁ*(_/,#-’ 5 '—%ﬂ & & F3 JE J1/Working Pressure 0.15~0.8MPa
n ___@L@@__ - ﬂ% e @i@@ -——EE TAEBEWorkingTomperare | 5-50C
__57_.1 == coTm 7 TR #R /4 A JE/standard Voltage | AC: 110V, 220V (50/60)Hz DC: 24V
#E 8 & /Power Consumption AC: 3.7/3.1VA DC:2.9W AC:6/4.9VA DC:2.5W
_:"_E j]:* ML JE 3E Bl /voltage Range ' +10%
=] . Y84 2% B /insulation Class A FZ% F Class
A — I lg—e
S i I BhiZE!I$14&/Blast-proof Type Specifcation
Bt % 4% Blast-proof Class EExm Il T4
21, 72 87 fREMBE Standard Voltage AC: 110V, 220V (50/60)Hz  DC: 24V
] 8 MJ—— Y | —T 220\260\300\460 % 51| Fa i 8] 3% 1 AC:44VA  DC:5W
ST @ : @@ . 5 220\260\300\460Series Solenoid +10%
3 N A TR Valve(Sheet 1) F 4 /F Class

053 054




/ : ®
DLV - 180 ZZIESHLE] h HFPC DLV — 220 Z%|E3H % '»: nFPc

I 5MER-SH/Overall Dimension I 5MER-H/Overall Dimension

DLV-180-4E 1 |SERINNRLS DLV-180-4E2 | RN DLV-220—4E1 N ANIpASY DLV—220-4E2 |napu gt

R. R PR.

2-03.2387 29 2-03.2E7 29

= - Tibedf —h |

Gl

&3

el i

B

1

i
]
)

55
{
56
==y
B
lel
8
&
=
EE

ix
[e]
[sll
.
&
[e]
e
E_ B
lml
|
-

27
G2
[
D
E
@i:[]
]
I3

5-G1/8" 2-3.237 a8 2-®3.2iEA 38 3_pTi4*
- ;

o Mﬂj}%\\ NG ~ eon lan®] B LB £ ' :
] a@‘t@iuﬁ-'i‘@--"'%----é-3—- He =7 - {ﬁ@?@@& Rami

% A

Mo 10 i odt

223
1
Il

DLV-180-4E2C.P.R
VSC/D-180-4E2C VSC/D-180-4E2P VSC/D-180-4E2R DLV-220-4E2C.P.R

AALAAR BN AR
R.PR, R.PR, R.PR. DLV-220-4E2C DLV-220-4E2P DLV-220-4E2R
I E4%1%E/Flow Chart i I FHE%ME/Flow Chart

A B A B
Tk

TALIAS  RAVIES ~
R PR, R.PR,

R PR,

2-03.287
QI ,,,,,,,, ‘"_,,‘3; ke ] | |
s 9
| £
g s —
2 . — tt . 3
B 8 Kgffcm* £ Ny
6 6 %
B~ = | | o 5 — ! i g e
O O ® 3 — 5 7|Kgficm?
= = X 4 ™5 6 §4 2 .
_ 9 11 _— 4 =3
K3
3 i
¢ [N - = e LA
Ll (P_QQ L 2 \’; \ \ \ \
a5 ] 2-DIBETL 1 1 \ ) 1 1 \ ’ ,
5 0
500 1000 1500 2000 2500 3000

200 400 600 800 1000 1200 1400 1600
& NL/min

5-G1/8 fit® NL/min
E ® gcm ;?@@@}@ ®§ e ja b-o-¢- 3
=

055 056




DLV — 260 ZBIEIAE h nFPC DLV — 300 ZFIEEH4E '»: nFPc N

F 5MERSFE/Overall Dimension

I 5MER-St/Overall Dimension

DLV-260-4E Y7 DLV-260-4E2 0 g A DLV-300-4E1 |SARIIFAEN DLV-300-4E2 | S Ag{|JAEN

E PE;

T

52
HL—!
I w llg i
I I il { EES Ll e et | [ g

el e el e
| [P Lz

69
46.
om
32

u
N
:
i

-PT1/4
T e - § = I aPTe
| TN

______________

f
fH
WD
m
T
&

23 23
{HA O] o] - [Ebe o fTTT o] << 1
sl G ER 8 D-@®--{f- -« D --@- (- m]
DLV-260-4E2C.P.R DLV-300-4E2C.P.R
0102 01 02 01 02
TE 0102 01 02 01 02
VA \ o
ERE SRS Bt EPE, EPE, E.PE,
PAV=REDAR2C PLysfowee BLye0sEm DLV-300-4E2C DLV-300-4E2P DLV-300-4E2R
I ZE41%E/Flow Chart I F=%1%E/Flow Chart
= =i O T a o
i < & = ETal] - < [~
E e - . I et | | 7 ] s e O i
@] || essassess 1B S U NI SRR Nuesiy] | SIS = . ! . =
; ; 5, i o/ I s
R L T NN A =5 L N s N AN
2-PT1/4 | = 3pas 1 \ \ 1 \
N o 1 | |
0 5-PTA/8" 13, 0
25 500 1000 1500 2000 2500 3000 == i 500 1000 1500 2000 2500 3000
I = & NL/min U | l_._8 - a__ & NL/min
gl S 777%@7?“ 77777 oll-0-d 5H - D@ B & |--@ -9
L“—o"l 2-®45
228

058

057




, ® : ®
DLV — 460 &% E8HIE r: nFPc TmEE h nFPc

o

SV-01 ASC-06 ASC-08 ASC-10 ASC-15

F 5MER-SH/Overall Dimension

01 02 01 02

DLV-460-4E1 SRS ARIFAEN DLV-460-4E2 | RQ{j4EN

E, P:E; E.PE,

Y

BN
e o] ESLENEN

69

i
-
=

oo
[

2-045ER 2

- 238

2-®4. 587 72 2-D4.58 7L 72

RE-01 RE-02 RE-03 RE-04

s
R
iy

N7
P

30

®

&

iz -
%\H S

(an
N7
§\
‘é‘]‘;
®
%

I iTH#/Ordering Code

DLV-460-4E2C.P.R | ‘

RIS BEEOR RIS BEEOR RIS BEEOR
DLV-460-4E2C DLV-460-4E2P DLV-460-4E2R SV: HEZEREIEHIR Joint Pipe Bore ASC: HZEUREEHM  Joint Pipe Bore RE: il BV S 4017 Joint Pipe Bore
A B A B A B Series Code 01: G1/8" Series Code 06: G1/8" Series Code 01: G1/8"
@a&ﬂ:m W @Xm:ng@ SV: Accurate Type Flow 02: G1/4" ASC: Accurate Type Flow  08: G1/4" RE: Ordinary Type Flow 02: G1/4"
A RFR &= L: Control Val Control Val 10: G3/8" 03: G3/8"
i " I RE%1%E/Flow Chart o e 15: G1/2" Gontrlalve 04:G1/2"
= H
5 A = H
< | R N I BE®%HS/Graphic Symbol
E;JI L:JJ 2 7 St
= © A%
E u § . [ | 7Rgtien
Cowf e C a— =
29 5
2-D4SHETL L—:;—-I E -
= 4
=
% \
I3 \

2 \ \\ I #4&/Specifcation

s Y wone ! \ \ \ J 8 Model ¥ 8 Accurate Type ‘ @A Ordinary Type
& AN i 0 S SV-01 | SV-02 | ASC-06 | ASC-08 | ASC-10 | ASC—15 | 203
8| H---P-@-f®--1--- o {15 T;? ===t |- a--e-q-{s 1000 2000 3000 4000 5000 S T | - _- ‘
IN7 Pk #%% 0% Joint Pipe Bore G1/8" | G14" | G8* | G1/4" | G38" | G1/2* | GiI/8" | G1/4" | G3/8" | G1/2"
& NL/min - - |

5-G12t 27 TI{E4 R Working Medium =5/ Air
{£ A E /156 B Working Pressure Range 0~0.95MPa
{£ BB EEE Operating Temperature Range 0-~60°C

059 oso [N




==kl

I 5MERSH/Overall Dimension

SV. ASC

20deep 1.4 | @‘ Q/

32
45

o |

I R-st3*/Dimension Sheet

e/ % |
Model

ASC-06 49.7 565 | M6X05
ASC-08 26 36 Gll4 22 27 43 49.7 565 | M6X05
ASC-10 | 28 | 40 G | 25 30 | 43 | 527 | 595 | M6X05 |
ASC-15 28 | 40 GlR | 30 33 | 43 | 587 655 | M6X05

I 5MER-St/Overall Dimension

I R-st#*/Dimension Sheet

M12%0.75
M12x0.75
M12x0.75
M12X0.75

M14 X1
M14 X1
M18x1
M18x1

12 18
13 22
13.5 26

G1/4
G3/8
G1/2

g —-—————
Model
RE-01 ®19
RE-02 45 19 43 50 ®19
RE-03 ' 55 ' 25 ‘ 55 ' 62 ®25
RE-04 55 25 ‘ 55 62 ®25
061

I BEE#s/

Graphic Symbol

[

I ##&/Specifcation

#1-5/Model
% O72/Port Size
% E gy  ova/Flow(Lmin)
Free Flow  #H3#imi%/Effective Sectional Area(mm’)
wHIR | fE/Flow(L/min)
Controlled =
Flow B3 E A/ Effective Sectional Area(mm’)
{RIE} £ F1/Ensured Pressure Resistance
B & AJE f1/Highest Working Pressure
AR {E A E F1/Lowest Working Pressure
5 A BURE/Ambient and Media Temperature
R B #URegulated Flow Turnsq
& Meight(g)
7. AS200049%, AS3000, AS400048% ., Note*:

AS RFIKREFEZE L[]/

AS1000-M5 | AS2000-01
G1/8"

M5
90
1.4
80
1:2
1.05MPa
0.7MPa
0.1MPa

10
33

f3dnrFPc

iTH3%5/Ordering Code

==

Z3|X S/Series Code

AS: Kift BB ZE 15 1

AS: Series Large Flow
Check Valve

[BEES e
Bore Code

1000: G1/8"
2000: G1/4"
3000: G3/8"
4000: G1/2"

4p2 Rt/ Overall Dimension

90

50
1
T ! P
7 <
PO L2l R
Jan) i
o mw
1
' 2-M4 deep 6
AS2000-02 | AS3000-02 | AS3000-03
G1/4" G1/4" G3/8"
340 810
52 12:3
250 810
3.8 12.3
1.5MPa
1.0MPa
0.05MPa
5-60T
8~9
115 130

9 turns for AS2000,8 turns for AS3000 and AS4000.

33
i
I
i | 2-G1/4~1/2
)
) - I |
1 ~
- &
I =]
V.
I o
| ]
=5 i
ki
295 -
67.5

| AS4000-02 | AS4000-03 | AS4000-04
G1/4" G3/8" G1/2"
1670
255
1670
255

205

| KAZ %51 & ACV % 51| 2 [9] fi]] /KA Series & ACV Series Check Valve

I iT##/Ordering Code

KA

%75l /Series
KA Z3|
KA Series

#OO#%

Joint Pipe Bore

06:G1/8"
08:G1/4"
10: G3/8"
15: G1/2"
20:G3/4"
25:1"

il

#%l/Series  EOOR
ACV &7l Joint Pipe Bore
ACV Series 01:G1/8"
02:G1/4"
03: G3/8"
04: G1/2"



QE-01 QE-02 DQE-06 DQE-15

I iTM%3/Ordering Code

= - DQE B

#5I4XH8 / Series Code % 0% / Joint Pipe Bore Bl T BEOR
QE: REHS A 01: G1/8" 02: G1/4" 03: G3/8" Series Code Joint Pipe Bore
QE: Quick Exhaust Valve 04: G1/2" 06: G3/4" QE: HRiEHES 06: G1/8"
QE: Quick Exhaust Valve 08: G1/4"
10: G3/8"
15: G1/2"
[ —
2|12 = = !
I BE®EHFS/Graphic Symbol s
710 =
I ##&/Specifcation
B £ Model | QE-01 QE-02 | QE-03 QE-04 |  QE-06
T {4 ik Working Medium =5 /Air
B ¥ W72 Effective Sectional Area 16mm’ 27 .5mm’ 28mm’ 71mm? 72.5mm’
# % 042 Joint Pipe Bore G1/8" G1/4" G3/8" G1/2" G3/4"
& B £ 7156 Bl Working Pressure Range 0~0.8MPa
{# A& St B Operating Temperature Range 0~60°C

I 4MER-SF/Overall Dimension I R-t3%/Dimension Sheet

N — B T A 8 B
{% _@ ; QE-01 G1/8"

QE-02 G1/4" 62 29 40 39 56 335 55
QE-03 G3/8" 62 25 40 39 56 | 335 | 55
QE-04 G1/2" 98 38 64 60 8.5 51 90

QE-06 G3/4" 98 | 38 64 60 | 85 51 90

063

g

EAFSIE

f3 nFPc

‘'8 8

ZER—F A= EFIHRE, SRETEPRESREAX, YKRXHA
HER, SERGPHSEFINHZE,

This valve is a two-position three-way sliding valve, which is usually
installed in the piping to turn on/off airs. When it is turned off, the air pres—
sure in the pneumatic system is exhausted simultaneously.

I BE®%FS/Graphic Symbol

A
— v\ | b
DGP-1 DGP-2 DGP-3 DGP-4 SN
I ##&/Specifcation

BI85 /Model DGP-1 ] DGP-2 DGP-3 DGP-4 DGP-5
#E 4% /Port Size G1/8" G1/4" G3/8" G1/2" G3/4"
172 /Orifice Size | 4mm 7mm 10mm 12mm 18mm
T &4 B/Working Medium #2531 78 i [E 4% = S/Filtered and Compressed Air

T{EEFI/Working Pressure | 0~1.0MPa

I3 iR E/Ambient Temperature 5~60C

#2{E 51/Operating Force 20N 30N

I 5MERSH Overall Dlmensmn

&
1 T
(Stroke)
= D

oA

oB

c

)
‘VI ’
Lv

I' R-t3%/Dimension Sheet

RS /%S
Model / Symbol

HSV-01 G1/8

HSV-02 30 18 G1/4 V 11 ' 32 » 19 58
HSV-03 35 21 G3/8 14 » 39 22 68
HSV-01 ‘ 40 » 26 G1/2 A 15 » 45 » 27 » 80

| # 1® / Mechanical Valve

1T #1553 /Ordering Code

T

B aw i &R / Joint Pipe Bore
ST: #®il 01: G1/8" 02: G1/4" 03: G3/8"
Series Code 04: G1/2" 06: G3/4" 08: G1"
ST: Shuttle Valve A
A =3 =
sT-o01 ST-02 B 55 /Graphic Symbol = P,
I ##&/Specifcation
B 5 mode ST-02 5703 ST+ | ST-06
T {E4 /& Working Medium =5 / Air
B ¥ #H Em R Effective Sectional Area 7.5mm’ 21mm’ 40mm* 60mm* 110mm’ 190mm’
# % O4% Joint Pipe Bore G1/8" G1/4" G3/8" G1/2" G3/4" G1"
1& A £ /156 Bl Working Pressure Range 0~0.8MPa
1 AR ESE @ Operating Temperature Range 0-~60°C

I 5MER-St/Overall Dimension
2.0D P

| 0 )
R @ w|

E

Iy

B RT]'iE/Dimension Sheet

ST-01 . 205 Gt
ST-02 50 | 3% | 22 | 55 | 35 2% GlA"
ST-03 75 | 48 | 30 7 50 42 | G
ST-04 75 | 48 | 30 7 50 2 | G
ST-06 M0 | 72 | 40 7 70 58 G3M"
ST-08 M0 | 72 | 40 7 70 58 G1"

064




= EFEHAIE

AR nNFPC

I 5ME2R~H/Overall Dimension

DH23JD-8 DH23JD-8P,

2-G
4-H i
c sl c il
L L/ [ [
T | . apak "
p /TG — /7 —1
w D "“_"lT‘—‘—‘_‘_‘—“—}‘ L) Q "’_“"_["A ''''''' o o et iy ]
&t N R B
| @ |
2] 8]
DH23JD-8 DH23JD-15P, A A
| |
ﬁ?ﬁlJmF_LL_lé?ﬁel“llﬁlmﬁEkit‘t EMEAUETRE FAENS LR ERAFHRKEFS B Z. NN ATRRANERE Koo d Ko d
SHEGEH, THEATARE, BHRERBERNESZ&HR
This series high—pressure two—position & three—port change valve adopts stop type structure, With the characteristics of reli- AL /_ 5| A | B o L@ @3; % -
able performance, high pressure and safety, and long service life .It has been widely and maturely especially applied to the high- ﬁ‘ gF E_$ } KE :I
pressure pneumatic system such as bottle blower. It is especially applied to the prosecution equipment of large—volume polyester . \
3-M 0

bottle in special shape. 3-N/

%"‘E?*I M
DH23JD-8 G1/4 132
> - L: A = =
I iT##/Ordering Code I E®$S/Graphic Symbol DH23JD-8P, G1/a 145 75 | Gi/8
A
DH23JD-[] —
- L DH23JD-15 DH23JD-15P,
AT B BEOE 31873t L5
Specifcation Code Control Type Joint Pipe Size =A: NEES
T SEE ER LR D: s 8:G1/4( M12x1.25) P, SMERES 3-H
1 QGASEIIEH 15:G1/2( M20x1.5)  Blank: Inside piolt type DH23JQGA-[] A D + l
Two-position Three-way D:Single control POutside piolt type I I
Cyli REP" BN
high pressure solenoid valve ~QGA:Cylinder control | é—!- \ i | | F‘ 'r":Oi 1]
—r] L] Ll _: _________ eilles oo . |
)3 0 P, P i A 3
i -
1 1 B 6
I #1#&/Specifcation )
|
|
DH23JQGA-8 DH23JD-8P, DH23JD-8 |DH23JD-15 DH23JD-15P, DH23JQGA-15 : _E
AFRiE 12 Orifce(mm) 8 15 - j&? §—< }—- @\.E —& - 3_
?

T{EFE# Working Pressure(Mpa) 0.15~2.4 N =i 2 \_

#[E [} E Change times(S) <0.04 <0.08 Lz 3_kA-BJ. C - M

B & mAR Effective Sectional Area(mm®) =20 =60

IAEEE EEnvironment Temperature(C) -10~55

/v BR B Medium Temperature(C) -5~50 = BEERY M

# SModel J S
#F#nJ3% Life/Ten Thousand Times =150 oint Screw
DH23JD-15 » G1/2
DH23JD-15P, G1/2 157 £ 845 G1/8

065 osc [T




BT

I iTM%3/Ordering Code

i e

I ™mi%BA / Product Explaination

% (R AR )R Ak R B LR ERBRRAENERES
“FRT, BRORBIRE SR HE S RS, ERHEER
RBWER, RIERREFROLEBEDMBLEE,

MCF%7%1 BEEOR tRAEBE This valve(disk valve)is a kind of compression air "Switch"
MCF Series Joint Pipe Size Standard Voltage for blast cleaning system of pulse pocket type dust catcher
25:2G1" AC110V and is controlled by the output signal from pulse blast
40:2G1-1/2" AC220V controller. Itblast cleans the filter bag line (pocket by pocket)
SO.ZG2" AGIBON and ensure the cleaning capacity and dust absorption
eRGe-lE Doty efficiency of dust catcher.
I #M#E/Specifcation
e Model MCF-25 \ MCF-40 \ MCF-50
R 4 BT Material of Body 8 A £/Aluminum Alloy
ERRX Motion Pattern f% K31 §X/Diaphragm Pilot
#EO&  Portconnection zG1" \ zG1-1/2* : zGg2" \ 2G2-1/2
EAGE Pressure Range 0.05~1.5MPa
ERRE Applicable Temperature _5-60C
FEBIE Rating Voltage AC12V, AC24V. AC36V. AC110V, AC220V. AC380V; DC12V, DC24V., DC110V
SIFHBIESEE Operating Voltage Range +10%
S EEETE Min.Activating Time 0.05S

I 5MER-St/Overall Dimension

067

I R%&FHi%/Installation Method

BERREAR (IN) SRSEEEERERE, Hedintrd
AR B, EREEOMENERAZ BERNTEEZH,

Solenoid pulse valve input (in) is connected to the metal pipe of
air storage cylinder, and its output is connected to the blast pipe of
the dust pocket. Between the con-nect screw thread is flled with
tetrafuoroethylene tape for seal.

I R-t%*/Dimension Sheet

= EEORZ KEmm FEEMmM & Emm

)

B8 Modsl Port connection (Length) (Width) (Helght)
85

MCF-25 richl 110 125
MCF-40 ZG1-1/2" 140 125 170
MCF-50 zG2" 210 190 200
MCF-65 ZG2-1/2" 210 190 225

T UK

I iTH#/Ordering Code

e

s

I =588 / Product Explaination

ZEB#EEKR R REXRAREAXREERRERESE
£, AEAFEFHEBRER, TESRERER/N, ERTSEEN

EERENHE.
DMF 235! BEEOR IRfERIE This solenoid pulse valve is a flood type valve(also called
DMF Series Joint Pipe Size Standard Voltage inset valve).ltis directly installed on the air bag with good
R0262" ARLIDY straight blastand less loss of working air source. It is applied
62:2G2-1/2" AC220V cemeE )
76:2G3" AC380V to the situation with wide range of air source pressure .
DC24V
I #1#%/Specifcation
B Model | DMF-50 DMF-62
8 {47 R Material of Body $8A %/ Aluminum Alloy
HMERR Motion Pattern B3] S5 / Film Pilot
#&O&  JointPipe Bore 262" ] 2G2-1/2" \ 2G3"
ENEH Pressure Range 0.05-1.5MPa
EREE Applicable Temperature _5-60C
MERE Rating Voltage AC12V, AC24V, AC36V. AC110V. AC220V. AC380V; DC12V. DC24V, DC110V
fRIFHBETEE Operating Voltage Range +10%
BEREAE Min.Activating Time 0.05S

I 5MER=F/Overall Dimension

HEO

ik +%

ER=ES

I R-t%*/Dimension Sheet

_ BEEOR K Emm EEmm B Emm
BE Model | o onnection | (Length) (Width) (Helght)

DMF-50 zG2" 250 250 210
DMF-62 ZG2-1/2" 230 230 200
DMF-76 ZG3" 210 190 200

068



SIEAEEAZRE

0U #7491 = djEasd A (FRL)

OFR Z71 byess A 75 2%

OR R 7%

OF Z7%1 == bgEss

OL R4 2

AB, BC %7l

AFC, BFC 7%l

AL, BL Z4I JHIZ 4%

AR, BR R4 7%

AF, BF R4 ez

AFR, BFR Z41 L€z AliE 15 v

RO7 Z41 &M T

SFC SYRALFEZE B 20 &

AC1000~ 5000 % 41| 2= St g 25 2H 5 FRL —087

AC1010°5010 & 41z JE %5 2H 5 FRL —088

AF 10005000 R 41 25 S je 75

AR 1000°5000 Z 411757

AW 100075000 2 413y 28 A1 15 %5 ———091

AL 1000°5000 %417/ % 7%

NACP300 2 41 2= TR AL < B (k) ———093

PTH 2R A3 918 e /A 25 MITHI 55 1/8. “RIL/ 4 i

R SF

AD402 241 A shHAEK, ZDFS & E shHk2s —095

H 251 i 1 o e G )




OuU &%
g-li \\ Ilb\ﬁgiﬂA(FRL)

OU %7 ** -
SRR h NrPC

I RE%#3E/Internal structure

1T #%5/Ordering Code

FENO ZFRltem #1#IMaterial
%) EARTNBE B F sOR HRER EhE o § =4 P
O &%)  Function code Port Size Grade of Manometer Slze T lfos etz i & 1 ASHR-IN/Flange-IN # & @/Zinc alloy
Series  FR.L Combination G1/8" G1/2" filtration Z=fE/Blank:12bar  MINI Ak - ! ] - 2 3 788 E )/ Filter + Regulator
O Series G1/4" G3/4" Z=E/MBlank40um  7:7bar MIDI [ 5 g S _
G3/8" G 5M5 1 m MAXI j = 3 i Z 2%/ Lubricator
’J { 1 ! [ 4 S H®-OUT/Flange - OUT & £/Zinc alloy
== 5 % %2/Bracket spcc
1N 6 N2 4/Allen screw S35C
| ]
1\ E 7 [E/13%/Pressure guage
=TI/ = . i g
I E®HS/Graphic Symbol T, e :
N A ‘W‘ i
3 e | {
I 5MEZR-F/Overall Dimension
OUBRI = ##B—NOFRESRAERM —MOLEHERAES, XETHEATUSHITH, HATEFEIRETS PSR, PRARER, FFHHEA H :
i o ' ) i . - B R#%/Dlmensmn Sheet
HE, SumBERSE IO umiRARE. MESANENSEHEEZRERETZZRD, BERBRRIELEENITIEENERERE. E1 E6
E2
MEBTLUS QAR RESERAE, RAFRSSTRBAELS, FTRBSNE, TELASRTAFHRRE, BHE1000LE S &H1-120% 2 . 6 i T i”v/Model E4 ES\ E6
BT, LE3 4 Stisting serow E4 -MINI 104 39
paeE || P OU-..-MIDI 140 125 | 55 47 | 93 112 3
The Og consisted c-;f OFRAanfj OL, each unit can be ordered separately. The OF with water separato-r cleans the compressec? aierf-quid oil,condensation - gg{lgaiglu/g / Etr;%%eg OU-,..-MAX|' —— | T I o | 104 12 I s
and dirt particles.For special application,the standard 40 y m filter element may easily be replaced by a 5 y m filter element. The OR maintain inputting constant operating = IASSembly.
pressure despite fluctuation in line pressure and the amount of air consumed. ]l | T
The proportional lubricator adds a regulated quantity of oil to the filtered air. The oil-mist content proportional to the flow and oil can be added during operation. Eé“u 1 : | ﬁ@ ] L i £S5 /Model F2 F3<l>
o) N [[Eos @T38 12 ou
The oil drip rate is controlled by the adjustable bolt.Normally,1to 12 drops/1000L of the air is suffcient i 2[ =719 % i - S99 A& -\ - OG- 2 QU-...-MIN| G1/8",G1/4",G3/8" M36x1.5 31 M4 45 40
i ] ! ‘
i E 1 ] OU-..-MIDI G1/8",G1/2",G3/4" M52x1.5 50 M5 55 52
- - T " T
l *ﬂ*ﬁ/Spemfcatlon ! E7L i m OU-..-MAXI ~ G3/4"G1"  M36x1.5 31 M5 55 63
| ]
| GERREE |
KRB A /air filter combination | MIDI ‘ MAXI ! Metal cup cover I ﬁ!%/MOda L1l L2 ‘ L3 H1 H2 | H3 | H4 ‘ H5 | H6
ﬁﬁ%fgmmk'”g pressure): OU-1/8-MINI | OU-1/4-MINI = OU-3/8-MINI = OU-3/8-MIDI = OU-1/2-MIDI | OU-3/4-MIDI = OU-3/4-MAXI = OU-1-MAXI i o MINI 44 35 194 169 69 175 20
FEMkE : ; - ;
Manf;, %ﬁ%gy‘{n‘/"’k'”g pressure): OU-1/8-7-MINI | OU-1/4-D-7-MINI  OU-3/8-7-MINI = OU-3/8-7-MIDI = OU-1/2-7-MIDI = OU-3/4-7-MIDI | OU-3/4-7-MAXI OU-1-7-MAXI i : ou- MIDI 71 60 22 | 250 206 97 245 32 15
Dral LAEE 71 (Working pressure): ) 18 sM-MINI | OU-1/4-SM-MINI | OU-38-5M-MINI OU-38-5M-MIDI | OU-1/2-5M-MIDI  OU-34-5M-MIDI OU-34-5M-MAXI  OU-1-5M-MAXI i i [ — ‘
12bar5pm o o B B B e e o T | i OU-..-MAXI 71 60 22 252 223 80 24.53240 15
1 = -
0-12b OMA-40-16-1/8 OMA-50-16-1/4 FHHKE |
Manometer = Manual Drain E T AT LLUE S ARIB R AR A
0~7bar OMA-40-10-1/8 OMA-50-10-1/4 Note: The Color Can Be Customized Accordingto Your Regirement.
T {ESr B/Medium JE47=< / Compressed air I
KD E A wORE TR RBER; FENAER: MTRAHRTEFRR
£#las R Features of structure Sint;redﬁtgr w?t% water ;parato?D}ﬁa;hmgm typelzr-eguxla‘%nDirect congstam—de;s?yﬁbﬂéator
45775 /Mounting type FHR LN F 2% % / Pipe mounting or foot mounting I u“.g ./Flow d|agram
224 F/Assembly position 2 75 (6] (Vertical) +5° _ .
WRAERI R EqnFn i H E S1p2#) 3k F/Standard flow rate qn as a function of the output pressure p2
##%R ~t/Connection G1/8" G1/4" G3/8" G3/8" G1/2" G3/4" G3/4" G1"
OU-1/4-MINI OU-1/2-MIDI OU-1-MAXI
BAERE OU-...(-A) 700 1000 1200 2000 2600 2600 7000 8000 10 - 75
e
Standard OU=:.=T=<(=A) 800 1300 1500 2500 2800 2800 8500 8700 | 9 \9 ‘9
inal
it ol OU-...-5M~(-A) 600 850 1050 1700 1800 2100 6500 7200 8 8 e —
WMANEAD FEhHEkiE/Manual drain valve 1~16bar 7 pa— 7 7
Primary =| 6 — —_ S
pressure B ZhHEK i/ Automatic drain valve 1.5~12bar 5 5 — é & — | g £ —
= Sl s AN
T {EEH/Working pressure 0.5~12bar/0.5~7bar Q n [ o s o9
= 4 4
fR/NEZ 8 /Min.Standard nominal flow rate 3 Umin 6 L/min 10 L/min 3 3 — 3
33 & /Grade of filtration 40um/5um 2 ~—1 | i, i S—
i Kt 5§ /Capacity of condensate fluid 22ml 1 1 1 D
iR AESE Rl Temperature range 0-60C 0 500 1000 1500 2000 0 1000 2000 3000 4000 5000 6000 0 4000 8000 12000
4 ; Fik; JEREE; RGBT ; PCERMIPE: $88E; FH; THEE; AEFR; POM ; y ;
Hi/Material Housing:Zinc die—casting;Filter bowl and oil bowl:PC;Metal bowlatTard:Aluminium a?ioy;Sea|ing:NBR;Adjusting knob:POM gn[l/min] oy gn(l/min] s gn[l/min]

¥\ EF1/Primary pressure: p1=10 bar

069 070




OFR &% iJiE=sfliE 788

TR ERAR - BMARE, TRE

I iTM%3/Ordering Code

® - 6 -

#3| HAT)RE EEOR
O %%l LIL?/}'S‘LEH'] Port Size
Series Function code G1/8" G1/2"
O Series Filter&Regulator G1/4" G3/4"
G3/8" G1"

E# 5 /Graphic Symbol
#1 4% /Specifcation

iR [E/Filter&regulators

T {EE F1(Working pressure):
) 12bar,40um OFR-1/8-MINI
$’a"m7k|%§ T {EEH1(Working pressure):
Dar’;‘l’: 7bar,40um
T {EE 41(Working pressure):
12bar,5um
0~12bar
Manometer
0~7bar
TiESrB/Medium

L5445 5 /Features of structure

%3 77X /Mounting type

L5 H /Assembly position

%% R~t/Connection Gi1/8"
AT ERE OFR-... 750
Standard OFR-..-7 900
nominal
flow rate OFR-...-5M 650

HINES

Primary pressure FEhHEsk #/Manual drain valve

T{EJEh/Working pressure

iiE¥EE /Grade of filtration

A E¥E A & /Max.Condensate Capacity
JRIESERE/Temperature range
###}Material

S A i
BHi#40 u mEGAR TR EDﬁSﬁ)\Eﬁ'—?Eéﬁfa—wﬁﬁiFﬁéﬁ&ﬂl. AERBEREXRENTEENERRE.

Filter and pressure regulator combine a single unit, and cleans the compressed air of fluid oil, condensation and
dirt particles. For special application,the standard 40um filter element may easily be replaced by a 5um filter element.
The OR maintain inputting constant operating pressure despite fluctuation in line pressure and the amount of air consumed.

OMA-40-16-1/8
OMA-40-10-1/8

f3dnrFPc

RBEKRER, MFHKLAEE. SumBEES

sl

SiRER EhE Rt
Grade of Manometer Size
filtration ZS[/Blank:12bar MINI
ZE/Blank40um  7:7bar MIDI
5M:5 um MAXI )

OFR-1/4-MINI = OFR-3/8-MINI = OFR-3/8-MIDI = OFR-1/2-MIDI | OFR-3/4-MIDI = OFR-3/4-MAXI

OFR-1/8-7-MINI  OFR-14-D-7-MINI  OFR-38-7-MINI = OFR-38-7-MIDI = OFR-12-7-MIDI | OFR-3/4-7-MIDI = OFR-3/4-7-MAXI

OMA-50-16-1/4
OMA-50-10-1/4

JE45% < / Compressed  air
HAS BA BRSNS MINVMID:BES SURUER; MAXI:TEIERR ER ;
Sintered filter with water separator;MINI/MID:Diaphragm type-regulator; MAXI:Piston regulator;
HRL N F L% / Pipe mounting or foot mounting
B J5 (6] (Vertical) +5°

G1/4" G3/8" G3/8" G1/2* G3/4" G3/4"

1400 1600 3100 3400 3400 9000

1500 1700 3400 3900 3900 9500

1200 1350 2400 2500 2500 7300
1~16bar

0.5~12bar/0.5~7bar
40pm/Sum
22ml
0~60°C
FR: R LRI PCERRIPE: BEE: TH: THEEE: BEFR: POM

Housing:Zinc die-casting Filter bowl:PC;Metal bowl! guard:Aluminium alloy;Sealing:NBR ;Adjusting knob:POM

I 5MER-H/Overall Dimension

E6
ES
E3

E4

|

H3

l\ﬁl‘ F47 R
letal cup cover

Hig
I

1

Fa Mk
Manual mL‘?‘

I R-~t3®/Dimension Sheet

MIDI MAXI

OFR-1-MAXI

OFR-1-7-MAXI

OFR-1/8-5M-MINI OFR-1/4-5M-MINI OF R-3/8-5M-MINI OF R-3/8-5M-MIDI OFR-1/2-5M-MIDI OFR-3/4-5M-MIDI OFR-34-5M-MAXI OFR-1-5M-MAXI

G1*
10000
16000
7600

T M N O

OFR-...-MINI 40 52
OFR-...-MIDI 55 47 93 112 85 70
OFR-..-MAXI 66 53 104 124 96,116 8091

G1/8",G1/4",G3/8"
G1/8",G1/2",G3/4"
G3/4",G1"

M36 x 1.5
M52 x 1.5
M36 x 1.5

OFR-..-MINI 31 M4 45 40 194

175| 20 | 15
OFR-...-MIDI 50 M5 55 52 71 60 22 250 98 245

32 15

OFR-..-MAXI 31 M5 55 63 71 60 22 252 80 245 3240 15

OFR &% iJiE=stliE 788

I RE%&#3E/Internal structure

fdnrFPc

FSNO ZFRItem
1 8 EF % Pressure knob
2 %2 Regulator cap
3 Fif £ R I20E Regulator nut
4 ) JES2#F Adjusting spindle
5 3% #§ Pressure spring
6 RL 18 Fixed ring
7 % 5 #4 [ One part of membrane
8 O#Y[E O-ring
9 5 SR-IN Flange -
10 i % Spool
1 OZU[E O-ring
12 7E KU % Whirl wind impeller
13 JEs Filter element
14 7K Manger
15 {% 37 5 Metal bowl guard
16 JK#% Filter bowl
17 O#[E O-ring
18 A #3k Inner joint
19 77k 3§ Condensate drain
20 it EE# B Wearing sheet

##4Material

POM
POM
S35C
S35C
SWC

6061-T6

PA6+G15
NBR

%4 £ Zincalloy

#4A Brass
NBR
POM

RZ % PE
POM

$8 A% Aluminium alloy
PC
NBR
POM
POM
4 4B 1R Insulation sheet

FENO | ZFRitem ##HiMaterial FENO | ZFRItem ##iMaterial
21 OR#k Sheet | NBR 28 | O#I[E O-ring NBR
22 | 35718 B Overflow base | 6061-T6 29 | [%k 4 One partof diaphragm %44 Zincalloy
23 | [RF#E# One partof diaphragm | SPCC 30 | fi% i Diaphragm S35C
24 &/ Diaphragm | NBR+/E % M 31 OZY [ O-ring NBR
25 O#Y[E O-ring NBR 32 | ORi@ & OR Body SWPB
26 | ORf@f& OR Body | #A&% Zincalloy 33 | 23 Plug #$[ Brass
27 £ 1% Plug POM 34 OZ! [ O-ring POM
I #=ZE/Flow diagram
R E R Bqnfni H IE Hp2# 3 %/Standard flow rate gn as a function of the output pressure p2
OFR-1/4-MINI OFR-1/2-MIDI OFR-1-MAXI
10 10 10:
9 9 9
8 — | j —~—] 8 |
; 6 E— ;
g 5 = g 5 — .-g. 5 1
] \ o N
S 4 — | 4 N F—=
3 —— 3 [
3
2 — \ 2 [ 2 e——— |
1 1 1
) 08 FRES AR 5605 0 1000 2000 3000 4000 5000 5 - -

qn[l/min]

qn[l/min]

qn[l/min]

i NJE F1/Primary pressure: p1=10 bar

072




OR &7l 7588

OR 731 W% f3dniFPc

I iT#%3/Ordering Code I AE4H3E/Internal structure

##ltem \ ##iMaterial
1 v il £ F# Pressure knob POM
B3] E AR EERE ) &OR EhE 2 {8 3% Regulator cap | POM
O &%l Function code Port Size Manometer Slze 1 3 =+ 8 E < £ 1208 Regulator nut S35C
Series Regulator G1/8" G1/2" 23 9/Blank:12bar MINI G s o " |
O Series G1/4" G3/4" 7:7bar MIDI 2 4 | i £ #24F Adjusting spindle _ S35C
G3/8" G1" MAXI 5 3% Pressure spring SwC
3 |
T 2 15 6 AL I8 Fixed ring | 6061-T6
! ! ir fi% 5 #% B One part of membrane NBR
T A = = 16 |
I E®HS/Graphic Symbol Ny ouT 5 & = s S8l B=ring e
I 6 i ' 9 S Hh-IN Flange - IN 84 £ Zincalloy
7 . ﬁ“ i 10 i % Spool # 4@ Brass
* 19 1 O O-rin ' NBR
MEMANENSEERE=RERTERS KD, BRERBEERIELZEENTEENEERE, g ‘ /; : 12 ORI Ori N 1 NBR
. L . . . . o X | Y [ -ring
The OR maintain imputting constant operating pressure despite luctuation in line pressure and the amount of air consumed. g Q 5 ’ ! ’ 13 4T Fast [ %4 Brass
A asteners g
l *ﬂ*ﬁ/s .f t. L ] ] | P i B 14 i % 3 Locker cover 4 4 Zinc alloy
peciication - 2/ P 15 fit E # K Wearing sheet 45 4B 1 Insulation sheet
/l T 4
L 16
Regulators MINI MIDI MAXI 12 23 ' OR%J; Sheet | NBR
i 17 it 7t 18 & Overflow base 6061-T6
T{EEF / Working pressure 12bar OR-1/8-MINI OR-1/4-MINI OR-3/8-MINI OR-3/8-MIDI OR-1/2-MIDI OR-3/4-MIDI OR-3/4-MAXI OR-1-MAXI 13 24 |
! ! ! ! 18 | Bk #E4 One part of diaphragm | SPCC
T1E[EF1 / Working pressure 7bar OR-1/8-7-MINI OR-1/4-7-MINI OR—3/8—7—MINII OR-3/8-7-MIDI OR-1/2-7-MIDI OR-3/4-7-MID| OR-3/4-7-MAXI OR-1-7-MAXI i 25 19 f8 B Diaphragm ‘ NBR+E2 % M
0~12bar OMA-40-16-1/8 OMA-50-16-1/4 Py 26 20 U B O-ri
Manometer I A O#Y [ O-ring _ NBR
0~7bar OMA-40-10-1/8 OMA-50-10-1/4 21 ORf@ & OR Body #A& £ Zincalloy
TiE4r F/Medium E45 =5 / Compressed Air 22 21 Plug | POM
ZEMy 45 & /Features of structure MINI/MIDI:f% 5 2B E 8 (Diaphragm type regulator);MAXI: & 2E {8, /& i@ ( Piston regulator) 29 OZL[# O-ring | NBR
+ 24 St _ o f
%477 5/Mounting type BERRYE, FRBENERR R (Pipe/foot/Plate mounting) 4> S H-OUT Flange - OUT &£ Zincalloy
25 R NF R Allen screw S35C
ZE i B/Assembly position f£% / Any 26 o385 Spri SWEB
i pring
##% R <f/Connection G1/8" G1/4" G3/8" G3/8" G1/2" G3/4" G3/4" G1"
REEERE OR-... 800 1500 1700 3200 3500 3500 11000 11500
Standard T i
nominal flow rate OR-...-7- 1000 1600 1800 3300 4000 4500 12000 12500
WNIEH/Primary pressure 1~16bar l ”ng./FIOW dlagram
TAEES/Working pressure 0.5~12bar/0.5~7bar FRAE ST E TR Bqnfns H E Sp260 £ %/Standard flow rate gn as a function of the output pressure p2
B EESE B/ Timperature range 0~60T
#EYMaterials information Stk RS SHIEARRRAR; T THIRE; BEF4; POM Housing:Zine die-casting; Sealing:NBR; Adjusting knob:POM OR-1/4-MINI OR-1/2-MIDI OR-1-MAXI
4 10 10
5 9 9
I M R~H/Overall Dimension " 8 -— B f———————
e 7 — T 7
- - — &~
2 . I R-t3R/Dimension Sheet e - W e 5 T ———
8ls o5 =5
E3 E5 | = I Sk N
: - N I N G E e ' o == o =
| Es ~MINI 40 39 64 52  GU8"G/4"GI8" M36x 15 ¥ 2 2
| S ——
i , OR-.-MIDI 55 47 93 112 85 70 G1/8"G1/2,G34" M52x15 f —— : 1 —
| . [ ol OR-..-MAX| | 66 53 104 124 96,116 80,91 G34"G1"  |M36X1.5
il Beder (oo o 500 1000 1500 2000 0 1000 2000 3000 4000 50006000 7000 0 4000 8000 12000
sseml L =
T g 519 *;’J%/Model F3o| F4 Fed| L1 | L2 \ L3 | an{l/min] _ anV/min] = an(/min]
T
> 3
aEME e p 4 M|N| 31 M4 40 44 1 Max.3 69 175 96
@ ?E .,—(%-u =] [ QL Y, 8 - —— & ! X N\ EF1/Primary pressure: p1=10 bar
5 TR 0 = OR-... M|D| 50 M5 55 52 71 60 22 Max.5 98 24.5 96
- = \F1_ OR-..-MAXI ' 31 M5 55 63 71 60 22 Max4 | 80 245 96

073 074




OF &7l =KidiE=F

fdnrFPc

AT RFEL R TS PFORASM . REARER, S FHEREAEE, 50 miEEE S E%40 u muIRAETR,
The OF with water separator cleans the compressed air of fluid oil,condensation and dirt particles,for special
application,the standard 40um filter element may easily be replaced by a 5um filte relement.

I iTH%5/Ordering Code

W-oR -

2 EARINEELTRRS BEEOR HRER Rt
O %7l Function code Port Size Grade of Size
Series Filter G1/8" G1/2" filtration MINI
O Series G1/4" G3/4" Z(E/Blank:40 u m MIDI
G3/8" G1" 5M:5um MAXI
)
L A = =
I BE®HFS/Graphic Symbol mn
I #1#&/Specifcation
Filters MINI MIDI MAXI
40pm FHHKS OF-1/8-MINI | OF-1/4-MINI | OF-3/8-MINI | OF-3/8-MIDI | OF-1/2-MIDI | OF-3/4-MIDI | OF-3/4-MAXI = OF-1-MAXI
5um Manual Drain OF-1/8-5M-MIN| OF-1/4-5M-MIN| OF-3/8-5M-MIN| OF-3/8-5M-MID| OF-1/2-5M-MID| OF-3/4-5M-MID| OF-3/4-5M-MAX| OF-1-5M-MAXI

EHES
WK B ARSMIRER 83 / Sintered filter with water spartor

TAES Fi/Medium / Compressed air

ZE#9%F & /Features of structure

£ ¥ 7 30/Mounting type BHR RN F LY / Pipe mounting or foot mounting
L% E/Assembly position FEHAE (Vertical) +5°
% $# R ~F/Connection G1/8" G1/4" G3/8" G3/8" G1/2" G3/4" G3/4" G1"
FRARIE R OF-... 1000 1200 1400 2700 3000 3000 5000 5300
Standard T
nominal flow rate OF-...-5M 600 950 1100 1800 1900 1900 3200 3300
WNES FahHEkiE
: : 1~16bar
Primary pressure Manual drain
i E/Grade of filtration 40um/5um
K5 B A 8 /Max.condensate capacity 22ml
& 6 B/ Timperature range 0~-60T

wfk; EHE; SIRAMET; PCERRIPE,; BAE; TH; THER

##/Materials information Housing:Zinc die-casting;Filter bowl :PC;Metal bowl! guard:Aluminium alloy;Sealing:NBR

I 5 MER-St/Overall Dimension

wEe Ed
R\ I R-t3%/Dimension Sheet
= O I
{4 ¢ 28 /Model E4
=g OF-.-MINI | 40 39 G1/8" G1/4" G3l8"‘ M4
] -...-MIDI 55 47 3 85 70 G1/8",G1/2",G3/4" | M5

N OF
\F1 ‘
OF-..-MAXI 66 53 3 96,116 80,91 G3/4",G1" M5
SR PR

Matel cup cover
I

OF-...-MINI 45 44 35 1 | 175 144 129
OF-...-MIDI 55 71 60 22 1 245 | 32 15 | 179 | 156
OF-...-MAXI 55 71 60 22 245 3240 15 203 | 175

FHROKE
Manual Drain

075

®

Ap1-2[bar]

0

OF &% =5

it l)ﬁ‘ﬁ%

A Z 4L ¥3E /Internal structure

72 [E/Flow diagram

I3 nFPc

FRAEFL E IR BqnFn i H E S1p2#9 3% &/Standard flow rate gn as a function of the output pressure p2

OF-1/4-MINI

14 bar

6 bar (/10 bar

4/bar
/
2
/

1000 2000 3000 4000 5000

gn[l/min]

6000

Ap1-2[bar]

0

FSNO ZFRltem #HiMaterial
1 % 4 2= (B &) Ornament cover(round) POM
2 OZJ[E O-ring NBR
3 S B-IN Flange - IN #& % Zinc alloy
i 4 JEANE Filter element base POM
5 HEX T % Whirl wind impeller POM
6 &S Filter element RZ MW PE
7 %7K Manger POM
8 {% 378 Metal bowl guard | 4244 Aluminium alloy
9 JK#R Filter bowl PC
10 OZU[# O-ring NBR
11 A%k Inner joint POM
12 7k & Condensate drain POM
13 OF i@ & OF Body #4& % Zinc alloy
14 S B OUT Flange -OUT $#4&% Zincalloy
15 OZY[# O-ring NBR
16 3% Plug POM
17 O#[E O-ring NBR
18 RN IR Allen screw S35C
OF-1/2-MIDI OF-1-MAXI
5
14 bay ‘
4bar 6/bar 10 bar % dbar |6bar  10bar
// 7 g 3 [ ~
7 '<I3 2 /
4
== 1 //%
1000 2000 30004000 5000 6000 7000 8000 0 4000 8000 12000
gn[l/min] - qn(i/min]

N\ EF1/Primary pressure: p1=10 bar

076




OL #% imE=S

BT TRl ER A E ERESBRE

EHFESE BN P EERE, BER A RERENRHZS,
HEIERRTRARES MM, TEFFTRTATEHE, BEE81000LES
The direct constant-density lubricator add regulatd quantity oil to the compressed air. A valve maintains
oil mist content proportional to the compressed oil flow.The pressure drop that occurs when the air flow
through a sight feed oil cup delives oil from the bowl to the sight oil indicator.
The drop of the oil flows into the air channel when it is atomized.

Constantly at work to achieve air refueling.

The oil drip rate is controlled by means of the regulating screw.Normally, 1 to 12 drops/1000L of the

air is sufficient.

I iTM%58/Ordering Code

m - - -

#75| EAINEEHE RS BEOE

O #7%| Function code Port Size Slze

Series Lubricator G1/8" G1/2" MINI

Q Sertes G1/4" G3/4" MIDI
G3/8" G1" MAX

I BE®#HS/Graphic Symbol

I #1#&/Specifcation

if 8% /Lubricators MINI MIDI

T{EEAN/Working pressure
TAES E/Medium

25445 2 /Features of structure

OL-1/8-MINI

%3 773X/Mounting type

R ALF/Assembly position

##% R ~F/Connection G1/8"
FRAEFNE f @ /Standard nominal flow rate 1300

& K T1EE H1/Max.Working pressure
/N2 F &/ Min.Standard nominal flow rate
& K5t fE A @/Max.condensate capacity
i@t El/Temperature range

i/ Material

#E# A Fi/Recommended oil

—NEATHRETHERS ERESREM LLEI.

BEHFESHEAND, BEEEEL,
FEFI-12EREBT .

Mg h—

MAXI
OL-3/4-MAXI

OL-1/4-MINI OL-3/8-MINI OL-3/8-MIDI OL-1/2-MIDI OL-3/4-MIDI OL-1-MAXI

E45 %= / Compressed air

HkS EARMIRERTIES  WmB R B3I AT i USintered filter with water separator The direct Constant-density Lubricator

HR LN F L% / Pipe mounting or foot mounting
EH A6 (Vertical) +5°

G1/4" G3/8" G3/8" G12" G3/4" G3/4" G1"
2300 2700 5500 6100 6300 8400 9000
16bar
3 L/min 6 L/min 10 Umin
22ml
0~-60TC

ik, SR IEMANEAR; PCEMMIPE; SBEE; i THBE
Housing:Zinc die—casting;Water bowl and oil bowl:PC;Metal bowl guard:Aluminium alloy;Sealing:NBR

1SO VG 32 s F1 4 i / ISO VG 32 or the same grade

I 5MER-H/Overall Dimension

R 88 —E4 o
uws Dol 3
Releasﬁ adjusting screw RRER
Bracket
Assembly
) —
o ?I = o :‘1 =

SRR
Iatel cup cover

B Rﬂ'ﬁ/Dimension Sheet
-——-

OL-..-MINI G1/8",G1/4",G3/8" M4
OL-..-MIDI 55 47 3 G1/8",G1/2",G3/4" M5
OL-.. -MAXI 66 53 3 G3/4",G1" M5
OL-..-MINI 45 17.5
OL-..-MIDI 55 71 60 22 24.5 32
OL-.. -MAXI 55 71 60 22 24.5 32,40

Ap1-2[bar]

OL &% imnE=s

A ZB4E 3 [E/Internal structure

f3 nFPc

Z#RlItem
1 #id & Upper glass PC
2 75 1247 Adjust screw #4F Brass
1 13 3 OZ! [ O-ring NBR
2 4 3 i 25 (FA2)Ornament cover (circular) PO
3 5 #% K F Windshield chip NBR
4 6 % XU Windshield base # 4 Brass
5 7 S R-IN Flange - IN %4 % Zincalloy
6 8 OZ! [ O-ring NBR
9 OZ [ O-ring NBR
i 10 %47 % Metal bowl guard (88 % Aluminium alloy
1 j##R Lubricator bow! PC
12 8 3E Oil-filter plug Brass powder sintered
13 OZJ [ O-ring NBR
14 #t#E Screw base #4F Brass
15 i ¥ Oil dropping PC
16 ZEF # Seal piece NBR
17 OL & OL Body %4 % Zincalloy
i 18 45 OUT Flange - OUT &4 4 Zinc alloy
ﬁ!‘l = U 19 M FIZL Allen screw $35C
»""“““"""-’ ! 20 S $23E Bleeder screw POM
L w 21 OZI [ O-ring NBR
22 574 Valve pin #4F Brass
23 W 3L #2# Double-end bolt SuUs
24 3k Steelball SUS304
25 i % # 3k Oiltube connection POM
26 M Oiltube PU
% Z[E/Flow diagram
HRAE B E i EqnFn i H E S1p2#Y 3% &/Standard flow rate qn as a function of the output pressure p2
OL-1/4-MINI OL-1/2-MIDI OL-1-MAXI
6 6 6
5 12 bjar 5 12 Har 5 12 bar
albar 10 Pay dlbsr 1fbar/ 8ba:0[bar
4 6 bar/ E A 6lbar ‘ E 4 6 bar
3 & 3 4|bar f & 5 /
4b7r 7 % % 4|bar /
2 2bar| 3 2 2 bar| / 4 2/bar,
1 = 1 = ==
0 E 10(50 2000 3000 40005000 6000 7000 8000 0 4000 8000 12000 16000 0 5000 10000 15000 20000 25000
[I/min] . qn[l/min] . qn[l/min]

¥y N\ JEF1/Primary pressure: p1=10 bar

078




AB,

iT##5/Ordering Code

i

BC &7

BEOR
AC. B Joint Pipe Code
BC: iz 1500:G1/8"
Model 2000:G1/4"
AC:Small Size 3000:G3/8"
BC:Middle Size 4000:G1/2"

E#$F5 /Graphic Symbol

##&/Specifcation

HEk AN

=H: EEHK
D: Bk
Drian Type
Blank:Differential Drain
D:Automatic Drain

%
oo

b . -

AFC, BFC &7/

1T %3/ Ordering Code

-

AFC: R
BFC: %l
Model
AFC:Small Size
BFC:Middle Size

E#5FS /Graphic Symbol

EEOR

Joint Pipe Code
1500:G1/8"
2000:G1/4"
3000:G3/8"
4000:G1/2"

#1#&/Specifcation

Hek 73

=A: EEHK
D: Bz#hHK
Drian Type
Blank:Differential Drain
D:Automatic Drain

Eﬁ%ﬂ‘;{ﬁk/Operatmg Fluid =5 JAIr m..ﬁi/Operatlng Fluid Z= 5 [Air
#E O %/Port Size G1/8" G1/4" G1/4" G3/8" G1/2" ﬁﬁ"ﬂfé/Port Size - G1/8" G1/4" G1/4" G3/8" G1/2"
FELHE B /Fitiering Element Reughness 401 &0 #8 E /Fitiering Element Reughness ‘ 40u
¥ E /15 El/Range of Adlustable Pressure v 0.05~0.85MPa A3 [E 13EM /Range of Adlustable Pressure ‘ 0.05~0.85MPa
2 A A i £ 7/1/Max Adlustable Pressure 0.95MPa K Al JE /1/Max Adlustable Pressure 0.95MPa
{RIEM FE#1/Ensu red Pressure Resistance ‘ 1.5MPa {RIET} £ /1/Ensu red Pressure Resistance 1.5MPa
{ R BE3E [B/Operating Temperature Range , 5~60°C 1 38 & S5 [ /Operating Temperature Range ‘ 5~60°C
g7k #R & & /Capacitv of Filter Cup 16 cc 60 cc Bk #7 &/Capacitv of Filter Cup 15 cc 60 cc
4 im#R A m/Capacity of Oil Feed Cup » 25cc 90 cc #45h #12 &/Capacity of Oil Feed Cup ‘ 25 cc 90 cc
#1978 A ih/Suggested Lube » I1SO VG 32 =[5 4 NSO VG 32 or Same Grade Oil 8 Ail/Suggested Lube ‘ ISO VG 32 =k [ 4% A i#/ISO VG 32 or Same Grade Oil
E=®E / Weight 0.7KG 0.9KG HEE / Weight 0.5 KG 0.7KG
Ak /Body {BE & EH ME / Auminum Die-casting Forming 7 {&/Body 8 & &E M E / Aluminum Die-casting Forming
gﬁarial Ei#fi Contalingr Cup PE :::tﬁerial A #/Container Cup PE
#4748 28 Protedive Cup Cover ¢/ Steel {#37#% Z Protedive Cup Cover = ¢/ Steel
T 3T 28/ Fitier » AF1500 AF2000 BF2000 BF3000 BF4000 IR T » 3T RS Fitier ‘ AF1500 AF2000 BF2000 BF3000 BF4000
Composing JRE #/Regulator AR1500 AR2000 BR2000 BR3000 BR4000 Composing BLE 8 /Regulator AR1500 AR2000 BR2000 BR3000 BR4000
Elements! % 88/Lubricator AL1500 AL2000 BL2000 BL3000 BL4000 Elementsl| i % 3% /Lubricator AL1500 AL2000 BL2000 BL3000 BL4000
42 R~ /Overall Dimension 42 R~F/Overall Dimension
i i a3 o 140
138 32 ) s o

-—

+
133.8

079

AC1500: G1/87
AC2000: G1/4”

i/
=t
¢ 53

= |

BI2000: G1/4”
B03000: G3/8”
\Be4000: G1/2”7

158.4

AFC1500: G1/8"
AFC2000: G1/4"

133.7

BFC2000:G1/4"
BFC3000:G3/8"
BFC4000:G1/2"




AL, BL &% il ZE=

I iT##3/Ordering Code

o i

BEOR
AL: /B Joint Pipe Code
BL: f#! 1500:G1/8"
Model 2000:G1/4"
AL:Small Size 3000:G3/8"
BL:Middle Size 4000:G1/2"

I BER%S/Graphic Symbol

I ##&/Specifcation

%S / Model AL1500 AL2000

1 A 7k /Operating Fluid

%% 0% /Port Size

FRAE i} £ F1/Ensured Pressure Resistance

1 F iR EZ 35 El/Operating Temperature Range
Y8 FBim/Suggested Lube

#4h #R% & /Capacity of Oil Feed Cup

FEiE/Weight
A {K/Body
mﬁerial Z #/Container Cup

{%$F #7F /Protedive Cup Cover

I 5MER-St/Overall Dimension

40 40
1_ 115

Al L; wa

AL1500:G1/8"
AL2000:G1/4"

120.4

081

BL2000 BL3000 BL4000

z= 5 [ Air
G1/8" G1/4" G1/4" G3/8" G1/2"
1.5MPa
5~60C
ISO VG 32 5[5 4% A i /SO VG 32 or Same Grade Oil
25cc 90 cc
0.12KG ' 04KG
B &% E4 A / Aluminum Die-casting Forming
PE
% | Steel

BLZ7%l|/Series

65 64
12, .55 1,14

zZ

c—/

e
el w |

BR2000:G1/4"
BR3000:G3/8"
BR4000:G1/2"

165

AR, BR &7l ifTi 55

I iTH%3/Ordering Code

-

S BEOR

AR: /A Joint Pipe Code
BR. 1500:G1/8"
Model 2000:G1/4"
AR:Small Size 3000:G3/8"
BR:Middle Size 4000:G1/2"

I E®%S/Graphic Symbol

I #1#&/Specifcation

35 /Model AR1500 AR2000 BR2000 BR3000 BR4000

1 A 7k /Operating Fluid

#% 0% /Port Size G1/8"
%5 £ 7136 Bl /Range of Adjustable Pressure

£ K A[f £ /1/Max. Adjustable Pressure

{RIET} & 71/Ensured Pressure Resistance

{# F iR B S5 El/Operating Temperature Range

E®/Weight 0.11 KG

AR F/Material

I 5MERSt/Overall Dimension

AR %7%l|/Series

A& & EH A [ Aluminum Die-casting Forming

6.4

=5 /Air
G1/4" G3/8" G1/2"
0.05~ 0.85MPa
0.95MPa
1.5MPa
5~60C
0.35KG

BR%7%l|/Series

8 I

35.4
73.8

//ﬂ(f:“\ \\
IN ) 7»// ouT

savs  \QEIn) E/ v

AR1500: G1/8" ,

34 (60)
|
l : TUW
[0
- O
s~ 1
f@n =
N TIK
=2 / BR200O: G1/4 S
o BR300D: G3B"
srao: o121 | HIH
12 -— .
-]

AR2000: G1/4”

 d

082




AFR, BFR #&71 T

AF, BF 7%l S8 705 58

fdnrFPc

I iT#%3/Ordering Code I iT#%3/Ordering Code

o - -

#15/Model EEOR Hik A #IS/Model BEEOR Hik AR

AF: /A Joint Pipe Code TH: EEHK AFR: /B Joint Pipe Code ZTH: EEHK

BF: & 1500:G1/8" D: BahEk BFR: & 1500:G1/8" D: B#hEk

Model 2000:G1/4" Drian Type Model 2000:G1/4" Drian Type

AF:Small Size 3000:G3/8" Blank:Differential Drain AFR:Small Size 3000:G3/8" Blank:Differential Drain
BF:Middle Size 4000:G1/2" D:Automatic Drain BFR:Middle Size 4000:G1/2" D:Automatic Drain

I ERHFS/Graphic Symbol 7\/* I Ef®HFS/Graphic Symbol

I #1#&/Specifcation

I #1#&/Specifcation

E)ﬁumﬁi/Operatlng Fluid 245 / Air & A #&/Operating Fluid =5 / Air
#%& O4%/Port Size G1/8" G1/4" G1/4" G3/8" G1/2" EE O1&/Port Size G1/8" G1/4" G1/4" G3/8" G1/2"
8L ¥ FE /Filtering Element Roughness 40um T E S5EE/Range of Adlustable Pressure 0.05~0.85MPa
{RAE i FE /1/Ensured Pressure Resistance 1.5MPa = A Al JE S1/Max Adlustable Pressure 0.95MPa
{# F3 iR £ S5/ Operating Temperature Range 5-60C fRIE & 71/Ensured Pressure Resistance 1.5MPa
87k ¥R 7 & /Capacity of Filter Cup 15 cc 60 cc {5 38 St El/Operating Temperature Range 5~60C
iR /Weight 0.11 KG v 0.35KG 44 #R & & /Capacity of Oil Feed Cup 15 cc 60 cc
Ik /Body EBALESME / Aluminum Die-casting Forming FE/Weight 0.26 KG 0.4KG
lﬁferial Z #F/Container Cup PE Z{K/Body BEEEHMRE / Auminum Die-casting Forming
#37 #FF /Protedive Cup Cover % / Steel T\;Iral?erial ZA#/Container Cup PE
{&3P # E/Protedive Cup Cover - £% / Steel

I M2 R-F/Overall Dimension

« 40 ¥ 940 %
- ! m -—2— ////R\ |
IN ! Ul our N\

AF1500:G1 /8
AF2000: G1/4

083

BF & %l//Series

46. 95

BF2000:G1/4"
BF3000:G3/8”
BF4000:G1/27

153

I 5MER-SH/Overall Dimension

AFRZ%1//Series

(53)

'*’&gsg

6.4
=l

ouT )
- AFR1500:G1/8"
AFR2000:G1/4"

158.4

384 T
iz
./) E \\\
ol D N v A r——
¥ ;/ &
| 241
60.

1

\
S
(9]
&5

$41.5

BFR &7%l|/Series

w | LOTTh « :
Nl
: <
N1 @)
N U] U} oot
Yo 2
©
&

0.77

G 53

BFR2000:G1/4"
BFR3000:G3/8"
BFR4000:G1/2"

084




RO7 %% XTI =5

I 5MEERSH/Overall Dimension

-

RO7
28
S
1
] i
230 I [ .
3|0
b s,
&
=N
RC1/8
g
oo}
@

I ##&/Specifcation

fdnrFPc

REFHZS  Only Compressed Air

0 ~ 20bar
Rc1/8

=78y ooy Lo N MCIN T LI ER NN 20 ~ 50°C (35 RA#F/Transparence) —20~65°C (£ /&@#/Non Transparence)

HRT2 CLUT, H&EEALRAHRARSE

I E®$FS/Graphic Symbol

==

»

%

e

J

I #EHtEd &/ Characteristic Curve of Flow Rate

38 3
2%
B2 8
| 1
;i 7 S
6
T =
LTl = g
AR 4
i “\\Eﬁ | N\
/ \N2) H ” —
== " 2 \“—“’//
— =
1

20 40 60 80 100 120 140 150 180 200 dm’/s

| IARZFAE®/ RZFIFJER / IAR Series Regulator / R Series Regulator

085

I #1#&/Specifcation

A S/Model
& O42/Joint Pipe Bore
JE ©1%& O%&/IPressure Gauge Bore

IR KR B/ Environment and Flui

{R1ET £ F1/Ensured Pressure Resistance
& = 1E A E F1/Highest Working Pressure

R-200

IAR-200 R-200
1/4Rc
1/8Re
1.5MPa
1.0MPa

d Temperature 5~60T

35
M38xP1.5
|

I

SFCRRAEEEAS,
HERE, ETHRMIIERR

SFC-200A SFR-200A SFC-200

#1#%&/Specifcation

% 042 /Joint Pipe Bore 1/4Rc 3/8Rc 1/2Rc
EA1%& 0% /Pressure Gauge Bore 1/8Rc 1/8Rc 1/8Rc
{RIET} & F1/Ensured Pressure Resistance 1.5MPa
a8 F £ 7/1/Highest Working Pressure 1.0MPa
INERIEORE/

" y 5~60T
Environment and Fluid Temperature
AP &8/Protective Cover A | Available

E# S /Graphic Symbol
1% /Specifcation

& S/Model

SL-200| SL-300| SL—-400

#4% 42/Joint Pipe Bore 1/4Rc = 3/8Rc = 1/2Rc
{RAE T} E /1/Ensured Pressure Resistance 1.5MPa

% & 18 F £ /1/Highest Working Pressure ‘ 1.0MPa

TR R AR '

Environment and Fluid Temperature 5~60CT

AP 28 /Protective Cover ‘ A / Available

E# %S /Graphic Symbol

#1#&/Specifcation

I £/Model SFR-200| SFR-300/ SFR-400

#% O72/Joint Pipe Bore | 1/4Rc | 3/8Rc | 1/2Rc
E 1%k O%%/Pressure Gauge Bore 1/8Rc 1/8Rc 1/8Rc
{RIET} E F1/Ensured Pressure Resistance 1.5MPa
& 18 A £ /1/Highest Working Pressure 1.0MPa
IREE Rt (kiR B/

. . 5~60T
Environment and Fluid Temperature
BA#P 28 /Protective Cover A / Available

$2{E3#57~/Operate Indicate

FREEEES. AT ERESSBEENRAEMIEZ TE
EA, FHAEEAKETFE, BEsETRRSiE,

f3nrFPc

ArmiEEiE, BE, MEF—&, SH0EE,
mEX, MHENRES FTRRX. THHEENR,
ZRXR, AZTFHBAANESIBAOINEE, HIRER
Biips, REFE, SPHMEN,

The product have the function of fi lter,regulator
o and lubricator.It's stucture tightly fl ow rate largely,
£} output steadily and installation simply. The element
has pressure gange,installation stand and lubricator.
The lubricator can non-stop gas. All have the cup
shape protect cover. Use safe and appearance
o beautifully.

I BEm%3/Graphic Symbol

i

I $MERSF/Overall Dimension

80

Jour

puoooT™

7\

PN

l _,|| B4(EE7LHole)

U )

086




DAC 1000 ~ 5000 % 51 &=
KLk HE(FRL)

DAC 1010 ~ 5010 % 5!/ =
SiEERAEA(FRL)

I iT##/Ordering Code

AR e &

I iTH#/Ordering Code

Ry

#5/ RS HMERS BEOR HEKFHH Z% / RS MBS BEOR HiR A

Series _ﬂ{# Specifcation Joint Pipe Bore Z=H. ZFEHEKk Series _ﬂﬂ: Specifcation Joint Pipe Bore Z=QH: £[EHIk

DA%%]  Function Code Code M5_:M5>i°'8 D: BahHik DA%%]  Function Code Code M5_:M5>f'0'8 D: BahHik

DA Series FR.L 1000 3000 g;:g:;a“ Drain Type DA Series  FR.L 1010 g;:g:;a.. Drain Type

Combination iggg ‘;ggg D3:GaY Blank:Differential Dra Combination ig:g 03-G3/8" Blank:Differential Drain

04:G1/2" D: Automatic Drain L 04:G1/2" D: Automatic Drain
06:G3/4" 4010 06:G3/4"
10:G1" 5010 10:G1"

- . -—

B im‘ﬁ/Specifcation Bl HiEHFS/Graphic Symbol e

DAC1010\DAC201O DAC2010 | DAC3010 | DAC3010 | DAC4010 | DAC4010 | DAC4010 | DAC5010 | DAC5010
-M5 ‘ 01 | -02 -02 -03 -03 -04 -06

I ##&/Specifcation I E#®HS/Graphic Symbol

712 /Model DAC1000 DAC2000’DAC2000 DAC3000 | DAC3000 | DAC4000 | DAC4000 | DAC4000 | DAC5000 | DAC5000
-M5 -03 -03 -04 -06

FNE it & /Rated Flow 90 500 500 2000 2000 4000 4000 4500 5000 5000 #N7E 7t i/ Rated Flow 90 500 500 1700 1700 3000 3000 3000 4000 4000

# 0%/oint Pipe Bore M5 | Gls | G4 | Gl4" | GI8" | GI®" | Gl | G4 | G | GI” $E 0173/ Joint Pipe Bore M5 | GiE" | Gl4 | Gl4 | G38 | G3®" | GIR' | GI4' | G4 | G

3t i4%& BE/Filter Precision 254 34 BE/Filter Precision _ 25

% & L1EE F1/Highest Working Pressure | 1.0MPa 5 & L{EJE F1/Highest Working Pressure | 1.0MPa

{RAET E 71/Ensured Pressure Resistance | 1.5MPa {RIEM} E 71/Ensured Pressure Resistance 1.5MPa

1% iR FE 36 Bl/Operating Temperature Range 5~60T & B3R FEESE [l /Operating Temperature Range 5~60T

il E3E [El/Range of Adjustable Pressure | 0.05~0.7MPa 0.05~0.85MPa i & SE El/Range of Adjustable Pressure |0.05~0.7MPa 0.05~0.85MPa

##1Y A if/Recommended Oil Use ‘ ISO VG 32 #1% A if/Recommended Oil Use 7 1SO VG 32

A 2E 1 #4/Container Material TEkERRE/ Polycarbonate 2 8E#1#}/Container Material BERLERAS/Polycarbonate

B4 2 /Protective Cover J&/Not Available A/Available P37 28/ Protective Cover . Jt/Not Available A/Available

HE7k &5 Th BE/Drain Function % [Eh7Kk/Differential Drain Z[ER7K. B3k Differential Drain, Automatic Drain HE7KZETHBE/Drain Function . # [Eh7k/Differential Drain ‘ ZEMK. BEhhk/Differential Drain, Automatic Drain

728 Valve Type it EY/With Overflow 1723/ Valve Type ‘ i 2Y/With Overflow
MRk T4 e RS/ Filter DAF']OOO M5 | DAF2000-01 | DAF2000-02 | DAF3000-02 | DAF3000-03 ‘ DAF4000-03 | DAF4000-04 ‘ DAF4000-06 . DAF5000-06 . DAF5000-10 ?ﬁf{jﬁng F—:fru;] F}FLeHgﬂu/Iator DAW1000-| l\/l5 DAW2000- 01 DAW2000-02 | DAW3000-02 | DAW3000-03 | DAW4000-03 DAW4000—04‘ DA\/\/4000—06. DA\/VSOOO-OG» DAWS000-10
Composing ﬂEHﬂ/ReguIator DAF\’1000 M5 DAR2000- 01 DAR2000-02 | DAR3000-02 | DAR3000-03 | DAR4000-03 | DAR4000-04 | DAR4000-06 | DAR5000-06 | DAR5000-10 Elements| i Z 28/Lubricator DAL1000-M5 DAL2000- O’l DAL2000-02 | DAL3000-02 | DAL3000-03 | DAL4000-03 | DAL4000-04 | DAL4000-06 | DAL5000-06 | DAL5000-10
Elementsl

M ZE 3/ Lubricator | DAL1000-M5 | DAL2000-01 ' DAL2000- 0" DAL3000-02 | DAL3000-03 | DAL4000-03 | DAL4000-04 | DAL4000-06 | DAL5000-06 | DAL5000-10

I 5MER-~H/Overall Dimension

Overall Dimension
£ SR/ DAC1010~2010 DAC3010~5010

DAC1000~2000 DAC3000~5000

A A
n e e
% N%&/Gauge Size # [%&/Gauge Size I
<N N A
LB | migzne )
LT /LType
LaER . Hranet ) 13 Bracket 111
L-Type O s, >~ | "ug e
= 1 - i oo
i’i’ﬁ:E':E HOoUT = A d i 1 2o T = —: Y |= o] T % ——
el = j L taf zLI—(B uimE o)
I DN e e p 1 2= 1 D R R o T £ P o s [ i ) S 89 =
b o ! U : i
SHEAERT) H SEAERT) QL AR
Piping Adaptor | _l_- Piping Adaptor Pipinig Adaptor J:
(Option) o (Option) 0 (Gption) :
0g Port EOR &0 B i i
Port Size Gauge Size Gauge Size U
size
HIE A T 1 T 4R 5 I e | I .
1] Regulator.  Lubricstor P { Reguiator  Lubricator D,;'fn g 2 - - I/_ﬂ;lﬁf;m
EKETR kit iR R Ctale o |
Drain & Filter Drain & Filter Filter & Regulator I HEHIE

[
Filter &Regulator

B Rﬂ'i@/Dimension Sheet B RTl'ﬁlDimension Sheet
------_-“-ﬂ —------n-n

DAC1000 | » | EES ‘ ‘ » ‘ ‘ | 175 | | 385 DACION0 | 58 1085 505 25 » _ N ‘ ‘ | 175 | | 385
DAC2000  GUE'~GI4' | 140 125 38 | 40 568 30 5 24 55 85 5 2 23 50 DAC2010  GIE'~GI4" 90 1645 78 40 568 30 45 24 55 85 5 2 28 50
DAC3000 Gl/4" ~G3/8" 181 | 1565 38 53 608 41 64 3 7 | 11 7 342 26 | 705 DAC3010 | GIM'~G3E" 17 21 @25 53 608 41 585 3% 7 | 1 7 M2 26 | 705
DAC4000  G3E'~2 | 238 1915 41 70 | 655 50 8 40 9 13 7 | 422 3 | 88 DAC4010 | G3®'~/2 | 154 262 112 | 70 | 705 50 77 40 9 | 13 7 422 33 88
DAC4000-06 | G3~4" 153 193 405 70 695 50 8 40 9 | 13 7 462 36 | 88 DAC4010-06 G3~4" 164 | 267 114 | 70 705 50 8 4 9 | 13 7 | 462 36 | 88
DAC5000 | G34"~GI" | 300 2715 48 9 | 755 698 105 50 12 | 16 105 555 40 | 115 DAC5010 | G3M4'~G1" | 195 338 116 90 755 698 975 50 12 16 105 555 40

087 088




DAF 1000~5000% %1

=T IERS

iT#3%3/Ordering Code

mpm g m

25/ RS HIERS
Series ‘f,},ﬁ%& Specifcation
DA%3%]  Function Code Code
DA Series Filter 1000 3000
2000 4000
2500 5000

I E#S/Graphic Symbol

BEOR HEKFHH

Joint Pipe Bore Z=(. #EHEK
M5:M5<0.8 D: BEhHEk

01:G1/8" :

02:G1/4" Drain Type

03:G3/8" Blank:Differential Drain
04:G1/2" D: Automatic Drain
06:G3/4"

10:G1"

D>

N

I ##&/Specifcation

#5/Model

%7€ i i /Rated Flow

#% 42/Joint Pipe Bore

3t ji84% BE/Filter Precision |
% /5 L{EE F1/Highest Working Pressure
{RAET E 71/Ensured Pressure Resistance
{8 Fi F& 3G [{l/Operating Temperature Range
285 #1#/Container Material A
B $P 2 /Protective Cover
HE7K &S ThBE/Drain Function

DAC1000 | DAC2000 | DAC2000 | DAC3000 | DAC3000 | DAC4000 | DAC4000 | DAC4000 | DAC5000
-M5 -01 -02 -02 -03

DAC5000
-10

110 1500 1500 4000 4000 6000 7000 7000
M5 ‘ G1/8" G1/4" ' G1/4" G3/8" ' G3/8" G1/2" . G3/4" ‘ G3/4" G1"
25u
1.0MPa
1.5MPa
5~60°C
BEwkERBE/Polycarbonate

A/Available
ZERk. Bahigsk/Differential Drain, Automatic Drain

F&/Not Available
# [E M 7k/Differential Drain

DAR 1000~5000 %71
LEREE

T8 /Ordering Code

EP'?‘ an

=3/ RS MRS BEOR
Series ﬁ&EHﬂ Specifcation Joint Pipe Bore
DA% Function Code Code l(\)n15:GNL.';8>i0.8
DA Series Regulator 10AD. -2000 02:G1/4"
2000 4000 5
2500 5000 it
04:G1/2"
06:G3/4"
10:G1"

I E®%S/Graphic Symbol
B *ﬂ*ﬁ/Specifcation

12 /Model DA.RN? 5000 DA?O%]OOO DAE?O22000 DAF_?O?:ZOOO

KIAE it i /Rated Flow v 2500
#% O42/Joint Pipe Bore M5 G1/8" G1/4" G1/4"

& I{EJE F1Highest Working Pressure
{RIET} E F1/Ensured Pressure Resistance
1 AR EESE El/Operating Temperature Range
iPniE?E[ﬂ/Range of Adjustable Pressure
#1728 valve Type

f3 nFPc

DAR3000 | DAR4000 | DAR4000 | DAR4000 | DAR5000 | DAR5000
-03 -04 -06 -06 -10

2500 6000 6000 6000 8000 8000

G3/8" v G3/8" G1/2" G3/4" G3/4" G1"
1.0MPa
1.5MPa
5~60°C
0.05~0.85MPa

it EUWith Overflow

I M2 R-F/Overall Dimension

DAR1000~5000
DAF5000 /;;. . .

I 5MER-St/Overall Dimension

DAF1000~2000 DAF3000~4000

G D
£ f—T
( 5 ‘ g L fos/ ) TR IIFL/
M| Bracket ! ’ ‘b Srackel M K Panel cutting Hole
J‘; o Ei Al —— | i
: < zu L He D i e
e #0 0 L e =
" N /IN T 1 ouT E:—R £ %e/Bracke il ] L
v & [ [ amnaes @C—
| 0 #/Port Size «Q T ]
= ;;ﬁ f Igjoﬁsize @ =] [ ‘
Size - //‘ _ H
N\ : AR1000~3000:4% KB &3 .5
1 e ety T AR4000~5000 # A /& &5
AR1000~3000:Max3.5
b : A AR4000~5000'Max5
Drain -
kb #AiDrain
I R-t%/Dimension Sheet I R-F%/Dimension Sheet
DAF1000 M5 - - 25 DAR1000 M5 3 65 1 ‘ 40 205
DAF2000 G1/8" ~G1/4" 40 97.5 1 » 40 » 17 » 30 | 27 22 54 84 40 23 | 40 DAR2000 G1/8"~G1/4" 40 95 » 17 » 40 ' 56.8 | 30 34 44 54 154 55 23 | 335
DAF3000 G1/4" ~G3/8" 53 1325 14 v 53 ' 16 ‘ 41 ‘ 40 | 23 6.5 8 53 23 | 56 DAR3000 G1/4" ~G3/8" 53 v 1275 v 35 ‘ 53 v 60.8 | 39 40 46 6.5 8 | 53 | 23 | 425
DAF4000 G3/8" ~1/2" 70 168.5 » 18 70 17 » 50 54 26 85 105 70 ‘ 23 | 73 DAR4000 G3/8" ~1/2" 70 1495 375 70 65.5 495 54 54 85 105 70 23 525
DAF4000-06 | G3~4" | 75 1725 20 v 70 v 14 v 50 v 54 | 25 85 105 ‘ 70 | 23 | 73 DAR4000-06 | G3~4" v 75 v 154 v 40.5 v 70 v 69.5 49.5 ‘ 54 55.5 v 85 105 ‘ 70 | 2.3 | 525

DAF5000 G3/4" ~G1" 90 2475 24 90 23 66.5 66 35 1 13 90 3.2 90 DAR5000 G3/4" ~G1" 90 168 48 90 75.5 495 54 62 85 105 70 23 525

089 090




DAW 1000~5000 %5l
s sEFiAT 2=

1T %5 /Ordering Code

'7“"1““”@‘?’

25/ MRS EEOR
Series TD‘EE% & IB]EHE Specifcation Joint Pipe Bore
DA% Function Code Code MS:M5 0.8
DA Series  Filter & Regulator 1000 3000 o1:G1/e*

2000 4000 02:614*

2500 5000 0358/
04:G1/2"
06:G3/4"
10:G1"

I E#$HFS/Graphic Symbol
I ##&/Specifcation

#1-=/Model

B

- .

HEKF K

=H: £EHK

D: BzhHEX

Drain Type
Blank:Differential Drain
D: Automatic Drain

DAW1000 | DAW2000 | DAW2000 | DAW3000 | DAW3000 | DAW4000 | DAW4000 | DAW4000 | DAW5000 | DAWS5000
-M5 -01 -02 -02 -03 -03 -04 -06 -06 -10

ENE T =/Rated Flow 2000 2000 4000 4000 4500 5000 5000
#% O4%/Joint Pipe Bore ' M5 ' G1/8" G1/4" ' G1/4" ' G3/8" G3/8" G1/2" G3/4" G3/4" ‘ G1"
3t JE4% B /Filter Precision ' 25u

% /& L1EJE 71/Highest Working Pressure ' 1.0MPa

{RAEM E 71/Ensured Pressure Resistance ' 1.5MPa

1% iR BE 3 [l/Operating Temperature Range 5~60C

i) JE3E El/Range of Adjustable Pressure | 0.05~0.7MPa 0.05~0.85MPa

A 751 )/ Container Material » FEHELRE/Polycarbonate

BA 3725 /Protective Cover Jc/Not Available F/Available

HE7K2E hAE/Drain Function # [EM7k/Differential Drain

17128 Valve Type
I 5MEER~H/Overall Dimension
DAW1000~2000

ZEMk. BEhisk/Differential Drain, Automatic Drain
%/ﬁuu};ﬁ/wlth Overflow

DAW3000~5000

L E F L E
8 . D D
1 ‘lﬁ mm ] R [ HW 5
:;7, UL ,_-!;t iU _:. I :;t 2 Bracket
{ ; i } =
» 0 : == i il -
; S ERYIKIFL/ Wi RN EHR K7L/
i . r}; Panel cutting Hole NN Tho T HHOH Panel cutting Hole
/IN *‘lﬁlrm : ,L E -+ . P ouUT o 3 . =
1% Liceind = > ~ &/1q ] 1
e Ene\ [OTOR R N Gauge pat N
Sizeg Pressure Size Size | p
gauge S~ 1
R_ AW1000:4 XEfE 3.5 AW2000: i X EE2 5
1 = AW2000: i KEE 5 AWA4000~5000:4 K EES5
fik Drain ,L_l AW1000:Max.gage 3.5 3 i AW3000:Max.gage 3.5
AW2000:Max.gage 5 l!M(ADmm P AW4000~5000:Max.gage 5

B RTl'iEIDimension Sheet

DAW1000 | 25. 1095 | 505 |
DAW2000 G1/8" ~G1/4" 40 164.5 B
DAW3000 G1/4" ~G3/8" . 8 21 925
DAWA4000 G3/8" ~1/2" 70 | 262 112
DAWA4000-06 v G3~4" 75 267 114
DAWS000 v G3/4" ~G1" v 90 v 338 116

091

Of&/Port Size(G) _------“-II

40 568 30 34 435 54 154 55 23 335 40
53 608 3 40 46 65 8 53 23 425 56
70 705 492 54 535 85 105 70 23 522 73
70 705 492 54 555 85 105 70 23 525 73
90 | 755 492 B4 62 85 105 70 23 | 525 90

DAL 1000~5000 %3
iHE

1T %3 /Ordering Code

EP'FE?E‘?’ f

% / RS HEKS
Senes ,ﬁaggﬁ Specifcation
DAZ%I Function Code Code
DA Series Lubricator 1000 3000

2000 4000
2500 5000

I E®HFS/Graphic Symbol

I ##E/Specifcation

f3 nFPc

EEOR

Joint Pipe Bore

M5:M5<0.8

01:G1/8" -«
02:G1/4"

03:G3/8"

04:G1/2"

06:G3/4"

10:G1"

XAL1000 | XAL2000 | XAL2000 | XAL3000 | XAL3000 | XAL4000 | XAL4000 | XAL4000 | XAL5000 | XAL5000
‘ -06 -10

HJ-=/Model
N ZE i /Rated Flow 95 800
#% 042 /Joint Pipe Bore _ M5 G1/8"

% fa L1EE F1/Highest Working Pressure »
{RAEHE F1/Ensured Pressure Resistance |
{# 3R B S Bl/operating Temperature Range
# 1Y i1/ Recommended Oil Use

S HEL/Container Material

B $P & /Protective Cover

I 5MER-SH/Overall Dimension
DAL1000~2000

F&/Not Available

800
G1/4"

DAL3000~4000

1700 1700 5000 5000 6300 7000 9000
Gl4" | &38| G’ | GIR' | G4 | G3M4" | GI'
1.0MPa
1.5MPa
5-60TC
ISO VG 32

BEHERRE/Polycarbonate
H/Available

DALS5000

A % O&/Port Size

P R#%/Dimension Sheet

X D A F
- : 7|.M [e_. D . b_L:tLM
E& v:[l T Ko Mo G2 # i
i ‘;10 o racket 11 et % : Ay Bracket . ™ :I
I B T 9 . El o T T LTE
ETe] EIH i | HAAH i /N [RrouT Nz
/N i UT Prrga] [ HO A = [ | Bracket
o 2-0f&/ AN 1oUT
Port size o M =
208/
% | F T
A P _4\\=Lr‘ =/ U |:‘

o

-------“-

DAL1000 » 815
DAL2000 G1/8" ~G1/4" 40 @ 12
DAL3000 G1/4" ~G3/8" v 53 142
DAL4000 | G3/8" ~1/2" 0 177
DAL4000-06 | G3~4" [
DAL5000 G3/4" ~G1" 90 254

255
38
38
41
39
45

2
0 30 27 | 2 | 54 | 84 | 40 23 40
5 4 0 2 65 8 55 | 23 56
70 s s 26 85 105 70 23 73
70 s | s 25 85 105 70 23 73
90 665 6 35 1 13 0 | 32 9

092




NACP300% %! 7 n-Pc ® PTH R3diEss/faE=5FfiHE
SRR B () r 118 “Fa1/4 “HEIR

I iT##/Ordering Code

-

BEOR D: BzHkE TELHEER EEOET
Model Joint Pipe Bore EEORZ =TH: PTH
8A: PT1/8 T Type Joint BSP: BSPF
10A: PT3/8 i Leang NPT: NPT
Bore Joint Pipe
T8: PT1/4 g .
T10: PT3/8 Blank: PT Thread A
BSP: BSP Thread
NACP300 NAFR300 NPT: NPT Thread
- Ed -
LT A = = - -
l ’Bﬁ?/Graphlc SymbOI I ﬁg/ﬂow dlagram LO7imEZ e BO73t iR/ 1 PTH200 Bt
1 X i) o =
LO7 Lubricator BO7 Filter & Regulator PTH200 FR.L Combination
8A — XM E AN 7kgflem®
«E 6
O
55
> - - 3 A = -
By s I ##&/Specifcation I E##S/Graphic Symbol
= - 1
I ﬂ*ﬁ/SpeCIfcatlon E 8 \ 4 & IMedium [E 452 5/Compressed Air
pre = fl 2 — N # OJE A1linlet Pressure Condition 0~10 bar
: AN
AIAssembly NAFR300,NAL300 " : AR
% 02 R S/Port Size Code 8A 10A 15A 500 1000 15?/0 (ANRZ?OO 2200 2 M iBody Materidl HECN0 0y
piok=3 min.
#% 0% R~f/Port Size Dimension G1/4" G3/8" G1/2" ¥
{# A I 136 Bl/Operating Pressure Range 0~0 99MPa '’ 5 .
it FE 71/Pressure Resistance 1.5MPa g 10A,15A  —XMEH 7kgf/em? I 9|‘ﬁ5RT.|'/Overa|| DlmenSIon
&7 [E 7136 @ /Pressure Range 0.05~0.85MPa £ T
1# A ifi#6/Operating Fluid =5/ A %5 T
i#th/Operating =S/ Air 2 ] PTH & —{x\ £ %£%2/PTH Boxed Sets
J& iR E/Ambient Temperature 5-60C phe 4 —
333 ¥ B /Filter Precision 5um 1 3 —
iR I3 & /Capacity Of Oil Feed Cup 55c.c 52 — 1| —
iE T & /NE S E/Min. Air Flow of Oil 50 1 /min 60 1 /min 60 1 /min 1 ﬂm—”—"- ’
$1%1978 Ml /Recommended Oil Use ##Lil/Machine Oil SO-VG32 1 / i T
[t J& A8 Accessory [E 1% /3% 32 (Pressure Gauge/braket) 0 45 45 i =t _L _____.‘ 45 45
500 1000 1500 2000 2200 T | B —. T | v S e S —
wE ¢min.(ANR) %.I — <r = 4 %I _
A = = 7 @ - : / kS
I 5MERH/Overall Dimension A @ AR N ©@)_[®
S =TT ! g b
R . (60) . (35) i
: 2-$p7X13 %/
) & X
| & | @
. . .
@ I g <
é - Jl* T o © :
© (&) 2 — o
[

©

(

53
(61.5)

-m;f;nr
_j_s—_vé?_.

#HFER TR R E &/ E kg
“FEHAL T BEHER T HE ## BEREASImmKIEEZ, 5/32"'H1F

¥, # Minimum clearance required to remove bowl

I

|

}

l
AN

|

|

|
4

\

- % ¢ 6-3E7k O (Drain Port)

093 094

//b_ Py
134
(206)




AD402 %% B BhHEK, ®

ZDFS B B EHEKER

fdnrFPc

I #1#&/Specifcation

et 12 Model | AD402-02 AD402-03 | AD402-04
—
) " EM$ £ J1/Ensured Pressure Resistance 1.5MP!
I!IIII!' ﬁlﬂﬁﬂ_j] - a
#h{EE 71/Operating Pressure 0.15MPa~1.00MPa
IR R AR 2 /Ambient and Fluid Temperature 5~60°C
EENO{Z/Port Size G1/4" G3/8" G1/2"
HE7k 04%/Drain Bore G1/8"

EFF 2! / Normal Open type
£ 47% 5 | Compressed Air

HE/K IR 7S/Drain Status
T E9 BR/Working Medium

I 5MER-F/Overall Dimension

@ fi&E 1 /Range of Application:
HEATENHREERL., 2EXTETEN, MASBR. PSERSHES
IR EAELN K, AIREEMETHIT. ATHRISKHMT, WEL. €L,
AL ; HARRERAEASERAM KREBSAENMTT, RIHIEATHIKEES
&R ESR S SPLEKERM TR
This product often applies to auto remove the see per at the lower places of
piping,frozen type air drying machine.Oil separator,air storage tanks and the bottom
of various air filters. It can be installed in the places inconvenient for manual discharge
of sewage,such as higher,lower and narrow places,especially there slarge consumption
of air or frequent water drains. |t can prevent the compressed air being re-polluted by
con-dense water resulting from neglect of manual drain.

@ 1% /Features:
B Zh#E 7k (Auto Drain)/4Z5S HE7K (Air Shut-off Drain)/F3h#E7k (Manual Drain)/
kR ERH £ BIR#P F(The water cup is provided with metal protective cover)
@ ¥ == /Points for Attention:
EAM, vAEAMERE, BEHKOFET,
When using,the drainer should be installed vertically the drain port facing down

1712/Stroke:2.5

I BEHFs/
Graphic Symbol

3 \\\/ 1
\ viiEk/Drain
{ 82

@ {EME[E / Range of Application
AFERmRBREEAHHARF. EKIIRIF.
B2 EEK o
This productis installed atthe bottom of water cups for auto dischargers,air filters and
air filter regulator and can auto discharge thecondense water gathered in the water cup.

@ I ARER / Technical Requirements

s T e R/Working medium: [E 48 % S/Compressed air
IREE ':J fRi% E/Ambient and Medium Temperature: 5~ 60T
ZdH’EI:T:j]/Operatlng Pressure: 0.15~ 1.00Mpa

ERTIREER A KIRRED, BE BB HERM R KR F

@ i EEH/Points for Attention:
EAM, vRAEEMELRE, BEHKOBAT,

when using ,the drainer should be installed vertically the drain port facing down.

I 5MER-St/Overall Dimension

385

4
7 7
# 18 %
4 D155 |44
15° - /”
T a I s # ¥,

10

af 7

12
@18

095

H 235 EATE(LERS)

I =mAi&/Product Use

ZRERIIKFELABGRBERF LM, 3t
BENEAREEET, SRAMER TR
EEMBESH RGEED.

The high pressure series air source treatment unit is
developed by ourselves specially for high pressure
service environment, which have been widely used in

various high—pressure pneumatic system such as bottle
blowing machine ect.

I iTM%3/Ordering Code

& X
QTYH-[
N b
e EEOE MR EEOR .
BERER Port size BES KRS Port size
Specifcation code 8:G1/4 Specifcation code 8:G1/4 3
High pressure 15:G1/2 High pressure water ~ 15:G1/2 QSLH-[ 7/\\
regulator 20:G3/4 separate \V/
25:G1

I ##&/Specifcation

EEREAN/

Max. pressure wkMEs

WIESEE/
Pressure Regulating
Range

0.5~3.5MPa

INERRIERE/
Ambient and Fluid -5~50°C
Temperature

I R-t%*/Dimension Sheet

1% Of3/Port Size
QTYH-8 G1i”
QTYH-15 G2
QTYH-20 G
QTYH-25 o1

f3 nFPc

QTYH-20 QSLH-8
QTYH-25 QSLH-15

I BE®HFS/Graphic Symbol

I 5MEER=F/Overall Dimension

E

. l 48 l
] 2-G112" BT 4
i o
3 10
2
Eh% il
<| m _ Pressures
/ \\gauge
— T
{ ] )
[ | | — b
T+ | & ‘ e

150 556X 55
150 64 34 36 60 56X 55
235 91 45 32 95 8080
235 91 45 32 94 8080

096




J— —
HAT TR 5
DNC £41 1S0643 1451 H QB SEEr
ST 41 1S06431h5E T 7S
_— ® SC / SUZRFIARAEHL 150643 Lo 1 HL BT 4
nr P c MA6432 2 41] (1S06432) ANFEAN/NTL ——105 1S06431 A7l LA
/ —h — MAL 25145 & 4 /N ST Pt S ELAC A
l ; | i CI2 R BN /N L T LA

ADVU Z 41 K12 1S oL A TS T A

SDA 1A (3% 2= 44) ~iL PG BC

CQ2 28 51| 25 152 AL i LS

CJP ZHETE 30/2000 DL—03 2 I J1 %

TN Z 50X A< L DL-21R R Ak F1TF 5%

CXS & 1) WU < L DL-31R R FIH )15

CU RHR AL DL-11R RAIkEFITF 5%

MGP 2 41| =l < il BK / PBN / PN &% [HE 4N

MSQ R FF G A2 AN EE L PI / PAC %41 [HEJE

DHZ2 / DHC2 ZHRA‘Szha\Fetrds PM / SU 41 [& €SB




DNC %51 1506431 * = DNC 51 1506431 h .
TRESEL F:"l' rC bR nrPC

I M2 R-F/Overall Dimension

# &% / Normal Type DNC-S

ZB+17#2(Stroke)

12 L3+{712(Stroke) 4
WH
A VD Lz EE 8.07 . sw2
L8 T i
& @ @
o sy AN ot e A B
* & o113
DNC-40x75 MDNC-50x80 — <(

SW1 L6 s

I iT##/Ordering Code

- X b - = P R‘]’iE/Dlmensmn Sheet
_-

e Rols - o8 ANSE WERS mEmst Fixed Type 12 325 M6 118 M10x125 416 623 120
ZRHER DNCi@OD““W!ﬁEﬁIﬁ: . Cylinder Bore Stroke Adjust Storke =8 fRAEE =8 EAL Blank Normal type 40 24 35 16 38 M6 54 1/4 8 6 M12x1.25 44 T 4 295 16 36 10 13 6 20 30 | 135
THHFF DNCD:I1SO642 1 fRAE W AHE 5L 25-25mm SR ERIR LBRTREIEE LB:front and back fixed type
M:SK S5 DNCJ:ISO64 31 4 THZ A AL 50:50mm Magnet Code FARIEREIER @A) FA:front cover fixed type 50 32 40 20 465 M8 64 1/4 10 85 M16xX1.5 51 78 4 30 17 | 51 10 17 8 27 37 14
Tube T Series Code 75:75mm Blank:Without Magnet FBRZEREIERL (Fi%=)  (Front flange type)
T e Typs  DNCISO6431 Standard S bl CARBETEBER Fo back cover pad type 63 32 45 20 565 M8 75 3/8 124 10 M16x15 54 8§ 4 355 17 66 10 17 8 27 37 1575
TTie-rod Type Double Action Type CBREEEL MEI)  (Back flange type) 80 40 45 25 72 M10 93 3/8 125 8  M20x15 624 952 4 36 17 105 10 22 10 345 46 1735
M:Mickey Mouse Type DNCD:1SO6431 Standard Two SDB FERER(FIEIR) CAback cover fixed type
’ Axis Double Action Type (Single Earring) 100 40 55 25 89 M10 110 1/2 118 10 M20x15 698 1004 4 39 17 8 125 | 22 10 38 51 189
DNCJ:ISO6431 Two Axis CB:back cover fixed type
S bl e 125 54 60 32 110 M2 134 12 13 8  M27x2 8 124 6 447 2 14 10 28 12 46 65 225
SDB:back cover fixed type
=
I ME4H Internal structure B 5MER-H/Overall Dimension
Fs BFR Fs BFR
NO. Designation NO. Designation W;EE4FE /Double Piston Rod Type DNC-D-S
&2 8 /Piston Rod Nut & 3E4F/Piston Rod
3 125 B5 42 [ /Front Cover Seal Ring 4 2 5théh 7k /Bearing s P
5 Hi2/Front Cover 6 & ¥ [E/Buffering O-Ring — ‘@ = i
7 %&0%/0-Ring 8  imEAFEH E/Pistion rod O-Ring = 7 | S | — 4@ i L
9 0% /Piston O-Ring 10 34X (7T %) Magnet(Optional) = ] @ @ I
I
o, & s 1 fifEE ¥ Wear Ring 12 FIf&/Barrel
AR N &
L/ZAMY s 13 i& 3 /Piston 14 2% i §1% £ [El/Cushion Seal
15 2 iA¥5 4 /Cushion Needle 16 f&35/Back Over VD ZB+i512(Stroke) V5
17 A75 A2 2 /Hex Socket Screw 18 iy 2 [B] E 42 £ /Profile Bolt L15+17 #2(Stroke)

I R-t%/Dimension Sheet

I ##8&/Specifcation I 17%#% Stroke
B 30 35 40 45 45 55

A Bors(mm) AT i ’ BA (TR
#{E R /Motion Pattern 42 5 38 #9 2= 5/Fitered Air Bore | Standard Stroke Buffer Stroke Stroke Range 15 e & e = = o
T &9 B/Working Medium W zf/Double Action 32 20 VD 16 20 27 27 34.5 38
it FE 236 JE 71 /Compression Pressure 15MPa 40 = 120 135 s . S 5
= 51£/A/E f1Max.Operating Pressure 1.0MPa 50 fgo4(1)2§01gg -
AET{EE f1/Min.Operating Pressure 0.1MPa 63 200 250 320 10~2000
£ ih/Buffer S48 3% (5 f) /Air Buffer(Standard) 80 400 500 -
I7 558 E/Condition Temperature -5~70°C 100
{# 1% E/Operating Speed 50~800mm/s 125 35
%% O1%/Port Size G1/8" G1/4" G3/8" G1/2"

097 098




S| &5l 1S06431 h — S| &5l 1S06431
ST nrePC ST

I SEEigH SR Cylinder theory output

SEREZ | EEIME

/Cylmder /Extern FER R
inside Diameter /Potion Patterm
Diameter | of Piston Rod
%3 19 EH [ifiPress Sle 8.04 804 1608 2412 3216 4020 4824 5628 6432 7236
Action i fi/Pull Side 6.90 690 1380 = 2007 2760 3450 4140 4830 5520 6210
. - B9 [pipresssiee 1256 1256 2512 3768 5024 6280 7536 8792 10024 11304
Acton FIfI/Pul Side 1055 1055 2110 3165 4220 5275 6330 7385 8440  94.95
SI-50 x 50 S1-50% 100 S1-32x 100 - - Ban [Eppresssile  19.63 1963 3926 5889 7852 9815 117.78 137.41 157.04 17667
Action fiffi/Pul Side  16.49 1649 3298 4947 6596 8245 9894 11543 13992 14841
o - ZA% fpypresssice 3117 3117 6234 9351 12468 15585 187.02 218.19 24936 28053
l 1T %5 /Ordering Code Acton | HMPUISide | 2803 2803 = 56.06 8409 11212 140.15 16818 19621 224.24 25227
i a8 ZA% [Epipresssile  50.26 5026 10052 15078 20104 25130 30156 351.82 40208 45234
Action fiffl/Pul Side  45.36 4536 9072  136.08 18144 22680 27216 317.52 32688 40824
? ? ? ? % - - Ba% ffypresssice 7853 7853 | 157.06 23559 31412 39265 47118 42882 62824 70677
Acton FIf/Pul Side 7147 7147 | 14294 21441 28588 35735 42882 50029 517.76 64323
- _— - —— HERE Fixed Type i 55 Zi% gyPressside 12272 12272 24544 36816 49088 61360 73632 85004 98176 110448
S e g sqy  CvinderBore  Stroke . S LB% %’;iﬂ . N Action fiffi/Pul Side  114.68 114.68 22936 344.04 45872 57340 688.08 802.76 91744 103212
SIIS0643 R T H T W ?2?2”‘"‘ Magnet Code Egﬁgigéﬁiij PA ot covr fred pe(Fot ango o) - 16 Zi% [ipyPresssidee  201.08 20106 40212 60318 80424 1005.30 120636 140742 160848 1809.54
b o S With Magnet CA}%‘;%[E@Z(;?I%) CAback cover fixed type (Single Earming) Ao ?ﬁf?!ﬂ/PuIlSl.de 18849 18849 37698 56547 75396 94245 1130.94 131943 1507.92 169641
SID- 1806431 Standard Two SoEMEEMNER)  CHbascosnied e ubleanis) b - Eu% [Eppressside 31416 31416 62832 94248 125664 1570.80 1884.96 219912 251328 2827.44
S A e e SO /S EERSIEIR) SDBback cover fixed type Acion }ifi/PulSide 30157 30157 603.14 90471 120628 1507.80 180942 2100.99 241256 2714.13

Stroke Adjust Type

I {7#2 Stroke

I MEB4#S Internal structure Y T RATE | mwE
Bore(mm) S /Max.Stroke | /Permissible Stroke
fy fr
: Des%rﬁ’gtion NO. Des%rf’gﬁon 32 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 1000 2000

1 $E S 4T4263 /Piston Rod Nut 2 5% 38 #F/Piston Rod 40 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
3 #1251 [ /Front cover seal ring 4 0%/0-Ring 50 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
5 & 7R /Bearing 6 512 Front cover 63 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
____________________________________ 7 4 1K O% Buffering O-Ring 8 % %4 /Piston rod O-Ring 80 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
9 4T75/Barrel 10 % 5 /Piston 100 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
1 2/ 3 J J ' 5 1 fif & T /Wear Ring 12 B4k (ATi%)/Magnet(Optional) 125 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
13 5302 IPistion O-Ring 14 &0 /Pipe wall O-Ring 160 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
15 43 $k/Damping 16 175 8842 /Hex socket screw 200 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
17 [E2/Back cover B EFRITRIESALTHR, RINSBIBIROEREM. If you need special stroke,please Tell us, we can make according your require.
I %MERSF/Overall Dimension
I ##E/Specifcation B R e 8 e -
c 4 ) =
#{EA! 30/ Motion Pattern £ &/ Double Action
T &4 BR/Working Medium =5/Air — é
ElE 2R /Fixed Type EAR/Normaltype FAZE/Type FBE/Type CAZ!/Type CBZE/Type SDBE/Type LBE/Type TCE/Type = j:_{_— i -—- e 1 w
{5 A £ /156 El/Working Pressure Range 0.1~0.9MPa Ei @)
FRIER}E 71/Ensured Pressure Resistance 1.35MPa X (ZSide,S% 1
1% A iR ESE [ C/Operating Temperature Range -5~70T & 2.0 .G .|
1§ F iR B SE El/Operating Speed Range 50~800mm/s T
4B M Buffer Type Y4 /Adjustable Buffer I R-t3%/Dimension Sheet
iR el ; = & e S N N R B N S S N N A
e el i) il il B 250 200 105 Md2x2  M20 ®30 270 220 G1"
320 218 120 82 52 10 110 31 96 110 63 M48x2  M24 @34 340 270 G1"

099 100




SI Z%1 1ISO6431
FRESEL

®
S| 71 1ISO6431 h =
bR nrPC

I 5MER-F/Overall Dimension

A+{TH2(Stroke)
B C+i7#2(Stroke)
E F G
) H 2-45 8204 (Buffer nut)
SIZ31/SI Series
>I I = RS [ F‘,t‘o. . oS snng
- = §> ol n_’ B =
K/_W 2-0/] 1 k
A& (Side's Breadth) L |
N[Q Q
SC-63xX100 SU-50xX150
A1+{TH#2(Stroke)x 2
B C+{T12(Stroke) B+{T12(Stroke)
E F G G F E+{7 f2(Stroke) n
i PG e z I iT#%/Ordering Code
1 ————— A
SID#51/SID Series ~ :
>I B b | | PRI ¢ 75 MR o .:@ o >{ ,,,,, B e ) 108 - X - - -
= bt 3l o] T <
r i )
K/_w/ 2.0/| o
AT f§(Side's Breadth J - - - . ;
(Slugis Brea )_’ ] N RIRKS L AR T2 TR UMAKS B EE Fixed Type
SC: #r A & H B AT ) CylinderBore ~ Stroke Adijust Storke [ fRAER =R EEAR Blank:Normal type
gg?%&g&;j@[ﬁ%ﬁfﬂ?ﬁ) 25:95mm S:AEHIR LB AT EEES LB:front and back fixed type
: RRCEUEoR S : B B R (B - ¢
o A R A 50:50mm Magnet Code FARIERBIZERIFIA=) FAfront cover fixed type(Front flange type)
Tt s g : .
B Amgiiq(isitgrfgfré:eg)mM”&(adjusrea sm;;z ?U‘ PRl SRR ) 75:75mm Blank: Without Magnet FBR&RBEEEfF%=) FBback cover fixed type(Back flange type)
= E G S F (Stroke) Sépgtandard double action(Tie-rod Type) S:With Magnet CAREREIER) 8 EIR) CAback cover fixed type (Single Earring)
H etk L LCLUCHCH SCD:Double-shaft double action(Tie-);Fc)Jd Type) CBRARIER(MER) CBback cover fixed type(Double Barring)
S0 L D6ibls axis dciible Scing TC HEHEER TC:Central Trunnion Type ‘
SIJ&5I/SIJ Series J iy SRS Ry J adjustable type(Tie-rod Type) TC-MFEEMIBIEE  TC-M:Central Trunnion Type attaching foot seat
(12 SU:Standard double acting
?I a9 2 [ o t‘??_,_“@“““k — | /= (Micky Mouse Type)
; ¢ e Lol I e
e j =
K ) W b oY/ W I N — R Z+ 7 {87 #( Adjusted strok &) t
- e i A ZB45 48 Internal structure

ol
Jjn

=z
@)
@)

N
Fs B 2R
. Designation NO. Designation
1 3 4 5 8 9 10 11 12 13 14

[}

6 7
l R#%/Dimen sion Sheet \ 1 & 47422 /Piston Rod Nut 2 & 34T /Piston rod
3 il 5= % #1[&/Front cover seal ring 4 & imihk/Bearing
32 142 190 187 48 94 30 28 16 275 22 17 6  M10x125 M6 e 7 EEO2/Pipe wall O-ring 8 i&%0%/Piston O-ring
40 159 213 207 54 105 35 32 18 29 24 19 7 M12x125 M6 9 i 7€/Piston 10 fit EE¥R/Wear Ring
50 175 244 233 69 105 40 42 25 30 32 24 8 M16x15 M8 % 11 FLfE/Barrel 12 % 0% £ [El/Buffe seal ring
63 190 259 250 69 120 40 40 24 315 32 24 8 M16x15 M8 — 18 11/ F— 13 ZoHmNfAEDamping adjustable screw 14 f& 2/Back cover
80 214 300 286 86 128 40 53 30 355 40 30 10 M20x1.5 M10 15 R7< A 1242 /Hex socket screw 16 HI4T42£/Tie Rod Nut
100 229 320 308 91 138 45 55 32 36 40 30 10 M20x1.5 M10 17 $14F/Tie rod 18 & T E £ #E/Piston rod o-ring
125 279 398 3725 119 160 60 74 45 46 54 41 13.5 M27 X2 M12 l *ﬂ*glspe(:ifcation
160 332 484 448 152 180 65 94 58 50 72 55 18 M36 X2 M16
200 337 514 472 157 180 75 100 = 57 50 72 55 18  M36x2 = M16 %12/Bore(mm) 32 | 40 80 100 25 | 320
%1k 2 /Motion Pattern £ 7 & /Double Action
. ' ' T 1% /v Fi/Working Medium % SU/Air
P@/MgS Bore/Sympol | N | o0 | P | Q@ | R | s | T | v | W | Z | R , = , B o - -
32 135 G1/8" 4 75 7 47 325 12 10 21 EEf X /Fixed Type H K E/Normaltype FAZE/Type FBZE/Type CAZ!/Type CBE!/Type LBE!/Type TCZ!/Type TC-MZ!/type
- . - £ 53 perating Voltage Range 0.1~0.9kgflem
£ MJE /15EE/Operating Voltage R p
40 16 G1/4" 6 85 9 53 38 16 13 21 o 35 = T
1% 1/Ensured Pressure Resistance ; a
50 155 G1/4" 8.5 75 7.5 65 46.5 20 17 23 = 5 = P
{# ;8 S5 C/Operating Temperature Range -5~70°C
63 16.5 G3/8" 7.5 85 9 75 56.5 20 17 23 = :
{§ F iR E5E [El/Operating Speed Range 30~800mm/s
80 16.5 G3/8" 1 85 135 95 72 25 22 29 R
229 EI/Buffer Type ]34 i /Adjustable Buffer
100 185 G1/2" 135 95 145 115 89 25 22 29 =
221 T72/Buffer Stroke 24 3 22
125 23 G1/2" 14 12 14 140 110 32 27 35 — -
EENO1E/Port Size G1/8" G1/4" G3/8" G1/2" G3/4" G1"
160 25 G3/4" 15 12 20 180 140 40 36 40
200 25 G3/4r] 15 12 20 220 175 40 36 40 M SCD,SCJ #IEZEZ 4:FAFB,LB,TCFITC-MZ!. SCD,SCJ Fixed Type:FA,FB,LB,TC & TC-M Type.

101 102




SC / SURFItRESIEL

SC | SUZBIRAESAL I3 nFPc

y —3 Ly -
I SEEiBH HEK Cylinder theory output I SMERSH/Overall Dimension
— — =
SEHRZ | BEEFIMZ A = R
[Cylinder /Extern EAER /C;an;sion A+{T72(Stroke)
D!nSId? Diameter /Potion Patterm Area(cm’) B C+ 752(Stroke)
iameter | of Piston Rod E Fl G G os
75 e DE%)J;‘T” [Ef/Press Side 8.04 8.04 1608 2412 3216 4020 4824 = 5628 6432 = 7236 :1 LN, 20 N, ot
ouble
Action Fifii/Pull Side 6.90 6.90 1380 2007 2760 3450 4140 4830 5520 6210 & S
FHA [EfPress Side 12,56 1256 2512 | 3768 5024 6280 7536 8792 10024 113.04 ¢ 32~ ¢ 200 Van) o :
40 16 Double L a JHB N
Action ¥ifi/Pull Side 10.55 1055 2110 = 3165 4220 5275 6330 @ 7385 8440  94.95 0 gI B E} & \M
FHE  [EMPress Side 19.63 1963 = 3926 = 5889 7852  98.15 11778 13741 157.04 176,67 K ' /gﬂ
50 20 Double - K/ W/ o) ()
Action fifi/Pull Side 16.49 1649 3298 = 4947 6596 8245 9894 11543 13992 14841 4T #8(Side’s Breadth) = == e
5 0 Dﬁang»lﬂ [E{M/Press Side 3117 31.17 62.34 9351 12468 15585 187.02  218.19 24936 28053 <2 2-45RARIR(Buffer nut) il ’
ouple
Action  $iff/Pull Side 28,03 2803 5606 = 8409 = 11212 14015 16818 19621 22424 25227 __ A1+{3(Stroke) X 2+ Ti{FHR(adjusted stroke)
S [FfUPressSide  50.26 5026 10052 150.78 201.04 25130 30156  351.82 40208 45234 3 G Bl Lo -
80 25 Double E Fl G G lE E+{T#2(Stroke) —5
Action Fifi/Pull Side 4536 4536 9072 13608 181.44 22680 27216 31752 32688 40824 H N ., o
_ L 20
T [EfiJPressSide 7853 7853  157.06 23559 = 314.12 39265 47118 42882 62824 70677 = Y- = & S
100 25 Double - 32~ ¢ 200 ~ =
Action  {iff/Pull Side 7147 7147 14294 21441 28588 35735 42882 50029 517.76 64323 A ety -~
FHE [EfPressSide  122.72 12272 24544 36816  490.88 61360 73632 859.04 981.76 110448 e >I / e ; i e 8 d >I I
125 32 Double Y ]/ s
Action iif/Pull Side  114.68 11468 22936 34404 45872 57340 68808 80276 91744 1032.12 K W N & %
- i Dgoit?l;:i [EfMPressSide  201.06 201.06 40212 60318 804.24 100530 120636 140742 160848 1809.54 4T 18(Side’s Breadth) B\ 2 HeER(Eufer nut) i w
Action Fif/Pull Side 18849 18849 37698 56547  753.96 94245 113094 131943 1507.92 1696.41
= A2+1T12(Stroke) X 2+ 8] {742 (adjusted strok
206 16 Dﬁoﬁlﬁ [EfiPress Side  314.16 31416 62832 94248 1256.64 1570.80 1884.96 2199.12 251328 2827.44 = i r‘;j)?g;l,,”h(a atrdat s
os
Action fifi/Pull Side 30157 30157  603.14 = 90471 1206.28 1507.80 180942 210099 241256 2714.13 £ NG & |8 (515 Stk BT
5 N, | 20 alsvoke) ; I
4=z0 *1 ™ )
I 17%#2 Stroke / SN\E Y
¢ 32~ ¢ 200 AL wdlas e ZN
m?z/ % >I yA R ” 4 =) %»—1 /C}
i — /=10 2 Al o b -
Bore(mm) #RfE{T#2/Standard Stroke /Max.Stroke | /Permissible Stroke e T L X %bg
e W p— Y
25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 1000 2000 4T 1E(Side’s Breadth )
A2 el (8] 2-48 R IRIR(Buffer nut) Q[ Z+a)iA17#E(adjusted stroke ;
40 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
50 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000 l RT]'iE/Dimension Sheet
80 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000 32 — == — = e
160 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000 40 0 5 T T % > = T 7 = 5 Z TR
200 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000 50 PP =07 e = % = 5 & e = e 5 AT
I 9" R‘]‘/Overall Dimension 63 153 210 199 57 9 36 42 15 27.5 32 24 8 M16x1.5
80 182 257 242 75 108 47 54 21 33 40 30 9 M20% 1.5
¢ 250- ¢ 320 SC# 3l /Series 100 188 263 248 75 108 47 54 21 33 40 30 9 M20% 1.5
H BC A+{T12(Stroke) Os 125 239 330 363 104 136 56 71 32 40 54 40 12 M27 X 2
D ) B D
i LR LT E T 160 201 412 450 121 166 62 92 60 50 72 50 14 M36 % 2
132 130 17 M36% 2
— é/ umwﬁ%
@ Bore/Symbol
== 4 - -lt— t|—F - — - — - — - — - — - —— = — - — 44— LW
L la (:5) 32 M6 X 1 13.7 G1/8"
K EEE 40 M6 X1 9.5 13.5 G1/4" 6 8.2 9 50 37 16 14 21
(2side’s Breadih Wi ' 50 M6 1 95 135 | Gl 8.5 8.2 9 62 47 20 17 23
LG 20 ke 63 M8x1.25 95 13.5 G3/8" 7 8.2 85 75 56 20 17 23
s 5 80 M10x15 1.5 16.5 G3/8" 10 9.5 14 94 70 25 22 29
L Y
l R‘]’iE/Dlmenswn Sheet 100 M10% 1.5 1.5 16.5 G1/2" 11 9.5 14 112 84 25 22 29
250 200 90 84 90 M42x2 M20 ©30 270 220 Gi" 160 M16x2 25 26 G3/4" / / / 180 140 40 36 38
320 218 | 120 82 52 10 110 31 96 110 63 = M48x2 M24 @34 340 270 G1" 200 M16x2 25 25 G3/4" / / / 220 175 40 36 42

103 104




MA6432%%1/(1S06432)

TREEINSET h nreC
I iT#%8/Ordering Code

?%TT?-%

#7515 / Series Code BERRX R waKsS B E & / Fixed Type
MA: Ez7% / Double Action Type =@ EREE  Cylinder Bo = FRER Z= 3. 5 AAY Blank:Normal type

MSA: 8% [ Single-Action Type CMERE g oemm S: W E IR LB:AIEREIEEL / Front and back fixed type
X & MAD: Wit & 7% / Double-shaft Double  U:FRE Magnet Code FA:fi 3% EES! / Front cover fixed type
MAE432 20X 25-S Action Type Back Cover Type 172 wRATE Blank Without Magnet ~ SDB./E&#% 123t / Back cover swinging type
MAC: §514& i B / With Cushion Type Blank:Fishtailtype Stroke Adjustable  S:With Magnet U: F & @ £ / Back cover fixed type
MAJ: T3 AT 183 / Double-shaft and CM:Rounded type Stroke Type
adjustable stroke type U:Horizontal type 0~100mm
35| = £
I RE%# Internal structure s s &
NO. Designation NO Designation
& H 3
123 4 5 6 5 B B8 15 43 4 A5 18 1 & #E#F/Piston Rod T NE Barrel
. 2 | ERAF42E/Piston RodNut | 10 EFE4F% [ /Piston rod O-ring
3 HiZ&%# E/Front Cover Seal 11 7&E#E0% /Piston O-ring
4 &imhAk/Bearing 12 #$k(FTi%)Magnet(Optional)
H : 5 | MAfmigitMHexagon Screw 13 it & ¥ /Wear Ring
6 72 /Front Cover 14 i& 3E/Piston
7 ZE %%} [E/Cushion Ring = 15 = M7 AiZ#/MHex Socket Screw
8 EE0%/0-ring 16 fa #&/Back Cover

I #1#&/Specifcation
£1{2/Cyfinder diameter(mm) I 17%2 Stroke

T1E4r B/Working Medium Z= S AN
FIEEL K /Motion pattern & 7B = & 3 :/Double Action or single Action 2172
{RIEAE 1 /Ensured Pressure Resistance 15.3kgflcn’(1.5Mpa) tRAE1T#2/Standard stroke /Max.Stroke

(mm)

& =1EFE 51/Max.pressure 10.2kgflem’(1.0Mpa)

& {KAE FAE 71/Min.pressure 0.5kgflem’(0.05Mpa) 1kgflcm®(0.1Mpa) 10,25,40,50,80,100, 125,160,200 400
INEFFAKIRE/ -20~+80°C (P i # R B : 5 60 CInternal Magnetic 10 | 10,25.40,50.80,100,125,160,200 400
Environment and fluid temp Install by Tach strap:Type Max:60°C) 12  10,25,40,50,80,100,125,160,200 400
& ZEJR E/Piston veocity 1B (KRB )Rubber Bufer(Standard), 5.4 i (fE3) Air Buffer(Option) 16  10,25,40,50,80,100,125,160,200 400
2t /Buffering 50~750mm/s 20  25,40,50,80,100,125,150,160,175,200,250,300 1000
AVFEhg¢/Kinetic energy To Lerance 0.2 0.3 0.4 0.9 27 4 25  25,40,50,80,100,125,150,160,175,200,250,300 1000
#% [11%/Pipe Size M5 X0.8 G1/8" L
BEO&EPP s FEAEFREITIZ AT £ Note:In non-standard stroke options.
I 5pMER-F/Overall Dimension
L1+T7#2(Stroke)
KV XCHT#E(Stroke)
L2
E\:N AM Wﬂ L3447 72(Stroke) L4 MAB2
15 Tl ' :
2N
HT i 3
B 8 AR - L
Sw2 - [I.J
RNIZIFF S
Bore/Symbol AM ®CD| ®D| ®D5| ®D6| EE | EW | AM KV L2 |L3 (L4 [ L5 |[SW2|WH | XC

8 M12 X1 25 6

10 12 M16x1.25 4 15 15 12 M5 8 12 M4 19 7 6 78 | 22 | 34 |12 | 10 - 16 64

12 16 M16x1.5 6 20 20 16 M5 12 16 M6 24 6 9 89 28 38 17 15 5 22 75

16 16 M16x1.5 6 20 20 16 M5 12 16 M6 24 6 9 95 | 28 | 44 | 17 | 15 5 22 82

20 20 M22x1.5 8 27 27 22 G1/8" 16 20 M8 30 8 12 112 32 516 20 18 7 24 95

25 22 M22x1.5 8 27 27 22 G1/8" 16 22 M10x125 30 8 12 1195 36 53.1 22 20 8 26 104

105

®

MA6432Z%1)(1S06432) h -
R NL nrec

-
44

MA 16 X100 MAD 25X 50-25

I iT#%3/Ordering Code

zs Type EERX @ 78R AATR BEDK  Fixed Type

MA & iﬂ_ﬁ! IMA:Double Action Type FAEZERA Cylinder Bore  Stroke  Adjustable E *Tlﬁg-_ =8 AR Blank:Normal type

M3/ D & Eﬂ”i‘.], MSA:Sindls Extrusion:Type CIYIEI%&_’ 16mm~40mm Stroke Type S:PEHIR LB:AIREIER.  LB:Frontand back fixed type
MQBSXS(?&?;%%% A M Double;Shal Davdle lé:FkEC:: T 0~100mm Magnet Code FARTZARES!  FAFront cover fixed type
MAG 8 5 28 1h 7 = Action Type Bg%k'Fios\tlﬁ;il t\{/rr))ee Blank:Without Magnet SDBfﬁj??%ﬁ SDB:Back cover swinging type
MAJ X4k A 3 AU MACD Dauble:shatDolble CM:Rounded type S:With Magnet U REREESR UBack cover fixed type

Action Damping Type
MAC:With Cushion Type
MAJ:Double-shaft And
Adjust Able Stroke Type

I AE4H Internal structure

U:Horizontal type

NO. Designation NO. | Designation
12 23458 7 8 9 10 1 i 34T4253/Piston Rod Nut 2 ;&3 #F/Piston Rod
— \ 3 HiE%*E/Front Cover Seal Ring 4 & 3HihiRk/Oiled Bearing
lJ P g S| A 2242 £/Front Cover Nut 6 Aiz/Front Cover
0 7 M E /Stainless steel tube 8 PAdE#E | /Anti-crash cushion
y % ------------------- N 9 7% 22 [Piston 10 7§ 0% /Piston O-Ring
_lﬁl\_/ 11 H5EK(AT%E) Magnet(Optional) 12 it B ¥R/ Wear Ring
13 22 % £ [El/Seal cushion 14  A7<fHiZ42/Hex socket screw
15

f%/Back Cover

I #1#/Specifcation

FER;:/Motion pattern € 7B 5 # 53 /Double Action or Single Action

I{’E JR/Working Medium Z=SIAIr
EEIR/Fixed Type #KE/Normal Type LBE!/ Type FAZ!/ Type SDBZE!/ Type UZE! Type
1§Fﬁ}£jj?§l§] /Operating Voltage Range 0.1~0.9MPa
{RIEM} & 51/Ensured Pressure Resistance 1.35MPa
{# iR ESE Bl /Operating Temperature Range -5~70°C
1 iR £ 56 Bl /Operating Speed Range 50~800mm/s
2RI/ frAER /Standard Type Bf 4 # B/ Anti-crash cushion
Buffer Type 4£,h%E)/Damping Type - Al A3 4% if/Adjustable cushion
& O12/Pipe Size M5%0.8 G1/8"

BN BT RIS B S AT AR, NRIRFERE~R, HERHA.

Our Company can also make flat for cylinder covers inlet and outlet position. If you require this, it should be specified.

I 17%% Stroke

4142/Bore(mm) | FRAE{T#2/Standard Stroke B K1TH2/Max.Stroke | Z1F{7#2/Permissible Stroke
16 25 50 75 80 100 125 160 175 200 300 500
20 25 50 75 80 100 125 160 175 200 250 300 500 650
25 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
32 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
40 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
JEEAEFROEITIZ AT {E3£$F Note:In non-standard stroke options.
106




MAG6432Z%
il

RIS

I 5MER-H/Overall Dimension

A+ 1T#2(Stroke)

fdnirPc

MAG6432Z7%!

AEIN

Sl

I 5MEZR-F/Overall Dimension

B C+ iT12(Stroke) D MSA MSA-U
Qs E G G .S &P (H8)
H G2 [2-x g2
jﬁ; e ’i/ T
‘ ; L L L] 14+ 17 53 (S troke; 2 Stroke;
MA o —|— = E] = ,/ B 04178 Gtroke) B A ccmil):csnoke) B = = oo)wil;@tmke) |
- e - N D T3 oy I e ] )
, "i‘l T ‘II “Ji“ll
oV/w H— e — a ol | 42 =
v/ w - ﬂ ® /W
AI+{T#2(Stroke)
- o+ i1 (Siroke) —ry i R#%/Dlmensmn Sheet
AN H G2 2-x G/2| R1 -
ma-cm | — B L ﬂé/nfri/eore/snoke 0-50 51- 100 51-100
\ L gi e — — 2 128 153 123 5
~~ — — 20 137 162 134 159 116 141 40 76 101 21 12 28 12 16 20 12 6
VW 25 141 166 134 159 120 145 44 76 101 21 14 30 14 16 22 17 6
M 32 147 172 136 161 120 145 44 76 101 27 14 30 14 16 22 17 6
122 147 101 7
. /ﬁ%‘/
B M“ﬂi(snélf’:)is;(snoke) Inside Diameter/Symbol &l 5 &
E F G
Y H ARTEE To.x =3 M6 X 1 M16%1.5
3 _ 20 M8x1.25 M22x 1.5 10 8 16 19 10 12 27 8 6 Gim" 7 33 29
MA-U 1 L Ll 25 M10x125 = M22x15 12 8 16 19 12 12 30 10 8 Gim" 7 33 29
‘ y - !I o — = / 32 M10x125 = M24x2.0 12 10 16 25 12 15 35 12 10 GiB" 8 37 32
N~ / 40 M12x125 = M30x2.0 12 12 20 25 12 15 416 16 14 GiB" 9 47 A
oV/w/
M
I SMERSE/Overall Dimension
H H MAD MAJ
I R-F%/Dimension Sheet
Aoi:yi‘;'(shoke) 2 _ Al+17#¥(Stroke) <2 _
B C+{7#(Stroke) ¢ B+ {7 #5(Stroke) AY : = C+ {71 Stroke) = = "ﬂm::.hhmm) AIY
2% ok &3 - G o ] le_E oG ?
AR/ ._q_.l 2x 0 | 2x
Bore/Symbol ] ! i~ - I TN
E T _ L — 1 v/;\\ % e — 5 (AN %
114 114 M6x1 \/ . —= Y,
20 137 128 116 40 76 21 12 28 12 16 20 12 6 M8 1.25 S ww/ e Tendot s
25 141 134 120 44 76 21 14 30 14 16 22 17 6 M10% 1.25
32 147 134 120 44 76 27 14 30 14 16 22 17 6 M10% 1.25 - =
I R-sF3*/Dimension Sheet
40 149 136 122 46 76 27 14 32 14 16.7 24 17 7 M12x 1.25
RIS/
P Inside Diameter/Symbol
Bore/Symbol 135 5 M6x 1
M16% 1.5 6 275 20 156 153 40 70 28 12 16 20 12 6 M8 1.25
20 M22% 1.5 10 8 16 19 10 12 27 8 6 G1/8" 7 33 29 25 164 161 4 70 30 14 16 22 17 6 M10%1.25
25 M22% 1.5 12 8 16 19 12 12 30 10 8 G1/8" 7 33 29 32 164 161 44 70 30 14 16 22 17 6 M10x1.25
32 M24% 2.0 12 10 16 25 12 15 35 12 10 G1/8" 8 37 32 7 M12x1.25
40 M30% 2.0 12 12 20 25 12 15 416 16 14 G1/8" 9 47 41 1;/{"%«'3—/
Inside Diameter/Symbol
M16x1.5 6
20 M22x1.5 10 29 9 6 G1/8" 7 33 29 19
25 M22x 1.5 12 34 10 8 G1/8" 7 33 29 21
32 M24%1.5 12 395 12 10 G1/8" 8 37 32 21
40 M30%2.0 12 495 16 12 G1/8" 9 47 41 21




MALZ5
e/ NESE

MAL 25X25 MAL 20 <100

I iTH%/Ordering Code

D
BS Type BEBR fARES T8 AIETTE 5272151{*—7 B ER R
MAL: E#h% MAL: Double Action type =Z=8#ZRA  CylinderBore Stroke  Adjustable ~ =H:FRER Zp AR
MSAL: & a8 i 2 MSAL: Single Extrusion Type CMERZ 16mm~40mm Stroke Type S:NEHIF LBATEREIESR
MALD: 34 & FhE MALD: Dual Double Action Type UFRL 0~100mm Magnet Code FART 2 BlE R

MALC 5 EheE 2 MALC:With Cushion Type Back Cover Type Blank:Without Magnet SDB: /5 &1E2 3

MALJ R4 AT 2L MAL J.Double-shaft And Blank:Fishtail type S:With Magnet Fixed Type
Adjust Able Stroke Type &M:Rounded type Blank:Normal ty
U:Horizontal type ank:Normal type

LB:Front and back fixed type
FAFront cover fixed type
SDB:Back cover swinging type

&R Fe &R
Designation NO. Designation

&R #T42 £ /Piston Rod Nut 2 & 34T /Piston Rod
Hil 25 % %1 [ /[Front Cover Seal Ring 4 2 ;hlik/Oiled Bearing
Hi 2542 £ /Front Cover Nut 6

I AER4# Internal structure

9 10 1112 13 14 15 16

fij #=/Front Cover

:@Nm&ﬁgﬂ

&8 ORL[E/Pipe wall O-ring 8 {8 & /Aliminum tube
T B4 f /Auti-crash cushion 10 7EFEFFORE/Piston rod O-Ring
— 7&FE0%/Piston O-Ring 12 &3 /Piston
13 fif EE#FWear Ring 14 iM% EE/Seal cushion
15 A7~ 212 /MHex socket screw 16 fa 5 /Back Over

I ##&/Specifcation
12 /Bore(mm)

F{ER; 3 /Motion pattern & 78 5 & F :/Double Action or Single Action

T {4 BR/Working Medium Z 5 /Air
E EZ K /Fixed Type HA#/Normal Type LBZ!/ Type FAZ!/ Type SDBE!/ Type
{ERJE /15EE /Operating Voltage Range 0.1~0.9MPa
{R3IEM} & 71/Ensured Pressure Resistance 1.35MPa
{# A E Sl /Operating Temperature Range -5~70°C
1 fiR E SE [ /Operating Speed Range 30~800mm/s

Y hEIR FrAER /Standard Type Bf i # Fr/Anti-crash cushion
Buffer Type 2Z %A /Damping Type E AT 8 3% 4% #/Adjustable cushion
EEO12/Port Size M5x 0.8 Gi1/g" G1/4"

B2 R AR iR B SFLA TR R, MRIRFEM L, B0,

Our Company can also make flat for cylinder covers inlet and outlet position. If you require this, it should be specified.

109

MALZA
wAas/NEISE

f3 nFPc

I 1712 Stroke

F11%/Bore(mm) Fr#E{T42/Standard Stroke = A{TH2/Max.Stroke AiF1T2/Permissible Stroke
16 25,50,75, 80,100 ,125,160,175,200 300 500
20 25,50,75,80,100,125,160,175,200, 250,300 500 650
25 25,50,75,80,100,125,160,175,200,250,300,350,400,450,500 500 650
32 25,50,75,80,100,125,160,175,200,250,300,350,400,450,500 500 650
40 25,50,75,80,100,125,160,175,200,250,300,350,400,450,500 500 650
I M2 R-F/Overall Dimension
A+ {7 #(Stroke)
. B C+ {7 #(Stroke)
Qs E F ] IG G ) s
] l] ] - [91_2
i 2t 1
MAL B b r
T S o = N
o) WS
A +iTH(Stroke)
E —F - C+17 #(Stroke) - D1
H R Q/% 12-X G/2|| R1
‘L 0
MAL-CM ) ; } {‘ j
- X m% _— f
eV w
M
A2+ {THE(Stroke)
B C+ {71 (Stroke) AY
E P 4 B G 1
< H R (G/2 £ G/2)
[ Sl M N
| | i X
MAL-U i ; =N
) = ¥I 4 o - \
NP 1 4
ov/ w/
M

I R-F3®/Dimension Sheet

RZ/FFS
Bore/Symbol
16

114 5 M6 X1
20 131 122 110 40 70 21 12 28 12 16 20 12 6 M8 1.25
25 135 128 114 44 70 21 14 30 14 16 22 17 6 M10<1.256
32 141 128 114 44 70 27 14 30 14 16 22 17 6 M10x<1.26
165 152 138 7 M12x1.256

40
RE/HS |
B 2l /S ym b Ol -“m--
16

M16x1.5 6
20 M22x1.5 10 8 16 19 10 12 29 8 6 G1/8" 7 33 29
25 M22x1.5 12 8 16 19 12 12 34 10 8 G1/8" 7 33 29
32 M24 X2.0 12 1 16 25 12 15 395 12 10 G1/8" 8 37 32
40 M30x2.0 12 12 20 25 12 15 495 16 14 G1/4" 9 37 41

110




MALZSZ ' — MALZZ =
EES/NESE h nrrC EASNESE h Nrec

I 5MERSH/ Overall Dimension T3 /Ordering Code
25 E o ’ ‘ | |
MSAL s MSAL-CM MSAL-CM “ RS FARES 172 Z
CDM2B: ]ERIREL Cylinder Bore Stroke ZEGRE
Series Code 20-®40mm 0~1000mm ASE
CDM2B:Attach Buffer
CDM2B 20 <14 magnet Type Blank:Rubber Buffer
AAir Buffer
- o -A;g;;; :)stmu ) 5 Alsii 5 c@‘nzk‘e; )@lm 5 pze gty
FLe. 5 e (O 34 D) : D1 E CrIREm)
L an = i by
=5 =) I ME%# Internal structure = po
- EH S A o 111X i 43 S NO. Designation
8 W i-—R——l WoW W ¥ 6 1 Hi2/Front Cover
‘\ \ ‘\‘, 2 f&/Back Cover
- - 3 %1 & /Barrel
I R-sF%*/Dimension Sheet ] \@uw‘z i e
'y ‘_l * .
T S B N e o= S T
P#2/1742 Bore/Stroke 51-100| 0-50 ]51 100 = 6 FiiOlicdBearTg
20 131 156 @ 122 110 135 12 | 28 | 12 | 16 | 20| 12 | 6 7 A% [E/Front Cover Seal Ring
25 135 160 160 153 114 139 44 70 95 21 14 30 14 16 22 17 6 8 B#l# Fy/Anti-crash cushion
32 141 166 166 153 114 139 44 70 95 27 14 30 14 16 22 17 6 9 & R @41 [E/Piston Seal
165 190 177 138 163 17 I ;ﬂﬁ/Specifcation 10 fif ¥/ Wear Ring
1114”%%‘
insid BiameierSymbo --ﬂﬂ--.-. i \ i piz/Bore(om) 20 25
20 M8x 1.25 M22x 1.5 G1/8" 7 T {E49r Bi/Working Medium Z= S /Air
25 M10X125  M22x15 12 8 16 19 12 12 34 10 8 Gi8" 7 33 29 Eh{ERIR/Motion Pattern % #%/Double action
32 M10x1.25 M24X2.0 12 10 16 25 12 15 39.5 12 10 G1/8" 8 37 | 382 1R IEMTE 71/Ensured Pressure Resistance 15.3kgflem’(1.5Mpa)
40 M12x125  M30x20 12 12 20 25 12 15 495 16 14 Gli4" 9 47 41 5 S1EA/E S1/Max.pressure 10.2kgflem?(1.0Mpa)
& {Kf A JE J3/Min.pressure 0.5kgflcm’(0.05Mpa)
I 9I\ R—]-Iovera" Dimension {8 IR ESE B 'C/Operating Temperature Range -10~+70°C
15 B3 1% & 5E [El/Operating Speed Range 50~750mm/s
MALD MALJ %PEP/Buffering R R i (7 ) Rubber buffer(Stanflf:d),’—:L% I({E:%) Air buffer(Optional)
173272 #/Margin of Stroke Error(mm) o
7 F#(Stroke) ¥ 2 A1+{717(Strok) < 2+ 7] i {7 17 j Stroke; - > .
E T e R v i i ]__q — A EEOZ/Port size G/’ G1sg" Gi1/g" G114
HJ | 2-X j‘ |2-X y
= =N = = =L A = =
s _ M= [ o M=+ B C@ " I 5pER~t/Overall Dimension
3 = &
W &/ oW ‘ Tmann o ¢ 20~ ¢ 40 CM2 %5l /Series
Fifi(Width across flats)B. W G 2P G 2NN WA, Wi
*if(Width across flats)B, N; | / o 1
I R-F3%®/Dimension Sheet T A 2 = S K N
(=3 B | W B vaN ) |] 3‘ \ / D ‘\ //
RIS A N H o ) /)
Inside Diameter/Symbol MM A= | N 1.5 S
H S+{7#2(Stroke) el o -
20 150 6 M8 1.25 Z7+71(Stroke)
25 158 155 44 70 30 14 16 22 17 6 M10%1.25
32 158 155 44 70 30 14 16 22 17 6 M10x1.25 I RT]'iE/Dimension Sheet
40 184 180 7 M12x1.25 peerey '
e o= TIE
 REFS B/ | stroke | A| AL | B1|B2 G| H [H1| H2 S |zz|wA \wB
Inside Diameter/Symbol Diameter range
20 M22x1.5 G1/g" 7 18 155 8 | 20305 8 41 5 M8 % 1.25 M20x1.5  1/8 62 116 115 85
25 M22x1.5 12 34 10 8 G1/8" 7 33 29 21 22 195 17 32 10 26845 13 8 45 6 8 335 55 M10x1.25 15 30 M26x15 1/8 62 120 115 10
32 M24 1.5 12 395 12 10 G1/8" 8 37 32 21 22 195 17 32 12 268%,., 13 8 45 6 8 375 55 M10x1.25 15 345 M26x1.5 1/8 64 122 115 115
40 M30x2.0 12 495 16 14 G1/4" 9 47 41 21 24 21 22 41 14 328, 16 11 50 6 10 465 7  M14x15 215 425 M32x2 1/4 88 154 14 15

111 112




CI2R% ' —
RIS h NrPC
I iTM%58/Ordering Code

T

RIKS f11z 78 ;HE ELEmNESILERX
CD2B:#AR Cylinder Bore  Stroke S (R EE) The type of air hole on
gzﬁ%gi‘g“ﬂ 8- 16mm 0~200mm  TEEGEEEH) the head cover end
Action
CJ2B:Normal Type S:single action OIS
CDJ2B:Attach magnet Type (with spring return) Fi22/Blank - | FEH/Vertical
T:single action
(with spring extent) R 4h1s)/Horizontal

CDJ2B 10X10

I ##&/Specifcation
Py #&/Bore(mm) 6 | w0 ] 16

T1{ENBR/Working Medium == SIAr

FHERIF/Motion Pattern BB EER/AEEES Double action/Single Action Extrusion type/Single Action Drawing-in Type
{RIEMIE S1/Ensured Pressure Resistance 1.05Mpa(10.5kgflcm?)

B = 1€ A & 71/Max pressure 0.7Mpa(7.1kgflcm?)

{1 f £ 51/Min.pressure 0.25Mpa(2.5kgflcm®) 0.15Mpa(1.5kgflcm?)

{E IR ESER C/Operating Temperature Range -10~+70°C

1§ F 1% E SE Bl /Operating Speed Range 50~750mm/s

£Z 1 /Buffering P im 155 48 i (FR ) Both side Rubber buffer(Standard)

172 /2 #/Margin of Stroke Error(mm) *el

#%& Of%/Port size M5 % 0.8

I 52 R~F/Overall Dimension

HEZ&E /Normal Type £
_NN > GA $#ESFUPiping port (M5Xx0.8)
$C MM - A $ESFL/Piping port(M5X0.8) $9
CJ2B6 = ——
{ YT — 2 /1
| 1 = \j
u —| N l—_z b :/
OB A F T NA N8|
H S+4T#%(Stroke) B
Z+47#2(Stroke)
2
o
NN Z GA $ESFLPiping port (M5X0.8) o
MM GA $#57L/Piping port (M5 X0.8)
¢C ¢D H ”] == 1! 1 1
o \\‘ L L
CJ2B10/16 /\ =
) i 1]
A F NA NB
0B H S+{T#2(Stroke) E P SFAER
Z+47#2(Stroke) Port location on head cover:

I R-t3%/Dimension Sheet

S A B T S R ) T
3 8 14.5 - M3 x0.5 M6x1.0 49
10 15 12 14 4 8 8 5 28 M4 X 0.7 125 95 8 M8x1.0 46 - 74
16 15 18 20 5 8 8 5 28 M5x0.8 125 95 10 M10x1.0 47 - 75
113

®

CI2Z&% =
RN h NnrPC

I %M R-F/Overall Dimension

HARBEREE/Normal Type:Spring return CJ2B-CDJ2B

w
NN B =71 Pipi
MM e b B $ES7L/Piping port M5 0.8
" - 0 S LA ;
© e sl =g
L A
[m[s] A F NA NB
H S+17#2(Stroke) HMEESLER

Z+17#2(Stroke)

Port location on head cover:

I R-t3%/Dimension Sheet

f1z
ABCD GB/H| MM | NA|NB| NB b8
(mm)
345 | 435 | 475 | 615 B25 | 715 | 755 | 89.
15 8 /19 3 8 - 28 M3x05 3 6 9o (397 (482) (228) (58 = (675) (7b5) (805) (945)

10 151214 4 8 5 28 M4x0.7 55 95 8%, 455 53 65 77 - - - - |735| 81 | 93 105 - - - -
16 151820 5 8 5 28 M5x0.8 55 95 105, 455 54 66 78 84 108 126 138 735 82 94 106 112 136 154 166

% A B RIRE R <F/Attach Magnet size

I 5MER-St/Overall Dimension

HARBMEREH/Normal Type:Spring extent CJ2B-CDJ2B

2 $ES71/Piping port M5X 0.8
NN O GA
MM 4D = $9
\ T . -
$C t T I — 7 V/,J
/ r—
% = N &
CJ2B6 ( ) A F LT [ NA NB
& H+{712(Stroke) S+{T#(Stroke) T OB
Le 7+2 x #2(Stroke)

oA IESFUPiping port (M5 X0.8)

NDh8

MM $D NN

)
d

=
CJ2B10/16 | A ~ =

H+47 #2(Stroke) S+{TH2(Stroke)
0B

Z+2 x {7#2(Stroke)

B 9|‘ﬁ3R'\|’/0verall Dimension

F112/ 'S [

Bore | A FlcA[H| MM | NN |NA|NB| NBIT 5~ [ 16 [31~[46~ 61~ To~Ti01-T126~ fo~[ 31~ 45~ o

(mm ) 60 | 75 | 100 | 125 | 150 | 15 45 | 60 | 75 | 100 | 125 | 150
6 15 8 14 3 8 14528 M3X05 M6x1 16 3 65,3 405 558 595 L IBEE - i

745 835 875 1015
(515) (605) (60.5) 795) | (88.5) (92.5) (106.5)

10 151214 4 8 8 28 M4X07 M8x1 125 55 8%,. - 485 56 68 80 - - - - 765 84 96 108 - - - -
16 151820 5 8 8 28 M5x0.8 M10x1125 55103, - 485 57 69 81 87 111 129 141 765 85 97 109 115 139 157 169
% A B RIRE R <F/Attach Magnet size

114




f ®
ADVU Z7%l h - SDA Z5%|
SRS nreC SR (R ST

I iT##3/Ordering Code

g> " TF-9-98-F =
L4 T

me P i Fa MRS WERS  EEARS T —

W

|
I a ‘ g ADUV &7 Cylinder Bore Stroke =E PR Buffer Type =B FH#R i E AT
"/ ; | AEVU: 1 RN E) ®16-d100mm  EARE/Normal Type: AIMRLL Magnet Code SZ Wi & AT \'
%, T AEVUZ e HisnEl ®16-25:1-200mm Cog Type Blank:Without Plunger Code ;
@y Q Type ®32-63:1-300mm Blank:Internal Thread Magnet Blank:Single end
Q ) ADUV:Double Action Type $380-100:1-400mm  A:External Thread A:Attach Magnet connecting rod

AEVU:Single-driven type B {EM/Single Action: S2:Both ends
AEVUZ:Single pull type @12:1-10mm connecting rod SDA 2020 SDAJ 32x25-10

@ 16-100:1-25mmd

I ##%/Specifcation I iT®%/Ordering Code

# &/ooremm) T N R
#h1E 7 R/Action WA, #4FUFF/Double acting, single rod/double rod =
{$ AR K /Fluid i JEJE 457 “UFiltered compressed air
{RIEMY /£ J1/Ensured Pressure Resistance 1.5MPa
4 : Tl =] Series Code A 1Ti2 ALETER HMARS
{EHE S1SEE/Operating ADVU - -P-A 0.12~1.0MPa 0.1~1.0MPa 0.08~1.0MPa 0.06~1.0MPa SDAEHE SDA: Double Action Type Cylinder Bore o Adjust Stroke iy a HF
pressure range ADVU - -P-A-S2  0.13~1.0MPa 0.12~1.0MPa 0.1~1.0MPa 0.8~1.0MPa SSA B it A SSA: Single Action Extrusion Type 12mm-~100mm 5mm S A EHIR BiSINF
9 T z - i STA B3| NE STA: Single Action Drawing-in Type 15mm Magnet Code N:F 5
IMEFNRARIERE /Ambient and fluid temperature -20~80 (No freezing) SDAD: X EFHE SDAD: Double-shalf Double Action Type 25mm Blank:Without Magnet ~ Cog Type
EEO1Z/Port size M5 G1/8" G1/4" SDAJE#ARITIEE SDAJDouble-shalfand Adjustable Stroke Type S Attach Magret et o M,
B:outer Thread
TEEIE L/ 24 /Female thread M4 M5 M6 M8 M10 M12 N:no Thread
Piston rod thread SMZ 4/Male thread M8 M10x 1.25 M12%1.25 M16x1.5 M20x1.5 ' m:glxgil::m Internal structure
#Z,t/Cushion B2 M /Rubber bumper
) ] ] 1 1M 12 e pr e ey
I ﬂ‘ﬁfRT"/Overall Dimension NO. Designation NO. Designation
ADVU[-[I-P-A %5l /Series 1 f& #/Back cover 2 CH131/Type C buckle ring
3 ' SDA &/Type 3 HifF%0%/0-ring 4 F4i 5 F /Anti-crash cushion
o iy . e SN | . i 0 O 5 5% /Piston 6 % 0% IPiston O-ring
T ) i i m i 7 i E#L 5 /Anti-crash cushion 8 &I f/Barrel
A LA i | @\ M EER R o 12Ff016mmS EIRT, &L 9 72 %43 /Front cover seal ring 10 B2 /Front cover
] N | \ %
X : ¢ %gizﬁii;iﬁ%*ﬁ' A AR . 1" i& 32 #F/Piston rod 12 i& 3 #F42 3 /Piston Rod Nut
L EN =TI K
z - =t T \l\@/}\/ FH il o w 2RINENRE
D Note Fe 2R e AR
= f’§\ | ,/ﬁk\\\ M To attach cylino!er. 12 and 16 mmfrom a.bove, use 1_\2 3 4\ 5 /_6 7.8 /_9 1o N NO. Designation NO. Designation
&J/ s \\J/ only 2 screwsdiagonally or non-magnetic screws. ~ { |
W = += plus stroke length / 1 & 2/Back cover 2 CHUN3[/Type C buckle ring
TG i :
. i 2 Minimum screw-in depth E[ 3 BhiiE#E K /Anti-crash cushion 4 i& % /[Piston
Zj:;;:?;;;f:f) SSA &/Type \ Wik 5 & 3E0% [Piston O-ring 6 [E473% % /Compressed spring
o A
14 7 &4 /Barrel 8 iH & £ /Silencer
L/ .
- e 9 B1/E %0% /Cover O-ring 10 B2 /Front cover
= - S| i e e e i I
I Rst3k/Dimension Sheet 1 3 #/pison rad
IAEEY]
Bore size(mm) GB D1oH9 dMM | PL T2
Fs B Fs B
16 18.5 6 3 8 4 425 1.2 3_\_4\ 5 re 1 /g 9 10 11 12 NO. Designation NO. Designation
20 18.5 6 36 M5 1:5 38 4 18 10 8 M5 4 22 425 9 ‘\ - /
o5 185 6 40 M5 15 395 4 18 10 8 M5 4 26 45 9 l“‘ : ! 1 f& #/Back cover 2 CHI 131 /Type C buckle ring
: i . e BEZX0% -ri 3l 2 o P
32 215 6 50  GU8 2 445 5 20 12 8 M6 4 32 505 10 . E Wi/ MO /Covet O-fing e W R/STencar
40 215 6 60 G18 25 455 5 20 12 8 M6 4 42 52 10 S8R Tyoe ? @ 2 AriReie 2 E&% R [Compressed spring
. ) 4 - { - 4 - .\ —- { - 1y —— 4 - L 1  eefessszaeieoloodocobesblessesededeesnaes et B . B AN . o
50 22 6 68  G18 3 455 6 20 16 8 M8 4 50 53 13 4 &8 /Pmion B m B0 Piston O-ting
63 245 g g7 Gi/s 4 50 8 25 16 8 M10 P 62 575 13 & 9 B {& 2 5 /Anti-crash cushion 10 B 2 % 1 [€|/Frount cover seal ring
e e T 11 B Z/Front cover 12 & 3 #F/Piston rod
80 275 8 107 G1/8 4 56 8 25 20 8.5 M10 4 82 64 17
100 325 8 128 G1/4 5 66.5 8 25 35 105 M10 4 103 76.5 22

115 116




SDA %51
B (KRR SE]

SDA %5l
B (=R SEl

f3dnrFPc

I ##&/Specifcation F 5MERSF/Overall Dimension

P/Bore(mm) 12 50 63 80 | 100
. ) € /%! / Double Acting As 1 B(Stroke)
Rt EMetion Patism BEHRHE 855| AEY/Single Adion Extrusion type Single Action Drawing-in Type = = P3 GrameLe P3 '?1
T4 F/MWorking Medium = “UAir M, P == " a <
EME HTERY £ %! /Double Action 0.1~0.9MPa { : was ] < — J CQ\
Operating Pressure Range & 3/)%1/Single Action 0.2~0.9MPa 2 SDA.SDAS #Type M _rl ’;-f \"\ é{
FRIEMSE 71/Ensured Pressure Resistance 1.35MPa Pl 10 ;j 31 J Z ///\/ o
1 AR £ SEEl/Operating Temperature Range -5~70C i%/f_o _&’9 ZP1 Y&ggy
(EREE R £ #%/Double Action 30~500mms 30~350mm/s 30~250mn's i i X2 >
Operating Speed Range & z)7/Single Action 100~500mm/s E | N1 N1 K1 7(Depth) E N
22 A5 /Buffer Type [E]7E £ iH/Fixed Type Buffer FlLe ’
EEOZ/Port Size M5 0.8 G1/8" G1/4" G3/8"
A+ 75 (Stroke)
l ﬁ E Stroke Bl GRS
P4 P4
ABoremm |2 | 6 | 0 |5 % w0 |5 & |0 0] 1 T
AP E/ 5~60 mm ﬁSmm—.& 5~85 mm H5mm—~4% = 5~90 mm H5mm—~%  100~110mm §5mm—_& 5~90 mm H5mm—~4%  100~130mm &5mm—~%
gAY Nrc'r:taagtrt\aeih is gro&:ed as5 onegade is goE;;I;ir%s gr]lg] grade is grou|¥:d ass g‘nl: grade | is groE;\)I:dr%s onegade is groE;;,:dr%ss g:llg gade is g'oE;;/:dr%? 21'2 grade SDA.SDAS ®IT 7M
. ype
DAZ:l;f HE4A)  5~50 mm S5mm—%  5~75mm &5mm—%  5~90 mm E5mm—4% 5~90 mm B5mm—%  100~120 mm H5mm—% $20-4 100 ds AN 20 4.
matgr?le‘t is grouli;/eedr%? one gade s goE;;/eedr%ss e grade s graﬁg:dr%? ons. grade 100mm is groE;;/:dr%ss one gade s goE;;/e%lr%? o grade e ‘{ N N
NG 5~30 mm
BahRY Nr?1taagtrt1ae%h Every 5mm is g'rrt])ﬁ];;?as one grade is E‘%EEEE%E’E@ i Fl]&
Acion e Somm ey e : N1 N
magnet Every 5mm is grouped as one grade is groLped as cne grade
& Ki7#8/Max.Stroke 60mm 100mm 120mm 130mm
I R-F#%®/Dimension Sheet
I 5p3FRSF Outer Thread Dimension - —
P - " = TP
B2 +;:in:if 1‘?}_%8_;113@ acting ‘smke) = E%z;:;;j;g,j;: ::.gngs :f::) Stanjc-lércﬁype Attach Magnet KA1 NA
BE eSS F+8 1% th{712(Single acting Stroke) R/
H F +8 2% H17#2(Single acting Stroke) H Bore Size/Symbol
J J 12 22 5 17 32 5 27 - 6 4 1 M3x05 102 28 6.3
{‘—. 16 24 55 18.5 34 55 285 - 6 4 15 M3xX05 11 28 | 73
4g=,_, 20 25 55 19.5 35 55 295 36 8 4 1.5 M4x0.7 15 28 75
12~ 16 23 ] $ 20~ ¢ 100 =32 25 27 6 21 37 6 31 42 10 4 2 M5x08 17 28 8
1 32 31.5 7 245 415 7 345 50 12 4 3 M6 < 1 22 28 9
7—‘ 40 a3 7 28 43 7 36 58.5 12 4 3 M8x125 28 28 10
! Mzﬁ\g; K2 J w 50 37 9 28 47 9 38 M5 15 5 4 M10x15 38 28 | 105
{2sideisBraadit) _ 2mE | © 63 41 9 32 51 9 42 845 15 5 4 M10x15 40 28 118
(2Side'sBreadth) M
M 80 52 1 41 62 11 51 | 104 15 20 6 5  M14x15 45 4 145
I R-F3*/Dimension Sheet 100 12 75 M1exi5 205
S T N B T A T ol St ﬂ..
4 4 M5x0.8 10.2 6 5 12 M5X 0.8 Mia(Double Sides):®6.5/F(Thread):M5x 0.8/4#FL(Through ports): 4.2 162 23
16 17.5 16 4 15 10 8 4 M5x0.8 11 258 6 5 16 65 M5X0.8 Mb(Double Sides) ®6.5/%(Thread):M5X0.84&FL(Through ports):®4.2 |~ 12 | 45 | - 29 198 28 16 6 5 "
20 20.5 19 4 1.5 13 10 5 M6x1.0 16 2.8 8 6 20 - M5X0.8 sh(Double Sides) @6 55 (Thread):M5x 0 847 (Through ports): @42 14 45 2 34 24 - 21 8 6 11.3
25 23 21 4 2 15 12 6 M8x 1.25 17 28 10 8 25 - M5X0.8 Mih(Double Sides) ®8.2/%F(Thread):M6x 1.04&FL(Through ports): ®4.6 = 15 55 = 2 40 28 - 31 10 8 12
32 25 22 4 3 15 17 6 M10x1.25 22 28 12 10 32 = G1/8"  Mih(Double Sides) 8. 2/F(Thread):M6x 1 .07 (Through ports) 46 16 55 6 44 34 - 215 12 10 18.3
40 35 32 4 3 25 19 8 M14xX1.5 28 2.8 16 14 40 = G1/8"  Mih(Double Sides): @ 10/5F(Thread):M8x 1 254&7L(Through ports) 6.5 20 75 65 52 40 - 225 16 14 213
50 37 33 5 4 25 27 1 M18x1.5 38 2.8 20 17 50 5 G1/4"  Mh(Double Sides): @ 11/F(Thread):M8x 1.254@ FL(Through ports): @65 25 | 85 | 95 62 48 - 415 20 17 @ 30
63 37 33 5 4 25 27 1 M18x1.5 40 28 20 17 63 - G1/4"  Mh(Double Sides): @ 11/F(Thread):M8x 1.254@ FL(Through ports): @65 25 | 85 | 95 75 60 - [3.156| 20 | 17 (28.7
80 44 39 6 5 30 32 13 M22x1.5 45 4 25 22 80 o G3/8"  Mih(Double Sides): ®14/5(Thread):M12x 1.754@F(Throughports):®9.2 25 | 10.5 10 94 74 . 365 25 22 36
100 50 45 7 5 35 36 13 M26x1.5 55 4 32 27 100 & G3/8"  Mif(Double Sides): @175 (Thread):M14 x2/&7L(Throughports;: ®11.3 30 13 10 114 90 - |365| 32 | 27 | 35
117 118




~ ®
SDA %% h - SDA Z7|| h -
B (REE)SE nreC ST (R AT NrPC

I 5MER-H/Overall Dimension I 5MERSt/Overall Dimension

SSA.SSAS &!/Type ¢ 12-4 16 SSA.SSAS & /Type ¢ 20- ¢ 40 A+7R2(Stroke) X2
B1 C+{712(Stroke) B1+{712(Stroke;
M P3 P3 | F+T#2(Stroke
A+i7 i:;’(stroke) w | P4, .P,4. W w
At 7 #(Stroke) - Grinme s SD 25ide e adth T Z [ 2
C+i7#(Stroke) s P3 P3 T 2Side'sBreadth
& |--Pe P3 T b P4 R SDAD.SDADS &/Type
f> w -
w154 4 Y M} $12~$ 16 ER ] e T )
===5 - la===" " © =
- il <1 £ -
T |4 \?\ 5 a7\ \
o 1 » o5 2 -@ £ ) >LEw
33 P Il K S R s
&4 = =7 :
| \& L
elN o7 N1 o T T KA E—
E."‘G' el
A M D
s R
T ]
— 1
= I -
Ux45 i ! ‘
B PP — Rl 210 €&
SDAD.SDADS &#/Type *19] B ' A
STA.STAS & /Type ¢ 12- ¢ 16 STA.STAS #!/Type ¢ 20- ¢ 40 $20~¢ 100 " M) a o
w
2@ 2R
2Side'sBreadth 2Side'sBreadth
T F+i7#2(Stroke)
A+i7#(Stroke) <2 ' D .
Bl +i7#[Stroke) C+i7#(Stroke) _ A""'?(S‘mkf)q o S =LL.C i
—I_ P3 P3 B+m(Spke] (:‘,+17(.(S1r0k.) IR B1 | C+772(Stroke) Bl +772(Stroke) 4Pl K13&(Depth) E
ML |14 M P4 —| ﬁg w A+T2 (Stroke) X2
M,
] — 1 uxses SR
2o 2 T /( AN\ Shl- ’ "
: ' : G— @17 o T PEF I R-F3%/Dimension Sheet
P— : R |
| N1

= 52
st (Stroks i RIS Ff5i5(Stroke) afdl o KURDeRDIE =avlyee Starfa(—:\lﬁ (Ttype Attafjgﬁ[%/l'e%gn et
Bore Size/Symbol _ | Stroke>10
12 27 5 17 37 5 27 - 6 4 1 M3x05 102 28 6.3
16 295 55 18.5 395 55 285 - 6 4 1.5 M3x05 1 28 7.3
20 305 55 19.5 405 5:5 295 36 81T#2 (Stroke)=5 K Jy(itis)6.5 4 1.5 M4 < 0.7 15 28 75
I R#%/Dimension Sheet 25 33 6 21 43 6 31 42 1017#2(Stroke)=5 it 4 (itis) 7 4 2 M5x08 17 28 8
32 385 7 245 485 it 345 50 8 12 4 3 M6 1 22 28 9
#7 #£7)/Standard Type MiB 1% /Attach magnet 40 40 7 28 50 7 36 | 585 9 12 4 3 M8x125 28 28 10
M 50 46 9 28 56 9 38 71:5 1 15 5 4 M10x1.5 38 28 105
63 50 9 32 60 9 42 84.5 11 15 5 4 M10x1.5 40 28 118
12 32 42 5 27 37 42 52 5 37 47 s 6 4 1 M3x05 102 28 @ 63 80 63 1 41 73 1 51 104 14 20 6 5 M14x15 45 4 145
16 34 44 55 285 385 44 54 55 385 485 - 6 4 1.5 M3 0.5 11 | 28 |73 100 75 12 51 85 12 61 124 18 20 7 5 M18x15 55 4 205
20 35 45 55 295 395 45 55 55 395 495 36 8 4 15 M4x07 16 28 75 Boref*] sﬁgg;%m % nﬂ
25 37 47 6 34 41 47 57 6 41 51 42 10 4 2 M5x0.8 17 28 8 |
32 4is | B8 - iE | 44k | ®iE | Bre = % |28 | &0 i5 7 = MBX 1 22 o8 ° 12 6 M5X0.8 if(Double Sides) ®6 5/F(ThreadyM5 <0 84&FL(Through ports) 4.2 | 12 | 4.5 - 25 162 23 16 6 5 2 5
40 > oa - = = oa o = 48 s | 888 | 12 " a PP pos s 0 16 6.5 M5x0.8 Xif(Double Sides) ®65/5F (Thread)M5 %0 8/#7L(Through portsy42 | 12 45 - 29 198 28 16 6 5 " “
HERIGS [ 20 - M5X0.8 Mih(Double Sides): 6 .5/7F(Thread)M5 <0 8/#FL(Through ports): 4.2 = 14 = 4.5 2 34 24 - 21 8 6 11.3 10
Bore Size/Symbol W X 25 - M5X0.8 Mif(Double Sides). ®8.2/5F(Thread) MG < 1 .0/5&FL(Through ports). 4.6 15 | 55 2 40 28 - 3 10 8 12 10
12 6 M5X0.8 Xf(Double Sides) ©8 5/ (Thread):M5 <0 8487 (Through ports) 42 12 | 45 - 25 162 23 16 6 5 s s 32 - | G1/8" | Wih(Double Sides) ®8 2/F(Thread)M6 X | DAEFL(Through ports) @46 | 16 55 6 44 | 34 - 215 12 10 183 15
16 6.5 M5 X 0.8 Mif(Double Sides): 6 5/5F (Thread):M5 X 0 8B FL(Through ports) 42 12 | 4.5 5 29 198 28 1.6 6 5 ] 8 40 - G1/8" | MifDouble Sides) & 10/7F(Thread)M8 X 1.25/#7L(Through ports):#65 | 20 7.5 6.5 52 40 - |1225|16 | 14 [21.3 | 16
20 - M5 X 0.8  MiA(Double Sides): #6 5/7F (Thread):M5 < 0 848 7L(Through ports) @42 14 | 45 2 34 24 = 241 8 6 11.3 10 50 - G1/4" | MWh(Double Sides): & 11/5F (Thread):M8 < 1 25i8FL(Through ports) 65 = 25 85 95 62 48 - |415| 20 | 17 | 30 | 20
25 - M5X 0.8 Mif(Double Sides): #8.2/3F (Thread):M& < 1 0ABFL(Through ports) @456 15 | 55 2 40 28 5 39 10 8 12 | 10 63 - G1/4" | Mih(Double Sides): ® 11/ (Thread):M8 < 1 26/4&7L(Through portsy ®65 | 25 85 95 75 60 - 315 20 17 287 20
32 P G1/8"  Wih(Double Sides): 8.2/ (Thread M < | DABF(Through portsy #4516 55 6 44 34 - 215 12 10 183 15 80 - | G3/8" | MiA(Double Sides): @ 14/ (Thread)M12 1 76487 (Through parts) #9226 105 10 94 ' 74 - 365 26 22 36 26
40 - G1/8"  Mih(Double Sides): ©10/5F (Thread):M8 < 1 254#7(Through ports) 65 20 75 65 52 40 = 225 16 14 213 16 100 - G3/8" | Mih(Double Sides) & 17 5/ (Thread):M 14 X 2/i87L(Through ports): 113 30 13 10 114 90 - 3.65 32 27 35 26

119 120




CQ2E5!
FERS

SDA &7l
B A (RiRE) ST

I 5MER-H/Overall Dimension

A+{TH2(Stroke) x 2+ AT 847 (Adjust Stroke)

C+i7#(Stroke) —l s

M P3 P3 | f712(Stroke) Q+FTiH4T#E[Adjust Stroke) ‘

Tam \

(2Side’'sBreadth) i ] . =
SDAJ.SDAJS &/Type _‘ \
$12~$16 -] ;[ - 2 e
- /
N \

N1 2-0 N1 /\
iR 7’ CQ2B 25X 20 CQ2B 16X20
D A3 -
es es s ™ I iTM#8/Ordering Code
= 4 ——
M
sl =] M'//_@ i @
2 ] ]
A
A Bl-O—— e I = = 8
SDAJ.SDAJS &/Type f ‘ i H
520~ 6100 3 / RIIRS g 7 ik SIS (fEik)
w Sl e Tl 5 CQ2:H AR B: JE?L B ®12-d50mm: Stroke D: X =R AvTIN] g
—aw / e ‘ CDQ2. A EHIRA ATIAFL R ©12-&100mm o-100mm S EHGEHEE) MHBSMBAL
(2Sids'stifaadih) . R D Series Code Mounting Style Cylinder Bore TRHGREEL) CHARRZLE 4
Fl LNt 2-0 LLN1_| | 542 (Stroke) | Q+FTH1F#(Adjust Stroke) 4P1 \ K1iE(Depth) E CQ2:Normal Type B:with through bore Single action: ®12-®50mm Action Cylinder body (optional)
LG G| CDQ2:Attach magnet Type Awith female Double action: ®12-® 100mm D:double action Blank:Inner Thread Type
B1 C+{T#2(Stroke) thread on both ends S:single action(with spring return) M:Thread outer Type
A+iT12(Stroke) x 2+ FTH47HE (Adjust Stroke) T:single action(with spring extent) C:With cushion

I ##8&/Specifcation

A1&/Bore(mm)
T &4/ B/MWorking Medium
H{ER K /Motion Pattern

I R-t%*/Dimension Sheet

oy it
Standard type

e [ i 14

IR/ Type Attach Magnet
REIFFS

Bore Size/Symbol |

N1

|
=S /Air

BE REERAEEEY Double action/Single Action Extrusion type/Single Action Drawing-in Type

| Stroke=10 |

5 27 z 6 4 1 M3X05 102 28 63 {RIE i} E J1/Ensured Pressure Resistance 15.3kgffcm’(1.5Mpa)
16 24 55 18.5 34 55 28.5 - 6 4 15 M3xX05 11 2.8 7.3 &= 1#AJE f1/Max.pressure 10.2kgf/cm’(1.0Mpa)
20 25 55 195 35 55 295 36 8 4 15 M4x07 15 28 75 SRS AR E Environment and fluid temp 5~460C
25 27 6 21 37 6 31 42 10 4 2 M5x0.8 17 2.8 8 Fim 24/ Thread Type PRISRLL (FR ) 19M2EL(1Ei%£) Inner Thread(Standard)/Outer Thread(Optional)
32 35 7 245 415 7 345 50 12 4 3 M6 1 2 28 9 42 /Buffering FINO
40 33 7 26 43 7 36 585 12 4 3 M8x125 28 28 10 173222 %/Margin of Stroke Error(mm) +10-°
50 37 9 28 47 9 38 715 15 5 4 M10x15 38 28 105 %2 %% Installation B FL(FRAE)/ P AR 4L(fE3%) Through Hole (Standard), Inner size on the two sides(Optional)
63 41 9 32 51 9 42 845 15 5 4 M10x1.5 40 28 118 £ 12 /Port size M5x0.8 G1/8" G1/4" G3/8"
80 52 1 41 62 1 51 104 15 20 6 5 M14x1.5 45 145 i s ’ —— . —_— .
o od = | & | niaade S0E W B SEARATLUNERZE H . Note:Pls Confirm Single Type Can't With Cushion.
RS

Bore Size/Symbol

16
20
25
32
40
50
63
80
100

121

I- Gz ﬂll

6.5

M5x0.8
M5x0.8
M5x0.8
M5x0.8
G1/8"
G1/8"
G1/4"
G1/4"
G3/8"
G3/8"

iA(Double Sides): ©6.5/3F(Thread):M5 < 0.8/#7L(Through ports): ©4.2

Mif(Double Sides): & 6.5/5F (Thread):M5 < 0.8/ FL(Through ports): 4.2

Mih(Double Sides): & 6.5/5F (Thread):M5 < 0.8/ FL(Through ports): ®4 .2

Mih(Double Sides): & 6.5/5F (Thread):MB6 < 1.0/4#FL(Through ports): ©4 5

Mih(Double Sides): & 6.5/5F (Thread):M6 < 1.0/4#FL(Through ports): ©4 5

Wi (Double Sides): ©6.5/7F (Thread):M8 < 1.25/# FL(Through ports) ®6 5

Wi (Double Sides): ©6.5/5F (Thread):M8 < 1.25/#L(Through ports) 65

WA (Double Sides): ©6.5/5F (Thread):M8 < 1.25/# FL(Through ports) #65

MiA(Double Sides). &6 5/ (Thread):M 12 X 1. 754#FL(Through ports): 9.2

WA (Double Sides): ©6.5/7F(Thread )M 12 < 1 75/i#FL(Through ports): ©11.3

12
14
15
16
20
25
25
25
30

4.5
4.5
5.5
5.5
75
8.5
8.5
10.5
13

D NN

65
95
95
10
10

29
34
40
44
52
62
75
94
114

162 23

198 28 16
24 | - | 21
28 | - | 341
34 - 215
40 - 225
48 - 415
60 | - |3.15
74 - 365
90 | - 365

10
12
16
20
20
25
32

w o o »

1.3
12
18.3
21.3
30
28.7
36
35

10
10
15
16
20
20
26
26

122




®

CQ2&7%! 7 — CQ2&% -
SERISHT h NrPC R T h nNrPC

I 5MER-SH/Overall Dimension I 5MERSFH/Overall Dimension

& i . HeBL R .
¥ %% B (Through Hole Type)/CQ2B #3l/Series ke . ., CDQ2B %5l/Series
& 8- ¢ OFEH 7L (Counterbore) ¢ F
HEg &y RC (H Thread ; oo —— LA .
. ecnv‘: 2 & oNRRTHough) ol g E s ¢ 12 ¢ 25 20(22) B NEEYEE10 e ) i,
- T 71 2 £ ize
& Ay O$!Ejr,iu(‘ ) & 5; 10(17) . lead wire bending radius:10) (Auto switch) O- PO%&(Port size) "
& fon i ond sfectve depth c) - ”
C = size) , (%Qm/]\ﬁﬂj:&ﬂ% =
5 inimum lead wire bending
$12~¢25 T4 ) 3 $32~$100 % ) Q5 [ It K G i
a =2 f 3
1 s 7 T
N A & I
= 4 ) (@ R g |
1 I o
Lk - 8 L B . N e]:L ) @ Q

I ?RiﬂqﬁlRTfﬁ Dimension Sheet(Double Action) i£/Note 2){:{7& (Long Stroke) < /@ TS OTERT L X Rt

(Counterbore)
M a
! B2/
#12 /Model Strokerange OD E|F ?l| J | K M [N ®»O =5
| Model

<L / g
4= -
1 T*i \ Vi E L B+ i8(Strake) P L L B+7H8(Stroke)
(mm A+TE(Stroke) Bl A+ E(Stroke)

CQ2B12-(0D 174t 6 (25 5 M2 ><05 5 3515535 65/%/depth35 M5x08 75 - - 32 75,100 33 75 10.5
CQ2B16-C1D 5~30 1854st 8 29 55 M4X07 8 38 - 6 3.5 20 3.5 65 F/fepth35 M5x<08 8 - 10 40 75,100 395 8 1/8 11 I Y=} - - -
D)
CQ2B20-(1D 5~50 195+4st 10 36 55 M5x08 7 47 - 8 4525555 9 R/depth7 M5x08 9 - 10 50 75,100 405 105 1/4 105 ;xﬂ WﬁIRT% DlmenSIon Sheet(DOUbIe ACtlon)
5 ) - ) TR
CQ2B25-1D 5~50 225+st 12 40 55 M6X10 12 52 10 5 28 55 9ix/depth7 M5x<08 11 10 63 75,100 46 105 1/4 15 A2 /Model | Stroke riange @D | DN DO ‘ Q S
S 5 7 — o ety L2088 80 75100 535 125 38 16 (mm)

-0 o KL J AU 2513 60 45 14 7 34 55 9F/dep i Lo 2| Moo Tedio [ [ 6 156 22 CDQ2B12 5~30 315 28 32 65 M3x05 '35 22 35 657Aepth35 M5x08 11 355 195
CQ2B40-[1D 5~50 295+st 16 52 8 MB8X125 13 69 5 14 7 40 55 9iF/depth7 1/8 11 57 18 St=1T12(Stroke) CDQ2B16 5~30 34 305 8 38 55 M4x07 8 - - 6 35 28 35 65%depth35 M5x08 10 415 225 29 -
CQ2B50-(1D 10~50 305+st 20 64 105 M10x15 15 86 7 17 8 50 6.6 11iF/depth8 1/4 105 71 22 CDQ2B20 5~50 36 315 10 468 55 M5x08 7 - - 8 (45| 36 |55 9Ff/depth7 M5x0.8 105 48 245 36 -
CQ2B63-[ID  10~50 364t 20 77 10.5MI0X15 15 103 7 17 8 60 9 14;RAepth105 14 15 84 22 CDQ2B25 5.50 375 325 12 52 55 M6x10 12 - - 10 5 40 55 9F/depth7 M5x08 11 535 275 40 -
CQ2B80-[1D 10~50  435+st 25 98 12,5 M16x20 21 132 6 22 10 77 11 1757 /epth135  3/8 16 104 26 CDQ2B32 5~50 40 33 16 45 75 M8x125 13 60 45 14 7 34 55 9F/depth7 18 105585 315 - 18
CQ2B100-C1D  10~50 534st 30 117 13 MDX25 27 156 6.5 27 12 94 11 175:7/depth135  3/8 23 1235 26 CDQ2B40 5~50 465 395 16 52 8 M8x125 13 69 5 14 7 40 55 9F/depth7 1/8 1 66 35 - 18

1) FORITIZ R B5mmiA . Note 1)The standard stroke is at a distance of each 5 mm. CDQ2B50 10~50 485 405 20 64 10.5 M10x1.5 15 86 7 17 8 50 6.6 11&/depth8 14 105 80 41 - 22
3%2) 17424 55mmZ 100mm 8 &9 817 12(55,60,65,70,80,85,90,95). 1115,10,1520mm/E &9 45 CDQ2B63 10~50 54 46 20 77 105 M10x1.5 15 103 7 17 8 60 9 14F/depth105 1/4 15 93 475 - 22
Note 2)The stroke between 55mm-100mm(55,60,65,70,80,85,90,95,)need to be added thickness of 5,10,15 or 20mm pad. -

E3) BIAEA4FAIIRR . BILESER T Bin AR SERT2—H#. Note 3)External dimensions with rumper are same as stsndard type as shown above. CDQ2B80 10~50 63.5 535 25 98 125 M16x2.0 21 132 6 22 10 77 11 175/%/depth135  3/8 16 1125575 - 26

- : : CDQ2B100 10~50 75 63 30 117 13 M20x25 27 156 65 27 12 94 11 175F/depth135 3/8 23 1325675 - 26

P Bz wﬁIR“l'i / Dimension Sheet(Single Action)
] lmll.l..l- . ii/NOteZ){é%—}*i(Long StrOke)
£ =/Model (] ®N DO Z i 4N M4m0 8 A -
5st |10st|20st 5st 10st 5st |10st|20st @@u e A1) FfE 712 R B5mmil.
--- M ;"_/I iT#(mm)| A | B F ﬂn Note 1)The standard stroke is at a distance of each 5 mm.
CcQ2B12-0S M3 % 0.5 3.5 155 3.5 65)f/depth3.5 M5x0.8 - 7575 - - ode iE2) 172 A55mmZE100mmz 8 &Y 78] 1T#2(55,60,65,70,80,85,90,95), /n5,10,15520mm/E &9 4R .
CQ2B16-(]JS 235 285 - 8 29 55| 55| M4x0.7 8 38 o 6 35 20 35 65%/depth35 M5x0.8 s 8 8 - |10 32 75,100 40 33 75 1/8 105 NotZeOZ)The sgokebelween 55mm-100mm(55,60,65,70,80,85,90,95,)need to be added thickness of 5,10,15
. o or 20mm pad.
CQ2B20-[1S 245 295 - 10 36 55 55 M5x08 7 47 8 45 255 55 Of/depth7 M5x08 - 9 9 - 10 40 75100 465 395 8 158 1 $E3) RAEASRIEM. B LA SATR <HN A MRS S AL R 2 — 4.
CQ2B25-[]S 275 325 - 12 40 55 55 M6xX1.0 12 52 -~ 10 5 28 55 OF/depth7 M5x0.8 - 11111 ] - |10 50 75,100 485 405 105 1/4 10.5 Note 3)External dimensions with rumper are same as stsndard type as shown above.
45 e iF4) BmmiTIE S R gERE— MM K.
CQ2B32-[1S | 28 | 33 | - |16]45|55 |75 M8X1.25| 13 | 60 14| 7 |34 | 55| 9R/depth7 |Mox0s) 1/8 | - |115|115]495) 18 = el e e I Note 4)The stroke of cylinder in 5 mm can be fixed only one magnetism swith
CQ2B40-[1S 345 395 - 16 52 8 8 M8x125 13 69 5 14 7 40 55 9F/depth 7 1/8 - |11 |11 | 57|18 80 75,100 63.5 535 125 3/8 16
CQ2B50-1S - 405 505 20 64 105 105 M10x15 15 86 7 17 8 50 6.6 11;R/depth8 - 1/4 105105 71 | 22 100 75,100 75|63 | 13 | 3/8| 23
& EATSMBL/ Thread outer T St=17#2(Stroke)
read outer Type « ‘ N ) E3) 7 i P 4R 41 T i R B/
EEAFIMRY E3) Mim RARLL PEHREE L Note3)Inner Thread Type Thread outer type
3 3 35 Thread outer Type Note3)Inner Thread Type  Single Action (with Spring extent) ) vy
x ﬁBIgréel £D ﬁBIji/ o ﬁI fé _ i nﬂ i ..-..
o (mm) (mm) | 5st 10st|205t 5st 105t I W IR S/ Inner Thread Type () RS R L (
X0. X
i MR SR %8 Inner Thread Type) /CQ2A 12 10.5 M5 0.8 12 M4x0.7 12 305 405 - 135 - CDQ2A = M4x0.7 7 Thread outer type = 10.5 M5x0.8
X0. x1. %
O-8fgr(Thread) &Nl fL(Through) 16 10 12 8 | M6x1.0 155 6 16  M4x07 7 16 32 42 - 85 |135| - M4x0.7| 7 . 12 8 MEX1.0 |155| 6
20 12 14 10 M8x125185 8 20 M6x10 10 20 34 44 - 95 145 - oy BTN 20 | MeX10| 10 20 | 12| fa ] 10 |MEX}5 B0 8
(Thread) 25 M6x1.0 10 J:L\ 25 15 175 12 M10x1.25225 10
25 15 175 12 M10xX1.25225 10 25 M6x1.0 10 25 375 475 - 10 15 - — 22 of 5
x1. ) T 4 s x1. 4
o] 32 (205 235 16 M14X15 285 14 32 M6x10 10 32 |40 |50 - | 12|17 ]| - — M6x1.0 10 1 205 235 16 M14x15 285 14
M6x1.0 10 c 205 235 16 M14x15 285 14
BEhEEEL/ 40 205 235 16 M14x15 285 14 40 M6x1.0 10 40 465 565 - 12 | 17 - " —;\ 1 D X 40 26 285 20 M18x15 335 17
A : z i " Rl X1. D H X 1. f
SingloAction (with Springextent) $12-50 | '50 | 26 |28.5| 20 |M18x15[385] 17 | | 50 |Mex1.25| 14 | | 50 | - [ses5([785] - [ 18 | 28 P 20 . *
iy X 1. B x1. %
= 63 26 285 20 MI18X15 335 17 63 MI0X15 18 ‘RieAssalists, SFLASE R Al 65 |Miox1.5| 18 63 26 285 20 M18x15 335 17
= 80 |325|355| 25 |M22x15/435 22 | | 80 M12x175 22 | ,LERTE—H. 80 M12x1.75 22 80 325 355 25 M22x15 435 22
| ! : . ’ : *External dimensions with rumper are same as 100 M12x1.75 22 100 325 355 30 M26X15 435 27
L 100 325 355 30 M26x15 435 27 100 M12x1.75 22 stsndard type as shown above.

123 124




CJP K5
FE

I iT##3/Ordering Code

f3dnrFPc

= o

RIIRS ARES iITi2 8o gl
CUPB: R &R Cylinder Bore Stroke Z=H HRL
CJPS AL 8- DEMmM 0~30mm B4R
Series Code 10-d10mm Thread Type
CJPB Panel 15-d15mm Blank:With Thread
mount Type B:No. Thead
CJPB10-15 CJPS:Invisible Type
I  ##%/Specifcation
A 1&/Bore(mm) 6 10 15
T E9 R/Working Medium Z= S5 /Air
N {EE X /Motion Pattern E /% 5 (3% % E =) Double action / Single Action(Drawing-in Type)
{RIET} & J1/Ensured Pressure Resistance 10.5kgflcm’(1.05Mpa)
= 1EME J1/Max.pressure 7kgflem®(0.7Mpa)
B 1A€A & J1/Min pressure 2kgflcm®(0.2Mpa) 1.5kgf/cm?(0.15Mpa)
1§ IR ESE Bl 'C/Operating Temperature Range 5~+60°C
£ ih/Buffering F NO
Margin of Stroke Error(mm) e
EE O12/Port size M5 X 0.8(FE#R 2245 #/Panel mount Type )
I 5 R=H/Overall Dimension
W 13 7, NN
ExhaustPart #14%(Bore) ¢ 6:C0.5 Wi M5X08
. N $10,15:C1 —\ I
1> . 458 P . (T ? = it [
Panel Mounting Style \\&//’
miR%EFEBICIPB N T o <
H
| W K
A F T E
R i T 4E SUE R H s
8 with rod end thread z

St=1T#2(Stroke)

&1 @/
6

13.9 12,5 195 265 85 M3x0.5 M10><10
10 10 19 122 | 6 145 21 28 12 12 35
15 12 27 |31 | 7 165 225 29 19 14 42

I 5p2R~H/Overall Dimension

185 225 325
M4x0.7 M16x15 13 205 27 34

M5x08 M22x15 20 235 295 36

3 275 345 415 3

IS

325 | 39

5 375 435

46 5
50 6

Gd9

L—"———”a““ Port) 7% (Bore) $6:C0.5 NN
3 $10,15.C1 MM \
18 )
/fﬁ\ ) QF 7777777 R ’J 4 ?;I
A A N\ ® .
(Plug Mounting Style)CJPS \\//
H
! W, LK.
: i T A2 15 0R & E—erek
with rod end thread 7
EAE) ‘
R
Bore(mm) Os 155t
6 7 12 [13.9 125(195| 265 | 85 35 M3X05 M10x1.0 9 185 [225 | 32.5 3
10 10 | 19 | 22 6 145 21 28 12 12 35 M4x07 M15x15 13 205 27 34 4 325 | 39
15 12.| 27° | 31 7 |165(225| 29 19 14 42 M5X08 M22x15 20 235 295 36 5 375 |435

275 345 415 3
46
50 6

®

TN &5
XS,

f3 nFPc

I iTH%8/Ordering Code

T

RIIRS RS 72 BMARS

Wi & AL Cylinder Bore Stroke EE AR
Series Code ®10~-Dd32mm SN EMIRE
Double-Shalf Magnet Code
Double Action Type

Blank:Without Magnet

S:Attach Magnet
TN 16 X20

I ##%/Specifcation

FERI R /Motion Pattern

& #1E/Double action
T {E4y B/Working Medium z= S /Air
{$ F /& /13 Bl /Operating Voltage Range 1~9kgflem?®
{RIEMIE J71/Ensured Pressure Resistance 10.5kgflcm?
{$ fiR ESE Bl 'C/Operating Temperature Range -5~470C
1 F % E SE Bl /Operating Speed Range 100~500mm/s
A Z 1T#2/Adjustable Stroke -10~0mm
#2 1 E3K/Cushion Type A9 4 /Adjustable Cushion
R El4E¥EE /Non-rotating Precision 04T 0.3C
1% O1&/Port Size M5 0.8 G1/8"
4 w .
I 5MER-SF/Overall Dimension
610 TN & 3| /Series
A+{742(Stroke)
B C+{742(Stroke)
15 D+0.2+7#2(Stroke)
i H@FL(Thru.hole):2-¢ 3.4
16 51712(Stroke)7 E+0.2 W3h(Both sides). ¢ 6
e P
& (2-Sides) ) | 20 10
® 2 : :
o B f?' ® I b ® & g Bki? ----------- o)
N o} o [ 2msx0smEOEPost size)
& 7 z
2-M3%0.5 2 M3X 05, J@FL(Thru.hole):2- ¢ 34

WA (Both sides): & 6
(dp)3 3B EFL(Mouting hale)

I R-F%/Dimension Sheet

#11%/ Bore size

© D |
e | ] i [ e e e ]
51 10 30 30 35 40 45 50 55

126




TN &5
XS,

I 5MEZR-F/Overall Dimension

$16~925 TN # 3l / Series

=|-

D

A+{TH2(Stroke)
B C+{T2(Stroke)
15 D+0.2+47#2(Stroke)
F H E+0.2 2-PIBER
1 (Mouting hole)
Wiih a4 P
(2-Sides) S
J N2
7 2
o N [
= ~ o
H| — (@ H A Qbm i, D
7 I O g 3 @ D
24 2-M5 < 0.84&% [172(Post size)
ad
7

2-P2@EFL(Mouting hole)

I R-t%/Dimension Sheet

FI1%/Bore size
I B/ltem

20
25

£112/151 B Bore size/ltem |

16

20

25

Als mm.--
68 | 156 | 53 | 20

87.5 100
78 20 58 20 35 35 40 45 50 556 60 65 70 75 875 100 10 55 9 28
81 19 62 30 40 40 45 50 55 60 65 70 75 80 925 | 105 | 10 66 8 34

KILIMINGN2L P P2 JQJR[SITIVIW

Wit (Both sides): & 7. 55F(dp) 7.2mm | MiA(Both sides): ¢8iF(dp) 4 4mm 34 3 B4 21

M4X0.7;R/dp 5 47 53 20 22 11 H@FL(Thruhole): $4.5 J#FL(Thruhole): ®4.5

8 6.1

7o Wi (Both sides): & 7.5 (dp) 7.2mm | XA(Both sides): $8iR(dp) 4 4mm
M4 xX0.7®/dp5 55 61 24 25 12 BIL(Thruhole). 4 5 BILTh holey. 4.5 44 35 62 25 10 8.1

M4x0.7RIdp 6 66 72 29 27 12 Win(Both sides): & 7.5k (dp) 7.2mm | A (Both sides): b87K(dp)44mm 56 7 73 30 12 102
i@FL(Thruhole): $4.5 @FL(Thru hole): 45

I 5MER-St/Overall Dimension

$32TN %%l / Series

40

38

les
o
a
A
a3 s
o

(7~

&

\_2-M6x1

A+{THE(Stroke)

B C+{712(Stroke)
D+0.2+{712(Strol #@FL(Thru hole):2- ¢ 5.5
= HTE(Stoke) WiA(Both sides). ¢ 9
17 13 E+0.2 (dp)13.2EEFL(Mouting hole)
1438 /
(2-Sides) i
© 5 14
te =
s 8 : !
l I O ©) 7 ! G ®
= A @
= JL-L
t @ \ 2-PT1/8 {EE 1% (Post size)
AN 5< 1
J@FL(Thruhole)2-¢ 5.5

Wihi(Both sides). ¢ 9
A#(dp)5 4REIEFL(Mouting hole)

2-M8 X 1.253(dp)10,

P Rﬂ'i/Dimension Sheet

ﬁI1ﬂ Bore size
H -mm

127

108 30 78 35 90 1025 115

CXSE%
XS,

- .
o
ﬂ’l
WogelOXSIk 15

@ ) |

ol

\ A\

CXSM 15X 30

B iﬂ*ﬁ/Specifcation
[ m@Boenm) | 6

I1’EﬁENVork|ng Medlum
F{EBLF/Motion Pattern
{RIEMIE 71 /Ensured Pressure Resistance
&= 1E A E 51/Max.pressure

&K 1E A E 1/Min.pressure 0.15Mpa(1 Skgflent)
{# FR E E Bl 'C/Operating Temperature Range
2Z % /Buffering
#5Hg/Structare
17128458 El/Stroke Adjustable Range
4h7%/Bearing
TEEMTEEE 8 B /Slide Bearing +0.1
Precision of
Piston rod Non-rotating | 7R ¥k 5 [E14f7& /Ball Guide Bearing +0.1

& O1&/Port size

I 5MER-St/Overall Dimension

$6 CXS #&Jl /Series

f3 nFPc

iT#%3/Ordering Code

LT T

RIRS LSS AR 1718
mﬁmim TR BRI Cylinder Bore Stroke
Series Code LiBTR S0 4R 8- Bmm 0~100mm
CXS:Attach Type of Bearing 10-®10mm
magnet Type M:Slide Bearing Type 16-®16mm
L:Ball Guide Bearing Type 20-420mm
25-®25mm
32-®32mm
O T 20
Z3 5 IAr
Zz1E/Double action

1.05Mpa(10.7kgf/cm®)
0.7Mpa(7.1kgflem’)
0.1Mpa(1.0kgflem’) 0.05Mpa(0.51kgflcm®)
5~+60C
Mm% A% 2% ih/Both ends buffer
WS EL(# 15 K 51)/Double Power
47 811732 /(Return Stroke)0~5mm

B B4R ARk S @%h%  Slide Bearing/Ball Guide Bearing

+0.15 +0.13 +0.11 +0.1 +0.08
+0.1 +0.07 +0.06 +0.05 +0.04
M5<0.8 G1/8"

2- ¢ 3.4j@7L(Through-hole)

58.5+{712(Stroke) 2- b6 SERYILR

55| 8 45+{71(Stroke) ACounierbore dept)3.8
H(OUT) L6,
| :2 3% 0.5 X5 Sk RIS E 275 13 _10+1/247#2(Stroke) _(_\) r 3
e (Hexagon socket head set screw)
> —a\o
©) A
o g = ~ \Q‘/
sliab 3 - e : =l
o & D gt,. 4 g\ O @)/ o E g
& = &
& an &
«, L\,
X 1
X M2.5% 0,45 % SR fskiRET : AN
(Hexagon socket headcap screw) 2{';1A3XD‘5®?L M3X05X125BM3%0.5 i 2—M3>§ 0 84240 (thread depth)d 5
7 \exagon Socket eadcap Screw, rough-hole A ST PR 5\ (B 0) A\ /(Piping port) IN

2-M3% 0 5@7L
(Through-hole)

2-M3 X 0.598 40 7 thread depth)

10 13+17#2(Stroke) 4.5t F4EE (Opposite Side:same

” «3;1 @/
- & ?\\ 2-M3x 0.89240R (thread depth) 4.5 B& 0
(Piping port)t833 48 [E (Opposite Side:same)

(Hexagon bolt)/(Hexagon nut)

(13) 10+1/24742(Stroke)

(@) (O]

225 11

B R#%/Dimension Sheet
1O+1/2fﬁz/8troke

CXS[J6-10

CXS[J6-20 20 20
CXS[J6-30 30 25
CXS[J6-40 40 30
CXS[J6-50 50 35

13+17#2/Stroke

45+1T32/Stroke 58.5+1T#2/Stroke

23 55 68.5
33 65 78.5
43 75 88.5
53 85 95.5
63 95 1085

128




CXS &%
XS,

I 5MER-SH/Overall Dimension

CXS ¢ 10-15-20-32

o|m

1

o

f3dnrFPc

4 I~
h JanN
o °\.k\’} Y
S s =
< + o
® =
X £aD
o) N
R |
XE7 M H485T =
(Hexagon socket
£ headcap screw) N 00 A7 fh §1(Hexagon bolt) &
- —4 PP75 42 & (Hexagon nuf)
O(FiLA &)
(N) i
CXS ¢$10-15 CXS ¢$20-32 0 &)
%
L @ v uJ ) @ y v
1
— — b1
P P
F ¢ a 5 H o o] 9B o
8 2 g8 st | |4 =
R L) R w ly]

I R-t%/Dimension Sheet

Q

[ mSioce [Alslclolel F lolnl skl w | N lwlo| oo P

CXs[J10-10
120/30/40/50 46 17 44 15 75 2-M4x0.7 35 20 4
CXS[J15-10
120/30/40/50 58 20 56 18 9 2-M5x0.8 45 25 5

CXS[J20-10/20/
30/40/50/75/100 64 25 62 2311.5 2-M5X0.8 50 28 6
CXS[125-10/20/
30/40/50/75/100 80 30 78 28 14 2-M6x1.0 60 35 6
CXS[132-10/20/

30/40/50/75/100 98 38 96 36 18 2-M6x1.0 75 44 8

2-®3.4iEFLAhrough
2-©6.5MBTRE/
Counterbore depth3.3

2- >4 3jEFLAhrough
2- O 8MyTIRE/
Counterbore depth4 4

2-®5.5j@7LAhrough
2- 9 S5MBTRE/
Counterbore depth5.3
2-©6.9j@FLAhrough
2- O MMBTRE/
Counterbore depth6.3
2-6.9j&FLAhrough
2-© MMBTURE/
Counterbore depth6.3

8 9 20

10 9 30

1212 30

1211230

16 14 30

2-M3 X 0 582 8UR &/
thread depth 5

2-M4 X 0. 78250 R [/
thread depth 6

2-M4 X 0. 782 80URE/
thread depth 6

2-M5 X 0.882 4R [E/
thread depth 7.5

2-M5 X 0.8828URE/
thread depth 8

®6 5 M4x0.7xX14.5L

®8 6 M4x0.7xX14.5L

®10 8 M6x1.0X18.5L

®12 10 M6x1.0X18.5L

@16 13 M8x12.5X23L

33.6

48

53

64

76

[ m3Mocel | PP lQARRRTITIUL w0 | v | w | x| Y |

CKSCHOI0  Max0785 7 307 - 5 8
OXSUSI0 Max07 10 1038510 - 5 8
53535520(,}7153%0; M6x1.0 775125 45 7.759.5 6.5 8
Sodcroneo MEX1085 15 48 1513 9 o

CXs[d32-10/20/

30/40/50/75/100 M8x1.25 9 19 56 19 2011.510

4-M5X0.842 4UR &
thread depth 4. 5

4-M5X0.842 4UR E
thread depth 4. 5

4-M5X0.842 8UR E/
thread depth 4.5

4- /882 GURE/
thread depth 6.5

4-1/8482 WURE/
thread depth 6.5

4-M3 X 0.542 SR JE
thread depth 4. 5

thread depth 5

thread depth 6

thread depth 7.5

8-M5x 0.842 4R &
thread depth 7. 5

4-M4 X 0. 742 5UR E/

8-M4 X 0. 742 50 R &/

8-M5x 0.842 KUK E/

2-M4 X 0. 742 8UR
thread depth 7

2-M5 X 0. 842 40K B/
thread depth 8

2-M6 X 1. 082 80K &/
thread depth 10

2-M8X1.2642 8UR E/
thread depth 12

2-M8X 1.2682 WK [E/
thread depth 12

M3x0.56X10L M3x0.5X5L

M5x0.8X10L M4Xx0.7x4L

M6x1.0xX12L M5x0.8x5L

M6x1.0X14L M6x1.0X5L

M8x1.25X16L M8x1.25X8L

ESioi S 53 2 BSnow S S0 gz BN S oS 2z e s o5 2 2]

CXS[110-10 0 82 cxsdi15-10 10 70

CXS[10-20 20 75 92 CXS[15-20 20 80 99
CXS[110-30 30 85 102 cxs{15-30 30 90 109
CXS[110-40 40 95 40 112 cxS[]1540 40 100 35 119

CXS[110-50 50 105 122 cxs[15-50 50 110 129

129

CXs20-10 10 80 30 104 cxs2510 10 82 30 106
CXS[]20-20 20 90 114 CXs(02520 20 95 116
CXS[120-30 30 100 124 cxs[25-30 30 102 126
CXS[]20-40 40 110 40 134 (CXS[]2540
CXS[J20-50 50 120 144 Cxs[J25-50 50 122 146
CXS[J20-75 75 145 169 CXS[I25-75 75 147 171
CXS120-100 100 170 = 194 CXS25100 100 172 i 196

40 112 40 136

CXS[32-10
CXS[132-20
CXS[132-30
CXS[132-40
CXS[132-50
CXS[132-75
CXS[132100

10 92
20 102
30 112
40 122 50
50 132
75 |157
100 182

122
132
142
152
162
187
212

CU &%l
ol

CDU 25x 15

1T %53/Ordering Code

RIRS [LES

CU:EAR =0 EAR

CDU: A E R IREL KA BESSTE 24T
Series Code Kinds

CU:Normal Type Blank:Normal Type

CDU:Attach K:Non-Rotating
magnet Type piston rod Type
4% /Specifcation

A1 4&/Bore(mm)
T 1/ BR/Working Medium
F{EBLF/Motion Pattern
{RIUEM} & 71 /Ensured Pressure Resistance
== 1E M E 1/Max. Working-pressure
IREFNE KB E /Ambient and Medium Temperature
£Zh/Cushion
1TI2/2 £/Margin of Stroke Error(mm)
TEEIT NG5 /Precision of Piston rod with Non-rotating
}&% [12/Port Size

1z

Cylinder Bore
6-d6mm
10-®10mm
16-P16mm
20-®20mm
25-®25mm
32-®32mm

6 10

CDU 20< 20

1718 ;ME

Stroke D: X #h

0~50mm SR EEE)
TEHGREEL)
Action
D:Double action
S:Single Action Spring
Drawing-in Type
T:Single Action Spring
Extusion Type

16 20 743) 32
= S/Air

Wah/$sh#EEC/ALLEEE Double action/Single Action Extrusion type/Single Action Drawing-in Type

+0.8*

1.0Mpa(10.5kgflcm®)
0.7Mpa(7.1kgflcm’)
5~+60C

7 im i B2 4 ih/Both ends buffer

+1.0
0

+0.5°
M5<0.8 G1/8"

130




CU &7l * — CU K% ” —
SHT hﬂrPC ST hﬂr?('

I 5MER-H/Overall Dimension I 5MERSH/Overall Dimension

MIEM, B+ (Double Acting, Single Rod) - 2 P il (Through) ZENOR0B ${EM, #¥¥EH(Single Acting, Spring Extend) it
%82 8(Rod end nut) 4-NN
L3 2P i@ (Through) M5%0.8 EXEETL & I
N #4828 (Rod end nut (Plug with ficed orifice) y
| P 4 / 5 1/ O | g=
e ET:_ ! o N E‘jj -
| 4@%—#/ - :\’\ [@] [N =
p 68 ! = W
- - o E % 2-©P i@FL(Through) (Auto Switch)
GA GB - E 4 O T3RFL(Counterbore)
- H+{742 (Stroke) S
—EY : | Z
Dl H=Dral w = &
CU$6~¢10 ol x @D 55 == --[----— """"""""""""""""""""" l""' M5 % 0.8(032:Re 1/8) S, § T L I =
55! | X 0.8(032R EREETL R
@ :\@ @] & (Rodendnut)  2-oP @7L(Through) (Plugwith fixed arifice) —!3—}> b E, - & B
h X &i _U( 3o Q‘@}f* —\//51
_2-OPE(Througn) TR ¥ - — e } o RERE ¥ T H
N z 4o T 7L (Counterbore) (Auto Switch) P — > @ Widhacross s j| 20 P J&7L(Through)
B H S+i71E(Sroke) Le] La |y gl \&oTmiCowtrosN HHFX
Z+§742(Stroke) = oe_ e Eme) 5 (Auto Switch)
5 z
' - -
I 45MER-H/Overall Dimension
» Z®P L. rveughi 2M5X0.8(®32-He 1/8) H{ER, #MEER Single Acting, Spring Return
%82 5 (Rod end nut) 4-NN MM
G} 3 Frigeen 2-® P &FL(Through) Hen M5x%0.8
swew 2- X0,
s ® fama (Bleed port) - 9 |
o - o oy el I )=|
S 3 % N j
® — ; |4 -EOF '
! \V ENE 1//?4 @] aq =|
E| GB & A R %
4-NN MM GA GB 2 ®P @7 (Through) (Auto Switch)
GA A E 4-O T 3L (Counterbore
H s
T B
3 *(‘} e o I -
I§ o < E) _/\ r = 4-NN
¥ . MM
AR i YT ies]
ol ¥ = S o 1/ . 2 (Through) (Bleed port) g |
. ¥ M5 X 0.8(®32Rc 1/8 [ =
cu ¢ 16 ¢ 32 \‘J Q rﬂ@ %928 (Rod end nut)\ : =8 1 k} ¢} L@@ : a
E 21 =] =] 4
S - =1 /. { | 1® . bl )
7 o _ »
(Widthacross flats) L \=gguiim pid _1\@—
e . RFRRE ) —— A
A 2-OP ).j_iiﬂ(anough) f) j’ — =) & @ (Widthacross flats) L~
Al E 4-@ T ;i 7l(Counterbore) (Aﬁggfvin) '-E-l GB A 2-®P j&7L(Through)
B H S+i72(Stroke) o GA La LE 40T 7l (Counterbore) R
Z+{7#E(Stroke) 5 H s (Auto Switch)
z

I R-F%®/Dimension Sheet B RT]':"&/Dimension Sheet

6 7 - 13 22 3 7 15 10 13 17 10 - M3 x 0.5 3 M3x0.5 M3><05mc(depth)5

10 10 - 15 24 4 7 16.5 10 16 18 11 - M4 0.7 10 10 - 15 24 4 7 16.5 10 16 18 11 - M4 0.7 M3 0.5 j®(depth) 5 3.2

16 11 125 20 32 6 7 16.5"® 11.5 16 25 14 5 M5 < 0.8 16 1" 12.6 20 32 6 7 16.5 115 16 25 14 5 M5x0.8 M4 < 0.7 ;x(depth) 6 4.5

20 12 14 26 40 8 9 19 125 19 30 16 6 M6<1.0 20 12 14 26 40 8 9 19 125 19 30 16 6 M6x1.0 M5 0.8 iX(depth)8 5.5

25 155 18 32 50 10 10 215 13 23 38 20 8 M8 < 1.25 25 15.5 18 32 50 10 10 21.5 13 23 38 20 8 M8x1.25 M5 0.8 i®(depth)8 5.5
19.5 125 27 48 24 0 M10x1.25 32 19.5 22 40 62 12 11 23 12.5 27 48 24 10 M10x1.25 M6 1.0 K(depth)9 6.6

= ' T B IF % (Without Auto Switch) | #5414 7F % (With Auto Switch) #112/Bore [ RIS (Arhout AufoiSwiteh) SHRRTES 5 (With Auito Switch)
fI{Z/Bore size A .
o & === I : S Z
(mm) :
6

M3 0.5 F(depth) § 6 A derth) 4.8 Lot [ st ] 5 |0 [ 450 |5 |10t

10 M3X 05 R(depth) 5 32 - -9 6 % (depth) 5 36 52 36 52 6 . s 7 63R(depth)4.8 - 38 43 48 56 66 76 38 43 48

16 M4 X 0.7 ®(depthy6 45 4 2 12 7.63F(depth) 6.5 30 46 40 56 10 . - 9 6 % (depth) 5 a 41 46 56 62 72 87 4 46 56 62 72

20 M5X08 F(depth)8 55 O | 45 16 | 93 F(depth) 8 36 55 6 o 16 4 2 12 76F(depthy65 35 45 50 60 66 76 91 45 50 60 66 76

5 M5X08R(depth)8 55 9 45 20 | 9.3 R(depth)9 40 63 50 7= 20 9 45 16  93F(dept)8 5 41 46 5 65 75 90 51 5 66 75 85

32 M6 1.0 R(depth) 9 66 135 45 24 11 :F(depth) 115 42 69 52 79 25 8 | W5 | 20 | Supp@Eep)e | 6 | 48 | B0 | 6O | T | B3 | 96 | 66 | B0' ) G0 | &5 | &8
£)5 1772(CU16-5D):14.5mm 32 135 45 24 11F(depthy5 5 47 52 62 79 89 104 57 62 72 8 99
Note)5 Stroke(CU16-5D):14.5mm E) VT GERBER, BEEE Note) “V” Only for Single Acting,Spring Extend

131 132




MGP Z7 * - MGP Z7| *' —
=t AT h nrPC ==t h NnrPC

I 5MER-SH/Overall Dimension

12~ 25
40 OAlﬁlL(through) y
2 4-0BF i@ fLix 4-MM ;¥ (depth) ML
ww;:(d; zzﬁ :;—XL 4-NNGEFL(hrough)  Xx#B(Section) 2 o (cotntebors Gspho0 XXzB(Section)
[ [ = a—
m 7 310 B /
/ H — f - r—rg
| — 4 ¢o . i i &
& 2
;w]»epiu»;;o = X | g 3 = N @ &t -E_T__:!_l_l_____l___ B S R
x| 3 = H & 2 x
: CHEER : @ @
e||e ~ s RPN = e
S| £ o= e
. || e o)) T
;NB = XEB(S ection) oxa e L | =g %J 128 N—zp 5
PA+{T l'il%tm k2| G
F/ FB C+{T#2/Stroke E
B+{TH [Stroke
MGPM 20X 30 MGPM 25 <50 A+{THEIStroke
by = - -
I iT¥#3/Ordering Code I MGPM. MGPLRFE#M#E/MGPM. MGPL Common Dimensions Sheet
- - A N N ) N S T Y
X fI12/Bore size Standanhokell B (¢ DA FA FB GB | ML
12 10,20,30,40, 42 29 M4 x0.7 M4x0.7
-1 .- o ; 16 5075100 46 33 8 8 5 30 11 8 64 M4 15 15 22 M5x0.8 12 M5x08 4.3
R I S K 3 I’I 1712
B HIAR M;%msm c\;“ndersore Shioke 20 %%ﬁ%g%gg' 53 37 10 10 6 36 105 85 8 M5 18 18 24 M5x08 13 M5x08 56
Series Code LRIk S 4R 12-®100mm 10~200mm . .
B Ay oo of Bearli 25 150,175200 535 375 12 10 6 42 115 9 93 M5 21 21 30 M6x10 15 M6x10 56
magnet Type M:Slide Bearing
L:Ball Guide Bearing
4142/Bore size | SthT MEATIR(MM) | op PB | PW VA | VB XB
- - | Standard stroke
l *mﬁlspec‘fcatlon 12 10,20,30,40, M5 0.8 3
50,75,100
' ' 16 )75, 8 45 M5x08 15 10 19 16 54 25 62 46 56 38 24 3 35 3 10
#14%/Bore(mm) 12 16 20 25 32 40 50 63 80 100
| oo | ,k,_- | 20 20304050, 95 55 RC1/8 125 105 25 18 70 30 81 54 72 44 28 3 35 3 12
T{E9r B/Working Medium =S5 /Air 75,100,125,
. : 25 150175200 95 55 RC1/8 125 135 285 26 78 38 91 64 8 50 34 4 45 3 12
FERL K /Motion Pattern £ #18)/Double-action
{RIEM & J1/Ensured Pressure Resistance 1.5Mpa(15.3kgflcm’) T _
7 . 1T z mm
=) 5 i 1.0Mpa(10.2kgflcm’ #I42/Bore size | o
HimEFZE 71/Max.Operating pressure 5 12“:a( : 2kgf/cm) Standard stroke | 30 st or less | Over4Ostto100st | 125storless | 30 storless | OverdOstto100st | 125storless
& K T{E[E J3/Min. Operating pressure .12Mpa(1.2kgflcm’)
Hi:*x L'J_"Z]ré‘/Amb'lot d?\/lpd' T t 10~+60C 10:20/500, 2 MaxD8
IMEFIR AR ient and Medium Temperature - } 16 50,75,100 24 oy _ P o i e S
7R ZEi# E/Piston Speed 50~500mm/s 50~400mm/s 20 27% 3;% 3%255?, - w“ prees pos a5 = - m—
) R4 i ,100,125,
ﬁ:ﬁ?lBuffer 1 B 4E M/Rubber Cushion 25 {5 g - P o p. a9 o ” —
74332/ Tolerance of Stroke *55 om
4hk/Bearing B Ehaik LR Bk S %k (Slide bearing/ball guide bdaring)
,Eﬁpﬂﬂ%zﬂ*:ﬁ 78 5h4h R /Slide Bearing +0.08° +0.07° +0.06° +0.05° +0.04° MGPG (/& zh#h%Slide beafing) MGPL (%3S [m#%h7%Ball bushing bearing)
recision ot
Piston rod Non-rotating 75 S El4#ff/Ball Guide Bearing +0.10° +0.09° +0.08° +0.06° +0.05° e, |

H 30st< 100st=

1% O12/Port size M5 % 0.8 G1/8" G1/4" G3/8" BO'e size | g > - 30st< 100st>| 100st< |

12 42 60.5 85 8 0 18.5 43 55 85 6 1 13
— k= 4= F0 16 46 64.5 95 10 0 18.5 49 49 65 95 8 3 19
l HETEE
Standard stroke (mm) MGPM (2% Slide bearing) MGPL (3%3h 5% &Ball bushing bearing)

12,16 10,20,30,40,50,75,100,125,150,175,200,250
20,25 20,30,40,50,75,100,125,150,175,200,250,300,350,400 Bore size
32to 100 25,50,75,100,125,150,175,200,250,300,350,400 . ‘
63 80 104 122 10 10 27 51

25 535 85 122 20 0 315 68.5 69.5 80.5 1045 122 13| 16 32 51

30st< 100st<
100st= | 200st=

133 134




MGP 71 - MGP %51 -
=4S h nrePC =i nrPC

$32~¢ 63 $80~¢ 100
4 ©OAjE 7L(through)
4-YYiE(depth) YL coﬂ}nerbor‘gﬁng‘rToL 4-MME(depth) ML 4NN 7L through) 4 ©OATETLUN N XXzB(Section)
XXEB(Section) 4-NNig fLthrough)  xxz8(Section) z WA /—L)* L X8 (Section) 4-YYiR(depth) YL T Xx#B(Section) - WA l—oB«‘umga;f;g i LMz WL
B (Sectio XX EHSection) (counterbore depth)OL i
— HE —~ /0O 1
frd JO L & [ =‘ o .
) : Ol e B &
4 & f &= 4 i 1§ Oy
. L ﬁ, ; XA T I

x 531 S o e T 5 . g g g

] s HEl © S e | o e S 5 (@) 29 | B s el S O S =rE g

; < g | I 2 H 5 x £ " Y i 2

> a % o7 2l i =
—— L T © o 9 % B ( . i
o [ d=¢— = ) " > 2
— L) O XA R depth) XL D QO V sc b p—F = \_‘ X8 P/@ gl P &4
z | wa PR ®XAsR(deptty XI/T oDl 1o4] |og] 2p 20 B« N\ damd 7 B]_ WA XAiR deptt X AL et Q .' oM &
PA+{712(St ck 3l . x
7 (,",: G XA F(depth) XI,/ L_g_.l GA_ GB Jé r¥ XA
A | B S e DA H(Stroke g 5 K (depthy XL
B+{7i (Stroke) FAl FB C+{TI2(Stroke) 2P 2P T
A+ {13 Stroke) LT T bemmstoe) ]
A+{THE (Stroke)

I MGPM. MGPL[R##&/MGPM, MGPL Common Dimensions Sheet

. e ‘ I R-sF3®/Dimension Sheet
G2/ | BOEfTE(MM) | g | ¢ | pa | FA | FB GA | GB | GC HA
Bore size | Standard stroke
ore size | Standard stroke

40 10205,15205-7105,0 ES [|WER YN | US| DI ) 6 ) WA J) IR ] O ) SR S () @5 | MESES | <2 ) IMSSI0S ) S8 21003%2755 955 565 25 22 18 915 155 14.5 202 M12 455 38 M12X1.75 M12x175  10.6
50 175000 | 2= |4 |20 | 16 | 12 |64 |14 | 41 |12 |445 | MB | 32 | 32 | 40 | MIOx1S | 22 | MIOkIS | 68 100 150175200 116 66 30 25 25 1115 23 19 18 240 M14 555 45 105 56 62 M14x20 32 M14x20 125
165 135 165 162 M10 M10%15 M10x15
; e a1/ FRAEAT A2 (mm) ‘ }
L/ FRAEATE(mm) oL PA PW VA | VB XA | xB | xc | xu Boresize | Standard stroke PR W wellivBr || ou (L SRR | S| LS 2
Bore size Standard stroke 2050, 75 |
= RC1/8 0 96 a1 | 110 4 80 R 175 RC3/8 145 255 174 75 198 156 180 140 100 6 7 5 10 28
o — 1 T75 | rewe |13 18 a8 a0 (102l 2 Tia | 86 T10e 72 [ 50 [ 2 Ta51 3 [ & | 22 100 150,175,200 20 8 RC38 175 325 89 64 210 90 236 188 210 166 124 6 7 5 10 11
50 10‘1”715223050’ 14 9 RC1/4 9 215 47 40 130 60 146 110 130 92 66 5 4 8 24
63 ' 14 9 RC1/4 14 28 55 50 130 70 158 124 142 110 80 5 4 8 24

FREET 72(mm)

6
ez . w00 0w |
Bore size Standard stroke 50,75,100 st ‘ 100 st or above 50,75,100 st 100 st or above
50,75,100st | 100 st or above 50 75,100 st 100 st or above 80 20,50, 75, 128 M12x1.75

b 22 (mm)
Bore size Standard stroke
100,125,
32 24 124 M8x1.25 100 150,175,200 48 72 148 35 47 85 M14xX2.0 28
40 ?%’3‘}273’ 24 48 124 34 46 84 M8x1.25 16
50 150,175,200 24 48 124 36 48 86 M10x1.5 20 MGPM (i&3h%h7%&Slide bearing)
63 28 52 128 38 50 88 M10x1.5 20
&1/
Bore size =~ [ ~
MGPM (i83h4h 7% Slide bearing) : 50st< 200st 2 ‘ : 50st< 200st
& 80 1S 142 193 30 185 455 96.5
=/
32 97 102 140 20 375 42.5 80.5
40 97 102 140 20 31 36 74 MGPL (& zh 5 @ %k #&Ball bushing bearing)

50 106.5 118 161 25 345 46 89 e
63 106.5 118 161 25 295 41 84 Bore size 25st<50st= 2Bst<50st> | 50st<200st>

80 109.5 130 160 193 25 13 335 63.5 96.5
MGPL (i£3h 5 E%h74&Ball bushing bearing) 100 121 147 180 203 30 5 31 64 87
s/ _
32 118 215 385 58.5 80
40 81 98 118 140 16 15 32 52 74
50 93 114 134 161 20 21 42 62 89
63 93 114 134 161 20 16 37 57 84

135 136




MSQ &%l
awWSRING

MSQ &%

s yesp SN St FhL

I 52 R~F/Overall Dimension

# B Basic style:MAQBLIA

8-WD ;% (depth) WE(81™ 4)7a/
Circumference:8 equivalents)

4-JJ 3(depth) 8

MSQB 20-A MSQB 30-A
* - 4
I 1T /Ordering Code HLEMm) | gy
$10,¢ 20,430,450 Bore size
10 315
p— X — J— ' 20 34.7
2-M5x 0.8 & O BD e
Piping port (#2%/Plugged) 5. K4 20, Sl
(Max.approx.) FU 50 51.7
RIIRE HEAHR j{_lM’C%—’ A:ﬁﬁﬁ@ﬁ#ﬁ S EEE
s ol o R asion e b # (X & 48 »h 2/With internal shock absorber MAQBIIR
R:With Shock Absorber
I #1#&/Specifcation on o . View
] ] dD ST
A1%/Bore(mm) 20 | 30 50 | 70 100 | 200 20 | 2-PEEOR :
| CA ODE o | L B
1 A7 K/Fluid 25 5 4 ) Air(non-lube) 516 el | g — = /(Port Size) @
- by ;ﬂ‘( : h m Juguul LUL il H
BEE A E A/ FERAEREMWith adjustment bole 1Mpa(10.2kgf/cm?) 20U s oo oy . /
MaxX.pressure | s g /R g . 3 =) :
p 5 i E W E 2 /R:With .?hock Absorber 0.6 MPa (6.1kgf/cm )i{Note . | o 3 - 8 ) @ |
B A% & FE 5 # K7 /Basic type 0.1 Mpa(1.0kgf/cm®) 13 FHES R e = o =l 5 <
/Min.pressure S 1& E R /High precision type 0.2 Mpa 0.1 Mpa 2 - ° :
1B F0 7 KR E /Ambient and fluid temperature 0~60°C({B %k % %No freezing) t £ @ |
P z ; & DF &7l 205 '
4 #h/Cushion #8312 /With adjustment bole % BX 4 iM/Rubber bumper (Through) ';":\:',“;
il E W 7= #8/R:With Shock Absorber 4% i g8/Shock absorber AU 5 BA I:fs YB ZEHCE
. . BE.AH BA LbICR i (Efective)
4 £ i3 % & E/Angle adjustment range 0~190°C (Max.approx.) SU . He depth) Y
S HE 4% £ £ /Maximum rotation 190°C
& Z B 1&/Piston bore 15 18 $21 $25 $28 $32 $40
O & 7L/End ports M5x 0.8 RC1/8" I RT]'§/D|men5|on Sheet
Port size N ¥L/Side ports M5x 0.8
R s Lo Lo L L Lo | e Lo Lo Lo ee Lol ce Lo Lo | oe Lon
Bore size

B RXERENRERAATFHERFI.
Note:The maximum operating pressure of the actuator is restricted by the maximun allowable thrust of the shock absorber. 554 15.5 345 278 285  46h9 46h9 20H9
20 70.8 65 10.6 275 16 14 5 12 46 30 67 34 6 305 60h9 61h9 28H9 9
I Allowable Kinectic Energy and Rotation Time Adjustment Range 30 754 70 106 29 185 14 5 12 50 32 8 37 65 335 65h9  67h9 = 32H9 9
854 22 6 155 63 37.5 100 50 375 75h9 77h9 35H9

‘ Allowable kinectic energy(mdJ) Rotation time adjiustment range for stable operation (s/90° ) e
?.—:(mm
o) | \ ---—---I
’ With adjustment bolt With internal shock absotber With adjustment bolt With internal shock absotber™” 15H9 M8 1.25 M5x0.8 M8 X 1 M5 % 0.8
0mi 7 39 20 17H9 10 6 25 65 17 86 14 85 M10%1.5 15 M6 X 1 M10 1 M5 % 0.8
20mm o5 16 30 22H9 10 45 3 65 17 86 14 85 M10%1.5 15 M6 X 1 M10 1 Rc 1/8
P 48 116 0.2t01.0 02to07 26H9 5 20 105 18 105  M12X1.75 18 M8x1.25 M14% 15 Rc 1/8
50mm 81 294 4142(mm)
= T i T S ﬂ- T we | wr -
100mm 320 1600 02t02.0 0.2t01.0 el SHA MIE0A
200mm 560 2900 021025 20 37 17 10 12 60 25 54 205 4H9 45 M6 1 10 43 36 4H9 45 24 4H9 45
30 40 127 115 14 65 25 57 23 4H9 45 M6 1 10 48 39 4H9 45 28  4H9 45
50 46 152 145 15 75 314 66 265 B5H9 55 M8x125 12 55 45 5H9 55 33 5H9 55

M Note:Be careful if a type with internal absorber is used below the minimum speed,the energy absorption ability will decrease drastiacally.

137

138




MSQ &%l ' - DHZ2 / DHC2 &5l -
SRR/ INAETEL nrPC St deisse h nrPC

ol T L

8-WD F(depth) WE (84~ a) %/
Circumference:8 equivalents)

4-JJ iR (depth) JK

e FE#E z;M’E?‘f;x BA R E w44
2-Ji&FL(Through)J DHZ: 477 K2 Finger Quantity ore =88 THM(CR)
JASFR DHC: X mFFkE 24MPCS 6-40mm S im(s% FRALASBL(F M)
(Counterbore depth) JB Model C:EBaE(FH) S EERZ(SI)
. b\ ¥ DHZ:DHZ Parrallel Type Gripper Acting Type Dusty Seal Material
DHC:DHC Point Type Gripper D:Double-acting Blank:CR
¢ 79. P 100, ¢ 200 <E4 S:Single-acting(Normally open) FFKM
"i ( ﬁI?’*(mm) C:Single-acting(Normally closed) S:Si
T Mt T\ Bore size AU
____4 E—£ - -
:u 4 70 554 I ##%/Specifcation
L s 1%/Bore(mm) & I fa | 46 [I =or | 2 [ a2 | 40 |
ore(m
254y 200 74.7 - : Bkl ‘ :
(Max.approx.) FU AR /Fluid z3 5 JAir
FETL/Motion Pattern W, & 505 FF/% Hl/Double-acting,single acting(Normally open/Normally closed)
T 4% 1M 28/With shock absorber MAQBLIR 55 &M E 51 /Max.pressure MPa 07MPa
S1ERED W zh(Double Acting) 0.15 0.2 0.1
®»DD o View /Max.pressure Mpa & 7)(Single Acting) 03 0.35 0.25
s~ AB 3 3 ; i o
2.0C F(depth) D g :II))DDE §E§_ -5 2.Rc 118 : W%*Eﬁ%ﬁiﬁmmblent a.znd fluid temperature -10~60C
2-M5x 0.8 & 07Z/ mogl | 2%;‘38‘?26) o) = 5121572 Max.operating frequency 180 c.p.m 60 c.p.m
Piping port — : ' & 5 ¥ E/Repeatability Precision(mm +0.01 +0.02
($2§/Plugged) um.l.}l‘#wf'm:ﬁfrn#.“m T ! RN RS WRERTY S ul o E E*‘E{g . P y ( ) .
- ® ¥ © NO, 1 *3E78/Lubrication A FEZE/Not required
£ 3 ?/ | & : O &% O12/Port Size M3 %X 0.5 M3 0.8
] ol 2| e 2N BN o 2 | B . |
] S/ BA\E =!8 a >
2-U == I T =
— a J . N
DO DFiEFL %) - S A = = 5 . n 5 :
t] mvougn | | 22 A DHL2 %% @175 50 F5/DHL2 Series Parallel style wide Opening Air Gripper
. 8 | IBA dDG BAI¥K S =
(Max.approx.) SU S HUZ A (Effectivg( ) = i
= (Effectre I iTM%3/Ordering Code

B RTl'i%/Dimension Sheet

i

Bs FREE AR ZERK FIRF/IKITEE B2 MR
HL1Z(mm) AB y\Vi AW AY BA BC BE CB DD DHL FATFHAX  Finger Quantity Bore Action Finger Open/Close Always with magnet
Bore S'Ze Model 24/2PCS 10-40mm D & Stroke
255 110 88h9 90h9 46H9 DHLIDHL wide» D:Double—Acting
Opening Air Gripper ®16 :1»20\ (1,25
100 101 102 95 50 295 27 8 17 85 50.5 130 66 42 98h9 100h9 56H9 = 100
19 120 113 365 655 150 116h9  118h9  64H9 Blank

1 40 60 | 80 100 | 120 | 160

im0 n e e N L alo [l

70 22Hg | 125 104 175 105  M12x1.75 M8 1.25 M20% 1.5 P #2/Bore(mm) T T

100 19 | 24H9 | 145 6 35 12 27 104 175 105  M12X1.75 18 M8x1.25 10 M20%15 FEAK/Fluid =S /Air
200 32H9 16.5 14.2 125 M16 X 2 M12 % 1.75 M27 X 15 F{EE! X /Motion Pattern W /Double-Acting
2 = 1€ A £ /1/Max.pressure Mpa(kgf/cn®) 0.6(6.1)
170 342 325 M8 % 1.25 125 5H9 5H9 IRE FOF KGR /Ambient and fluid temperature -10~60°C
100 59 189 22 90 343 8 375 6H9 65 M10X155 145 77 = 59  6H9 45 49  6H9 45 & £ %5 £ /Repeatability Precision(mm) +04mm
200 74 240 29 108 402 106 44  8H9 85 M12x175 165 90 = 69 8H9 45 54 8H9 65 #&¥% 71 /Effective gripping force (N) at 0.5 Mpa 14 45 74 131 228 396
EE O 1&/Port Size M5 0.8 G1/8"

139 140




®

S I3 nFc

DHT2 &5 R S 3hF$5/DHT2 Series Angle Style Air Gripper Toggle Type
iT#%5/Ordering Code

LR

BS FHYE H12 FERR 2R M R

DHTATH RS #HFiE Finger Quantity Cylinder Diameter Action Always with magnet

Model 24MPCS 32-63mm D:Ezh

DHT:DHT ToggleType D:Double-Acting

Air Gripper DLF-20x160-S DSG- 50 x 29

I #14&/Specifcation

#I12/Bore size 32 40 50 63
{ER./Motion Pattern W zh/Double acting

{37 /Fluid = S/Air

¥ A 15E Bl /Operating Voltage Range 0.1~0.6 MPa

INE KR E /Ambient and fluid temperature 5~60C

jEid/Lubrication A FHZ/Not required

Fi5F ] B E [Finger opening angle (Total) -3° ~28° =37 ~27° -2° ~23° -2° ~23°
& &/Weight (kg) 0.80 1.09 1.93 2.8
1R 73 (N.m)/Mffective gripping force (N.m) at 0.5 Mpa 12.4 36.0 63.0 106

CY1 RFIFTHFSEL/CY1 Series Rodless Cylinder DLB- 40 x 80-S(RHEF=4T)
iT##3/Ordering Code

_— w8 - ma

ZIIRS Bs Model H12 1718 HARKS
FTAFSE B =§2$§._ B:Normal Type Cylinder Stroke = N
Series Code  S:igRE S:Sliding Type Bore 0~1000mm  S:PitEE
Rodless Cylinder L:iRTkFE)4fA L:Sliding Type Ball 6-P6mm Magnet Code

R B iE= guide bearing Type ) Blank:Without magne
CY1B 20X400 RG 8  R:Magnetically Coupled- lg_d,lgmm S:Attach magnet
Direct Mot type 20-®20mm
RG:Magnetically 25-d25mm
Coupled-Direct 32-B32mm
mout-Single Joint Type 40-D40mm
50-®50mm

I ##&/Specifcation SR,
Sl BT

T e/ Bi/Working Medium =S /AIr
M{EE 3 /Motion Pattern © /%! /Double action
FRIEM] & 71/Ensured Pressure Resistance 10.5kgf/em’(1.05Mpa) EAK4E
=1E BJE f1/Max.pressure 7 Akgflem?(0.7Mpa) O " .
AR £ 51/Min.pressure 1.8kgflcm?(0.18Mpa) I F (]2 1*. Hﬂ Product instruction
IMEFNT KR E /Ambient and fluid temperature Cy1B/S:5~+60C  Cy1L:-10~+60C Cy1 R:-10~+60C W ARRATLS TEEENHETHSEROELEE, TUA Eﬁﬁ F, “:{rm%asnﬁ, BANALUREBERAWE R, RBEAGT, AEHER. HEEEHHME
ISR P|ston Spesd CABES-20nme Ty L0190 CyLE S0~-500nne :;:rﬂ zipafgfais ﬁiﬁ:fjn&ent,::ﬁafife[ﬁgﬁizzllop;:‘IE)Ip%rodujzt]lléklj:j:1of§§;ﬁ:§ers with advanced technology and sufficient professional experience. We can
£&%/Buffering Cy1 B/S:#%F4% iH/Both ends buffer Cy1 L:imt§fiLE /il ER = RS Skock absorber/Rubber bumper research and develop new products according to customer's drawing, and strive all products for excellence. Ifyou have new product to develop, pls don't hesitate to contact us,
174242 #/Margin of Stroke Error(mm) ~0~250"%" 251~1000% 1001~1500°° vl oar b eThalp yod:
**E8/Lubrication A EZE/Not required
EE O 1Z/Port size M5 0.8 G1/8" G1/4"

141 142




1ISO643 1 RS L EC

f3dnrFPc

1ISO643 1t mES LA

f3dnrFPc

HSIEE = HSIEE ‘ ‘
Symbolftore 40 80 | 100 | 125 | 160 | 200 T < mibol/ore 32 | 40 | 50 | 63 100 | 125 | 160 | 200
158 179 190 209 248 266 290 340 380 QE% < M| 1| 14 | 14 | 17 | 17 | 19 | 25 | 25
AC 142 161 170 185 210 228 250 300 320 ‘ l y ;E AK 7 | 7| 9| 9| 1| 11|13 17| 17
AD 8 9 10 12 19 19 20 20 30 e T B § BA 305 355 405 455 455 555 605 655 755
AE 47 53 65 75 95 115 140 180 220 = BB 10 10 12 12 16 16 20 20 25
Ny S AF 32 36 45 50 63 75 90 115 135 i £ BC 47 53 65 75 95 115 140 180 220
ABAP EI AG 24 28 32 32 41 45 45 60 70 g9 BD 32 36 45 50 63 75 90 115 135
VW @/ | @ AH 32 36 45 50 63 71 90 115 135 BE 80 90 110 125 154 186 224 280 320
AP 7 9 9 9 12 145 165 185 24 BF 64 72 90 100 126 150 180 230 270
ISO-LBE!(Type) 3 %(Foot Bracket) AT 3 |3 |3 |3 |4]|]4]|6 )69 - BH 4 4 4 6 6 6 8 8 12
T T E—— ; BP 7 9 9 9 125 145 165 185 24
- e) i Z= ange
_— IRERSEE & g i 325 38 465 565 72 89 110 140 175
0s HS/EE
| or symbol/Bore °> ﬂ sl sl
DG %> 15 180
oA 3, L =1 42
& - Y s i 325 38 465 565 72 89 110 140 175 - S?nic/)lﬁ/IB{;re SO i ‘ o
e oD DC 22 25 27 32 36 41 50 55 60 | ™ Y|
{ DD d | | 4 | 48 | & | @6 | 36 | @ | 5o - - EB 100 113 125 140 160 182
- /{\‘;\1’ DE 10 12 12 16 16 20 25 30 30 -— . EC | & | 4 | B0 T 1H] - = -
wa | i 8 = &
- @DE &) @D DJ 13 16 17 22 22 27 33 355 36 , Y e ED 92| 99 465 966 | @ | B
* : EE 52 63 75 90 105 128 - B z
DQ 258 27.8 31.7 397 497 597 697 897 89.7 v‘\ ;
ISO-CA®! (Type) # X (Single Earring) /‘. ______________ el j _____ afo o % | 2 | | 3 5 = - - -
u ‘ ] 5 g = EP 12 16| 16] 20|22 -]-]-
H S/ «© 1A LA ET 20 2 22 28 28 34 - . .
Symbol/Bore| 32 | 40 | 50 | 63 100 | 125 | 160 | 200 < L ;
0s CED HC 37 45 55 68 87 1075 - - -
22 25 27 32 36 41 50 55 60
CD 9 12 | 12 15 15 20 25 30 30 ISO-TC & (Type)##&(Central Trunnion)
CE 10 12 12 16 16 20 25 30 30
el 13 16 17 22 22 27 31 355 36
CP 26 28 32 40 50 60 70 90 90 ISO-Y & (Type) &k (Joint)
cT 45 52 60 70 90 110 130 170 170 N . NEND
PA1 51 59 67 77 97 119 139 181 181 l,
—— P NF [ NG S
PB1 455 525 605 705 905 1105 130.5 170.5 1705 g D ol | /
s 47 53 65 75 95 115 140 180 220 . g < L R o eSS { N Y A
T 325 38 465 565 72 89 110 140 175 0y = I s —
l "
PTT=T [ [ [ Y/NH- ! 2| HN——
HEMIE | 4, ‘ 40 ‘ 50 63 100 ‘ 125 ' l A RN
Symbol/Bore | Y #Type - 1| BType
a 80 1 B8 1 9 B ISO-Y+4§F(Pin) 1SO-Y++#1(Clip)
B 1 11 15 15 18 18 20
BG 18 2 30 35 40 50 60 =y e = 7
BH 31 35 45 50 60 70 90 Symbol/Bore
BI 21 24 33 37 47 55 70 NA 254 44.4 444
BL 8 10 105 12 14 17 20 NC 10 12 16 16 20 20 30 35 35
BM 32 36 45 50 63 71 ) (Y ND 40 48 64 64 80 80 110 144 144
BN 38 41 50 52 66 76 o4 NE 52 67 89 89 112 112 155 201 201
BO 51 54 65 67 86 96 124 3 NF 15 24 32 32 40 40 50 50 55
BS 12 15 18 22 20 20 30 NG 20 20 23 23 30 30 56 72 72
BR 20 2 26 30 30 38 45 NH M10x1.25 M12x1.25 M16X15 M16X15 M20x15 M20x1.5 M27x20 M36x20 M36x2.0
¢ 16 16 16 1.6 25 25 32 NM 10 12 16 16 20 20 30 35 35
D 10 12 12 16 16 20 25 NP 20 24 32 32 40 40 54 72 72
F 105 105 105 105 105 105 105 1SO-1 B(Type)i&k(Joint) NQ 52 62 83 83 105 105 148 191 191
1SO-SDB &!(Type) G 3 3 3 3 3 3 3 PA 26.2 328 39.3 39.3 53.3 53.3 64 80 80
BQ 25 28 32 40 50 60 70 PB 20 265 33 33 45 45 55.6 70.6 70.6




ISO643 1 iRESELECH

sl el e L

f3dnrFPc

AREEEEENE

HE/EE
M MH MJ Symbol/Bore
§33. % 15
T / A 40 53 22 8 21 28 115
- S 50 90 27 10 41 445 20
: 63 90 27 10 41 445 20
80 102 29 13 46 53 24
- e 100 102 29 13 46 53 24
i 125 147 54 13 64 62 39
Ll 160 251 72 22 115 80 80
1ISO-UJ #(Type) 200 251 72 22 115 80 80
1253 3L (Float Joint)
PA
] HSIER
PH Symbol/Bore
32
= 5= ‘ 40 12 30 12 24 50
1 o 50 15 38 16 33 64
o ] 63 15 38 16 33 64
R\ 1 80 18 46 20 40 77
N | eo 100 18 46 20 40 77
ISO-PHS &!(Type) = 125 37 70 30 51 110
AR # 3 (Fisheye Joint) PE 160 43 80 35 56 125
200 43 80 35 56 125

| FRESEIR%

[t 14/Standard Cylinder Accessories

7
8
10
10
13
13
14
18
18

12
17
17
22
22
30
36
36

65
83
83
100
100
145
165
165

M10x1.25
M12x1.25
M16x1.5
M16x1.5
M20x 1.5
M20x1.5
M27 X 2.0
M36 X2.0
M36 X2.0

M10x1.25
M12x1.25
M16x1.5
M16x1.5
M20x 1.5
M20x 1.5
M27x 2.0
M36x 2.0
M36x 2.0

12
g
it
10
10
9
4
4

13
15
15
15
15
15
16
16

FRESELEN S

f3 nFPc

o1 IR
pa-1, 112 180 220
e i o T 33 37 47 56 70 84 110 140 175
N | DD DC 34 34 34 34 48 48 50 55 60
| T X DD 14 14 15 15 20 20 25 30 30
\ $DE DE 12 14 14 14 20 20 25 30 30
& 1 9 DJ 14 14 15 15 20 20 25 30 30
CAZ!(Type) B E (Single Earring) ba |20 [=0]0]|we]S%| 70 ) %0 |0
Os SR
ot Symbol/Bore ‘ | :
. cT cc:,Cl ce 19 19 19 19 32 32 50 55 60
’ . cD 5 5 3 2 8 8 25 30 30
bg v gb | b CE 12 14 14 14 20 20 25 30 30
"‘"/":ﬁ@\b _ — / \\/ﬂ € 13 13 15 15 21 21 25 30 30
- cp 16 205 203 203 323 323 70 90 90
""""""""" $CE cT 32 4 52 52 64 64 120 160 160
d | & PAI 41 518 603 603 738 738 130 170 170
-~ PBI 335 458 54 54 655 655 1215 1615 161.5
PB1 S 48 50 62 75 94 94 140 180 220
/‘“ T 33 37 47 56 70 70 110 140 175
B JAFI7E 32-100B9CAFICB, FHAVAILURE2MARM R =R, 1.5

CBE!(Type) £ H (Double Earring)

Cylinder center line

IR S
AC+
AA+
| oap
LB&!(Type) Py (l\
X 2%(Foot Bracket) P

{T"?/ﬁIf:l:
I G

AC
AD
AE
AF
AG
AJ
AP
AT

153
134
9.5
50
33

205
28

169
140
145
57
36
235
30
12
3

173
149
12
68
47
28
36.5
12
3

184
158
13
80
56
31
41
12
3

199

167
16
97
70
30
49
14
4

FA/FBE!(Type)
iEZ#R(Flange)

145

HFS/E1E

S AEIRCICCEE

BA

BB
BC
BD
BE
BF
BH
AJ
AK
BP

T

210
174
18
112
84
30
57
14
4

283 323 383 383 473 473

10
47
33
72
58
6.5
105
6.5
7
33

10
52
36
84
70
6.5
105
6.5

37

10
65
47
104
86
6.5
135
6.5
9
47

12
76
56
116
98
85
13.5
85
9
56

16

95

70
143
119
10.5

10.5
1"
70

16
115
84
162
138
10.5
5
10.5
1"
84

249
213
18
140
90
45
90
16
8

20
140
90
224
180
15
19
125
16
110

328
288
20
180
115
60
115
18
8

25
180
115
280
230

20

25
16.5

18
140

380
320
30
220
135
70
135
22
10

25
220
135
320
270

20

25
16.5

22
175

2.%7, EETITRMRAM R, MA125-200 £8 Ak,

CA and CB From 32-100,we can supply two kinds of materials
products:1.lron material 2. Aluminium material.When placing order,
please indicate product material. From 125-200 are all iron material.

o ] f—4
L ESEREMGE

Standard Cyhnder Accessories

PA
PB
NA
NM:E
'U
z '
o
\L\'J:/
|
i
_‘P_NK_‘

NH

S— NH ] \/ ; Pa
TR i - P i —
Y &(Type) € h:/ i — ( N s 1 #(Type)
vanswsson R I I M NG N N
254 44 4

NB 20 24 32 32 40 40 45 54 54

NC 10 12 16 16 20 20 25 30 30

ND 40 48 64 64 80 80 110 120 120

NE 52 67 89 89 112 112 155 130 130

NF 15 24 32 32 40 40 40 35 35

NG 20 20 23 23 30 30 56 50 50

NH M10x1.25 M12xX1.25 M16x1.5 M16x15 M20x15 M20x15 M27 X2 M36 X2 M36 X2

NJ 12 20 22 22 30 30 30 40 40

NK 18 23 30 30 39 39 54 54 54

NM 10 12 16 16 20 20 48 40 40

MP 20 24 32 32 40 40 64 35 35
IBHEL (Type Joint) NQ 52 62 83 83 105 105 148 150 150

PA 25 32.8 39.3 39.3 53.3 53.3 64 91 91

PB 19.5 26.5 33 33 45 45 55 81 81

146




ST I3 nrPc BRSETER f3 nFPc

S/ ' B C+f77(Stroke) C+{31E(Stroke) =
Symbol/Bore | 40 | 50 | €3 | 80 ‘ 100 | 125 | 160 ’ 200 = = BC__ 2
EB 113 | 126 138 164 182 210 264 336 o~ S P
|
a EC 63 76 88 114 132 160 200 240 ~ g i <”.\
T T o T A w
ED 37 47 5 70 84 110 140 175 J @
EE 63 76 88 114 132 160 200 240 i |
M-FA #(Type) BB T BB
EG 25 25 25 25 25 25 | 32 | 48 1 (Flange) 8 16425 . K —=mr
EP 25 25 25 25 25 25 | 32 37 ‘
SN ET 30 30 80 30 40 30 38 44 &?r‘n“mzflgi | ¢ [awsa et BP
e € MAZ3I(Series) [MALZF(Series)
sisliContral Trunnion) s 455 555 685 875 1075 1345 1725 2125 = > = = izl sl s R [ el
16 38 60 . 60 85 . . 3 2 - 52 40 55
(@ 20 40 76 70 76 101 70 95 4 38 - 64 50 65
TR
- M_FAA B(Tvoe] 25 44 76 70 76 101 70 95 4 38 - 64 50 65
HD dHC -FA- ype
HY #215(Flange) 32 44 76 70 76 101 70 95 | 4 47 33 72 58 65
A p \A 40 46 76 92 76 101 | 92 M7 4 50 36 84 70 65
@% ( \ il W RN BRI AR AT RIRREEEMN, MRRBFERESR, BEELEHITMRBEMN E-A, 2IM-FA-32-A.
N ( \\ M T Our company can also provide this used for mini cylinder flange, if you need, pls add A after all ordering code, like M-FA-32-A
NP S b/ 2
e ':I_:
| HB o HE | B F
TC-ME!(Type) HA HE H
- e 2]
e
H /AL 5 HP gy 3
Symbol/Bore ~=h v | =
40 110 455 109 815 2 " T
50 110 80 55.5 2 122 99 88 50 23 2 12 12 -—
63 110 80 68.5 2 134 111 94 50 23 2 12 12 P AE
80 120 85 875 2 160 137 127 70 23 2 14 14
100 120 85 1075 2 178 155 136 70 23 2 14 14 v AAMSA | AANSAL = ACEA' | ACOISAL
ﬁ*géli'ﬁ/IBfl [ B| F |mA 231/ maLzF)/| 55V Series) %7 /Series) AB |(MA % 51/| ALz 5| R Series) #%ll/Series) ALl Al AP | AT
Sk AR S ETER 44 /Mini Cylinder A : Spaias Series) | Series) |0.50[51-100 ' ' 51 100[0-50[51-100)
A
VN It Lylinder ACCessories e8| 123 | - | - |25| 88 s 111 4 32 13 6 55 3
122 147 116 141 25 106 100 106 131 100 125 54 40 15 8 65 3
122 147 116 141 29 106 100 106 131 100 125 54 40 15 8 65 3
LF3 N MK M WP 32 44 14 142 136 | 142 167 136 161 19 126 120 126 151 120 145 59 45 25 8 65 4
4! % S;:Eél‘&“/ggrems MC MD ME H M MJ‘ MK 40 46 14 142 158 | 142 167 158 183 21 126 142 126 151 142 167 64 60 25 8 65 45
N e el . . P 6 8 M8x1.25 12 24 8 M8x1.25
4|7 25 58 22 7 21 8 M10X1.25 12 26 17 10 M10x1.25
' 32 58 22 7 21 8 M10x125 12 26 17 10 M10x1.25 £ Stroke z D .
MG 40 58 22 8 21 7 M12x125 12 28 19 12 M12x1.25 B \ 1 |
I‘—'l e \L,:JJ (LJ—'J o
M-UJE!(Type) MB _|MC| WMD ME ‘ﬂ?_%
i25#% (Float Joint) WA M=l
— 3
4-_¢TCIP 'G' O
PB I 8 —
PC CA
T M-SDB #!(Type) % %2(Bracket) CE
I
I NNI:I 4
EiE i e e
o A ! PA PC PE|PF |PG PJ|PK PL\PM P , CB(MA CB(MAL CB CB
/ ; Symbol/Bore FFSIEE ,%(;,J, ;f;,:u, (MSA #51/Series) | (MSAL %3l/Series) | cp
- i 20 9 104 22 47 M8x1.25 17 16 125 5 Symboal/Bore Series) Series) [ 050 | 51-100 | 0-50 | 51-100 _ ‘ |
j - = 25 10 14 11 129 26 43 56 M10x1.25 21 19 15 6.5 17 16 1) 5 |72 | - 167 ] o 153 - ) g5 | - | %8 | 50 | 25 | &6 |68 | B
a il : 32 10|14 11 (129261 42 56 [MIDx12x] 21 | 19115 | 6551 19 20 21 12 16 51 128 122 128 = 153 122 | 147 48 67 32 32 3 65 22 27
o
oS 40 12|48 | 12 [15:4;:30;[:50:{ 65 [M12061.25 244 2241.0:9 6:5] 19 25 21 12 16 51 132 126 132 157 126 | 151 | 48 67 32 32 3 65 22 27
M-PHSE (Type) 5 : 32 27 15 16 51 135 129 135 160 129 154 | 52 67 36 36 4 65 24 30
& BRi% K (Fisheye Joint) l P L—EE—J :
40 27 15 20 85 137 153 137 162 153 178 | 56 71 40 40 4 65 28 34

147 148




B SETECl

M-Y #(Type)i%k(Joint)

»12

l .v'll
' ! r w-re e

M-Y+£§F(Pin) M-Y+FH(Clip)

416

< 217 = 214
- DZI;l } IEJ \M NFT \M

NG

GNC

8
¥
SNK

M-I &)(Type)iZsk(Joint) : NQ ,

% 2/5142Symbol/Bore

A NC | ND | NE | NF | NG | NH | NJ | Nk | NE | N NN N | NG | PA | B |
8 30 40 1 15 16 14 8 8 15 0

M8x1.25 10 4 21 16.5
25 19 10 40 52 15 20  M10x1.256 12 20 18 10 10 20 52 25 195
32 19 10 40 52 15 20 | M10x125 12 20 18 10 10 20 52 25 19.5
40 25.4 10 45 57 15 25 | M12x125 15 24 23 14 10 20 57 31 26

o ——
g { | B | BU |
W Bt L
\Ai i SX45 '
i Ll BT I.CH !
. M
M-U #(Type) N
% % (Bracket)

45 4 8.1 13 5 25 7 05 17 0.2

8/10 125 24 20 4 14 3.
12/16 55 6 15 27 25 13 18 7 3 6 19 5.6 08 24 04
20/25 6.6 8 20 295 32 16.1 24 10 8 25.2 75 0.9 295 05

149

SERECE

ff ®
i
f3 nFPc
I DNCZER3IISIEE!H/DNC Series Cylinder Kits

= F D({ I . S = :
7= fa/Product T4 &7 /Part name #1 B /Malerial T4 & FR/Part name #1 B/Malerial

HijZ/Front cover $3 & €/Aluminum alloy #E¥0%/Cover O-ring NBR

DNC Kits/ | JG%/Back cover ‘ $3 & €/Aluminum alloy ‘ &I T3 4/Piston seal ' NBR

DNC =# &% /Piston | #&%/Auminumaloy | it B ¥ \Wear ring | PAGE
(1ISO6431&V | . ) SA5C {ETE T/ & 3H%hiR/Self lubriacting bearing | PTFE+fd (Brass)

DMA24562) EEFFPIston 10d | 545 hard chrome carbon steel g7 (] 1%)/Magnet(optional) | §ugk#/RbFeb
fﬁI{i/Z(;l:‘e‘;Ize: 14 /Barrel | $84 % /Mard anodized aluminum | 223 ¥ §t/Cushion needle #if/Brass

50,63,80, | B L2[El/Front Cover seal | B &EI/PUR ‘ M7~ fa42§T/Hexagon screw T4R/Carbon steel
100,125 2% ¥ [E/Cushion seal NBR 32 £1/Nut BRif/Carbon steel
EEFO4/Pision rod O-ring | NER ‘ & 42 4 Profile bolt | B#$R/Carbon steel

8 9 10 11 12 1314 15

/NO Designation /NO Designation /INO Designation /NO Designation /NO Designation
1 H28/Nut 5 0%/0-ring 9 22 i []/Cushion seal 13 Rod O-ring 17 it EE¥h/Wear ring
2 Profile bolt | 6  #FEET/Adjustable screw| 10 | & EO%/Cover O-ring | 14 EEZEH/Piston seal | 18 | R aRE/Hex Socket Screw
3| Front Cover seal IE 4 i /Block slip TR #IfE/Barrel 15 | B4A (AT ik)/Magnet(optional) | 19 ' J&2/Back cover
4 v HiT2/Front cover 8 | &ih¥hk/Self Lubricating bearing‘ 12 & ZE4F/Piston rod 16 & ZE/Piston v

I SIRNSEIEH/SI Series Cylinder Kits

= )£ | % :
7= fa/Product ;mgfge'\ésgzﬁon = {442 #R/Part name #B/Malerial

E 4 2FR/Part name # B/Malerial

Hii 2 /Front cover $8A &/Aluminum alloy ‘ #E¥O% /Cover O-ring , NBR
Sl Kits Ja=/Back cover | fm&E&/Auminumalloy | &I B4+ /Piston seal v NBR
Sl&# i Z/Piston $hA &/Aluminum alloy i EE3RWear ring _ PAG6
(1S06431) 24T Pist d SA5C 4ETEE T EERE/ 2 Jh57R/Self lubriacting bearing | PTFE+if] (Brass)
£1%%/Bore size: ! Iston ro S45C hard chrome carbon steel 4 (AT 1%)Magnet(optional) #1¢E7/RbFeb
$ 32,40,50, I f&/Barrel | $8A%/Hard anodized aluminum | &4 T5§/Cushion needle | #1{f/Brass
63,80,100,125, | p 42 [/Front Cover seal | NBR | M7sfig§T/Hexagon screw | E4fl/Carbon steel
160,200 2 [E/Cushion seal | NBR | 42 £1/Nut | BriR/Carbon steel
EEHOZ/Pision rod O-ring NBR H M4 24 /Profile bolt Bk4W/Carbon steel
S
&
> )
@@ @f@
@ )
6
4 78 9 10 19
2= 2R/ Fe BRI 2= 2R Fe B/ Fe B/
/NO Designation /NO Designation /NO Designation /NO Designation /NO Designation
1 H28/Nut 5 0%/0-ring 9 22 Wi [B/Cushion seal 13 Rod O-ring 17 i ¥R /Wear ring
2 Profile bolt 6 ATERsT/Adjustable screw 10 | EB2O%/Cover O-ring | 14 | EZEZE4/Piston seal | 18 AAHIMLHex Socket Screw
3 Front Cover seal 7 #4 i /Block slip 11 &IfE7/Barrel 15 | BA(ATiE)/Magnet(optional) | 19 J&3/Back cover
4 A 2=/Front cover 8 | &ihihik/Self Lubricating bearing| 12 & ZEHF/Piston rod 16 & ZE/Piston

150




b ST f: NrePC SHEEE h nrPC

I SCZR3|S[EIEH/SC Series Cylinder Kits I MALZRJISEEH/MAL Series Cylinder Kits

Pt | pgmeutrane|  HEMaers | Ffasratname FBPo |t [ehapatnme] Mo | SEawPaivme | WM |
HiZ/Front cover $84& €/Aluminum alloy EB¥0%/Cover O-ring NBR B2 /Front cover $8 4 €/Aluminum alloy & EE 14 /Piston seal NBR
SC Kits/ J5 55 /Back cover $R& &/Aluminum alloy & EZ H 1+ /Piston seal | NBR J& % /Back cover $BA &/Aluminum alloy » i EE¥F/Wear ring PAG6
SC &4 & Z/Piston | #&&/Auminumalioy | it EE¥R/Wear ring PA66 SC Kits/ & Z/Piston | $A®E/Aluminum alloy B F7R/Self lubriacting bearing ~ PTFE+ifi(Brass)
4172 /Bore size: %247 /Piston rod SA45C {ETELR T/ & ihih&/Self lubriacting -bearing | PTFE+ (Brass) . "" SC &4 =247 /Piston rod S45C {ETEIR T EEHE/ B (ATi%)Magnet(optional) | 4%k#i/RbFeb
$ 32,40, S45C hard chrome carbon steel | 7 (7] 3%)/Magnet(optional) | #I%kil/RbFeb ‘\& d fiI1Z/Bore size: ' S45C hard chrome carbon steel A Ti§t /Cushion needle | #if/Brass
50,63,80, &I f&/Barrel iuAﬁ/Hard anodized aluminum | 4833 35%/Cushion needle #{i/Brass « R $ 16,20, &I & /Barrel {844 /Hard anodized aluminum A7~ fa#2$T/Hexagon screw BR4f/Carbon steel
100,125, B 42 [#/Front Cover seal | NBR ‘ N7~ f82§TMexagon screw [ B4R /Carbon steel ’s /‘, 25,32,40 B8 £ /Anti-bump cushion| NBR 2.6 /Nut | Be4R/Carbon steel
160,200 4% /1 [#]/Cushion seal NBR 26 Nut | Bif/Carbon steel BA 42 E/Front Cover seal NBR H 5 2%/Muffler Cu
& E4FO4Pision rod O-ring NBR FIFF 48 Tie-rod nut B4 /Carbon steel %804 /Cover O-ring | NBR '

@ 0
a
oo O T’
d j 3 | 1415 ol to b1 h2 [13 l14 s l1e 17
Fe Z R/ |Fe ZFR/ e ZHR/ e £/ Ee Z R/
/NO Designation |/NO Designation !/NO Designation | /INO Designation /NO Designation e Z %/ = 2R/ ‘f:}:‘% ZR/ (e 2 Be Z
1 H2E}/Nut 0%/0-ring 9 £ 1 [#/Cushion seal 13 EZEHF/Piston rod 17 % 3/Piston /NO Designation \ /NO Designation /NO Designation |/NO Designation /NO Designation
2 TS Mie—rodnuit | 6 VITH§T/Adjustable screw 10 | EBEO%4/Cover O-rfing | 14 | Rod O-ring 18 | WAEZ#/Hex Socket Screw 1 Rod nut 5 | &ilHR/Sell Lubricating bearing 9 Rod O-ring 13 | #A (ATik)Magnet(optional) 17 | J& % /Back cover
3 | Front Cover seal 7 14 Fy/Block slip 11 I fE/Barrel 15 EEZH#/Piston seal | 19 | J&2/Back cover 2 | ik | © WREQCovEe Q=i | 10 | Pt FfAnti-bump cushion | 14 | WIS/ Wear ring |
4 ‘ AI2=/Front cover . 8  Aim#ik/Self Lubricating bearing' 12 - H#/Tie-rod - 16 ‘ it EE¥R/Wear ring ' 2 FroptCover sedl | 7 k1 #/Barrel | 1) AEZHE/Piston seal | 15 | HRZLME/Impact gasket
4 B 3%/Front cover 8 & ZEFF/Piston rod 12 i& ZE/Piston 16 H28/Nut

MA/MAG6431#&R3! MA/MAG6431 Series Cylinder Kit
I d B AT A/MA/ eries Bylnaer s I SDAZRJMISEIE{H/SDA Series Cylinder Kits

= #2/Model | o ‘ : ]
7= fa/Product | img/;)ecsic‘;tion T2 Fr/Part name # R/Malerial E{ZFr/Part name #} R /Malerial [
7
MA Z 4 Kits fi#/Frontcover | #A&/Alminumaloy | #E&0%/Cover O-fing NBR 7= S/Product Pt ;’e"ﬁl‘?l‘ii'“on T4 ZFR/Part name ##F/Malerial E 2 FR/Part name # F/Malerial
ES A& &/Alumi I b7 b2y i
&1 4%/Bore size: E?n/Baclf cover | %:zﬁ umfnum alloy | EEE iﬂi#/Plstop seal | NBR e .4 2/Aluminum alioy #8£0% Cover O-1ing
@ & Z/Piston $2A &/Aluminum alloy fif BZ 3R Wear ring PAG6 o SDA Kits/ : |
M/‘! $16,20,25,32,40 i & 3HR/Self lubriacting bearing | PTFE-4A (Brass) (" [E%/MBack cover | HAE®/Auminumalloy | TEEH H14/Piston seal | NBR
@\ ) Uk i MAB432 Eff/Kits  i&ZE#F/Piston rod SA45C {RTRIA A 1R/ = : g. 9 - SDA £ & Z/Piston $8& & /Aluminum alloy &3 %/Self lubriacting bearing | PTFE+$f(Brass)
— \ S45C hard chrome carbon steel i 4 (A]3%)Magnet(optional) %7/ RbFeb - 1w ' iI12/Bore size: i
(|SOS432) 1 - t o : = P o / ¢ N . S45C $ETER T EERE/ # 4 (] i%t)Magnet(optional) EkHl/RbFeb
A ) X &1 f4/Barrel 45 $W/Stainless Steel 223354t /Cushion needle #14@/Brass [ . \ $12,16,20, & Z#F/Piston rod S45C hard ch rbon steel | £ I
W £I12/Bore size: T f { — f ‘ ard chrome carbon stee CEJ3NIK/C type buckle /Steel
) B < B/Front Cover seal NBR A7 42§ /Hexagon screw 4N /Carbon steel 25,32,40, !
$8,10,12, = - 50.63.80.100 I /Barrel | $34%/Mard anodized aluminum /Nt | Bk$/Carbon steel
16.20 25 2 h[/Cushion seal | NBR | 32 £/Nut | Br$f/Carbon steel 102,00, F R /Anti~bump cushion NER 75 5 /Mu
% & £ 04/Pision rod O-fing NBR = p Ledal DR g
!
|
7 |8 2 13 14 |15 16 Q
1 2 3 5 6 7 8 9 0 11 12 13 14
Fg Do B |Fe o2 re Do R 7S Do &/ - - =
/NO esignation |/NO esignation INO esignation /NO esignation i\[e] Designation
. i - — —— 9 e 2/ Fe £/ Fe P e &/ e &/
Rod nut 0%/O-ring 9 #8204 /Cover O-ring | 13 & ZE/Piston 17 J&3&/Back cover /NO Designation /NO Designation /NO Designation /NO Designation /NO Designation
2 Cover Nut 6 JATi#R$T/Adjustable screw 10 I fE]/Barrel 14 it EE ¥R/ Wear ring 1 C type buckle 4 Front cover 7 & ZE4F/Piston rod 10 | BAfiE#E K /Anti-bump cushion 13 | #&&0%/Cover O-ring
3 Front Cover seal 7 | &ih%/Self Lubricating bearing| 11 & 24T /Piston rod | 15 WE(Tﬁ)/Magnet(optlonal) 2 Front Cover seal 5 | &ihihR/Self Lubricating bearing| 8 i&ZE/Piston 11 #If#5/Barrel 14 | CHEINIF/C type buckle
4 R Z/Front cover 8 £ i1 [/Cushion seal 12 | EEZE{$/Piston seal 16 [t < fi248/Hexagon Screw 3 #8¥0%/Cover O-ring 6 | BpiEHE/Anti-bump cushion. 9 EEZE4/Piston seal | 12 J& 2 /Back cover

151 152




tiliviis

I #1#&/Specifcation

7= S /Product

b
» . 03
¥ '
A%
W

I SEER

7= fn/Product

VG

/

153

%) 2/Model #l#%/Specification |

MB Kits
MB E4
(Japan Standard)
{I1Z/Bore size:
$ 32,40,
50,63,80,100

ADVU Kits
ADVU E
(1506431)
FI12/Bore size:
¢ 16,20,
25,32,40,50,
63,80

Bl S/Model ##g/Specification

SC,MAL
ERE
Round Aluminum Tube
&I1%/Bore size: ¢ 16,20,
25,32,40,50,63,
80,100,125,160,
200,250,320

DNC
FRE
Square Aluminum Tube
§142/Bore size: ¢ 32,40,50,
63,80,100,125

ADVU
& /Aluminum Tube
#14%/Bore size: ¢ ,20,
25,32,40,50,63,80

TEEM 45 S (LK)
Piston rod
(45# Steel Chrome-plated)
£11%/Bore size: ¢ 6,8,10,12,
16,20,25,32,40,45,
50,60,70,etc.

fdnirPc

7= &h/Product

DNG ##/Kits(1ISO15552)

#I112/Bore size: ¢ 160,200,250,320

i&Z#/Tube and piston rod for pneumatic cylinder

7= & /Product #15/Model ##%/Specification

Sl
KFEE
Mickey
Mouse Aluminum Tube
#I42/Bore size: ¢ 32,40,50,
63,80,100,
125,160,200

SDA
A& /Aluminum Tube
#IL1%/Bore size: ¢ 12,16,20,25,
32,40,50,63,80,100
ok EE B REMSDARER RE L,
MRREFEBERUITHEE, FHARM,

B A MERREL,
Note:Normally we provide SDA unoxided

pls be specified, because price is different.

MA,MA6432
TERNE
Stainless Steel Tube
(B #5 ) (High precision)
#142/Bore size: $ 8,10,12,
16,20,25,32,40

#E N2 IALURE &P T KRB TR ERFEENF,
BEREMEIMR-

Note:Our company can provide different diameteres
piston rodes including stainless steel material's
according to customers requirement.

aluminium tube, if you need that with oxide,

30/2000
DL-03&5fFFx

f3dnrFPc

—
;“

m 4% 2 F B f /Features and Applications

1FXEMEE 1.Compact design
2>T<mLsu RILEDA # 1§ R AT 2.LSU type LED light
3B, EATEDANGESE 3.Anti-vibration application
4.2 REE 4.Simple installation
5.% €A TBKR S 454l 5.BK series metal brand together
6EASRE iz 6.Suitable for many kinds of air cylinder.
I ##&/Specifcation
S /Type DL-03R DL-03N DL-03P
: "R BRN
" ?%%ISE/ CoRE ¢ BRN " BRN "
SRR POI/\/ER 5 s F’O\/\/EF> 5 BU\ F’O‘fNEF\>
=) =)
M SEY BLU | = BLU = _BL‘LJw
Parameter o L 3 P .- N
Bt £ 75 0/Wiring method Z£350/2-WireType =%3/3-WireType

SPST % #3{/Normally Open BFR S % FR/Solid State Output,Normally Open
S TE%%/Reed switch T ANPNE (B3 A)/NPN Input | F 4% S PNP 2 (83757 tH)/PNP Output

FF<iB4E/Switching logic
i th3E s iz 3/Sensor type

1 F B8 £ SE FEl/Operating voltage 5-240V DC/AC 5-30V DC

B A FF X BLifi/Max.switching current 100mA max. 200mA max.

fil 75 §/Contact rating 10W max. 6W max.
JEFEE 7T /Current consumption F&/None 20mA max @ 24V(Switch Active)
P ERE JE P&/\Voltage drop 3.0V max. 0.5V max @ 200mA

StHE B 37t /Leakage current F/None 0.01mA max.

¥& KT B fa/Indicator #1f8/Red LED #12/Red LED %t /Green LED
= AP 55 % /Max.exchange frequency 200Hz 1000Hz

1 PR E SE El/Temperature range -10~70°C

i idd/Shock 30G 50G

it &M/ Vibration 9G

IEC 529 IP67(NEMA 6)
Fc/None B IE, ZERRIR U R 7 /With protection

H 4 /Cable $2.8,2C PVC X faffit il PVC $2.8,3C PVC 2fafiifils PVC
” ¢ 2.8,2C PVC Gray color,oil resistance PVC $ 2.8,3C PVC Blank color,oil resistance PVC

I 5MER-F/Overall Dimension

RIPHIIEZR/Enclosure classification
{R$PE #/Protection circuit

e =
o[ [ or—t [0 [ o=

[ - II 2542 7[ E > .II_ e

] 1000420 DL-03P bt 1000L2C;‘

oLG3R.00
DL-03N,
1 D [j}]::ﬁﬂﬁ:ﬂﬂ ploanad 7 || E]:m
50410 ] 150410

ﬁﬁ’-’““ i 8 M

Most sensitive position

I #E%0O#/Joint Pipe Bore

DL-03% %I{E FAPBKE E M #/
PBK metal band for DL-03 series

Most sensitive position

QD#E 3L # 2 B/QD Pinout

ZaX Rk =g A hEE L
2 wire QD wiring 3 wire QD wiring
R+ RE(+)
BHO(VV)N(-Q-) BROWN(+)
E(0UT)
BLACK(OUT)
() BE(-)
EATF 66-063RAMSE BLUE(-) BLUE(-)

For round cylinder ¢ 6-¢ 63

154




®

DL-21R EBIRHF fdnFrc  ouswesmoms f3 nFPc

I *=@¥ = TR A/Features and Applications I M4 = TR H/Features and Applications

1F M EE 1.Compact design 1.FF L MmEE 1.Compact design
2R ASRELEDE XIETRL 2.LED light 2.%%%%FLED&JHETH 2.LED light
3K EE N R M R T 3.Anti-vibration application SIMERIT, ATEMAMNIGSE 3.Anti-vibration application
4.% BPIFNPMAE #h R 51 28 4.PI,PM series clamp together 4.7 LLFE A ,’]P‘—t%ufiﬁ?lﬁﬁﬂl # 7  4.Forgroove andbandage fixingtype
5. R KEE 5.Simple installation 5. ERE. 5.Simple installation
6iERT ﬁﬁh— HEE B RAFR 6.Suitable for all kinds of standard tie-rod 6. )Eﬁ%:}:/ﬂ"t*ﬂﬁid\ita’-]gw'—iﬂ 6.Suitable for all kinds of groove type
KFERS and micky-mouse barrel cylinder. and minitype cylinder.
I ##/Specifcation
B S/Type DL-21R DL-21N \ DL-21P l iﬂ#&/Spemfcatlon
: "X, BRN B S/Type DL-31R DL-31N DL-31P
Conn*e%:%lsg;a/gram 5 LoAD} f : BR: Ni K
3 BRN
. POWER — B POWER Conn*e%:ﬁ:)az — h%& B3 2 B3 t +
;mmé}%i/ - - E ‘ & : POWER 2y I_OADF’OWEF? A R
arameter B ° = ) | : Ei
MIESH/ BLU ) BLU | sLuE0ADl |
Sy - e Parameter . ®_ . °- ° °-
Bt £k 75 0/ Wiring method Z#30/2-WireType =4 3/3-WireType
FF i 48/Switching logic SPST # 7Fz/Normally Open B FR TiES § FF/Solid State Output,Normally Open B2 75 /Wiring method R/ WireType =4 3/3-WireType

il tHi% = fizal/Sensor type

{# A B £ SE Bl /Operating voltage

B AFF 5% B /Max.switching current
filk .25 & /Contact rating
JEHFEEAT/Current consumption

A &R [ P&/ Voltage drop

;S B 7T /Leakage current
$ERATEfita/Indicator

B KP)385% /Max.exchange frequency
1 FiR & SEEl /Temperature range

it i /Shock

it & /Vibration
RIPHIEZR/Enclosure classification
{R$PEE E%/Protection circuit

FZ/Cable

HiES THEE/Reed switch
5-240V DC/AC
100mA max.
10W max.
7£/None
3.0V max.

Ft/None
#4If8/Red LED
200Hz

30G

F£/None

$4.0,2C PVC Ik taffifili PVC
$4.0,2C PVC Gray color,oil resistance PVC

4p 2 Rt/ Overall Dimension

1

I — ==
- | i
| 1000420
DL-21R, 1
DL-21R-QD r { ] (—‘—
H\J_Elﬁg_uo |
| 13 |‘\ BERALE

Most sensitive position

#E ¥ N 1%/Joint Pipe Bore

DL-21%7%% % 7 ®/Installation of DL-21

PMEIZE XA PACEIEXE  PABREIER® PN E 07
Fixed clamping Fixed clamping Fixed Fixed
device device steel belt steel belt
O~ o] \

EMT ¢ 32% ¢ 150
WS, HFES
Rt M ¢ 32% ¢ 150
For tie-rod cylinder
$ 32— ¢ 150 tie-rod
dimwnsion ¢5-¢ 16

EMT 632% $150
uHSE, HHESR
Rt M6 32%F 150
For tie-rod cylinder
32— ¢ 150 tie-rod
dimwnsion ¢ 5-¢16

EATF ¢ 12F ¢ 100 EAT 6 12F ¢ 150
B SE ¢ 12F ERSE

¢ 1005 S 5L For round cylinder
For tie-rod cylinder $12-¢ 150

12— 100 and reund

cylinder ¢ 12- ¢ 100

155

DL-21P,
DL-21P-QD

DL-21N, [_=7
DL-21N-QD r —

PIEIEXE
Fixed clamping
device
/\\

=)

BT ¢ 32% ¢ 100
ISOS (KB
For micky-mouse
cylinder 32-¢ 100

%*& SNPNZE._( [z /IIL)\)/N PN |nput %& S PNP i(% mum_& )/PN P Output

5-30V DC

200mA max.
6W max.

20mA max @ 24V(Switch Active)

0.5V max

0.01mA max.

4Ifa/Red LED 4 fa/Green LED
1000Hz
-10~70C
50G
9G
IEC 529 IP67(NEMA 6)
BiRREE, RBWUIRIP/With protection

$4.0,3C PVC Effitih PVC
¢ 4.0,3C PVC Blank color,oil resistance PVC

741
=
_—
|-2542

| 1000+20

12.5
@©

|

o o T W

~ Tl 150410 |

Ls| 7 B i
Most sensitive position

E
I 29
f

b

QD#E 3L 2 /QD Pinout

TR sk =& A REREL
2 wire QD wiring 3 wire QD wiring
§H%(JJN(+) /—\ o BHOWN(+)
® < &RE(OUT)
) BLACK(OUT)
EE(-) \ \ EiE(-)
BLUE(-) BLUE(-)

FFXiZ 4E/Switching logic

i E S /Sensor type

{# F BB [£SE El/Operating voltage

B K FF K E 7 /Max.switching current
fi B 75 §/Contact rating

JE#E B 7/Current consumption

&R B [E P& /NVoltage drop

;5% F8 i7t/Leakage current

{7~ KT ER R /Indicator

A Y1385 % /Max.exchange frequency
{# AR ESE El/Temperature range
fifif & /Shock

it 7= h/Vibration
RIPHIIEZE R /Enclosure classification
{R4P B8 f%/Protection circuit

H%%/Cable

SPST % 7= /Normally Open
B A FHEE)/Reed switch
5-240V DC/AC
100mA max.
10W max.

F/None
2.5V max.@ 100mA
F/None
4 f8/Red LED
200Hz

30G

Jt/None
$3.0,2C PVC & i} PVC

$3.0,2C PVC Gray color,oil resistance PVC

5pE2 R St /Overall Dimension

741

o f i [E=5)

o [0 O e

DL-31R, ! 29.0 L 1000420 _‘
DL-31R-QD rfﬂ.]

w] (Yl B 5 iD:\%ISE{I%}{w:Iﬂm

13 N\ . 150£10 |

\\ RERMAE

Most sensitive position

#2012 /Joint Pipe Bore

DL-31% %1;5#% R ~f [El/Groove dimension of DL-31 series

5.0+0.1
e
6.3+0.1 M

i& Fl FDNCS &I/For DNC cylinder

4.4+0.1
i
0+li'e

B RIS §H/Solid State Output,Normally Open
FeiE S NPNE(EFRA)/NPN Input  Foi# 5 PNP 385757 H)/PNP Output
5-30V DC
100mA max.
3W max.
17mA max @ 24V(Switch Active) 14mA max @ 24V(Switch Active)
0.5V max @ 200mA

0.01mA max.
#If/Red LED 4% f/Green LED
1000Hz
-10~70C
50G
9G

IEC 529 IP67(NEMA 6)
BR %, SRR IR (R 3P With protection

$3.0,3C PVC Efaiiifili PVC
¢ 3.0,3C PVC Blank color,oil resistance PVC

tE
S o ===
DL-31P, st ' e
DL-31P-QD X 2e 1000620
DL-31N, LN
DL-31IN-QD _— .
4.3 3 T
i_D ;— ]_‘13 ID:\ 150+10 |
B B (1

Most sensitive position

QD# L #4 [B/QD Pinout

TRk
2 wire QD wiring

=R
3 wire QD wiring

R B (+ R E(+)
?R%V\)N(ﬂ =~ BROWN()
( o %* E&(0UT)
BLACK(OUT)

ER(-)

EaE((-)
BLUE(-)

BLUE(-)

156




®

DL-11R REVBEFIFF h nrPC BK/PBN /PN %51 ElE h NrPC

™

I m¥ = THMH/Features and Applications I BK EJIEE 7 /BK Series Clamp

AT EEDL-03RFNHMF XS ¢ 6L LMEFSE/Clamp is designed for mounting DL-03 series sensor on ¢ 6 bore and above round cylinder

13‘*% *ﬂié By 1. Compact design 7= f/Product l R~t/Dimension | Z# 73 /Mounting
2. RABRELED RAT 2.LED light
S.Kfﬁ!éﬂli\ﬁmf"i gt . 3. Anti-vibration application =% 134 %1 Step 1 | $2 Step 2 HI 3 Step 3 HI 4 Step 4
4 A LR ARSI BIMERZTR 4. For groove and bandage fixing type 1Sk FIRE | G — A Sk L ; LIIFEEESEMEN | 1R — R A L
g;ﬁfig o 5. Simple installation BEOR. oy 2EMRXIREE (B SRR, 2EBBEIL, SR, ERITER
B HR(R RS ; ; ; PRE S % | 38— 7 i85, 1.Cut the metal band | 3.§H{5Z3R0BRI AT ,
6. Suitable for thin type(compact) cylinder ML, 1.Put one end of the band to the hanger at the opposite face | 1.Put the metal band on the marked
1.Release the screw up | 2.Install the switch and strain the metal hand | of the marked position| position.
2.Make the screw 3.Another end of the band to the hanger 2.Install the switch,lock the screw.
within the collect and make mark. 3.Finally lock the screw nut.

B im‘ﬁ/Specifcation

fEitias
EEE/ i BN AT + BRN BEN IR J
Connect Diagram - il ol T i ‘{ Gihe, R
POWER — POWER = =
MR SEY | B 4 lBw zg| | | ewlom = y
Parameter
BK-81:3& A F ¢ 6- ¢ 63E S &I F KL 4F S &L For round cylind cylinder and tie-rod cylinder ¢ 6-¢ 63.
fit4 77 3/Wiring method —#3%/2-WireType =4 3R/3-WireType BK-82:3&F F ¢ 6- ¢ 125 H SELFH#F SE(KTF ¢ 1256172 K97 ZEfif) For round cylind cylinder and tie-rod cylinder ¢ 6- ¢ 125.(Speed design for= ¢ 125)
FF 1B 48/Switching logic SPST % FFz/Nommally Open SPST % if1%!/Nommally Closed BFR LiZ S § FF/Solid State Output,Normally Open I | e -
it 3% S 3 /Sensor type S T &5 /Reed switch T ENPNE(SFRA)NPN Input | E4ESPNP &1( 7%tk /PNP Output PBN ?51 EIXE#%/PBN Series Clamp _
5 7 FLFE 35 FBl/Operating voltage 5240V DC/AC 5120V DCJAC = 30700 EHTFEEDL-20RF#MFXS5 ¢ 1200 LR EF S E/Clamp is designed for mounting DL-20 series sensor on ¢ 12 bore and above round cylinder
= 7= fa/Product R~ /Dimension Z %7  /Mounting
5% A FF i /Max.switching current 100mA max. 200mA max.
fih B2 75 &/Contact rating 10W max. 6W max o ’-—O—l % IR1 Step 1 $ R 2 Step 2 4% 3 Step 3 3% 4 Step 4
JHFEHHY/Current consumption Jc/None 20mA max@ 24V(Switch Active) @ @ II 1. ;gﬁg,u L Fyan e 1.ﬁgﬁ;ﬁ§%§%m?§i@i; Uuﬂ‘@&‘iag)ﬁﬁm 1.w§§§§§—;ﬁ§£f%§m% .
e = AT 2. RHFF KA 3 (L E BB o 2 LRHRBRMFFR, SRR, S3[)
P& F [/ Voltage drop £V max@100ma 0S¢ max @ 20mh 2EMATMERL | 3 S AWBEBENIL EHMIES, | 1.Cutthe metalband | 3 SUEBIRRIFT,
ittt % FE ifit/Leakage current F/None 0.01mA max. ! IR, 1.Put one end of the band to the hanger | at the opposite face = 1.Put the metal band on the marked
= H 1.Release the screw up = 2.Install the switch and strain the metal hand | of the marked position| position.
$ERATER 2 /Indicator £1f2/Red LED #If/Red LED % &/Green LED a 2.Make the screw 3.Another end of the band to the hanger 2.Install the switch,lock the screw.
Sensitivity 40Gauss v within the collect and make mark. 3.Finally lock the screw nut.
& K57 % /Max.exchange frequency 200Hz 1000Hz - 122 [ [
{# FiR ESEEl/Temperature range -10~70C =y ; y flkitics
ffit i 5 /Shock 30G 50G 5& " 2EA
ifit 7= zh/Vibration 9G | Mark
1RIPHI1EZ Z/Enclosure classification IEC 529 IP67(NEMA 6) _— gju?ilfe\
{37 FE #8/Protection circuit F/None BRI, SRENR AR $R/With protection g E e
1 2E/Cabel $3.2,2C PVC 7R faffif it PVC $3.2,3C PVC 2 &t il PVC =i
2 $3.2,2C PVC Gray color,oil resistance PVC ¢ 3.2,3C PVC Blank color,oil resistance PVC = = . = . .
BK-81:3& B F ¢ 6- ¢ 63E S &L F i #F S & For round cylind cylinder and tie-rod cylinder ¢ 6-¢ 63.

BK-82:3& T ¢ 6- ¢ 125E S AL I AF SE (KT ¢ 1258142 K97 ZEfif) For round cylind cylinder and tie-rod cylinder ¢ 6- ¢ 125.(Speed design for= ¢ 125)

P 5 R‘l’/OVeraII Dimension I PN ZE5IEEHNE/PN Series Clamp

. EHTFEEDL-20RFH#MEFXS ¢ 1200 LM EF S E/Clamp is designed for mounting XC-20series sensor on ¢ 12 bore and above round cylinder
155 | . - -
155 150+10 55 150+ 0 3 . : : a?ciéﬁit/Mountmg
1 1
g:: :;‘: i ——— g:: :m - = $%1 Step 1 # 2 Step 2 | $®3Step3 1 4 Step 4
1000420 @ 1000+20 1. mem,umm 1540 — B\ Sk b 1.0 TEFEIR SR | 1 EIFRMGE—Im BNk RE £
- 1 155 fa] ks 2. BHFF R AL (L SR 2R, PIRIRLL, fEFLTER
Eio <‘—-| 2 Eﬂ!?ﬂTﬁiHjéE;’- 3. B —ihNEESEANTL EHMIES . 1.Cut the metal band | 3.$Mi5F4RIRRNT ,
% MR, 1.Put one end of the band to the hanger at the opposite face = 1.Put the metal band on the marked
o ! EI 1.Release the screw up = 2.Install the switch and strain the metal hand |  of the marked position| position.
1 H 2.Make the screw 3.Another end of the band to the hanger 2.Install the switch,lock the screw.
l E B D &/JOI nt PI pe BOI'e o within the collect and make mark. ? 3.Finally lock the screw nut.

|J_._”ILO__L,
3.240.1 E QDL # £ B/QD Pinout H
- i 155
@ @ WM sterel Grooye SRR S8R H
71401 2 wire QD wiring 3 wire QD wiring R Z
Rf((+) 1R H(+) »
32401 BROWN(+) BROWN(+) ~~
Wik ;4 4 /Bilateral Groove o 2(0UT) ,/!
AEURS BLACK(OUT) ZZ SE#H¢12  Round cylinder ¢ 12
@ @ s o mE(-) B(-) kg PN o S 20 ﬁf—\.ﬁfj ¢ 16 Round cylinder ¢ 16
3,2i’0,11 ? : BLUE(-) BLUE(-) : EFSEIA ¢ 150 Round cylinder ¢ 150
e v S:EfSELA A #0#15/Stainless steel round cylinder
B Y ih 44 /Double Unilateral Groove AR SE A $AA € #1B/Aluminum round cylinder

157 158




Pl / PAC % ElEXE

f3dnrFPc

I Pl &5IEE ¥R E/PI Series Bracket

FRBREAREDL2IRFIE RIS EISOSEEL, (kF3!)/Bracket is designed for mounting DL-21 series sensor on ISO profile cylinder.(mickey mouse Type)

7= fa/Product \ %3 R~f/Dimension/Installation
PI-1(32/40) PI-2(50/63)
p - ..
R - U
7 ¢ - g
/ ¢ 15 14.1
o
—

PI1-4(100)

p
Y

PI1-6(160)

PI-7(200)

I PAC RJIEE¥*E/PAC Series Bracket
FRRE HREDL 21 R FIHLFEI/Bracketis designed for mounting DL-21 series on tie-rod cylinder.

7= fn/Product

%% R ~f/Dimension/Installation

£ ¢32- ¢ 100 RS E . WEL(EETT $64-¢10)
; ; : IO : 24 Z/Diameter of tir rod
Using for tie-rod cylinder ¢ 32-¢ 100,hydraulic cylinder (tie-rod bore ¢4-¢10) LT A =/Diameteroftirro

159

PM / SU &% EEHRE

I PM ®R3%|E ¥k H/PM Series Bracket

FRRE HRIEDL 21 R FH#F&I/Bracket is designed for mounting DL-21 series on tie-rod cylinder.

7= fa/Product

PM-6(32/40/50)

'® |
N

PM-10(80/100)

ﬁ el
|
2 —— o PM-16(160/200)
‘+—~ RN e

= N

I SU ZJIEIE ¥ EA/SU Series Bracket

FRREHREDL-21RIE R AEXK FSE(SU 8)/Bracket is designed for mounting DL-21R sensor on mickey mouse Type cylinder (SU Type).

SuU-32
~ J ] E
10.50
? SuU-50
g @
20
* « -
11.43
SuU-80
N
i
- - " 7.
& ‘SU-125
¢ @
o te
= ad _"19.10L
‘SU-200

_

<) 26.50

f3nrFPc

%23 R~t/Dimension/Installation

PM-8(63)

of Tie rod: ﬁ?u

H7Z/Dia
of Tie rod:
8

PM-12(125) °

H7Z/Dia
of Tie rod:
1912

H7Z/Dia
of Tie rod:
:p16

2% R ~t/Dimension/Installation

S
(Y

v o
O | SU-100 WPE Tt
p @% ha @/@vo\

é@ 1 Q

©x—+0 18.20 o ®

AN SU-160 R o

jolllcclie;
=<0 ‘stva Q)

/SN

160




	幻灯片 1
	幻灯片 2
	幻灯片 3
	幻灯片 4
	幻灯片 5
	幻灯片 6
	幻灯片 7
	幻灯片 8
	幻灯片 9
	幻灯片 10
	幻灯片 11
	幻灯片 12
	幻灯片 13
	幻灯片 14
	幻灯片 15
	幻灯片 16
	幻灯片 17
	幻灯片 18
	幻灯片 19
	幻灯片 20
	幻灯片 21
	幻灯片 22
	幻灯片 23
	幻灯片 24
	幻灯片 25
	幻灯片 26
	幻灯片 27
	幻灯片 28
	幻灯片 29
	幻灯片 30
	幻灯片 31
	幻灯片 32
	幻灯片 33
	幻灯片 34
	幻灯片 35
	幻灯片 36
	幻灯片 37
	幻灯片 38
	幻灯片 39
	幻灯片 40
	幻灯片 41
	幻灯片 42
	幻灯片 43
	幻灯片 44
	幻灯片 45
	幻灯片 46
	幻灯片 47
	幻灯片 48
	幻灯片 49
	幻灯片 50
	幻灯片 51
	幻灯片 52
	幻灯片 53
	幻灯片 54
	幻灯片 55
	幻灯片 56
	幻灯片 57
	幻灯片 58
	幻灯片 59
	幻灯片 60
	幻灯片 61
	幻灯片 62
	幻灯片 63
	幻灯片 64
	幻灯片 65
	幻灯片 66
	幻灯片 67
	幻灯片 68
	幻灯片 69
	幻灯片 70
	幻灯片 71
	幻灯片 72
	幻灯片 73
	幻灯片 74
	幻灯片 75
	幻灯片 76
	幻灯片 77
	幻灯片 78
	幻灯片 79
	幻灯片 80
	幻灯片 81
	幻灯片 82
	幻灯片 83
	幻灯片 84
	幻灯片 85
	幻灯片 86
	幻灯片 87
	幻灯片 88
	幻灯片 89
	幻灯片 90
	幻灯片 91
	幻灯片 92

